O

Shurricanse

ESARA

Japanese Technology since 1912

Technical Data Book 50Hz




50Hz

VERTICAL MULTISTAGE PUMPS

1. SPECIFICATIONS *&©

1.1 TYPICAL APPLICATIONS
1.2 PERFORMANCE RANGE

. EVMS(.) 1-3-5-10-15-20-32-45-64-90

2.1  PRODUCT FEATURES
2.2 PRODUCT SPECIFICATIONS
2.3 SHAFT SEAL
2.4 TYPE KEY and NAMEPLATE
2.5 PERFORMANCE RANGE
2.6 CURVE SPECIFICATIONS
2.7 SELECTION CHART
2.8 EVMS(L)1
EVMSG1
2.9 EVMS(L)3
EVMSG3
2.10 EVMS(L)5
EVMSG5
2.11 EVMS(L)10
EVMSG10
2.12 EVMS(L)15
EVMSG15
2.13 EVMS(L)20
EVMSG20
2.14 EVMS(L)32
EVMSG32
2.15 EVMS(L)45
EVMSG45
2.16 EVMS(L)64
EVMSG64
2.17 EVMS(L)90
EVMSG90

. PACKING

3.1 PACKING DRAWING
3.2 PACKING DATA

. MOTOR DATA

4.1 GENERAL and NOISE DATA
4.2 TECHNICAL MOTOR DATA

Rev. G-1

Page

N —

152
154

158
159

(D click INDEX to jump CORRESPONDING SECTION

@) click

to go back to

INDEX

ey =TV



VERTICAL MULTISTAGE PUMPS

TYPICAL APPLICATIONS

50 Hz

INDUSTRY

COMMERCIAL
BUILDING SERVICE

MUNICIPAL WATER
AND WASTEWATER

IRRIGATION

o»

RN

* Reverse osmosis

» Micro/Ultra-filtration

+ Softening, ionizing,
and demineralization
systems

+ Boiler feed and
condensate systems

* Industrial parts
washing

» Food or bottle
washing systems

» Handling of
refrigerant for cooling

» Thermal control
systems

* Pressure Boosting
for buildings

» Sprinkler systems

+ Fire fighting systems
(Jockey pump)

+ District heating

+ Air conditioning
systems

» Transfer from
water treatment
plants (mains)

+ Field irrigation
+ Sprinkler irrigation
* Drip irrigation




50 Hz VERTICAL MULTISTAGE PUMPS EVM S

PERFORMANCE RANGE
EVMS(.)1-3-5-10-15-20-32-45-64-90

uSgpm 5 10 15 20 30 40 50 60 70 8090100 120140160180200 250 300 350 400 500 600
I [ : [ : I : I : I : |I I I| I||I|II I| I|||I| |I I I| I| |I I
Imp.g.p.m. 5 10 5 20 30 40 50 60 70 8090100120 140160180200 250 300 350 400 500
40 — 400 ; -
P H ) 45 10y
MPa] 30— [m] 300 247 = 1000t
3 5 10 15 20 [T ™~ =90
25— 250 800
1 r\\["‘\q\__ BEaEs AR i P
——— - s Sy TT==L NS N e —700
20— 200 = = i | N |
T < R | NS DRI I 64 I—600
N N Nt I M D e 2
i 1 Nl | N INCEY I ~\ |
15— 150 ] i i =Y Ty i s00
\ \| \* | \ | \ | \
R A N0
\ i i
| | | |
12 120 i ! i A : ! ! : —400
| -
10— 100 f | t i t i ! —2(5)2
I I ! 1 ! ! |
08— 80 i i I i i | 250
EiliiiiERsgsg HEERHEER
|
06— 60 } H | ! f | ] 200
I | l I | !
- 1 |
05 50 | i ' i 1 | .
i | 1 | i ! 15
04— 40 ! L i L ! !
| | 1 | | | I
| I | 1 | | {
oo e |
I -
03— 30 i I f : t T | 100
1 1 ! 1 1 1 |
: : ! | ! : I
I -
(e R ! : | L | &
02— 20 f = t = T f
: [ N B R E S N N
- ! u L 1
- ~
015 — 15 ] ! ™ iy | N N 50
_____ \ | L\ N T { \ N
[T AL \\ \\\ i
\\ T N e 40
0.1 10 -t N N \ \
o \ NN | NN A Ay
008 — 8 A \ Ml \ \ \ \ »
007 7 N \\ \\ \
0.06 — 6 \ \ —20
005 — 5 \ s
0.04 — 4
0 - 0
0910 15 20 30 40 50 60 80 100 120 150 200 250 300 400 500 600 700 800 1000 1200 1500 2000 2500
Q[l/min]
[ | I I I I T T TTT T TTT T T I U [ |
0 1 15 2 3 4 5 6 7 8 910 12 14161820 25 30 40 50 60 70 100 1(5;[) "
m
100
0 i ESeRH
%] 80 10 15,f20,32<f45,f54 >(‘-)0
jr—— p—
3 5 7§/’5/ —\
60 1 — — N A 7 duv=d
50 // ‘/ N—"T ‘/ S
40
30
0
0910 15 2 3 40 50 6 80 100 120 150 200 250 300 400 500 600 700 800 1000 1200 1500 2000 2500
Q[l/min]

E2ARA



EVM S VERTICAL MULTISTAGE PUMPS 90 Hz

PRODUCT FEATURES

[General]
1. Pump Type
The EVMS is Non-self-priming, vertical multistage in line, centrifugal pumps.

2. Model range
The EVMS comes in 1,3,5,10,15,20,32,45,64 and 90 m*/h flow sizes for the majority market needs.

3. Maximum operating pressure
The EVMS can be operated at 16, 25, 30 bar or 35 bar as maximum.

4. Operating liquid temperature range
The EVMS can be operated from - 30°C to + 140°C as the maximum.
(please contact EBARA in case of -30°C to -15°C, or 120-140°C)

5. Material options
AISI 304, AISI 316L and Cast iron versions are available.

6. Motor
The EVMS can be coupled with the commercial motors that are acquired in the markets.
The EVMS is provide as the electric pumps with IE3 motors for the over 0.75 kW.
PTC sensor pre-installed for motors of 1.5 kW and above.
Unlosable screw and sealing from 0.75 kW to 45 kW are standard for terminal box fixing.

7. Certifications

Drinking water Atmospheres
approval explosibles approval
AS/NZS4020 ** ATEX 2014/34/UE
&AS/NZS 4020 @
Approved for drinking water
Mechanical SiC/Carbon EPDM All variations
seal - on page 6-7
EVMSG ° °
EVMS ° °
EVMSL ° °

Note : ** only for EVMS(.)1-20 @ Available

8. Conform to the provisions of the European directives ‘ €

[Main Product Features]

1. Innovative hydraulic solutions
* The Commercial motors can be fitted to all of the pump models without any modifications thanks to low pump axial thrust load.
e The low axial thrust load impellers can ensure long life of the motor bearings.
* High pump efficiency classified in MEI (see page 11).

2. Energy saving
* The high efficiency IE3 motors starting from 0.75 kW complied with the EuP 2005/32/EC and ErP 2009/125/EC directives.
e The VFD (Variable frequency drive) and the commercial sensor can be directly mounted on EVMS to maintain physical constant
operations such as pumping pressure depending on the conditions of use.

3. Piping connection options
e The various pipe connections are available depending on the application requirements Oval flange / Round flange / Loose flange /
Victaulic® connection / Clamp connection.
e The external dimensions can be adjusted to the replacement of the existing pump in the wide majority.

4. Shaft seal solutions
*  Silicon carbide inclusions with graphite can be used as dry lubricant to reduce friction.
e It's conforming to EN12756 (ex DIN 24960)

5. Easy maintenance
¢ The cartridge mechanical seal enables the plug in replacement of the shaft seal without disassembling the motor bracket.
* The spacer coupling allows easy maintenance without having to remove heavy motors over 5.5 kW

6. Smart plug solutions
Air ventilation plug / Water filling & sensor plug / Commercial sensor fitting / Measurements for suction and discharge pressure / drain.

_—J=-TET




50Hz

VERTICAL MULTISTAGE PUMPS EVM S

PRODUCT SPECIFICATIONS

EVMS(.)1-3-5-10-15-20

PUMP

Version

EVMSG EVMS EVMSL

Nominal flow rate (m?h )

1 [ 3]s 1015201 ]3]s]wo]1s]20]1]3]s5]10]15]20

Operating Maximum working pressure 1.6 /2.5 MPa (16 / 25 bar)
range Liquid temperature range -30°C fo 140°C
q P 9 (please contact EBARA in case of -30°C to -15°C, or 120-140°C)
Impeller EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
Intermediate casing EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
Liner ring EN 1.4301 (AISI 304) + PPS EN 1.4404 (AISI 316L) + PPS
Bottom casing Cast Iron | EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
Casing cover EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
EN 1.4301 (AISI 304) EVMSG / EVMS 1-3-10 , EVMSG / EVMS 5-15-20 (depend on models)
Shaft EN 1.4404 (AISI 316L) EVMSL 1-3-10 , EVMSL 5-15-20 (depend on models)
EN 1.4462 (AISI 329A) EVMSG / EVMS / EVMSL 5-15-20 (depend on models)
Keyn(e:gtn;po- Shaft sleeve bearing Tungsten carbide
Material Shaft Seal See the shaft seal options
o EPDM | ® | © [ ®© | © |  ®© |  ®© & & &6 o o o o o o o o
-ring
FPM | ® | ®© | ®© | ®© & © © © o o o o o o o o o o
Outer casing EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
Motor Bracket Cast Iron
Tie rod EN 1.4057 (AISI 431)
. up to 4.0 kW Die cast aluminium
Coupling
from 5.5 kW Cast Iron
Base Cast Iron Die cast aluminium
Oval flange wto16bar | ® | ® | ® (@ | © (&6 | © | 6| 6| ©6 ©6 © O o o o o o
Round flange wpto16bar | ® | ® | ® | @ | © | ©  ©  © O 6 6 6 6 6 6 o6 o o
(DIN) fom16barto25bar | @ | @ | ® | @ | @ | @ | @®@ | @ | @ | © | O® @O | O O O O 0 O
Pipe Loose round up to 16 bar | ® o 0| 06 O 0 O O o o o
connection | fiange
(DIN) from 16 bar to 25 bar o 6| o o o o o o6 o o o o
Victaulic® up to 16/25 bar o 6| o o o o o 6 o o o o
Clamp up to 16/25 bar o | 6|0 o6 o606 o6 0 o o o o
® Available
MOTOR
Frequency 50 Hz
Phase Single Phase Three Phase
0.37 + 2.2 kW 0.37 = 18.5 kW
Power Power rating
Source 0.5+3.0 HP 0.5+25HP
230/400 + 10% V (up to 4.0 kW)
Voltage 230+ 10% V
400/690 + 10% V (above 5.5 kW)
Type IC411 - TEFC
- - @ from 0.37 kW up to 0.55 kW
Efficiency Level IE2 from 0.37 kW up to 2.2 kW
IE3: above 0.75 kW
Type No° of poles 2
. IP55: upto 11 kW
Protection degree
IP56 : above 15 kW
Insulation Class F (temperature rise class B)
Thermal Protection - PTC sensor pre-installed for motors of 1.5 kW and above
Casing Material Aluminium
Others IMB14: upto 4.0 kW

Flange mount (IEC motor)

IMB5 : above 5.5 kW

Terminal Box fixing

Unlosable screw and sealing from 0.75 kW
to 18.5 kW

_—J=-TET



EVMS

VERTICAL MULTISTAGE PUMPS

PRODUCT SPECIFICATIONS
EVMS(.)32-45-64-90

PUMP
Version EVMSG EVMS EVMSL
Nominal flow rate (m¥h ) 32 | 45 | 64 [ 90 | 32 | 45 [ 64 | 90 [ 32 [ 45 [ 64 | 0
Operating Maximum working pressure 1.6/2.5/3.0/3.5MPa (16 /25 /30 / 35 bar)
range Liquid temperature range -30°C to 140°C
q p 9 (please contact EBARA in case of -30°C to -15°C, or 120-140°C)
Impeller EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
Intermediate casing EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
Liner ring EN 1.4301 (AISI 304) + PPS EN 1.4404 (AISI 316L) + PPS
Cast Iron EN GJL-250 EN 1561
] (for EVMSG32 and EVMS(G45-90 up to 16 bar)
Bottom casing Onst Iron EN GJS 400.15 EN 1563 EN 1.4308 (ASTM CF8) EN 1.4408 (ASTM CF8M)
(for EVMSG45-90 above 25 bar)
Casing cover EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
EN 1.4301 (AISI 304) EVMSG / EVMS 32-45-64-90 (depend on models)
Shaft EN 1.4404 (AISI 316L) EVMSL 32-45-64 (depend on models)
Key EN 1.4462 (AISI 329A) EVMSL 45-64-90 (depend on models)
Components | Shaft sleeve bearing Tungsten carbide
Material * Shaft Seal See the shaft seal options
EPDM [ J [ ] [ ] [ J [ J [ ] [ ] [ ] [ ] [ ] [ ] [ J
O-ring
FPM [ [ J [ J [ ] [ [ J [ J [ J [ J [ J [ J [
Outer casing EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
Motor Bracket Cast Iron EN GJS 400-15 EN 1563
Tie rod EN 1.4057 (AISI 431)
up to 4.0 kW Die cast Aluminium EN AB-AISI11 Cu2 (Fe)
Coupling from 5.5 kW to 30 kW Cast Iron EN GJL250 EN 1561
above 37 kW Carbon Steel
Base Cast Iron EN GJL200 EN 1561
Pipe Round flange (DIN) [ [ J [ ] [ J
connection | | oyse round flange (DIN) ° [ ] ® ® ® ® ® ®
@® Available
MOTOR
Frequency 50 Hz
Phase Three Phase
1.5 +45kw
Power Power rating
Source 2.0+ 60 HP
230/400 + 10% V (up to 4.0 kW)
Voltage
400/690 + 10% V (above 5.5 kW)
Type IC411 - TEFC
Efficiency Level IE3
No° of poles 2
Type
X IP55: upto 11 kW
Protection degree
IP56 : above 15 kW
Insulation Class F (temperature rise class B)
Thermal Protection PTC
. . Aluminium : up to 30 KW
Casing Material
Cast Iron: above 37 KW
Others
IMB14: upto 4.0 kW
Flange mount (IEC motor)
IMB5: above 5.5 kW
Terminal Box fixing Unlosable screw and sealing from 1.5 kW to 45 kW

_—J=-TET

50 Hz



50 Hz

VERTICAL MULTISTAGE PUMPS

EVMS

SHAFT SEAL

EVMS(.)1-3-5-10-15-20

1. Shaft Seal
d4 d4
e S
=Nl mai =Nl
Hih 4 L ) N L
L d3 o d3
| > S T\
- 0 d1 h d1 0
I 1
_ 2 ‘ 2
1 s & 1
9 g 4 4
I | h ﬂ
up to 16 bar up to 25 bar
Cartridge Unbalanced type Cartridge Balanced type
2. Type of Shaft Seal and Dimensions [mm]
Shaft seal type Shaft seal material
Max . -
Type key | Availability | operating ":2;;2?:;',';9 Cartridge T 2 3 4 °
DISSSUIS Type Code Ralaiig Saits | PEEY | Grone | Eesimmes || @ | ST | gt | @
part part spring
Q1BEG ® 16bar | -30°C to + 120°C | Unbalanced | (-) sic (@1) | carbon | (B) EPDM (E) AISI 316 (@)
BQIVG ® 16bar | -30°Cto+80°C | Unbalanced | (-) Carbon (B) sic | (@1) FPM V) AISI 316 (@)
HQ1BEG ° 25bar | -30°Cto+140°C | Balanced | (H) sic Q1) | carbon | (B) EPDM (E) AlSI 316 (G)
HQ1BVG O 25bar | -30°Cto+80°C | Balanced | (H) sic @1) | carbon | (B) FPM V) AISI 316 (G)
HQgQ1EG [ ] 25 bar -30°C to + 140°C | Balanced (H) | SiC with graphite | (Qg) SiC Q1) EPDM (E) AISI 316 (G)
HQgQ1VG [ ] 25 bar -30°C to + 80°C Balanced (H) | SiC with graphite | (Qg) SiC Q1) FPM V) AISI 316 (G)
® Available
Max operating d1 d2 d3 d4 |
Pump model Shaft seal type pressure [mm] fmm] fmm] frmm] fmmi
Unbalanced 16 bar - 35
EVMS 1/3/5 Cartridge 16 23 27
Balanced 25 bar 20 42.5
Unbalanced 16 bar - 37.5
EVMS 10/15/20 Cartridge 20 29 35
Balanced 25 bar 24 45

_—J=-TET



EVMS

VERTICAL MULTISTAGE PUMPS

50 Hz

1. Shaft Seal
d4 d4 d4
B 2 B
‘ = ‘ =H
I | I I
| d3 | d3
: \ : \
Cdi D - d1
| b |
| 3 | 3
| 2 | 2
— | = | — - | d2
| 1 5 | 1
| d | B
‘ 4
| |
up to 16 bar up to 25 bar up to 35 bar
Cartridge Unbalanced type Cartridge Balanced type Cartridge Balanced type
2. Type of Shaft Seal and Dimensions [mm]
Shaft seal type Shaft seal material
Max . Ny
Type key | Availability | operating ":::‘nzz::::'r:g Cadoe T 2 g 4 9
DRESSLIE Type Code Reling Code BizllEnETy Code | Elastomers | Code Comprgssmn Collar | Code
part part Spring
BQ1EG ) 16bar | -30°Cto + 120°C | Unbalanced | (-) Carbon (B) SiC Q1 EPDM (E) AISI 316 (G)
BQ1VG ) 16 bar -30°Cto + 80°C | Unbalanced | (-) Carbon (B) SiC Q1 FPM V) AIS| 316 (G)
HQ1BEG [ J 25/35 bar | -30°C to + 140°C | Balanced (H) SiC (Q1 Carbon (B) EPDM (E) AISI 316 (G)
HQ1BVG () 25/35bar | -30°Cto+80°C | Balanced | (H) sic (Q1) | carbon | (B) FPM v) AISI 316 (G)
HQgQ1EG [ ] 25/35 bar | - 30°C to + 140°C | Balanced (H) | SiC with graphite | (Qg SiC Q1) EPDM (E) AlISI 316 (G)
HQgQ1VG [ ] 25/35 bar | -30°Cto +80°C Balanced (H) | SiC with graphite | (Qg SiC Q1) FPM V) AlISI 316 (G)
® Available
Max operating d1 d2 d3 d4 | 1
(P el ShatiSeallvpe pressure [mm] [mm] [mm] [mm] [mm] [mm]
Unbalanced 16 bar - 42.5
EVMS 32/45/64/90 Cartridge Balanced 25 bar 28 37 43 50
33 -
Balanced 35 bar

_—J=-TET



50 Hz

VERTICAL MULTISTAGE PUMPS EVM S

TYPE KEY
EVMS(.)1-3-5-10-15-20

[Evms] [ _J[5 J[ 2 ]

ILF 105 ][ _J[QBEG][E]{ [ 1{037}i M ;

Phase motor
M = single phase
null = 3 phase

Motor in kW _ pag. 159

Code for rubber parts
V = FPM (Viton)
|E = EPDM

—| Code for shaft seal materials _ pag. 6

Pole
Null = 2 pole

Frequency
5=50Hz

Code for pipe connection
F = Round flange

N = Oval flange

LF = Loose round flange

V = Victaulic® connection
C = Clamp connection

Code for pump version

null = standard version

INumber of impellers

Flow rate [m?3/h]

113]5[10]15]20

Code for model series
null = AISI 304 version

L = AISI 316L version
G = Cast Iron version

Example for pump without motor:
EVMS5 2F5Q1BEG E

|Series name

Example for pump with motor:
EVMS5 2F5Q1BEG E/0.37M

NAMEPLATE
“TYPE” Pump model

N “PIN°” Pump item number
“Hmax” Maximum head

MADE I TTALY “Hmin” Minimum head
‘Q Indicates upper and lower flow rate limits
-EB— “H” Indicates head limits corresponding to minimum and maximum flow rate

m “P2” Rated power of the motor (output at shaft)

m “HP” Rated power of the motor expressed in HP (Horse Power)
“Hz" Frequency

W i “min-1”" Speed of rotation
e > Hyd. et q “MEI" Index of the pump’s quality in relation to its efficiency

“Hyd. Eff.” Hydraulic efficiency of the pump

_—J=-TET



EVMS

VERTICAL MULTISTAGE PUMPS

TYPE KEY
EVMS(.)32-45-64-90
[Evws] [ [ [ [ [ [F1 (5] [ [BaEa) [E] (7108011 |

Phase motor
null = 3 phase

Motor in kW _ pag. 159

Code for rubber parts
V = FPM (Viton)
E = EPDM

L Code for shaft seal materials _ pag. 7

| Pole

|Null = 2 pole

| Frequency

|5 = 50 Hz

| Code for pipe connection

F = Round flange
LF = Loose round flange

| Number of reduced diameter impellers

[o111213]

| Number of impellers

| Flow rate [m3/h]

|32145 6490 |

Code for model series
null = AISI 304 version

L = AISI 316L version
G = Cast Iron version

Example for pump without motor:
EVMS45 1-1F5BQ1EG E

MADE IN ITALY

Hmax m | Hmin m
Q I/min | H m
P2 kW | HP
Hz min™

\MEI > Hyd. eff. %)

| Series name

Example for pump with motor:
EVMS45 1-1F5BQ1EG E/3.0

NAMEPLATE
“TYPE” Pump model
“PIN®” Pump item number
“Hmax” Maximum head
“Hmin” Minimum head
‘Q” Indicates upper and lower flow rate limits
“H” Indicates head limits corresponding to minimum and maximum flow rate
‘P2” Rated power of the motor (output at shaft)
“HP” Rated power of the motor expressed in HP (Horse Power)
“Hz" Frequency
“min-1" Speed of rotation
“MEI” Index of the pump’s quality in relation to its efficiency
“Hyd. Eff.” Hydraulic efficiency of the pump

50 Hz



50 Hz VERTICAL MULTISTAGE PUMPS EVM S

PERFORMANCE RANGE
EVMS(.)1-3-5-10-15-20-32-45-64-90

usgpm. i 10 5 i R A o il i ke el o
| | I I | | T T T T T T 1T TTT [T 11 |
mp.g.pm. 5 10 5 2 30 4 50 60 70 8090100120 140160180200 250 300 350400 500
40 — 400
o N e 20 |,
MPa] 30— [m] 300 Em— S§ —;l;zo [ft]
S — —
25— 20 e = N 1800
i e S n e S s SN e g L imm S
20 20 N S~ =N N . e
\ ! N | N \\\ N L \ L c00
1 ™~
| | \ NGB
15— 150 \ \ i ! } N\ ! \ i N 500
i
| | | N
12 120 | | i 400
10 100 : : ! —jzg
| | —
08— 80 i | i 250
I
| i
06— 60 : ! : 200
I
05— 50 E ! E -
id W 1 3 5 | 110] [ 15]20 32| !4as| 64 90
: [ T i
i ' i
[ ! |
03— % i ! i 100
i ' |
| ! |
| : | 75
02— 2 Einkak=bStS B . L =
N S ] [ SN o]
- o o] 1 N
< N
015 — 15 N B N N 50
_____ \ LINT T~ \
gL . PR
\\ \ & BN il — 40
01 10 - AN \ N N\ \
A \ G N O N i
\
008 — 8 N INIIH] \ \ L2
007 7 N \ \
' \ \
0.06 — 6 \ \ —2
005 5 \ 15
004 — 4
0 0
0910 15 2 W 4 s 8 100 120 150 200 250 300 400 500 600 700 800 1000 1200 1500 2000 2500
Q[l/min]
[ I I | I I T T T TT I TTTT T I T T 1 [ 1
0 1 15 2 3 4 5 6 7 8 910 1214161820 25 30 40 50 60 70 100 150
Q]
100
0 A  S=BR Y
TS A T e 1 9
r o 10 | 15,20 32 45 6_4_(—0\
. 3 5 — > /’S/
1 — — N 77 AN
5 —— A e
40
/ gssEsqiE
3
0
0910 15 2 0 4 s 0 80 100 120 150 200 250 300 400 500 600 700 800 1000 1200 1500 2000 2500
Q[l/min]

10

_—J=-TET



EVM S VERTICAL MULTISTAGE PUMPS 90 Hz

CURVE SPECIFICATIONS

The specifications below qualify the curves shown on the following pages.

Tolerances according to ISO 9906:2012 - Grade 3B.

Performance curves are defined with the following rotation speed (nominal rotation speed of the motor):

- up to 15 kW: 2900 rpm

- from 18.5 kW up to 30 kW: 2950 rpm

- 37 kW and 45 kW: 2975 rpm

Measurements were carried out with clean water at 20°C of temperature and with a kinematic viscosity of v = 1 mm2/s
(1 cSt).

The NPSH curve is an average curve obtained in the same conditions of performance curves.

During the pump selection. consider to get a safety margin of at least 0.5 m.

The continuous curves indicate the recommended working range. The dotted curve is only a guide.

In order to avoid the risk of over-heating. the pumps should not be used at a flow rate below 10% of best efficiency
point.

Symbols explanation:

Q - volume flow rate

H - total head

P, - pump power input (shaft power)

n - pump efficiency

NPSH - net positive suction head required by the pump
MEI - minimum efficiency index

@D2 - P2 with full diameter

@D>* - P2 with reduced diameter

The minimum efficiency index (MEI) is a measure of the quality of a pump size in respect to its mean efficiency. The
minimum efficiency index is based on the hydraulic efficiency and on the head at the best efficiency point.

The efficiency of a pump with trimmed impeller is usually lower than that of a pump with the full impeller diameter.
The trimming of the impeller will adapt the pump to a fixed duty point. leading to a reduced energy consumption. The
minimum efficiency index (MEI) is based on the full impeller diameter.

The operation of these water pumps with variable duty points may be more efficient and economical when controlled. for
example. by the use of a variable speed drive that matches the pump duty to the system.

Information on benchmark efficiency is available at: www.europump.org -i. (Ecodesign section)

Information on benchmark efficiency graph for MEI = 0.7 for the pump are available at:
www.europump.org/efficiencycharts e (refer to "Multistage Vertical 2900 rpm")

s

Minimum efficiency index (MEI)

Pump type MEI

EVMS(.)1 >0.70
EVMS(.)3 >0.70
EVMS(.)5 >0.70
EVMS(.)10 >0.70
EVMS(.)15 >0.70
EVMS(.)20 >0.70
EVMS(.)32 > 0.60
EVMS(.)45 >0.70
EVMS(.)64 > 0.40
EVMS(.)90 > 0.60

11

_—J=-TET



50 Hz

VERTICAL MULTISTAGE PUMPS

EVMS

12

SELECTION CHART

EVMS(.)1-3-5
. Q=Capacity
Pump Type Motor Maximum )
working [/min 0] 12 | 20 | 30 | 40 | 60 | 75 | 100 | 130
kW HP Size pressure Im3h  0(0.72| 12 | 1.8 | 24 | 36 | 45 6 7.8
Single phase Three phase (MPa] H=Total manometric head in metres
EVMS(.)1 2/0.37M EVMS(.)1 2/0.37 0.37 | 0.5 71 1.6 11.9 [ 11.2[104[ 9.1 [ 71 - - - -
EVMS(.)1 3/0.37M EVMS(.)1 3/0.37 0.37 | 05 71 1.6 17.9 16.8156[13.6 [10.6| - - - -
EVMS(.)1 4/0.37M EVMS(.)1 4/0.37 0.37 | 0.5 71 1.6 23.8 [224)20.8(18.2|14.2| - - - -
EVMS(.)1 5/0.37M EVMS(.)1 5/0.37 037 | 05 71 1.6 30 28 | 26 |22.7(17.7| - - - -
EVMS(.)1 6/0.37M EVMS(.)1 6/0.37 0.37 | 05 71 1.6 358 [33.6]31.2|27.3|21.2] - - - -
EVMS(.)1 7/0.37M EVMS(.)1 7/0.37 0.37 | 0.5 71 1.6 415 |[39.2|36.4(31.8)|24.8| - - - -
EVMS(.)1 8/0.37M EVMS(.)1 8/0.37 037 | 05 71 1.6 475 |445]415|364(283| - - - -
EVMS(.)1 9/0.55M EVMS(.)1 9/0.55 0.55 | 0.75 71 1.6 53.5 |50.5| 47 | 41 [31.8| - - - -
EVMS(.)1 10/0.55M | EVMS(.)1 10/0.55 0.55 | 0.75 71 1.6 59.6 56 | 52 | 455354 | - - - -
EVMS(.)1 11/0.55M EVMS(.)1 11/0.55 0.55 | 0.75 71 1.6 655 |[615| 57 | 50 |389]| - - - -
EVMS(.)1 12/0.55M | EVMS(.)1 12/0.55 0.55 | 0.75 71 1.6 715 67 |62.5(545|425| - - - -
EVMS(.)1 13/0.55M | EVMS(.)1 13/0.55 0.55 | 0.75 71 1.6 77.5 73 |67.5| 59 | 46 - - - -
EVMS(.)1 14/0.75M | EVMS(.)1 14/0.75 0.75 1 80 1.6 835 |785| 73 |635(49.5| - - - -
EVMS(.)1 16/0.75M | EVMS(.)1 16/0.75 0.75 1 80 1.6 955 |89.5| 83 |725|56.5| - - - -
EVMS(.)1 18/1.1M EVMS(.)1 18/1.1 1.1 1.5 80 1.6 107 101 [93.5| 82 [63.5( - - - -
EVMS(.)1 20/1.1M EVMS(.)1 20/1.1 1.1 1.5 80 1.6 119 112 |1 104 | 91 71 - - - -
EVMS(.)1 22/1.1M EVMS(.)1 22/1.1 1.1 1.5 80 1.6 131 123 | 114 | 100 | 78 - - - -
EVMS(.)1 24/1.1M EVMS(.)1 24/1.1 1.1 1.5 80 1.6 143 1351 125 | 109 | 85 - - - -
EVMS(.)1 26/1.1M EVMS(.)1 26/1.1 1.1 1.5 80 1.6 155 146 | 135 | 118 | 92 - - - -
EVMS(.)1 27/1.5M EVMS(.)1 27/1.5 15 2 90 2.5 161 1511 140 | 123 [95.5| - - - -
EVMS(.)1 29/1.5M EVMS(.)1 29/1.5 1.5 2 90 2.5 173 163 | 151 | 132 | 103 - - - -
EVMS(.)1 32/1.5M EVMS(.)1 32/1.5 1.5 2 90 25 191 179 | 166 | 145 | 113 - - - -
EVMS(.)1 34/1.5M EVMS(.)1 34/1.5 15 2 90 2.5 203 191 | 177 | 155 | 120 - - - -
EVMS(.)1 37/2.2M EVMS(.)1 37/2.2 2.2 3 90 2.5 221 207 | 192 | 168 | 131 - - - -
EVMS(,)1 39/2.2M EVMS(.)1 39/2.2 2.2 3 90 2.5 232 219 | 203 | 177 | 138 | - - - -
EVMS(.)3 2/0.37M EVMS(.)3 2/0.37 0.37 | 05 71 1.6 14.7 - 14.1113.6[12.9(109]| 8.3 - -
EVMS(.)3 3/0.37M EVMS(.)3 3/0.37 0.37 | 0.5 71 1.6 221 - 2111204 (194 (164 [125] - -
EVMS(.)3 4/0.37M EVMS(.)3 4/0.37 0.37 | 05 71 1.6 29.5 - |2821271[258(219]|16.7| - -
EVMS(.)3 5/0.55M EVMS(.)3 5/0.55 0.55 | 0.75 71 1.6 36.9 - [35.2]133.9(323[274)1209| - -
EVMS(.)3 6/0.55M EVMS(.)3 6/0.55 0.55 | 0.75 71 1.6 442 - |42.5)140.5)|38.8]32.8| 25 - -
EVMS(.)3 7/0.75M EVMS(.)3 7/0.75 0.75 1 80 1.6 515 - 4951475 45 (383|292 - -
EVMS(.)3 8/0.75M EVMS(.)3 8/0.75 0.75 1 80 1.6 59 - |56.5|545[51.5| 44 |334| - -
EVMS(.)3 9/1.1M EVMS(.)3 9/1.1 1.1 1.5 80 1.6 66.5 - |63.5] 61 58 | 49 |376| - -
EVMS(.)3 10/1.1M EVMS(.)3 10/1.1 1.1 15 80 1.6 73.5 - |705]| 68 [64.5[545]|415| - -
EVMS(.)3 11/1.1M EVMS(.)3 11/1.1 1.1 1.5 80 1.6 81 - |775(745| 71 60 | 46 - -
EVMS(.)3 12/1.1M EVMS(.)3 12/1.1 1.1 15 80 1.6 88.5 - |[845|815(77.5[(655| 50 - -
EVMS(.)3 13/1.5M EVMS(.)3 13/1.5 1.5 2 90 1.6 96 - |915] 88 | 84 | 71 | 545 - -
EVMS(.)3 14/1.5M EVMS(.)3 14/1.5 1.5 2 90 1.6 103 - |985[ 95 |90.5[76.5|585| - -
EVMS(.)3 15/1.5M EVMS(.)3 15/1.5 1.5 2 90 1.6 111 - 106 | 102 | 97 | 82 [62.5| - -
EVMS(.)3 16/1.5M EVMS(.)3 16/1.5 1.5 2 90 1.6 118 - 113 | 109 | 103 [ 87.5| 67 - -
EVMS(.)3 17/2.2M EVMS(.)3 17/2.2 2.2 3 90 1.6 125 - 120 [ 115 | 110 93 | ™1 - -
EVMS(.)3 19/2.2M EVMS(.)3 19/2.2 2.2 3 90 1.6 140 - 134 | 129 | 123 | 104 [ 79.5| - -
EVMS(.)3 21/2.2M EVMS(.)3 21/2.2 2.2 3 90 1.6 155 - 148 | 142 | 136 | 115 | 87.5| - -
EVMS(.)3 23/2.2M EVMS(.)3 23/2.2 2.2 3 90 2.5 170 - 162 | 156 | 149 | 126 | 96 - -
EVMS(.)3 24/2.2M EVMS(.)3 24/2.2 2.2 3 90 2.5 177 - 169 | 163 | 155 | 131 | 100 - -

- EVMS(.)3 25/3.0 3.0 4 100 25 184 - 176 | 170 | 161 | 137 | 104 - -

- EVMS(.)3 27/3.0 3.0 4 100 2.5 199 - 190 | 183 | 174 | 148 | 113 - -

- EVMS(.)3 29/3.0 3.0 4 100 2.5 214 - 204 | 197 | 187 | 159 | 121 - -

- EVMS(.)3 31/3.0 3.0 4 100 25 229 - |1 218210 | 200 | 170 | 129 | - -

- EVMS(.)3 33/3.0 3.0 4 100 2.5 243 - 232 | 224 | 213 | 181 | 138 - -
EVMS(.)5 2/0.37M EVMS(.)5 2/0.37 0.37 | 0.5 71 1.6 19 - - - 18 | 17.1] 16 [13.8] 10.2
EVMS(.)5 3/0.55M EVMS(.)5 3/0.55 0.55 | 0.7 71 1.6 28.4 - - - |26.9[25.6/23.9]|20.7[15.3
EVMS(.)5 4/0.75M EVMS(.)5 4/0.75 0.75 1 80 1.6 37.9 - - - |359134.1[319]|276[204
EVMS(.)5 5/1.1M EVMS(.)5 5/1.1 1.1 1.5 80 1.6 47.5 - - - 45 [42.5(39.9|34.5[255
EVMS(.)5 6/1.5M EVMS(.)5 6/1.5 15 2 90 1.6 57 - - - 54 51 48 [41.5]30.6
EVMS(.)5 7/1.5M EVMS(.)5 7/1.5 1.5 2 90 1.6 66.5 - - - 63 | 59.5| 56 |48.5(35.7
EVMS(.)5 8/2.2M EVMS(.)5 8/2.2 2.2 3 90 1.6 76 - - - 72 68 | 64 55 | 41
EVMS(.)5 9/2.2M EVMS(.)5 9/2.2 2.2 3 90 1.6 85.5 - - - 81 77 72 | 62 | 46
EVMS(.)5 10/2.2M EVMS(.)5 10/2.2 2.2 3 90 1.6 95 - - - 90 [85.5]| 80 | 69 51
EVMS(.)5 11/2.2M | EVMS(.)5 11/2.2 22 | 3 90 1.6 104 - - - |985] 94 [875] 76 | 56

- EVMS(.)5 12/3.0 3.0 4 100 1.6 114 - - - 108 | 102 [ 95.5| 83 | 61

- EVMS(.)5 13/3.0 3.0 4 100 1.6 123 - - - | 117 ] 111 [ 104 [ 89.5|66.5

- EVMS(.)5 14/3.0 3.0 4 100 1.6 133 - - - 126 | 119 | 112 | 96.5[71.5

- EVMS(.)5 15/3.0 3.0 4 100 1.6 142 - - - 135 | 128 | 120 | 104 | 76.5

- EVMS(.)5 17/4.0 4.0 5.5 112 1.6 161 - - - 153 | 145 | 136 | 117 | 86.5

- EVMS(.)5 19/4.0 4.0 5.5 112 2.5 180 - - - 1711 162 | 152 | 131 | 97

- EVMS(.)5 20/4.0 4.0 5.5 112 25 190 - - - 179 | 171 | 160 | 138 | 102

- EVMS(.)5 23/5.5 55 7.5 132 25 218 - - - 206 | 196 | 183 | 159 | 117

- EVMS(.)5 25/5.5 5.5 7.5 132 2.5 237 - - - 224 | 213 | 199 | 173 | 127

- EVMS(.)5 27/5.5 5.5 7.5 132 25 256 - - - 242 | 230 | 215 | 186 | 138

1.6 MPa=16 bar;

2.5 MPa=25 bar

E2ARA



EVMS 50

VERTICAL MULTISTAGE PUMPS

SELECTION CHART

EVMS(.)10-15-20
: Q=Capacity
Pump Type Motor Maximum )
working |/min 0| 75 | 100 | 130 | 150 | 180 | 200 | 250 | 300 | 350 | 400 | 450 | 480
kW HP Size pressure |m3h 0| 4.5 6 7.8 9 [10.8] 12 15 18 | 21 24 | 27 | 288
Single phase Three phase [MPa] H=Total manometric head in metres
EVMS(.)10 2/0.75M | EVMS(.)10 2/0.75 0.75 1 80 1.6 21.8 [21.2[20.8[19.7]18.7[16.6 |14.9] 9.8 | - - - - -
EVMS(.)10 3/1.5M EVMS(.)10 3/1.5 1.5 2 90 1.6 327 |31.8(31.21296(28.0(249(224(14.7| - - - - -
EVMS(.)10 4/2.2M EVMS(.)10 4/2.2 2.2 3 90 1.6 43.6  [424141.7[39.5|37.3|33.2(29.8[19.6 - - - - -
EVMS(.)10 5/2.2M EVMS(.)10 5/2.2 2.2 3 90 1.6 54.5 53 | 52 [49.3146.7[(415|373|246( - - - - -
EVMS(.)10 6/2.2M EVMS(.)10 6/2.2 2.2 3 90 1.6 655 |63.5(625| 59 | 56 | 50 | 45 [29.5| - - - - -
- EVMS(.)10 7/3.0 3.0 4 100 1.6 76.5 74 73 | 69 |655| 58 | 52 [344| - - - - -
- EVMS(.)10 8/3.0 3.0 4 100 1.6 870 |845(835| 79 [745]66.5(59.5(39.3| - - - - -
- EVMS(.)10 9/4.0 4.0 5.5 112 1.6 98 955|93.5| 89 | 84 |745| 67 | 44 - - - - -
- EVMS(.)10 10/4.0 40 | 55 112 1.6 109 106 | 104 |1 98.5|93.5| 83 | 74.5| 49 - - - - -
10 - EVMS(.)10 11/4.0 4.0 5.5 112 1.6 120 116 [ 115 109 [ 103 | 91.5| 82 | 54 - - - - -
- EVMS(.)10 12/5.5 5.5 75 132 1.6 131 127 | 125 | 118 | 112 | 99.5|89.5| 59 - - - - -
- EVMS(.)10 14/5.5 5.5 7.5 132 1.6 153 148 | 146 | 138 | 131 [ 116 | 104 | 68.5[ - - - - -
- EVMS(.)10 15/5.5 5.5 7.5 132 1.6 163 159 | 156 | 148 | 140 | 124 | 112 | 73.5| - - - - -
- EVMS(.)10 16/7.5 7.5 10 132 25 174 169 | 167 | 158 | 149 | 133 | 119 | 78.5| - - - - -
- EVMS(.)10 18/7.5 7.5 10 132 2.5 196 191|187 [ 178 | 168 | 149 | 134 | 88.5( - - - - -
- EVMS(.)10 19/7.5 7.5 10 132 25 207 201|198 | 188 | 177 | 158 | 142 [ 93.5| - - - - -
- EVMS(.)10 21/7.5 7.5 10 132 25 229 222 | 219 | 207 [ 196 | 174 [ 157 | 103 | - - - - -
- EVMS(.)10 22/11 11 15 160 2.5 240 233 | 229 | 217 | 205 | 183 | 164 | 108 - - - - -
- EVMS(.)10 23/11 11 15 160 2.5 251 244 | 240 | 227 | 215 | 191 | 172 | 113 - - - - -
EVMS(.)15 1/1.1M EVMS(.)15 1/1.1 1.1 15 80 1.6 14.9 - - 13.3| 13 [124(12.1]108| 95 | 75 | 4.8 - -
EVMS(.)15 2/2.2M EVMS(.)15 2/2.2 2.2 3 90 1.6 29.5 - - |275]1271| 26 |26.1]124.9(23.11204[16.8| - -
- EVMS(.)15 3/3.0 3.0 4 100 1.6 44.5 - - |41.5]40.5)|39.7|39.1|37.3|34.7|30.6|25.2| - -
- EVMS(.)15 4/4.0 4.0 5.5 112 1.6 59 - - 55 [54.5| 53 | 52 50 |46.5( 41 |336 - -
- EVMS(.)15 5/5.5 5.5 7.5 132 1.6 73.5 - - 69 | 68 | 66 | 65 | 62 58 51 42 - -
- EVMS(.)15 6/5.5 55 | 75 132 1.6 88.5 - - |825)815|795| 78 |745]|69.5| 61 |50.5| - -
- EVMS(.)157/7.5 7.5 10 132 1.6 103 - - [96.5]195.0[(92.5]| 91 87 | 81 [71.5]|585| - -
15 - EVMS(.)15 8/7.5 75 10 132 1.6 118 - - 110 | 109 | 106 | 104 | 99.5[92.5|81.5| 67 - -
- EVMS(.)15 9/11 11 15 160 1.6 133 - - 124 | 122 | 119 | 117 | 112 | 104 | 92 |755| - -
- EVMS(.)15 10/11 11 15 160 1.6 147 - - 138 | 136 | 132 | 130 | 124 | 116 | 102 | 84 - -
- EVMS(.)15 11/11 11 15 160 1.6 162 - - 151 | 149 | 146 [ 143 | 137 [ 127 | 112|925 - -
- EVMS(.)15 12/11 11 15 160 2.5 177 - - 165 | 163 | 159 | 156 | 149 | 139 | 122 [ 101 - -
- EVMS(.)15 13/11 11 15 160 2.5 191 - - 179 |1 176 | 172 | 169 | 162 | 150 | 133 | 109 - -
- EVMS(.)15 15/15 15 20 160 25 221 - - 206 | 203 | 199 | 195 | 187 | 174 | 153 | 126 - -
- EVMS()15 17/15 15 20 160 2.5 250 - - 234 | 231 | 225 | 221 | 211 | 197 | 173 | 143 - -
EVMS(.)20 1/1.5M EVMS(.)20 1/1.5 1.5 2 90 1.6 17.2 - - - - [143]139[128|11.3[ 96 | 73 | 43 [ 24
- EVMS(.)20 2/3.0 3.0 4 100 1.6 33.7 - - - - 130.4[299[289|27.7[26.2|23.6[19.9|174
- EVMS(.)20 3/4.0 4.0 5.5 112 1.6 50.5 - - - - 46 | 45 | 43.4(41.6]|39.2|35.5]|29.9(26.2
- EVMS(.)20 4/5.5 55 | 75 132 1.6 67.4 - - - - 61 | 60 | 58 | 55.4|52.3| 47.3| 39.8| 34.9
- EVMS(.)20 5/7.5 7.5 10 132 1.6 84.2 - - - - | 76.0| 75 [72.3|69.3[654| 59 [49.8]|43.6
- EVMS(.)20 6/7.5 7.5 10 132 1.6 101 - - - - 1912 90 | 87 | 83.1|78.5]| 71 [59.7|52.3
- EVMS(.)20 7/11 11 15 160 1.6 118 - - - - 106 | 105 | 101 | 97 [91.5)|82.7| 70 [61.1
20 - EVMS(.)20 8/11 11 15 160 1.6 135 - - - - 122 | 120 | 116 | 111 [ 105 | 95 | 80 | 70
- EVMS(.)20 9/11 11 15 160 1.6 152 - - - - 137 [ 135 | 130 [ 125 | 118 | 106 [89.6| 79
- EVMS(.)20 10/11 " 15 160 2.5 168 - - - - 152 | 150 | 145 | 139 | 131 | 118 | 100 | 87
- EVMS(.)20 11/15 15 20 160 25 185 - - - - 167 | 165 | 159 | 152 | 144 | 130 | 110 | 96
- EVMS(.)20 12/15 15 20 160 25 202 - - - - 182 [ 179 | 173 [ 166 | 157 | 142 | 119 | 105
- EVMS(.)20 13/15 15 20 160 2.5 219 - - - - 198 | 194 | 188 | 180 | 170 | 154 | 129 | 113
- EVMS(.)20 14/18.5 18.5 25 160 2.5 244 - - - - 221|217 | 210 [ 202 | 191 [ 175 | 149 | 130
- EVMS(.)20 15/18.5 18.5 25 160 25 262 - - - - 237 | 232 | 225 | 216 | 205 | 186 | 159 | 141
- EVMS(.)20 16/18.5 18.5 25 160 2.5 279 - - - - 252 | 248 | 240 | 231 | 218 | 199 | 170 | 150
1.6 MPa=16 bar; 2.5 MPa=25 bar
13

E2ARA



50 Hz

VERTICAL MULTISTAGE PUMPS

EVMS

14

SELECTION CHART

EVMS(.)32-45
Maximum Q=Capacity
Pump Type Motor working | I/min 0| 200 | 350 | 500 | 600 | 700 | 800 900 | 1000
kW  HP  Size | pressure | m¥n 0] 12 | 21 | 30 | 36 | 42 | 48 54 | 60
Three phase (MPa) H=Total manometric head in metres
EVMS()32 1-1/1.5 15 2 90 1.6 17.1 15 12.7 | 10.8 8.3 5.3 - - -
EVMS(.)32 1-0/2.2 22 3 90 16 20.2 188 | 160 | 13.2 11 7.9 - - -
EVMS(.)32 2-2/3.0 3.0 4 100 1.6 34.5 31 285 | 235 | 192 | 134 - - -
EVMS(.)32 2-0/4.0 40 | 55 | 112 1.6 43 40 348 | 285 | 238 | 17.9 - - -
EVMS()32 3-2/5.5 55 | 75 | 132 1.6 57 52 46 378 | 314 | 233 - - -
EVMS(.)32 3-0/5.5 55 | 75 | 132 1.6 63 59 52 43 364 | 282 - - -
EVMS(.)32 4-2/7.5 75 10 | 132 16 76.5 71 62 525 44 33.3 - - -
EVMS(.)32 4-0/7.5 75 10 | 132 1.6 83.5 79 70 58 495 | 387 - - -
EVMS()32 5-2/11 11 15 | 160 1.6 100 925 80 665 | 555 | 415 - - -
EVMS()32 5-0/11 11 15 | 160 16 105 99 87 725 62 48 - - -
EVMS(.)32 6-2/11 11 15 | 160 1.6 119 111 98 81 68 51.5 - - -
EVMS(.)32 6-0/11 11 15 | 160 1.6 127 121 104 | 865 74 57.5 - - -
EVMS()32 7-2/15 15 20 | 160 1.6 139 130 115 955 | 80.5 62 - - -
a7 | EVMS(.)32 7-0/15 15 20 | 160 1.6 146 138 122 101 86 67 - - -
EVMS()32 8-2/15 15 20 | 160 25 160 150 132 110 935 | 725 - - -
EVMS(.)32 8-0/15 15 20 | 160 25 167 159 140 17 995 | 795 - - -
EVMS()32 9-2/15 15 20 | 160 25 182 171 151 127 108 | 835 - - -
EVMS()32 9-1/15 15 20 160 25 187 178 157 132 115 90 - - -
EVMS()3210-2/18.5 | 185 [ 25 160 25 210 198 176 147 126 100 - - -
EVMS()3210-0/18.5 | 185 | 25 160 25 216 206 180 151 130 104 - - -
EVMS()3211-2/185 | 185 | 25 160 25 233 213 194 163 139 112 - - -
EVMS()3211-1/185 | 185 [ 25 160 25 239 222 201 169 145 116 - - -
EVMS(.)32 12-2/22 22 30 180 3.0 253 238 210 178 153 121 - - -
EVMS(.)32 12-0/22 22 30 180 3.0 255 243 215 182 155 126 - - -
EVMS(.)32 13-2/22 22 30 180 3.0 272 257 229 195 167 136 - - -
EVMS(.)32 13-0/22 22 30 180 3.0 278 264 235 200 171 139 - - -
EVMS(.)32 14-2/30 30 40 | 200 3.0 290 276 247 212 182 144 - - -
EVMS()32 14-0/30 30 40 | 200 3.0 300 285 253 218 186 152 - - -
EVMS())45 1-1/3.0 3.0 4 100 16 25.1 B 19.2 | 183 | 175 | 159 | 13.9 11 7.9
EVMS(.)45 1-0/4.0 40 | 55 | 112 1.6 28.4 - 247 | 232 | 221 | 204 | 186 | 167 | 143
EVMS(.)45 2-2/5.5 55 | 75 | 132 1.6 485 - 385 | 368 | 35.1 31.7 | 277 | 226 | 16.3
EVMS(.)45 2-0/7.5 7.5 10 | 132 1.6 54 - 49 465 | 445 | 415 | 381 | 336 | 287
EVMS(.)45 3-2/11 11 15 | 160 1.6 77 - 63 60 57 52 465 | 394 | 308
EVMS(.)45 3-0/11 11 15 | 160 1.6 81 - 73 69.5 67 63 575 | 505 44
EVMS(.)45 4-2/15 15 20 | 160 1.6 102 - 87.5 83 795 | 735 66 56 45
EVMS(.)45 4-0/15 15 20 | 160 1.6 105 - 97.5 92 895 | 835 | 765 | 685 58
EVMS()45 5-2/18.5 185 | 25 [ 160 1.6 130 - 116 110 106 99.5 90 79 65
EVMS(.)45 5-0/18.5 185 | 25 | 160 1.6 134 - 125 119 116 109 101 905 | 785
EVMS(.)45 6-2/22 22 30 | 180 25 158 - 140 133 130 122 111 98 81.5
EVMS(.)45 6-0/22 22 30 | 180 2.5 162 - 151 143 139 132 121 109 94
45 [ EVMS(.)45 7-2/30 30 40 | 200 25 181 - 165 157 153 144 131 116 98.5
EVMS(.)45 7-0/30 30 40 | 200 25 186 - 175 167 162 154 142 127 110
EVMS(.)45 8-2/30 30 40 [ 200 2.5 209 - 192 183 178 169 154 137 17
EVMS(.)45 8-0/30 30 40 | 200 25 212 - 200 191 187 177 163 147 127
EVMS(.)45 9-2/30 30 40 | 200 25 233 - 214 205 200 189 173 153 129
EVMS(.)45 9-0/37 37 50 | 200 25 243 - 229 218 214 203 188 170 147
EVMS(.)45 10-2/37 37 50 | 200 35 269 - 246 233 227 213 196 174 147
EVMS(.)45 10-0/37 37 50 | 200 35 269 - 253 243 236 225 208 188 163
EVMS(.)45 11-2/45 45 60 | 225 35 298 - 272 258 250 236 217 193 164
EVMS()45 11-0/45 45 60 | 225 35 296 - 279 267 260 248 229 207 179
EVMS(.)45 12-2/45 45 60 | 225 35 326 - 297 282 275 259 238 213 181
EVMS(.)45 12-0/45 45 60 | 225 35 323 - 304 292 284 270 250 225 196
EVMS()45 13-2/45 45 60 | 225 35 342 - 320 307 300 286 264 234 203

1.6 MPa=16 bar;

2.5 MPa=25 bar;

3.0 MPa=30 bar;

3.5 MPa=35 bar

E2ARA



EVM S VERTICAL MULTISTAGE PUMPS 90 Hz

SELECTION CHART

EVMS(.)64-90
Maximum Q=Capacity
Pump Type Motor working | /min 0] 500 | 600 | 750 | 1000 | 1200 | 1230 | 1330 | 1400 | 1600 | 1800 | 2000
kW  HP  Size | pressure | m¥h 0| 30 | 36 | 45 | 60 | 72 | 74 | 8 | 8 | 9 | 108 | 120
Three phase (MPa) H=Total manometric head in metres
EVMS(.)64 1-1/4.0 40 | 55 | 112 16 21,4 19 187 | 17,7 | 144 | 104 9,5 6,4 5,9 - - -
EVMS(.)64 1-0/5.5 55 | 75 | 132 16 332 | 268 | 269 | 251 21 17,8 | 171 | 143 14 - - -
EVMS(.)64 2-2/7.5 75 10 | 132 16 425 | 37,7 | 376 | 364 | 306 | 229 | 221 | 207 | 128 - - -
EVMS(.)64 2-1/11 11 15 | 160 16 53 465 | 455 | 435 | 359 | 299 | 286 | 233 | 229 - - -
EVMS(.)64 2-0/15 15 20 | 160 16 64 54 51,5 | 495 | 425 | 368 | 354 30 29,7 - - -
EVMS(.)64 3-2/15 15 20 | 160 16 74 64,5 64 615 | 515 42 384 | 353 31 - - -
EVMS(.)64 3-1/15 15 20 | 160 16 845 | 745 72 685 | 585 49 475 41 37,9 - - -
EVMS()64 3-0/185 | 185 | 25 | 160 16 98 83,5 79 75 69 56,5 | 545 | 475 48 - - -
EVMS(.)64 4-2/185 | 185 | 25 | 160 16 108 95,5 94 90 775 65 625 | 535 | 495 - - -
EVMS(.)64 4-1/22 22 30 | 180 16 116 103 97 95 85 71,5 70 66 56,5 - - -
EVMS(.)64 4-0/22 22 30 | 180 16 126 108 101 100 91 80 775 68 64,5 - - -
64 | EVMS(.)64 5-2/30 30 40 | 200 16 136 120 116 114 99 85 825 | 715 | 665 - - -
EVMS(.)64 5-1/30 30 40 | 200 1.6 146 130 123 120 107 | 935 90 76,5 76 - - -
EVMS(.)64 5-0/30 30 40 | 200 16 156 137 129 126 115 101 98 87 82 - - -
EVMS(.)64 6-2/30 30 40 | 200 25 164 144 142 138 124 107 103 86 86 - - -
EVMS(.)64 6-1/37 37 50 | 200 2.5 172 154 147 143 131 114 110 | 945 | 925 - - -
EVMS(.)64 6-0/37 37 50 | 200 2.5 183 162 156 151 141 125 122 106 100 - - -
EVMS(.)64 7-2/37 37 50 | 200 2.5 196 173 170 165 148 129 127 113 104 - - -
EVMS(.)64 7-1/37 37 50 | 200 2.5 209 185 176 171 157 138 134 117 11 - - -
EVMS(.)64 7-0/45 45 60 | 225 2.5 225 198 194 185 166 146 142 123 119 - - -
EVMS(.)64 8-2/45 45 60 | 225 2.5 237 210 205 198 176 152 147 132 122 - - -
EVMS(.)64 8-1/45 45 60 | 225 2.5 248 220 211 204 183 158 154 139 130 - - -
EVMS(.)64 8-0/45 45 60 | 225 2.5 258 226 | 218 211 191 167 163 147 138 - B -
EVMS(,)90 1-1/5.5 55 | 7.5 | 132 16 27.2 - 5 212 | 194 | 179 | 176 | 165 | 156 | 123 | 84 45
EVMS(.)90 1-0/7.5 75 10 | 132 16 35.1 - - 282 | 257 | 232 | 228 | 217 | 209 | 185 | 14.9 11
EVMS(.)90 2-2/11 11 15 | 160 16 52.5 - - 45 41 381 | 377 | 358 34 276 | 213 | 145
EVMS(.)90 2-0/15 15 20 | 160 16 69 - - 58.5 53 49 485 | 464 45 40 346 | 285
EVMS(.)903-2/185 | 185 | 25 | 160 16 88 - - 76 71 66 65 61 59 52 43 325
90 | EVMS()90 3-0/22 22 30 | 180 16 104 - - 20 83 77 76 73 71 64 56 48
EVMS(.)90 4-2/30 30 40 | 200 16 120 - - 106 98 92 91 88 85 74 64 51
EVMS(.)90 4-0/30 30 40 | 200 16 136 - - 119 110 103 102 | 985 | 955 87 77 66
EVMS(.)90 5-2/37 37 50 | 200 2.5 161 - - 140 131 122 120 114 [IE] 99.5 85 70
EVMS(.)90 5-0/37 37 50 | 200 25 177 - - 155 144 135 133 127 124 112 100 86
EVMS(.)90 6-2/45 45 60 | 225 25 188 - - 163 154 146 144 140 135 120 105 87
EVMS(.)90 6-0/45 45 60 | 225 2.5 213 - - 188 176 164 162 155 150 136 121 104
1.6 MPa=16 bar; 2.5 MPa=25 bar
15

E2ARA



50 Hz VERTICAL MULTISTAGE PUMPS EVM S

PERFORMANCE CURVE
EVMS(L)1
L S S S N S SO S SO S S
0 I [ [ I [ I I I I
Imp.g.p.m. 2 3 4 5 6 7 8 9 10
240 I
p H ———39/22kw H
Ml |l bl 37/ T ~_ u
It — 700
20 200 4——= 34/1.]5Jw \\\
=——32/15kw | \\'\ \§
ey S — 600
R e s AR
6 160 =——27/15kw \\\\'\\ ~~ SN &\
AL R T~ TN \ — 500
i \
== 24/1.|1_kﬂ _ |\§\ \
= —22/11kw T — \\\
|— e+ \
27 120 ==20/1.1kw = \\\\\\\\ [ 400
Fe1shiw | '\\\§§§
———16/075kw__ L '\'\\\\\
T T e—— ] \ [~ 300
08 — 80 ——— %g;&is KW _ L \\\ \
o 0.55kW _ || —_
———12/0155kw___:_'\>\\ \
- 11 osskw L _:I\_\\\\\
. 10/0‘55 W l\\\\\\' — 200
= 8/ussaw L[ e e e T
———8Jos7kw — || \\\\§
04— 4 ——= 7;0.3_7 kw — \\
———6/037kw —— | | [ |
——1—5/0.37 kW +=t=t=f=t—jbr :Q§ — 100
= 4/037kw —— — - — -\Q
———3/037kW — — — |- — — I ——
=== 2/037kW == —
0 - 0 T 0
0 5 10 15 20 25 30 35 40 45 Ql/min]
[ [ I I I I I I I I I I I I I 1
0 0.2 04 06 08 1.0 12 1.4 1.6 1.8 2.0 22 24 26 28 Qm*h]
0.07 60
P2 n
[kw] — | (%]
0.05 e 40
% T
0.03 kW/stage 20
0 0
0 5 10 15 20 25 30 35 40 45 Qll/min]
NPSH " NpsH
mo, | ]
/
1 ’//
0 0
0 5 10 15 20 25 30 35 40 45 Qi/min]
Test standard: 1SO 9906:2012 - Grade 3B
16

_—J=-TET



EVMS

VERTICAL MULTISTAGE PUMPS

Dimensional sketch

TECHNICAL DATA

EVMS(L)1

Oval flange (N)
c
e
o«
pu g
)
RS
|
A | 3B
v
o
= 2 holes M10
- . G3B
_ f ~
sl BRI &
100 4 holes @12 8‘
149 180
160 210

Victaulic® connection (V)

DIN Loose round flange (LF) - DN25
4 holes 14
T (- I
J =TT | :\3\@
e [H il e N\
o CRSIREE O
e ; = | I
‘ 100 ‘ 18 4holes 912 m 285 8‘
149 ‘ 180
250 210
DIN Round flange (F) - DN25
4 holes @14
1] |
B | 1 S —— L
<« | i Il eT1s 1312 ?7%’
o : ESEIE N
100 16 4 holes @12 m’ 285
149 ‘ 180
250 210

4 holes @12 ‘

Dimensions [mm] and Weights [Kg]

ovatfange ooge et L) | Vit comecton )

1~ 3~ Weight Weight Weight

Weight Pump+ Weight Pump+ Weight Pump+

Prmax kW Sze A |B C [ B C | H2 H2+4H3 | Pump  Motor H2 | H2+H3 |Pump  Motor H2 | H2+H3 | Pump  Motor
Pump Type [MPa] (] 1~ 3~ 1~ 3~ 1~ 3~ 1~ 3~ 1~ 3~ 1~ 3~
EVMS(L)1 2/0.37 16 [037| 71 | 105 | 139 124 | 141 119 250 | 466 452 9.7 (182 16.2| 275 | 491 477 | 104 (189 16.9| 250 | 466 452 9.7 (182 16.2
EVMS(L)1 3/0.37 16 [037| 71 | 105 | 139 124|141 119 271 (487 473 | 10.2 |18,7 16.7| 296 | 512 498 | 10.9 |19,4 17.4| 271 | 487 473 | 10.2 | 18,7 16.7
EVMS(L)1 4/0.37 16 (037 71 105 [139 124 (141 119 | 292 | 508 494 106 |[19,1 17.1| 317 [ 533 519 113 (198 17.8| 292 | 508 494 ( 106 |19,1 171
EVMS(L)1 5/0.37 16 [037| 71 | 105 | 139 124|141 119 313 (529 515 | 11.1 |19,6 17.6| 338 | 554 540 | 11.8 |20,3 183| 313 | 529 515| 11.1 |19,6 17.6
EVMS(L)1 6/0.37 16 [037| 71 | 105 | 139 124|141 119 334 [ 550 536 115 |20,0 18.0| 359 [ 575 561 122 |20,7 18.7| 334 [ 550 536 11.5 |20,0 18.0
EVMS(L)1 7/0.37 16 (037 71 105 [ 139 124 (141 119 | 355 | 571 557 119 |204 184 | 380 | 596 582 | 126 |211 19.1| 355 | 571 557 | 11.9 [204 184
EVMS(L)1 8/0.37 16 (037 71 105 [139 124 (141 119 | 376 | 592 578 124 (20,9 189 401 [ 617 603 | 13.1 |21,6 19.6| 376 (592 578 | 124 |20,9 18.9
EVMS(L)1 9/0.55 16 [055| 71 | 105 | 139 124|141 119 397 (613 599 | 128 |21,4 19.8| 422 | 638 624 | 135 |22,1 20.5| 397 | 613 599 | 128 |21,4 19.8
EVMS(L)1 10/0.55 16 (055 71 105 [139 124 (141 119 | 418 [ 634 620 13.2 (21,8 20.2| 443 [ 659 645 139 |225 209| 418 (634 620 | 13.2 |21,8 20.2
EVMS(L)1 11/0.55 16 (055 71 105 [139 124 (141 119 | 439 | 655 641 13.7 [22,3 20.7| 464 | 680 666 | 144 [23,0 21.4| 439 | 655 641 13.7 22,3 20.7
EVMS(L)1 12/0.55 16 [055| 71 | 105 | 139 124|141 119 460 (676 662 | 14.4 |23,0 21.4| 485 | 701 687 | 151 |23,7 22.1| 460 | 676 662 | 144 |23,0 214
EVMS(L)1 13/0.55 16 [055| 71 | 105 | 139 124 | 141 119 | 481 [ 697 683 15 23,6 22.0( 506 | 722 708 | 15.7 (24,3 22.7| 481 | 697 683 15 (23,6 22.0
EVMS(L)1 14/0.75 16 [0.75| 80 | 120 [ 157 150 (141 102 | 512 | 744 745 16.7 |27,5 242 | 537 [ 769 770 | 16.4 |28,2 249| 512 (744 745| 157 |27,5 242
EVMS(L)1 16/0.75 16 [0.75| 80 | 120 | 157 150|141 102 | 554 (786 787 | 16.7 |28,5 252| 579 | 811 812 | 174 |29,2 259| 554 | 786 787 | 16.7 |28,5 25.2
EVMS(L)1 18/1.1 16 | 1.1 | 80 | 120 | 157 149|141 102 596 | 828 840 | 17.8 |29,8 27.8| 621 | 853 865 | 18.5 |30,5 28.5| 596 | 828 840 | 17.8 |29,8 27.8
EVMS(L)1 20/1.1 1.6 1180 | 120 | 157 149|141 102 | 638 | 870 882 188 30,8 288 | 663 [ 895 907 | 19.5 |31,56 29.5| 638 [ 870 882 | 18.8 |30,8 28.8
EVMS(L)1 22/1.1 16 | 1.1 | 80 | 120 | 157 149|141 102 | 680 [ 912 924 20 32,0 30.0( 705 | 937 949 | 20.7 (32,7 30.7| 680 | 912 924 20 32,0 30.0
EVMS(L)1 24/1.1 16 | 1.1 | 80 | 120 | 157 149|141 102 | 722 [ 954 966 21 33,0 31.0( 747 | 979 991 | 21.7 (33,7 31.7| 722 | 954 966 21 33,0 31.0
EVMS(L)1 26/1.1 1.6 11|80 | 120 | 157 149|141 102 | 764 | 996 1008 22 34,0 32.0| 789 [1021 1033 22.7 |34,7 32.7| 764 [ 996 1008 22 34,0 32.0
EVMS(L)1 27/1.5 25 1590 | 140 | 172 140|160 119 - - - - - - 820 |1098 1111| 23.1 |41,0 36.6 | 795 |1073 1086| 22.4 |[40,0 359
EVMS(L)1 29/1.5 25 | 15|90 | 140 (172 140 (160 119 - - - - - - 862 | 1140 1153| 24.1 |42,0 37.6| 837 |1115 1128| 234 |41,0 36.9
EVMS(L)1 32/1.5 25 1.5 | 90 | 140 [172 140|160 119 - - - - - - 925 |1203 1216| 254 |43,0 38.9| 900 |1178 1191| 24.7 |42,0 38.2
EVMS(L)1 34/1.5 25 1590 [ 140 | 172 140|160 119 - - - - - - 967 |1245 1258| 26.3 |44,0 39.8 | 942 |1220 1233| 25.6 [43,0 39.1
EVMS(L)1 37/2.2 25 | 22|90 | 140 (172 140 (160 119 - - - - - - 1030 (1346 1321 27.7 |51,0 42.7| 1005 1321 1296| 27 50,0 42.0
EVMS(L)1 39/2.2 25 (22|90 | 140 |172 140|160 119 - - - - - - 1072 (1388 1363| 28.7 |52,0 43.7| 1047 |1363 1338| 28 51,0 43.0

1.6 MPa=16 bar;
- not available model

2.5 MPa=25 bar

17

E2ARA

50Hz



50 Hz

VERTICAL MULTISTAGE PUMPS

EVMS

43-3
52-1
44-1
43-7

18

SECTIONAL VIEW
EVMS(L)1

140

128-6
135-6
120-6

/

//;ﬁi

IANNANNANVANN

VA4

|
(AN
A\&ﬂ\w—//’

b

with Oval flange (N)

_—J=-TET



50 Hz

VERTICAL MULTISTAGE PUMPS

EVMS

PIPE CONNECTION
EVMS(L)1

I

A\
O\

with Round flange (F)

with Loose round flange (LF)

with Clamp connection (C)

with Victaulic® connection (V)

19

_—J=-TET



50 Hz

VERTICAL MULTISTAGE PUMPS

EVMS

SECTIONAL TABLE

EVMS(L)1

MATERIAL
N° PART NAME DIMENSIONS STANDARD
EVMS EVMSL
4 Casing cover EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
5-1 Suction casing EN 1.4301 (AISI 304) EN 1.4404 (AIS| 316L)
5-2 Intermediate casing EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
5-3 Intermediate casing with bearing EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
5-4 Discharge casing EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
6 Bottom casing EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
7 Outer casing EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
21 Impeller EN 1.4301 (AISI 304) EN 1.4404 (AIS| 316L)
31 Shaft EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
32-1 Adjuster key EN 1.4301 (AISI 304)
43-2 Shaft sleeve (intermediate) EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
43-3 Shaft sleeve (bearing) EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
43-5 Shaft sleeve (last stage) EN 1.4301 (AISI 304) EN 1.4404 (AIS| 316L)
43-7 Spacer EN 1.4301 (AISI 304) EN 1.4404 (AIS| 316L)
44-1 Shaft sleeve bearing Tungsten carbide
45 Flange holder EN 1.4301 (AISI 304)
46 Ring (mechanical seal) EN 1.4404 (AISI 316L)
47 Ring holder EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
5| mpetorn Namn | e s
52-1 Sleeve bearing Tungsten carbide
75 O-Ring (priming plug) EPDM / FPM 212.37x2.62 OR 3050
75-1 O-Ring (drainage plug) EPDM/FPM
107 Liner ring EN 1.4301 (AISI 304) + PPS | EN 1.4404 (AISI 316L) + PPS
11 Mechanical seal see pages 6-7
111-3 Mechanical seal seat EN 1.4308 (ASTM CF8) | EN 1.4408 (ASTM CF8M)
111-4 Seal holder EN 1.4301 (AISI 304)
111-5 Mechanical seal cartridge sleeve EN 1.4301 (AISI 304) | EN 1.4404 (AISI 316L)
115-1 O-Ring (outer casing) EPDM/ FPM 2129.54x5.34 OR 6945
115-3 O-Ring EPDM/ FPM
115-4 O-Ring (cartridge sleeve) EPDM/FPM 211.91x2.62 OR 4093
115-5 O-Ring (seal flange) EPDM / FPM 232.99x2.62 OR 4175
120-1 Tie-rod EN 1.4057 (AISI 431) M10
120-3 Screw (seal flange) A2-70 M4x10 I1ISO 4762
120-6 Screw (pump coupling) Galvanized steel M6x25 I1SO 4762
120-11 Screw (counterflange) A2-70
MEC 71-80 M6x20 ISO 4017
120-13 | Screw for motor Galvanized steel 8.8 strength class ISO 898/1
MEC 90 M8x20 I1SO 4017
128-1 Nut (tie rod) A2-70 M10 1SO 4032
128-5 Nut (tie rod) A2-70 M10 UNI 7474
128-6 Nut (aluminium coupling) MEC 71-80-90-100-112 Galvanized steel M6 1SO 4032
130-1 Set screw EN 1.4301 (AISI 304) M5x8 1SO 4026
130-2 Screw for coupling guard A2-70 M5x6 UNI 7687
131-1 Pin for shaft Carbon Steel D4x32 1SO 2338
135-1 Washer (tie rod) EN 1.4301 (AISI 304) 210.5x21x2 1SO 7089
135-6 Washer (aluminium coupling) up to 4.0 kW Carbon Steel 26
137-1 Impeller spacer EN 1.4301 (AISI 304) | EN 1.4404 (AISI 316L)
140 Coupling up to 4.0 kW Die cast Aluminium EN AB-AISI11Cu2 (Fe)
160 Base Die cast Aluminium EN AB-AISI11Cu2 (Fe)
162 Motor bracket Cast iron EN-GJL-250
212 Priming plug EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L) G 3/8
2121 Drainage plug EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L) G 3/8
212-2 Venting plug EN 1.4404 (AISI 316L)
flange type: N EN 1.4308 (ASTM CF8) EN 1.4408 (ASTM CF8M)
219 Counter flange
flange type: LF-F-V-C EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
245 Coupling guard EN 1.4301 (AISI 304)
2731 Washer (drainage plug) EN 1.4301 (AISI 304) | EN 1.4404 (AISI 316L)
615 Flange Nodular Cast Iron

20

E2ARA




50 Hz

VERTICAL MULTISTAGE PUMPS

EVMS

QUANTITY FOR MODEL

EVMS(L)1

N°

M3 [ 114 1115|1161 |1153°| 1154 | 1155

m

107

75 | 751

1

48

47

45 | 46

321 432 | 433 | 435 | 437 | 441

N°

3

2

7

52 | 53 | 54

10
10
1"
13
17
19
21
29

51

1
1
1
1
1
1
1
1
1
1
1
1
1
1
1

Pump Type

EVMS(L)1 2/0.37
EVMS(L)1 3/0.37
EVMS(L)1 4/0.37
EVMS(L)1 5/0.37
EVMS(L)1 6/0.37
EVMS(L)1 7/0.37
EVMS(L)1 8/0.37
EVMS(L)1 9/0.55
EVMS(L)1 10/0.55
EVMS(L)1 11/0.55
EVMS(L)1 12/0.55
EVMS(L)1 13/0.55
EVMS(L)1 14/0.75
EVMS(L)1 16/0.75
EVMS(L)1 18/1.1
EVMS(L)1 20/1.1
EVMS(L)1 22/1.1
EVMS(L)1 24/1.1
EVMS(L)1 26/1.1
EVMS(L)1 27/1.5
EVMS(L)1 29/1.5
EVMS(L)1 32/1.5
EVMS(L)1 34/1.5
EVMS(L)1 37/2.2
EVMS(L)1 39/2.2

Pump Type

(4 FNIEN oo oo fo] oo
©
mZZ oo NIRRT
FARIRS oo NI IR
WZZ NN NI IR
QU
I - |- ES N I I I R I
o~
[N RN | NI I
o~
o~
NG - |- ES S I I S R I
o~
G-~ |- |||+
8|~ - |- ES N S I S R I
SRR NN NI IR
(|- - |- B R
wm44 < |« AR AR AR AR AR AR AR
ICRE AR < | < CAR AR AR R
|| |« el el
o
ERARARS < | < EAR AR AR R
KS|o|m o|m o|o|o|ofo|lo[o|o
M44 < |« < ||| e[| |
M44 < | < AR AR AR AR AR AR AR
Q||+ <[+ CARARARARAR AR AR
el
m44 <+ [ < SARARARARERERERS
M44 <~ [« SARARARARARAR AR
M44 < |« AR AR AR AR AR AR
M44 < |« < ||| e[| |
SARARS < |« ||| |||+
wlnlw|lv|w|w
SISISISISISIS|Q|eee NN |e(e(ele|N i
2lzieie|zeie|zig|ielelelgle|gls =S ls s s =g s s |9y
olelelg(g|e(2|e|s|<c|q|as|F|o|d|S|q|TF|s|IR|FIJ|F|IX|
J|o|[F|v|d|R|s|a|[=|F ||| |=|[=|RIQI|ISI|S[S|>|®
p=q D=y g g Doy BN RS RS RN BN BN BN By Doy BN By By g Dy D g Doy D2 D 1S
2222222222222 222222222222
D00 | DD |0 | D00 | DD 0|0 |B|R|R|D|D|0|D|D|0|D
S22 2(2(2(s|s|2|22|12|2(2(2(2(=2|1=2|12|=2=2(=2]|2]2
S|I>|1>>1>1>1=> =221 =2 =222z =2120=2=222=222]2
L|L|L|h|o|L|b|o|L|b|o|o|D|o|o|D|o|D|D|L|D|D||D|o

* only for Oval flange (N)

** only for Loose round flange (LF)

21




50 Hz VERTICAL MULTISTAGE PUMPS EVM S

PERFORMANCE CURVE
EVMSG1
LA S N SN S S SO S N B S
0 | I [ [ [ | | | |
Imp.g.p.m. 2 3 4 5 6 7 8 9 10
240 I
p H ———39/22kw H
Ml |l bl 37/ T ~_ u
~RoL| — 700
20 200 ——= 34/1.]5Jw \\\
=——32/15kw \\\\'\ \§
ey S — 600
R e Sy AR SNe
6 160 =——27/15kw [T m e ~~ SN &\
AL R T~ TN \ — 500
i \
——=24w '\\\
==—22/11kw \\
129 el b0 /1[kw - \\\\\\\\ | 400
Fe1shiw | '\\\§§§
———16/075kw__ L '\'\\\\\
T T e—— ] \ [~ 300
087 80 4——= %g;&is W _ L \\\ \
o 0.55kW _ || —_
———12/0155kw___:_'\>\\ \
- 11 osskw L _:I\_\\\\\
. 10/0‘55 W l\\\\\\' — 200
= 8/ussaw L[ e e e T
———8/o37kw — L _| | '\\\\%‘
04— 4 ——= 7;0.3_7 kw — \\
———6/037kw — — |l
——1—5/0.37 kW +=t=t=f=t—jbr :Q§ — 100
= 4/037kw —— — - — -\Q
= ——3/037kW —— — - ——_— . ———
=== 2/037kW == —
0 - 0 T 0
0 5 10 15 20 25 30 35 40 45 Qimin]
[ I I I I I I I I I I I I I I 1
0 0.2 04 06 08 1.0 12 1.4 1.6 1.8 2.0 22 24 26 28 Qm*h]
0.07 60
P, n
[kw] — | (%]
0.05 e 40
% T
0.03 kW/stage 20
0 0
0 5 10 15 20 25 30 35 40 45 Qll/min]
NPSH " NpsH
mo, | ]
/
1 ’//
0 0
0 5 10 15 20 25 30 35 40 45 Qll/min]
Test standard: 1SO 9906:2012 - Grade 3B
22

_—J=-TET



EVM S VERTICAL MULTISTAGE PUMPS 90 Hz

TECHNICAL DATA
EVMSG1

Dimensional sketch

Oval flange (N) DIN Round flange (F) - DN25
c c
‘.74_}& | B
|
2 ?
& &
& &
A | cas A | | cas
ﬁ ﬁ
N o
- 2 holes M10 T 4 holes @14
—
i - =
« L P ,ﬁ « ] w [/
. - [, = \
N S ‘ d ® h)
L] [ i
o
—%» M*% s 100 18 Am:lesmzm 085 5
160 ‘ 210 149 180
250 210
Dimensions [mm] and Weights [Kg]
Motor Oval flange (N) Round flange (F)
1~ 3~ Weight Weight
Weight Pump + Weight Pump +
Pmax kW Size A B C|(B C H2 H2+H3 Pump Motor H2 H2+H3 Pump Motor
Pump Type [MPa] %] 1~ 3~ 1~ 3~ 1~ 3~ 1~ 3~
EVMSG1 2/0.37 16 |0.37| 71 | 105 |391 124 (141 119| 250 | 466 452 | 14 |22,5 205 275 | 491 477 | 174 |259 239
EVMSG1 3/0.37 16 [037| 71 | 105 [139 124|141 119 271 | 487 473 | 145 [23,0 21.0| 296 | 512 498 | 17.9 |264 244
EVMSG1 4/0.37 16 [037| 71 | 105 [139 124|141 119 292 | 508 494 | 14.9 |[234 214|317 [ 533 519 | 183 268 248
EVMSG1 5/0.37 16 [037| 71 | 105 [139 124|141 119 313 | 529 515 | 154 [239 219 338 | 554 540 | 188 27,3 253
EVMSG1 6/0.37 16 [037| 71 | 105 [139 124|141 119 334 | 550 536 | 15.8 |[24,3 223 | 359 | 575 561 | 192 27,7 257
EVMSG1 7/0.37 16 (037 71 | 105 [139 124|141 119 355 | 571 557 | 162 |247 227|380 | 596 582 | 19.6 28,1 26.1
EVMSG1 8/0.37 16 [037| 71 | 105 [139 124|141 119 376 | 592 578 | 167 [252 23.2| 401 | 617 603 | 201 |286 266
EVMSG1 9/0.55 16 |055| 71 | 105 139 124 (141 119| 397 | 613 599 | 17.1 |257 241 | 422 | 638 624 | 205 |29,1 27.5

EVMSG1 10/0.55 16 [055| 71 | 105 | 139 124 (141 119 | 418 | 634 620 175 | 26,1 245| 443 | 659 645 209 |295 279
EVMSG1 11/0.55 16 [0.55| 71 | 105 | 139 124 (141 119 | 439 | 655 641 18 26,6 250 | 464 | 680 666 214 |[30,0 284
EVMSG1 12/0.55 16 [055| 71 | 105 | 139 124 (141 119 | 460 | 676 662 18.7 | 27,3 257 | 485 | 701 687 221 30,7 2941
EVMSG1 13/0.55 16 [0.55| 71 105 | 139 124|141 119 481 | 697 683 193 | 279 263 | 506 | 722 708 227 [313 297
EVMSG1 14/0.75 16 [0.75| 80 | 120 | 157 150 (141 102 | 512 | 744 745 20 31,8 285 | 537 | 769 770 234 [352 319
EVMSG1 16/0.75 16 [0.75| 80 | 120 | 157 150 (141 102 | 554 | 786 787 21 32,8 295 | 579 | 811 812 244 |[36,2 329

EVMSG1 18/1.1 16 | 1.1 ] 80 | 120 | 157 149141 102 | 596 | 828 840 221 34,1 321 | 621 | 853 865 255 |375 355
EVMSG1 20/1.1 16 | 1.1 ] 80 | 120 | 157 149141 102 | 638 | 870 882 231 35,1 33.1 | 663 | 895 907 265 |385 365
EVMSG1 22/1.1 16 | 1.1 ] 80 | 120 | 157 149141 102| 680 | 912 924 243 [363 343 | 705 [ 937 949 277 39,7 377
EVMSG1 24/1.1 16 | 1.1 | 80 | 120 | 157 149141 102| 722 | 954 966 253 37,3 353 | 747 | 979 991 28.7 | 40,7 387
EVMSG1 26/1.1 1.6 11| 80 | 120 | 157 149|141 102 | 764 | 996 1008 | 26.3 |38,3 36.3| 789 |1021 1033 29.7 (41,7 39.7
EVMSG1 27/1.5 25 15| 90 | 140 172 140|160 119 - - - - - - 820 | 1098 1111 30.1 48,0 436
EVMSG1 29/1.5 25 15| 90 [ 140 172 140|160 119 - - - - - - 862 | 1140 1153 31.1 50,0 44.6
EVMSG1 32/1.5 25 15| 90 | 140 | 172 140|160 119 - - - - - - 925 | 1203 1216 324 |[50,0 459
EVMSG1 34/1.5 25 15| 90 | 140 172 140|160 119 - - - - - - 967 | 1245 1258 33.3 |[51,0 46.8
EVMSG1 37/2.2 25 [ 22| 90 | 140 [172 140160 119 - - - - - - 1030 (1346 1321| 34.7 | 58,0 497
EVMSG1 39/2.2 25 [ 22| 90 | 140 [172 140160 119 - - - - - - 1072 (1388 1363 | 35.7 | 59,0 50.7

1.6 MPa=16 bair; 2.5 MPa=25 bar
- not available model

23

E2ARA



50 Hz VERTICAL MULTISTAGE PUMPS EVM S

SECTIONAL VIEW
EVMSG1

= ]
o= ((
\
/

J/
AN
\\_///

//fﬁi

43-3
52-1
44-1
43-7

A

oo O
M‘
N N N
N
DL RN
L 4

with Oval flange (N)

24

_—J=-TET



EVM S VERTICAL MULTISTAGE PUMPS 90 Hz

PIPE CONNECTION
EVMSG1

with Round flange (F)

25




50 Hz

VERTICAL MULTISTAGE PUMPS

EVMS

SECTIONAL TABLE
EVMSG1

N° PART NAME MQJ“EAZI(‘;L DIMENSIONS STANDARD
4 Casing cover EN 1.4301 (AISI 304)
5-1 Suction casing EN 1.4301 (AISI 304)
5-2 Intermediate casing EN 1.4301 (AISI 304)
5-3 Intermediate casing with bearing EN 1.4301 (AISI 304)
5-4 Discharge casing EN 1.4301 (AISI 304)
6 Bottom casing Cast Iron EN-GJL-250
7 Outer casing EN 1.4301 (AISI 304)
21 Impeller EN 1.4301 (AISI 304)
31 Shaft EN 1.4301 (AISI 304)
321 Adjuster key EN 1.4301 (AISI 304)
43-2 Shaft sleeve (intermediate) EN 1.4301 (AISI 304)
43-3 Shaft sleeve (bearing) EN 1.4301 (AISI 304)
43-5 Shaft sleeve (last stage) EN 1.4301 (AISI 304)
43-7 Spacer EN 1.4301 (AISI 304)
44-1 Shaft sleeve bearing Tungsten carbide
46 Ring (mechanical seal) EN 1.4404 (AISI 316L)
47 Ring holder EN 1.4404 (AISI 316L)
48 Impeller nut EN 1.4301 (AISI 304) with inox insert M8
52-1 Sleeve bearing Tungsten carbide
75 O-Ring (priming plug) EPDM / FPM @12.37x2.62 OR 3050
75-1 O-Ring (drainage plug) EPDM / FPM
107 Liner ring EN 1.4301 (AISI 304) + PPS
1M1 Mechanical seal see pages 6-7
111-3 Mechanical seal seat EN 1.4308 (ASTM CF8)
111-4 Seal holder EN 1.4301 (AISI 304)
111-5 Mechanical seal cartridge sleeve EN 1.4301 (AISI 304)
115-1 O-Ring (outer casing) EPDM / FPM ©129.54x5.34 OR 6945
115-4 O-Ring (cartridge sleeve) EPDM/ FPM @11.91x2.62 OR 4093
115-5 O-Ring (seal flange) EPDM/ FPM @32.99x2.62 OR 4175
"7 Flange gasket EPDM/ FPM
120-1 Tie-rod EN 1.4057 (AISI 431) M10
120-3 Screw (seal flange) A2-70 M4x10 1SO 4762
120-6 Screw (pump coupling) Galvanized steel M6x25 1ISO 4762
120-11 Screw (counterflange) A2-70 UNI 7323
120-13 | Screw for motor MEC 71-80 Galvanized steel 8.8 strength class ISO 898/1 M6x20 IS0 4017
MEC 90 M8x20 1SO 4017
128-1 Nut (tie rod) A2-70 M10 1SO 4032
128-6 Nut (aluminium coupling) MEC 71-80-90-100-112 Galvanized steel M6 1SO 4032
130-1 Set screw A2-70 M5x8 1SO 4026
130-2 Screw for coupling guard A2-70 M5x6 UNI 7687
131-1 Pin for shaft Carbon Steel D4x32 1SO 2338
135-1 Wasbher (tie rod) EN 1.4301 (AISI 304) 210.5x21x2 1SO 7089
135-6 Washer (aluminium coupling) up to 4.0 kW Carbon Steel 26
137-1 Impeller spacer EN 1.4301 (AISI 304)
140 Coupling up to 4.0 kW Die cast Aluminium EN AB-AISI11Cu2 (Fe)
162 Motor bracket Cast iron EN-GJL-250
212 Priming plug EN 1.4301 (AISI 304) G 3/8
2121 Drainage plug EN 1.4301 (AISI 304) G 3/8
212-2 Venting plug EN 1.4404 (AIS| 316L)
flange type: N Galvanized steel
219 Counter flange
flange type: F Cast Iron EN-GJL-250
245 Coupling guard EN 1.4301 (AISI 304)
2731 Washer (drainage plug) EN 1.4301 (AISI 304)

26

E2ARA



50 Hz

VERTICAL MULTISTAGE PUMPS

EVMS

QUANTITY FOR MODEL

EVMSG1

m m4444444444444444444444444
(===~~~ [~ [~ = [~ === [= - [= [ |-
— m2222222222222222222222222
Wla|a|lalafa|afoafoa|afo|o|ofo|o|ofo|ofofo]ofofoa]ofofo
& -~
FC Ry Ry iy )y iy iy py < R R0 Y KT KT RN Y Y RY R R VY Y R 0 ENT N B B B B B B
b Q
B e e e e e e R I I e B e e I I I I o e I I e I e Q||| e]|e]clelclclclclclclclclal=]=]=|<l<|<|<]|<]<
ha I
)
P e Rl e e e e e I e ol I o e e I e e e e e ol o e o -
ha U R R I A R I A R R A A S R A A I A R IR B A I I
o~
L e e e R e I I R e I I e e I I R I R I S e R
|- -~ - — |~
o — ||~ S N R R S e - ||| - |-
S lafot|olo|~|o|o|2|s|M2Te2|Q|Y|J|8|N|QS|3H]3 N -
m4444444444444444444444444 =R R I I (R IR IR IR R (R (R [y iy i i N e e I I e
[ I R R R e I I I Il I I e R R I R I I I I e e e e
m2222222222222222222222222
===~~~ ||| a|a|a|o|a|a|ofo|on]onfe
=]~ =<~ ==~ |||~ — ||+
@ |||l ]|c]|]]=|=|=|=|=|=|=|cc]|]|~]<]|=|=]|~|+- o - - - -
[ [ [ O e e e [ R [y [Ny [y Iy R ) ) ) I (R r ) U [P [ Y Y R RS O Y O ) O O DO O R (O [P [ [ ) )
Llafafafafa|aja|ofafafafafofo|o|o]o|ofofofo]o]o]o|o -
Q||| ||| v|v|s|| ||| v| ||| |||~
oNW1111111111122222222222222 >
= R R Rl B Rl R R B R R e e e i et o B B B Rl e R R I e
@///////////11111111111111 =
o
M///1///1///1///////////// Q||| ||| v x| <[] c|v|x|c]|]|+
m1111111111122222222222222 -
mN3333333333333333333333333
2y |o|lw[~|loc|o ©|o oln|o|lo|ln|o|o]|o|w A
%135791111122&23“344455667
— m4444444444444444444444444
P R Rl R ol ol Rl el Il Rl Bl Rl el I R et e el R R R Rl Rl Rl R =
S R Rl Rl Rl Rl Rl B R R B R e e e R B R R B R R B R B EERARARARARE R AR AR AR AR AR AR R AR R AR AN AR AR AR AR AR AR AR
- S R N R R R R = BN A R N = A A A S B ©
IO N Il I IR I Ll IS B IR IR I I I R ] hr
R R R R R R Rl e EIRARARARANARIRARARIRARARARIRARARIRISANIRARARARARER
[N R o Bl B R B R B B B B R e e e e e B R R R B R B —
W4444444444444444444//////
P S I R I R e R o R Rl I (R I B e I I I e I I I !
S Il ol ol ol o I I IR I I Il I o I I I I I R I (o R I R m4444444444444444444444444
VR R B Rl B A R B A A A R R T I I T I R I R I R I IR
2 U I I I I I I o A A A Bl Bl I I
- - ©
D~[~||o|v|o|o|~|o|a|2|2|F|2(2 (S [(2(J|R[J[L|R]5|3|8 -
Sl x|[v|s|v|<|v|<|s|x|s|v|s|v|c|v|c|T|v| ||| x]|<|+
ol e e e R e R e e R e e e R R e R e e e e e e e R -
~
JEPR [N (U R U P R [ O QN N I NI N I U U U U [ I QU (U U U SlNfafajafafalaafafo oo fa]ofafa|ofalsi~|~|~|~|~
) wlw|lw|w
NN N S N e N R I I I I N N R R R R R I I T T R Y Sl s snnln|e[3]8|8[8[R|E|<|[<|<|=|<|a|le|v|v|la|~
M il el I Il el Bl Il I R B R = A R 2 RN R R R B R F R R E B R Y P B B B R A B A A P P = I S N NN NN R R N RN
o (22122122 (2|L|3|=|d|a|F|s|(z|S|q|F|S|R|d|F|F (= 2 (gl1g]1glglglglg|g|s|=|a|la|F|s|zs|s|q|F|e|R|g|I|IFIN|a
> |Q|s|F|o|ld|R|s|s|=|=|~[=[~[3]|23||Q|J|Q|q|Q [ |[D || @ > [N[@|F|(v|d|R|s|s|~|=|[~[~[~|=||/|q|N|q|N|[N|[o|D|]|®
S |ololalololalololalalolalal|alalalalalala|alalo|ala 5 |olalelalalalelalalalalalalslalolalolalalalalals|a
Q [-% [CARORNORNORROR RO NOR RORROR ROR NORROR RO NO) [CRRORNOR NUN ROR O]
3 Dlo|lo|lo|la|o(a|R|e|a|R|2|@|o|a|o|(a|a|e|a|lR|a|lala|d £ olo|lo|lo|o|la|lo|o|o|o|lo|la|ld|o|o|lo|o|2|o|o|la|lala|la|a
S [S|S|S2|2|2|=2=|2|2|2|=|12|12|1=(=(2(2(=|2|2|12(2(2(2]2 S (222222222122 (=(=|=|2|2|S|2|2|2(2(2(2|2|2
g (SIS|ISISISISISISISISISISISsIsISISISISISISISS 55 g |S|Is|Is|IS|s|s|s(s(s(s|s s s|s|s|Is|s|s|s|s(s|ss|s|s
LL|o|o|o|o|b|b|b|b|b|o|b|o|L|D|D|D|b|L|L|LD|L|L|L Db ||| o|D|U|jb|ju|jb))Lfl

* only for Oval flange (N)

27




50 Hz

EVMS

VERTICAL MULTISTAGE PUMPS

[MPa]

24 —

2.0 —

0.8 —

04 —

P2
kW]

NPSH
[m]

28

PERFORMANCE CURVE
EVMS(L)3
.S.g.pm. 4 6 8 10 12 14 16 18 20 22
o USepm, | | | | | | | | | I
0 I I | I I I I I I
Imp.g.p.m. 4 6 8 10 12 14 16 18
280
— 900
H H
[m] [ft
240 __“‘-33/3.0kw§\ — 800
I~ 31/30mw_ \\
I~ = —-29/30kw \\\ — 700
T —
200 ———— E— \
=27/30kw o ~
——— \
[~ ——-25/30kw __ _ o \ — 600
_____24/2.2“1,\_/\ -‘\\ﬂ\\ \
——-23/22kw T4 \
160 [ 1== ﬂ\\\\ \ NS
m——-2l22w_ | \Q\ N \ — 500
T —
F——-19/22kw - \\Q\XQ
—
\ \
120 _:%12;:; :a ----- \\\\\ &\Q — 400
__—-15/1.5k\%v _::::-—i\\ \ \\
———-14/15xw . | —u\\\ \
13w :-\Q%\\
m——12/11 k\{v ————— H\\\k\ \ _300
80 —===11/111W ——e— = \\\\\ \\1-
———-10/11 [y —— q_\\\\ \§
m——9/11w, —— _.:\\\§\|
= ——8/07s kv‘( ————— \§§\§ — 200
m=—=T/orsKW ———— \\\§§
0 ——— -2;0'55 W === §§§=
-——5/osskw —— ——— —_—
[ dlosry ===== —— T — 100
m——3/037wW ————— \\;
———-2/037kw -———— —
0 T 0
0 10 20 30 40 50 60 70 80 Q[l/min]
[ I T T | T | I I I | 1
0 05 1 15 2 25 3 35 4 45 5 Qime/h]
0.16 70
n
R 50 [0/01
0.12 —
% /
30
0.08 kW/stage
0.04 0
0 10 20 30 40 50 60 70 80 Q[l/min]
10
NPSH
- U
//
1 ——
0 0
0 10 20 30 40 50 60 70 80 Q[l/min]

Test standard: ISO 9906:2012 - Grade 3B

_—J=-TET



EVM S VERTICAL MULTISTAGE PUMPS 90 Hz

TECHNICAL DATA
EVMS(L)3

Dimensional sketch

Oval flange (N) DIN Loose round flange (LF) - DN25 Victaulic® connection (V)
Cc
4 holes @14
- Lt
| | = r—
g =l i B— — ~
- 0
o ol m i jalz
2k —+— Nl
100 ‘ 18 4holes @12 ‘ @85
149 180
250 210
DIN Round flange (F) - DN25 Clamp connection (C)
¢ 4 holes @14
T ]
b | | | — y‘ k:@ G3/8
N i i — —
G3/8 - |~ I '775‘@. % § %{ - i:é
b 2 ; — = |
1 fa i — A T
4 holes @12
g‘ 100 6 anoesot2 || | oo SN =
149 180
250 210
Dimensions [mm] and Weights [Kg]
Loose round flange (LF) Victaulic® connection (V)
Motor Oval flange (N) Round flange (F) Clamp connection (C)
1~ 3~ Weight Weight Weight
Weight Pump + Weight Pump + Weight Pump +
Pmax kW Size A B Cc B Cc H2 H2+H3 | Pump Motor H2 H2+H3 | Pump  Motor H2 H2+H3 | Pump Motor
Pump Type [MPa] [%] 1~ 3~ 1~ 3~ 1~ 3~ 1~ 3~ 1~ 3~ 1~ 3~

EVMS(L)3 2/0.37 1.6 [037| 71 | 105 (139 124 | 141 119 | 250 | 466 452 | 9.7 182 16.2| 275 (491 477 | 105 |19,0 17.0| 250 | 466 452 | 9.7 (182 16.2
EVMS(L)3 3/0.37 16 [037| 71 | 105 (139 124 | 141 119 | 271 | 487 473 | 101 |18,6 16.6| 296 | 512 498 | 109 | 19,4 17.4| 271 | 487 473 | 10.2 [18,7 16.7
EVMS(L)3 4/0.37 16 [037| 71 | 105 [ 139 124 | 141 119 | 292 | 508 494 | 106 |19,1 17.1| 317 533 519 11.3 [19,8 17.8| 292 | 508 494 | 106 (19,1 17.1
EVMS(L)3 5/0.55 16 [055| 71 | 105 [ 139 124 | 141 119 | 313 | 529 515 1 19,6 18.0| 338 | 554 540 | 11.8 (204 188 313 (529 515| 11.1 |19,7 18.1
EVMS(L)3 6/0.55 16 [055| 71 | 105 (139 124 | 141 119 | 334 | 550 536 | 11.4 |20,0 184 359 575 561 | 122 |20,8 19.2| 334 | 550 536 | 11.5 [20,1 185
EVMS(L)3 7/0.75 16 [0.75| 80 | 120 [ 157 150 | 141 102 | 365 | 597 598 | 124 |242 209 390 (622 623 | 13.1 |249 21.6| 365 | 597 598 | 124 [242 20.9
EVMS(L)3 8/0.75 16 [0.75| 80 | 120 [ 157 150 | 141 102 | 386 | 618 619 | 128 |246 213| 411 (643 644 | 136 |254 221| 386 | 618 619 | 129 [247 214
EVMS(L)3 9/1.1 16 [ 1.1 ] 80 | 120 [ 157 149 | 141 102 | 407 | 639 651 | 13.2 [252 23.2| 432 [ 664 676 14 26,0 24.0| 407 | 639 651 | 13.3 [253 233
EVMS(L)3 10/1.1 16 [ 1.1 ] 80 | 120 (157 149 | 141 102 | 428 | 660 672 | 13.7 |257 23.7| 453 (685 697 | 145 |26,5 24.5| 428 | 660 672 | 13.7 [257 23.7
EVMS(L)3 11/1.1 16 [ 1.1 ] 80 | 120 [ 157 149 | 141 102 | 449 | 681 693 | 141 |26,1 24.1| 474 (706 718 | 149 |26,9 24.9| 449 | 681 693 | 142 (262 242
EVMS(L)3 12/1.1 16 [ 1.1 ] 80 | 120 (157 149 | 141 102 | 470 | 702 714 | 146 |266 246 495 (727 739 | 154 |27,4 254| 470 | 702 714 | 146 [266 24.6
EVMS(L)3 13/1.5 16 [ 15|90 | 140 (172 140|160 119 | 501 | 779 792 | 153 |33,0 28.8| 526 | 804 817 | 16.1 |34,0 29.6| 501 | 779 792 | 153 [33,0 28.8
EVMS(L)3 14/1.5 16 [ 15|90 | 140 (172 140 | 160 119 | 522 | 800 813 | 15.7 |34,0 29.2| 547 (825 838 | 16.5 |34,0 30.0| 522 | 800 813 | 158 [34,0 29.3
EVMS(L)3 15/1.5 16 [ 1.5 | 90 | 140 [ 172 140 | 160 119 | 543 | 821 834 | 16.2 [34,0 29.7| 568 | 846 859 17 350 30.5| 543 | 821 834 | 16.3 [34,0 29.8
EVMS(L)3 16/1.5 16 [ 15|90 | 140 [ 172 140 | 160 119 | 564 | 842 855 | 17.3 [350 30.8| 589 | 867 880 18 [36,0 31.5| 564 | 842 855 | 17.3 [350 30.8
EVMS(L)3 17/2.2 16 [ 22|90 | 140 (172 140 | 160 119 | 585 | 901 876 | 17.7 |42,0 32.7| 610 (926 901 | 185 |42,0 33.5| 585 | 901 876 | 17.7 [42,0 32.7
EVMS(L)3 19/2.2 16 [ 22|90 | 140 (172 140 | 160 119 | 627 | 943 918 | 18.7 |44,0 33.7| 652 (968 943 | 195 |44,0 345| 627 | 943 918 | 18.7 [44,0 337
EVMS(L)3 21/2.2 16 [ 22|90 | 140 (172 140 | 160 119 | 669 | 985 960 | 19.6 |44,0 34.6| 694 (1010 985 | 20.4 |44,0 354 | 669 | 985 960 | 19.6 [44,0 34.6

(L)

(L)

(L)

(

(

(

(

EVMS(L)3 23/2.2 25 (22|90 | 140 | 172 140 | 160 119 - - - - - - 736 (1052 1027| 21.4 |450 36.4| 711 |1027 1002| 20.6 [450 356
EVMS(L)3 24/2.2 25 | 22|90 | 140 (172 140 [ 160 119 - - - - - - 757 |1073 1048 21.8 [46,0 36.8( 732 (1048 1023 21.1 |46,0 36.1
EVMS(L)3 25/3.0 25 | 3.0 (100 160 - - [ 176 123 - - - - - - 788 - 1130| 224 - 444|763 - 105| 21.7 - 437
EVMS(L)3 27/3.0 25 | 3.0 (100 160 - - [ 176 123 - - - - - - 830 - 172| 234 - 454/ 805 - 1147 226 - 446
EVMS(L)3 29/3.0 25 | 3.0 |100| 160 - - [ 176 128 - - - - - - 872 - 1214 243 - 46.3| 847 - 1189 236 - 456

EVMS(L)3 31/3.0 25 | 3.0 (100 160 - - [ 176 123 - - - - - - 914 - 1256 253 - 47.3| 889 - 1231 246 - 466
EVMS(L)3 33/3.0 25 | 3.0 (100 160 - - [ 176 123 - - - - - - 956 - 1298 26.1 - 481 931 - 1273| 254 - 474

1.6 MPa=16 bair; 2.5 MPa=25 bar
- not available model

29

E2ARA



50 Hz

VERTICAL MULTISTAGE PUMPS

EVMS

43-3
52-1
44-1
43-7

30

SECTIONAL VIEW
EVMS(L)3

140

128-6
135-6
120-6

/

//;ﬁi

IANNANNANVANN

VA4

|
(AN
A\&ﬂ\w—//’

b

with Oval flange (N)

_—J=-TET



50 Hz

VERTICAL MULTISTAGE PUMPS

EVMS

PIPE CONNECTION
EVMS(L)3

with Round flange (F)

with Loose round flange (LF)

with Clamp connection (C)

with Victaulic® connection (V)

31

_—J=-TET



50 Hz

VERTICAL MULTISTAGE PUMPS

EVMS

SECTIONAL TABLE

EVMS(L)3

MATERIAL
N° PART NAME DIMENSIONS STANDARD
EVMS EVMSL
4 Casing cover EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
5-1 Suction casing EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
5-2 Intermediate casing EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
5-3 Intermediate casing with bearing EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
5-4 Discharge casing EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
6 Bottom casing EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
7 Outer casing EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
21 Impeller EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
31 Shaft EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
32-1 Adjuster key EN 1.4301 (AISI 304)
43-2 Shaft sleeve (intermediate) EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
43-3 Shaft sleeve (bearing) EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
43-5 Shaft sleeve (last stage) EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
43-7 Spacer EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
44-1 Shaft sleeve bearing Tungsten carbide
45 Flange holder EN 1.4301 (AISI 304)
46 Ring (mechanical seal) EN 1.4404 (AISI 316L)
47 Ring holder EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
5| mparna N e 20 N e i e
52-1 Sleeve bearing Tungsten carbide
75 O-Ring (priming plug) EPDM / FPM @12.37x2.62 OR 3050
75-1 O-Ring (drainage plug) EPDM / FPM
107 Liner ring EN 1.4301 (AISI 304) + PPS | EN 1.4404 (AISI 316L) + PPS
11 Mechanical seal see pages 6-7
111-3 Mechanical seal seat EN 1.4308 (ASTM CF8) | EN 1.4408 (ASTM CF8M)
111-4 Seal holder EN 1.4301 (AISI 304)
111-5 Mechanical seal cartridge sleeve EN 1.4301 (AISI 304) | EN 1.4404 (AISI 316L)
115-1 O-Ring (outer casing) EPDM/ FPM ©129.54x5.34 OR 6945
115-3 O-Ring EPDM/ FPM
115-4 O-Ring (cartridge sleeve) EPDM/ FPM 211.91x2.62 OR 4093
115-5 O-Ring (seal flange) EPDM / FPM @32.99x2.62 OR 4175
120-1 Tie-rod EN 1.4057 (AISI 431) M10
120-3 Screw (seal flange) A2-70 M4x10 1ISO 4762
120-6 Screw (pump coupling) Galvanized steel M6x25 1SO 4762
120-11 | Screw (counterflange) A2-70
MEC 71-80 M6x20 1SO 4017
120-13 | Screw for motor Galvanized steel 8.8 strength class ISO 898/1
MEC 90-100 M8x20 1SO 4017
128-1 Nut (tie rod) A2-70 M10 1SO 4032
128-5 Nut (tie rod) A2-70 M10 UNI 7474
128-6 Nut (aluminium coupling) MEC 71-80-90-100-112 Galvanized steel M6 1SO 4032
130-1 Set screw EN 1.4301 (AISI 304) M5x8 1SO 4026
130-2 Screw for coupling guard A2-70 M5x6 UNI 7687
131-1 Pin for shaft Carbon Steel D4x32 1SO 2338
135-1 Washer (tie rod) EN 1.4301 (AISI 304) @10.5x21x2 1SO 7089
135-6 Washer (aluminium coupling) up to 4.0 kW Carbon Steel 6
137-1 Impeller spacer EN 1.4301 (AISI 304) | EN 1.4404 (AISI 316L)
140 Coupling up to 4.0 kW Die cast Aluminium EN AB-AISI11Cu2 (Fe)
160 Base Die cast Aluminium EN AB-AISI11Cu2 (Fe)
162 Motor bracket Cast iron EN-GJL-250
212 Priming plug EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L) G3/8
2121 Drainage plug EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L) G3/8
212-2 Venting plug EN 1.4404 (AISI 316L)
flange type: N EN 1.4308 (ASTM CF8) EN 1.4408 (ASTM CF8M)
219 Counter flange
flange type: LF-F-V-C EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
245 Coupling guard EN 1.4301 (AISI 304)
2731 Washer (drainage plug) EN 1.4301 (AISI 304) | EN 1.4404 (AISI 316L)
615 Flange Nodular Cast Iron

32

E2ARA




50 Hz

VERTICAL MULTISTAGE PUMPS

EVMS

QUANTITY FOR MODEL

EVMS(L)3

N°

M3 (114 1115|1161 |1153°| 1154 | 1155

m

107

615"

2731

245

2122 | 219°

224

212

75 | 751

-

48

47

45 | 46

321432 | 433 | 4365 | 437 | 441

N°

162

160

140

13741

1356

1351

13141

1302

13041

1286

3

2

7

52 | 53 | 54

22
24
26
28

30

51

1
1
1
1
1
1
1
1
1

1

1285

1206 | 120-11* 12013 | 1281

1203

120-1

Pump Type

EVMS(L)3 2/0.37
EVMS(L)3 3/0.37
EVMS(L)3 4/0.37
EVMS(L)3 5/0.55
EVMS(L)3 6/0.55
EVMS(L)3 7/0.75
EVMS(L)3 8/0.75
EVMS(L)3 9/1.1

EVMS(L)3 10/1.1
EVMS(L)3 11/1.1
EVMS(L)3 12/1.1
EVMS(L)3 13/1.5
EVMS(L)3 14/1.5
EVMS(L)3 15/1.5
EVMS(L)3 16/1.5
EVMS(L)3 17/2.2
EVMS(L)3 19/2.2
EVMS(L)3 21/2.2
EVMS(L)3 23/2.2
EVMS(L)3 24/2.2
EVMS(L)3 25/3.0
EVMS(L)3 27/3.0

EVMS(L)3 29/3.0

EVMS(L)3 31/3.0
EVMS(L)3 33/3.0

Pump Type

** only for Loose round flange (LF)

* only for Oval flange (N)

EVMS(L)3 2/0.37
EVMS(L)3 3/0.37
EVMS(L)3 4/0.37
EVMS(L)3 5/0.55
EVMS(L)3 6/0.55
EVMS(L)3 7/0.75
EVMS(L)3 8/0.75
EVMS(L)3 9/1.1

EVMS(L)3 10/1.1
EVMS(L)3 11/1.1
EVMS(L)3 12/1.1
EVMS(L)3 13/1.5
EVMS(L)3 14/1.5
EVMS(L)3 15/1.5
EVMS(L)3 16/1.5
EVMS(L)3 17/2.2
EVMS(L)3 19/2.2
EVMS(L)3 21/2.2
EVMS(L)3 23/2.2
EVMS(L)3 24/2.2
EVMS(L)3 25/3.0
EVMS(L)3 27/3.0
EVMS(L)3 29/3.0
EVMS(L)3 31/3.0
EVMS(L)3 33/3.0

33




50 Hz

VERTICAL MULTISTAGE PUMPS

EVMS

[MPa]

24 —

20 —

0.8 —

0.4 —

[kw]

NPSH
[m]

34

PERFORMANCE CURVE
EVMSG3
.S.g.p.m. 4 6 8 10 12 14 16 18 20 22
o Useem | | | | | | | | |
0 I I | [ I I I I
Imp.g.p.m. 4 6 8 10 12 14 16 18
280
— 900
H
[m]
240 = —==-33/30kw - — 800
__“'31/3.0kw\\ \\
[~ ——-29/30kw _ \\\\ "
00 9==="27/30kw — \'\\ ~
R ﬂ\\
[~ ——-25/30kw _ | 600
____24/2_2kws“‘~\|\\ \
m——-23/22kw T \
160 ]I_ I ﬁ\\ \ N\
m——-2l22kw_ | \\\ \ > \ — 500
T
F——-19/22kw - \\\\
T
— %
10— iéﬁ? :x _____ \\\\\ &\\\ 0
____15/1_5“%\/ :::::ﬂ\\ \\ \\
F——-14/150w . —'\Q\ \\
Ak (Rt S :\\Qk\\ 00
i 4% L —— \\ B
% ______11/1.”\{\/ __——_: ‘\\\kk \
T —— T
- :9/1*1 W —— — —'\\\\\§ — 200
8/0.75 W —— \\\\\.
m==T/o7skW ———— \\\§§:
w—= -S;o.ss KW —— = —— — \\\\\\.
[~ — 2/055kW — — — — — \:
——4/037kW ===== \EQ\, — 100
=——-3/037 kV\:/ ————— :::
———2/037kw -———— —
0 T 0
0 10 20 30 40 50 60 70 80 Q[l/min]
[ I I I | I | I I I I 1
0 05 1 15 2 25 3 35 4 45 5 Q[meh]
0.16 70
0.12 — 50
% /
0.08 30
kW/stage
0.04 0
0 10 20 30 40 50 60 70 80 Q[l/min]
10
//
/
0 0
0 10 20 30 40 50 60 70 80 Q[l/min]

Test standard: ISO 9906:2012 - Grade 3B

[ft

[%]

NPSH
Iff

_—J=-TET



EVMS

VERTICAL MULTISTAGE PUMPS

Dimensional sketch

TECHNICAL DATA

EVMSG3

Oval flange (N) DIN Round flange (F) - DN25
c c
e C e
? ‘ 2
& 3
& © ]
|
A | 3B A | | cas
- o
e 2holes M10 g 4 holes 014
\ ' : i
. || INAN JEAH e %\
g | Heol=iE 4
Bl 5 i e
"%»‘ 4 holes 012 & ‘ﬂ.‘ 18 4 holes @12 m 085 <
160 210 149 ‘ 180
250 210
Dimensions [mm] and Weights [Kg]
Motor Oval flange (N) Round flange (F)
1~ 3~ Weight Weight
Weight Pump + Weight Pump +
Pmax kW Size A B C|(B C H2 H2+H3 Pump Motor H2 H2+H3 Pump Motor
Pump Type [MPa] a 1~ 3~ 1~ 3~ 1~ 3~ 1~ 3~
EVMSG32/0.37 1.6 |037| 71 | 105 |139 124|141 119| 250 | 466 | 452 | 12.9 | 21,4 19.4 | 275 | 491 | 477 | 157 |[24,2 222
EVMSG33/0.37 16 [037| 71 | 105 [139 124|141 119 271 | 487 | 473 | 133 | 21,8 19.8| 296 | 512 | 498 | 16.1 [246 22.6
EVMSG34/0.37 1.6 |037| 71 | 105 |139 124|141 119| 292 | 508 | 494 | 13.8 |22,3 20.3| 317 | 533 [ 519 | 16.6 |[251 23.1
EVMSG35/0.55 1.6 |055| 71 | 105 |139 124|141 119| 313 [ 529 [ 515 [ 142 |22,8 212| 338 | 554 | 540 | 17 [256 24.0
EVMSG36/0.55 1.6 [055| 71 | 105 [139 124|141 119 334 | 550 | 536 | 14.7 | 233 21.7| 359 | 575 | 561 | 17.4 [26,0 24.4
EVMSG37/0.75 1.6 |0.75| 80 | 120 | 157 150|141 102| 365 | 597 | 598 | 156 |27,4 24.1| 390 | 622 | 623 | 183 |[30,1 26.8
EVMSG38/0.75 1.6 |0.75| 80 | 120 | 157 150|141 102| 386 | 618 [ 619 [ 16 |27,8 24.5| 411 | 643 | 644 | 188 [306 27.3
EVMSG3 9/1.1 16 | 11| 80 | 120 |157 149 (141 102| 407 | 639 | 651 | 164 |284 264 | 432 | 664 | 676 | 192 |312 29.2
EVMSG3 10/1.1 16 | 11| 80 | 120 |157 149 (141 102| 428 | 660 | 672 | 16.9 |28,9 269 | 453 | 685 | 697 | 19.7 |31,7 29.7
EVMSG3 11/1.1 16 | 1.1 | 80 | 120 |157 149 (141 102| 449 | 681 | 693 | 17.3 | 29,3 273 | 474 | 706 | 718 | 201 |321 30.1
EVMSG3 12/1.1 16 | 11| 80 | 120 |157 149 (141 102| 470 | 702 | 714 | 17.8 |298 278 | 495 | 727 | 739 | 206 |326 30.6
EVMSG313/1.5 16 | 15| 90 | 140 [172 140|160 119 501 | 779 | 792 | 185 |40,0 32.0| 526 | 804 | 817 | 21.3 [40,0 34.8
EVMSG314/1.5 16 | 15| 90 | 140 |172 140|160 119 | 522 | 800 [ 813 | 19 |40,0 325| 547 | 825 | 838 | 21.7 [40,0 35.2
EVMSG315/1.5 16 | 15| 90 | 140 |172 140|160 119 | 543 | 821 [ 834 | 194 |40,0 329 | 568 | 846 | 859 | 222 [40,0 357
EVMSG316/1.5 1.6 | 15| 90 | 140 [172 140|160 119 | 564 | 842 | 855 | 20.5 | 41,0 34.0| 589 | 867 | 880 | 232 [41,0 36.7
EVMSG317/22 16 | 22| 90 | 140 |172 140|160 119 | 585 | 901 | 876 | 20.9 |47,0 359 | 610 | 926 | 901 | 23.7 [47,0 387
EVMSG319/22 16 | 22| 90 | 140 |172 140|160 119 | 627 | 943 [ 918 | 219 |480 369 | 652 | 968 | 943 | 24.7 [480 397
EVMSG321/2.2 16 |22 | 90 | 140 [172 140|160 119 669 | 985 | 960 | 22.8 | 49,0 37.8 | 694 |1010| 985 | 256 [49,0 40.6
EVMSG32322 25 | 22| 90 | 140 |172 140|160 19| - - - - - - | 736 |1052[1027| 26.6 |[500 41.6
EVMSG324/22 25 | 22| 90 | 140 |172 140|160 119 - - : : - - | 757 | 1073|1048 27 |[51,0 420
EVMSG325/30 25 | 30| 100| 160 | - - |176 123 - - - - - - | 788 | - |[1130| 276 - 496
EVMSG327/3.0 25 30| 100 | 160 | - - |176 123| - - - - - - |80 | - |1172| 286 - 506
EVMSG329/30 25 |30 100 | 160 | - - |176 123 - - - - - - | 872 | - [1214| 206 - 516
EVMSG331/30 25 | 30| 100 | 160 | - - |176 123 - - - - - - | 914 | - |[1256| 305 - 525
EVMSG333/30 25 |30 100| 160 | - - |176 123 - - - - - - | 956 | - |[1208| 31.3 - 533

1.6 MPa=16 bar;
- not available model

2.5 MPa=25 bar

35

E2ARA

50 Hz



50 Hz

VERTICAL MULTISTAGE PUMPS

EVMS

36

43-3
52-1
44-1
437

SECTIONAL VIEW

EVMSG3

140
X/ 128-6
39-1 135-6
162 N i 120-6
—\ | | ¥ e
131-1 — /|
130-2 %i Ny _
130-1 I S
120-3 - ‘ Nad
245 | 111-4
128-1 JQ : ) 120-13
136-1 N % 111-3
2122 \ N y 115-5
4 L 111-5
111
46
&I‘\ 47
~ T
u\\\\ .
;\\\s 5-2
5-3
o
N 7 21
T 5-1
e / 107
S i 75-1
6 4 i 273-1
48 - 212-1
120-11 ‘
17
219

with Oval flange (N)

_—J=-TET



EVM S VERTICAL MULTISTAGE PUMPS 90 Hz

PIPE CONNECTION
EVMSG3

with Round flange (F)

37




50 Hz

VERTICAL MULTISTAGE PUMPS

EVMS

SECTIONAL TABLE
EVMSG3

N° PART NAME MQJEF;I(?L DIMENSIONS STANDARD
4 Casing cover EN 1.4301 (AISI 304)
5-1 Suction casing EN 1.4301 (AISI 304)
5-2 Intermediate casing EN 1.4301 (AISI 304)
5-3 Intermediate casing with bearing EN 1.4301 (AISI 304)
5-4 Discharge casing EN 1.4301 (AISI 304)
6 Bottom casing Cast Iron EN-GJL-250
7 Outer casing EN 1.4301 (AISI 304)
21 Impeller EN 1.4301 (AISI 304)
31 Shaft EN 1.4301 (AISI 304)
32-1 Adjuster key EN 1.4301 (AISI 304)
43-2 Shaft sleeve (intermediate) EN 1.4301 (AISI 304)
43-3 Shaft sleeve (bearing) EN 1.4301 (AISI 304)
43-5 Shaft sleeve (last stage) EN 1.4301 (AISI 304)
43-7 Spacer EN 1.4301 (AISI 304)
44-1 Shaft sleeve bearing Tungsten carbide
46 Ring (mechanical seal) EN 1.4404 (AISI 316L)
47 Ring holder EN 1.4404 (AISI 316L)
48 Impeller nut EN 1.4301 (AISI 304) with inox insert M8
52-1 Sleeve bearing Tungsten carbide
75 O-Ring (priming plug) EPDM /FPM @12.37x2.62 OR 3050
75-1 O-Ring (drainage plug) EPDM /FPM
107 Liner ring EN 1.4301 (AISI 304) + PPS
1M1 Mechanical seal see pages 6-7
111-3 Mechanical seal seat EN 1.4308 (ASTM CF8)
111-4 Seal holder EN 1.4301 (AISI 304)
111-5 Mechanical seal cartridge sleeve EN 1.4301 (AISI 304)
115-1 O-Ring (outer casing) EPDM / FPM ©2129.54x5.34 OR 6945
115-4 O-Ring (cartridge sleeve) EPDM /FPM @11.91x2.62 OR 4093
115-5 O-Ring (seal flange) EPDM /FPM 32.99x2.62 OR 4175
117 Flange gasket EPDM /FPM
120-1 Tie-rod EN 1.4057 (AISI 431) M10
120-3 Screw (seal flange) A2-70 M4x10 1SO 4762
120-6 Screw (pump coupling) Galvanized steel M6x25 1SO 4762
120-11 Screw (counterflange) A2-70
120-13 | Screw for motor MEC 71-80 Galvanized steel 8.8 strength class 1ISO 898/1 M6x20 IS0 4017
MEC 90-100 M8x20 1SO 4017
128-1 Nut (tie rod) A2-70 M10 1SO 4032
128-6 Nut (aluminium coupling) MEC 71-80-90-100-112 Galvanized steel M6 1SO 4032
130-1 Set screw EN 1.4301 (AISI 304) M5x8 1SO 4026
130-2 Screw for coupling guard A2-70 M5x6 UNI 7687
131-1 Pin for shaft Carbon Steel D4x32 1SO 2338
135-1 Washer (tie rod) EN 1.4301 (AISI 304) 210.5x21x2 1SO 7089
135-6 Washer (aluminium coupling) up to 4.0 kW Carbon Steel a6
137-1 Impeller spacer EN 1.4301 (AISI 304)
140 Coupling up to 4.0 kW Die cast Aluminium EN AB-AISI11Cu2 (Fe)
162 Motor bracket Cast iron EN-GJL-250
212 Priming plug EN 1.4301 (AISI 304) G 3/8
2121 Drainage plug EN 1.4301 (AISI 304) G 3/8
212-2 Venting plug EN 1.4404 (AISI 316L)
flange type: N Galvanized steel
219 Counter flange
flange type: F Cast Iron EN-GJL-250
245 Coupling guard EN 1.4301 (AISI 304)
2731 Washer (drainage plug) EN 1.4301 (AISI 304)

38

E2ARA



50Hz

VERTICAL MULTISTAGE PUMPS

EVMS

QUANTITY FOR MODEL

EVMSG3

m m4444444444444444444444444
. O N N Y () NN OO 11 I [y g ey iy Ry [ [ ) [ N i
— m2222222222222222222222222
ARM2222222222222222222222222
& ~|~
M1111111111111111111111111 QN[N [N NN NN NN N NN NN o NN il Bl el el
b Q
B e e e e e e e I I e I e e I I I I o e I I e I o Q||| e]|e]cleleclclclclclclclclal=]=]=|=l<|<|<]|<]<
ha I
) NNy Ry iy )y iy iy ey -
- N e e e e R R e R R e I e e e A R A N N I S
o~
L e e e R e I I R e I I e e I I R I R I S e R
o~
N |||~ R ||| - |-
Slajofv|w|o[~o|o|2(=|M 232N 2|3|Q[3|&QIN|Q[(3 & - - - T
m4444444444444444444444444 RN N IR IR IR (R [ (R [ [ () i () ) i e e N e e R R N
[ I R R R e I I I Il I I e R R I R I I I I e e e e
m2222222222222222222222222
P I I R I I R IR IR I IR Il XV [N N [N NSV RSV NSV (RN IRV (SN ISV SV VR Y
R |||~ R ||| - |-
=l e e I R I I e I I e I I e I I I I I I I I R I I bl - - - AN
[ [ [ O e e e [ R [y [Ny [y Iy R ) ) ) I (R r ) S [P [ Y Y R RS O Y O ) O O O O R (O [P [ [ ) )
%2222222222222222222222222 %4444 IR Y Y O
Ao I U A B A o B o I o R Al B B
oNW1111111111122222222222222 >
= R R Rl B Rl R R R R R e e e i et o B B Bl Rl e R R I e
@///////////11111111111111 =
o
M///1///1///1///1/1/////// Q||| ||| v x| |v|x|c]|]|+
|||~ |||~ |||~ |N|N|N|[N|N|[N|N[N[N|N[N[N[N|N ~
m mN3333333333333333333333333
N “(olvw(~rlo|c|2 (N[Ol A
%135791111122&%%%&%%&“4556
— m4444444444444444444444444
P R Rl R ol ol Rl el Il Rl Bl Rl el I R et e el R R R Rl Rl Rl R =
S R Rl Rl Rl Rl Rl B R R B R e e e R B R R B R R B R B || vt v| |||~ ]|+
- Ol |N|[O|IF|w|[OoIMN|D|-(O|F|OIN|D|=|® «©
a|ofs|olof~|ofo 2| (Y (2]|IT(2(L|=(2 by
N R I N R R N EIRANARARANARIRARARIRARARARIRARARIRIRANIRARARARARER
[N R o Bl B R B R B B B B R e e e e e B R R R B R B -
%444444444444444444///////
P R R R I S N R [y sy gy g iy R R I N I I !
M1111111111111111111111111 m4444444444444444444444444
||| |||~ || (NN |N[N|[N|N|N[N[N[N[NfNfNN
3 |- m4444444444444444444444444
Fl~|~||o|c|o|of~]|o|ao[2|S[=|N2T|2|RS|X|I[&Q|R(8 =
Sl x|w|s|v|<|v|<|s|x|s|v|s|v|c|v|c|T|v| ||| x]|<|+
ol e e e R e R e e R e e e R R e R e e e e e e e R -
«
JEUR VU U U N N (U U Y U [ (N N QNI [N U U, U U (N U U U N (N - Slalafafafala|ala]ofa|ofoafo|ofoalo]ofo]~~]~|=[~|~|~
SInI58(8ele =D |e(Rr|e|e(N|N|N|NIN|o|o oo S5I558lgle|e “|=[=|le|le|lvw|v|a|a|N|NlNfo|olalo|o
[ alglalglslslels=ElsisIsz|z|dd|d(d|d|e|e|elie|e o DA I I Bl Bl Il Rl B Bl B B R R N N N N N B R R R R
N NN R EEHBEEEHEEEEEENEHAENEEE ENNEHEEEEHEEEHEEEEEE N EREERREE
=|=|<|+ - |=|<|+- S|INR|B|S|~ |||~~~ ]|+ N|N|N|o»]|»
L el R B B Bl R B Bl Bl B B K A K R B R B A B A Bl K B E Bl Bl Bl Bl - o|lolo|lo|lo|lo|lolololo|lo|lo|o|lo
I R Rl Bl Bl B Bl Kl Kyl Kl
D.GGGGGGGGGG%%%GGGGGGGGG%%% [-EEN ROR OB RORROR NOR ROR OB NOR RORNORRORROR RORRORROR ROR RO NOR ROR OB ROR ROR NOR RUR N0
E1212)2)2\2|2)2|2|2|2|2|2\2(2|2|2|2|2|2|2|2|2|2|2(2| | E |2|22|2\2|2(2\2|2|2|2\2\2|2|22|2(2|2|2\2|8(22|2
S 2 S S |2|2|2(2|2|2|2|2|2|2|2(2(z2|2|2|=2|2|2|2|2(2|2|=|2|2S
e (SISISISISISISIS(55155 SISISISISISSS1515]5 a (SIS ISISISISI5I15I5IS(sIsIsIS555151515]3
LL|o|o|o|o|b|b|b|b|b|o|b|o|L|D|D|D|b|L|L|LD|L|L|L [T TR TR T T T A A T T et e e e T R A AT T AR AT AR AR AT

* only for Oval flange (N)

39




50Hz

VERTICAL MULTISTAGE PUMPS

EVMS

[MPa]

24 —

2.0 —

0.8 —

0.4 —

P2
kW]

NPSH
[m]

40

280

[m]

240

200

160

120

80

40

0.24

0.16

0.08

Test standard: 1ISO 9906:2012 - Grade 3B

PERFORMANCE CURVE
EVMS(L)5
sgpm. 5 10 h i 7 i
q U.S.g.pm I | | 1 ! I
: ' ' | I I
Imp.g.p.m. 5 10 1 “ z
— 900
H
_____ 27/s. W ’
S 1 — 800
“““““ ~25/55Kkw L
T —
——————— 23/s. kW | \ -
< — \
~
_______ 20/a.0kw \
| — 600
——————— 19/4.okwﬁ“‘ \"\ \
-4 -.,\ \
i S ., 17/a0kw _—— \
r—r— ‘4'\ \\\ \ -
_______ 15/3.0kw_ \
_______ 14/3(|)kW ‘*——~-4\\\ \
e -
_______ 1354 o \ \ \ — 400
_______ A — —c\\\ \ ~N
I T
_______ e | T p\\\\\
| B e
_______ 10/z.f w L L 1 4,\\\\\ — 300
_______ g/Z.ZII(W T I )\\\\ ~~
——————— 8/22kw - ]
w L _"\\\
_______ o L —
l T \ — 200
_______ T T \\\§
_______ 5/1 1 ll(w i '\\\'
_ T TE —
——————— Aforskw T —— = —
| —_— — 100
——————— 3/0.55I W S === \\\ ]
——————— 2037w ===
| 0
0 20 40 60 80 100 120 Q[l/min]
| | l ! ' l I
0 1 2 3 4 s o
70
n
[%]
50
n%
30
kW/stage — |
0
0 20 40 60 80 100 120 Q[l/min]
|45 NPSH
Iff
/ / —10
5
0 20 40 60 80 100 120 Qliimin]




EVM S VERTICAL MULTISTAGE PUMPS 90 Hz

TECHNICAL DATA
EVMS(L)5

Dimensional sketch

Oval flange (N) DIN Loose round flange (LF) - DN32 Victaulic® connection (V)
€ 4 holes @18
;S N [ [l g y/ﬂ; \']@L
. el L el T e o
S e 0 E |
~ )
° T o
100 20 4holes @12 2100 &|
N | 149 180
G38 250 210
i S
E SR
DIN Round flange (F) - DN32

4 holes @18

\ —
2Ol |

H2
~
z
o
8
=
3

®
w
=3
H2
75
|t

0140

1 =S SRR a
: i o y— T S AT
100 4ho|es@12‘£ 75 g‘ ‘ 100 19 4holes 912 2100 8‘
149 180 149 180
160 210 250 210

4

50

Dimensions [mm] and Weights [Kg]

v fange () | Vg ot
1~ 3~ Weight Weight Weight
Weight Pump + Weight Pump + Weight Pump +
pmax| W Sze A |B C|[B C | H2 | H2+H3 |Pump Motor | H2 | H2+H3 |Pump Motor | H2 | H2+H3 |Pump Motor
Pump Type [MPa] %] 1~ 3~ 1~ 3~ 1~ 3~ 1~ 3~ 1~ 3~ 1~ 3~
EVMS(L)5 2/0.37 16 [0.37| 71| 105 [139 124|141 119 264 | 480 466 | 9.8 [183 16.3| 289 (505 491 | 11 [195 17.5( 264 | 466 466 | 9.9 (184 164
EVMS(L)5 3/0.55 16 (055 71 | 105 [139 124|141 119 292 | 508 494 | 10.3 [18,9 17.3| 317 [ 533 519 | 11.5 [20,1 18.5( 292 | 494 494 [ 104 [19,0 174
EVMS(L)5 4/0.75 16 [0.75| 80 | 120 [157 150|141 102 330 | 562 563 | 11.3 [23,1 19.8| 355 | 587 588 | 12.5 (24,3 21.0( 330 | 559 563 | 11.4 [23,2 19.9
EVMS(L)5 5/1.1 16 | 1.1 | 80 | 120 [157 149|141 102 358 | 590 602 | 11.8 [23,8 21.8| 383 (615 627 | 13 [250 23.0( 358 | 587 602 | 11.9 (239 21.9
EVMS(L)5 6/1.5 16 | 1.5 | 90 | 140 [172 140|160 119 | 396 | 674 687 | 12.7 [31,0 26.2| 421 (699 712 | 13.7 [32,0 27.2| 396 | 674 687 [ 126 [30,0 26.1
EVMS(L)5 7/1.5 16 | 15| 90 | 140 [172 140|160 119 | 424 | 702 715 | 12.8 [31,0 26.3| 449 [ 727 740 | 14.1 [32,0 27.6| 424 | 702 715| 13 [31,0 265
EVMS(L)5 8/2.2 16 [ 22 |90 | 140 [172 140|160 119 | 452 | 768 743 | 134 [450 28.4| 477 (793 768 | 14.6 [450 29.6| 452 | 730 743 | 135 [450 285
EVMS(L)5 9/2.2 16 | 22 |90 | 140 [172 140|160 119 480 | 796 771 | 13.9 [450 28.9| 505 | 821 796 | 152 [450 30.2| 480 | 758 771 | 14.1 [450 29.1
EVMS(L)5 10/2.2 16 |22 | 90 | 140 [172 140|160 119 | 508 | 824 799 | 14.4 [46,0 29.4| 533 [ 849 824 | 156 [46,0 30.6| 508 | 786 799 | 145 [46,0 29.5
EVMS(L)5 11/2.2 16 |22 |90 | 140 [172 140|160 119 | 536 | 852 827 | 15.2 [46,0 30.2| 561 | 877 852 | 16.5 (46,0 31.5( 536 | 814 827 | 154 (46,0 30.4
EVMS(L)512/3.0 1.6 | 3.0 |[100| 160 | - - [176 123| 574 | - 916 | 167 | - 38.7[ 599 | - 941 | 177 | - 397|574 | - 916 166 | - 386
EVMS(L)513/3.0 1.6 | 3.0 |[100| 160 | - - [176 123| 602 | - 944 | 17 - 390|627 | - 969 | 183 | - 403|602 | - 944 | 172 | - 392
EVMS(L)514/3.0 16 | 3.0 |[100| 160 | - - [176 123| 630 | - 972| 176 | - 396|655 | - 997 | 188 | - 408|630 | - 972 17.7 | - 397
EVMS(L)5 15/3.0 16 |30 (100| 160 | - - |176 123| 658 | - 1000| 18.6 | - 40.6| 683 [ - 1025| 199 [ - 41.9( 658 | - 1000 188 | - 408
EVMS(L)5 17/4.0 16 |40 (112|160 | - - |193 138 714 | - 1078| 193 | - 47.8| 739 [ - 1103| 206 | - 49.1| 714 | - 1078| 195 | - 480
EVMS(L)519/4.0 25 | 40 |112| 160 | - - [193 138| - - - - - - | 795 | - 1159 217 | - 502| 770 | - 1134| 206 | - 491
EVMS(L)520/4.0 25 | 4.0 |112| 160 | - - [193 138| - - - - - - | 823 | - 1187| 239 | - 524|798 | - 1162 228 | - 513
EVMS(L)523/55 25 | 55 |132| 300 | - - [220 152| - - - - - - 1001 | - 1400| 30.6 | - 696| 976 | - 1375| 295 | - 685
EVMS(L)525/55 25 | 55 |132| 300 | - - [220 152| - - - - - - 1057 | - 1456| 316 | - 706|1032| - 1431 305 | - 695
EVMS(L)527/55 25 | 55 |132| 300 | - - [220 152| - - - - - - | M3 | - 1512| 331 | - 721|1088 | - 1487| 32 - 710

1.6 MPa=16 bair; 2.5 MPa=25 bar
- not available model

41

E2ARA



50 Hz

VERTICAL MULTISTAGE PUMPS

EVMS

42

321
162
131- 1

135-1
212-2

115-4
154 —— |
120-1

432 — |

43-3 ——m8 |

130-1
120-3
o \

SECTIONAL VIEW

Q

EVMS(L)5

h

AN

43-4

521 ———

43-5
137-1 \
48 s
6
115-3
120-11
219

A

47 [

|

with Oval flange (N)

140

128-6
135-6
120-6

\
VA
~

(AN

L
N = O
dgt

_—J=-TET



50 Hz

VERTICAL MULTISTAGE PUMPS

EVMS

PIPE CONNECTION
EVMS(L)5

with Round flange (F)

with Loose round flange (LF)

/5
L2

with Clamp connection (C)

with Victaulic® connection (V)

43

_—J=-TET



50 Hz

VERTICAL MULTISTAGE PUMPS

EVMS

SECTIONAL TABLE

EVMS(L)5

MATERIAL
N° PART NAME DIMENSIONS STANDARD
EVMS EVMSL
4 Casing cover EN 1.4301 (AISI 304) EN 1.4404 (AIS| 316L)
5-1 Suction casing EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
5-2 Intermediate casing EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
5-3 Intermediate casing with bearing EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
5-4 Discharge casing EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
6 Bottom casing EN 1.4301 (AISI 304) EN 1.4404 (AIS| 316L)
7 Outer casing EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
21 Impeller EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
31 Shaft EN 1.4301 (AISI 304) - EN 1.4404 (AISI 316L) -
EN 1.4462 (AISI 329A) EN 1.4462 (AIS| 329A)
32-1 Adjuster Key EN 1.4301 (AISI 304)
43-2 Shaft sleeve (intermediate) EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
43-3 Shaft sleeve (bearing) EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
43-4 Shaft sleeve (adjustment) EN 1.4404 (AISI 316L)
43-5 Shaft sleeve (last stage) EN 1.4301 (AISI 304) | EN 1.4404 (AISI 316L)
44-1 Shaft sleeve bearing Tungsten carbide
45 Flange holder EN 1.4301 (AISI 304)
46 Ring (mechanical seal) EN 1.4404 (AISI 316L)
47 Ring holder EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
| moetrna N | Nl et o
52-1 Sleeve bearing Tungsten carbide
75 O-Ring (priming plug) EPDM / FPM 212.37x2.62 OR 3050
75-1 O-Ring (drainage plug) EPDM / FPM
107 Liner ring EN 1.4301 (AISI 304) + PPS | EN 1.4404 (AISI 316L) + PPS
1M1 Mechanical seal see pages 6-7
111-3 Mechanical seal seat EN 1.4308 (ASTM CF8) | EN 1.4408 (ASTM CF8M)
111-4 Seal holder EN 1.4301 (AISI 304)
111-5 Mechanical seal cartridge sleeve EN 1.4301 (AISI 304) | EN 1.4404 (AISI 316L)
115-1 O-Ring (outer casing) EPDM / FPM 2129.54x5.34 OR 6945
115-3 O-Ring EPDM / FPM
115-4 O-Ring (cartridge sleeve) EPDM / FPM 211.91x2.62 OR 4093
115-5 O-Ring (seal flange) EPDM / FPM 232.99x2.62 OR 4175
120-1 Tie-rod EN 1.4057 (AISI 431) M10
120-3 Screw (seal flange) A2-70 M4x10 1ISO 4762
. up to 4.0 kW . M6x25 I1SO 4762
120-6 Screw (pump coupling) Galvanized steel
above 5.5 kW M8x20 I1SO 4762
120-11 Screw (counterflange) A2-70
MEC 71-80 M6x20 1SO 4017
120-13 Screw for motor MEC 90-100-112 Galvanized steel 8.8 strength class ISO 898/1 M8x20 I1SO 4017
MEC 132 M12x40 1SO 4017
128-1 Nut (tie rod) A2-70 M10 ISO 4032
128-3 Nut (motor) MEC 132 Galvanized steel M12 I1SO 4032
128-5 Nut (tie rod) A2-70 M10 UNI 7474
128-6 Nut (aluminium coupling) MEC 71-80-90-100-112 Galvanized steel M6 1SO 4032
130-1 Set screw EN 1.4301 (AISI 304) M5x8 1SO 4026
130-2 Screw for coupling guard A2-70 M5x6 UNI 7687
131-1 Pin for shaft Carbon Steel D4x32 1SO 2338
135-1 Washer (tie rod) EN 1.4301 (AISI 304) ©10.5x21x2 1SO 7089
135-6 Washer (aluminium coupling) up to 4.0 kW Carbon Steel a6
137-1 Impeller spacer EN 1.4301 (AISI 304) | EN 1.4404 (AISI 316L)
, up to 4.0 kW Die cast Aluminium EN AB-AISI11Cu2 (Fe)
140 Coupling
above 5.5 kW Cast Iron
160 Base Die cast Aluminium EN AB-AISI11Cu2 (Fe)
162 Motor bracket Cast iron EN-GJL-250
212 Priming plug EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L) G3/8
2121 Drainage plug EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L) G 3/8
212-2 Venting plug EN 1.4404 (AISI 316L)
flange type: N EN 1.4308 (ASTM CF8) EN 1.4408 (ASTM CF8M)
219 Counter flange
flange type: LF-F-V-C EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
245 Coupling guard EN 1.4301 (AISI 304)
2731 Washer (drainage plug) EN 1.4301 (AISI 304) | EN 1.4404 (AISI 316L)
615 Flange Nodular Cast Iron

44

E2ARA



50 Hz

VERTICAL MULTISTAGE PUMPS

EVMS

QUANTITY FOR MODEL

EVMS(L)5

N°

245 | 2731 | 615"

M3 | 1114 | 1116|1151 (1163 1154 [ 1155

m

107

75 | 751

1

8

321|432 | 433 | 434 | 435 441 45" | 46 | 47

31

2

7

6

N°

2122 | 219°

2121

212

162

160

140

13741

1356

1351

1314

1302

1304

1286

1285

1283

52 |53 | 54

10
12
14

51

1
1
1
1
1
1

1203 | 1206 |120-11*| 12013 | 1281

1201

Pump Type

EVMS(L)5 2/0.37
EVMS(L)5 3/0.55
EVMS(L)5 4/0.75
EVMS(L)5 5/1.1

EVMS(L)5 6/1.5

EVMS(L)5 7/1.5

EVMS(L)5 8/2.2

EVMS(L)5 9/2.2

EVMS(L)5 10/2.2
EVMS(L)5 11/2.2
EVMS(L)5 12/3.0
EVMS(L)5 13/3.0
EVMS(L)5 14/3.0
EVMS(L)5 15/3.0
EVMS(L)5 17/4.0
EVMS(L)5 19/4.0
EVMS(L)5 20/4.0
EVMS(L)5 23/5.5
EVMS(L)5 25/5.5
EVMS(L)5 27/5.5

Pump Type

128-3: only for motor above 5.5 kW (see drawing pag.54)

** only for Loose round flange (LF)
=[] shaft in EN 1.4462 (AISI 329A)

* only for Oval flange (N)

EVMS(L)5 2/0.37
EVMS(L)5 3/0.55
EVMS(L)5 4/0.75
EVMS(L)5 5/1.1

EVMS(L)5 6/1.5

EVMS(L)5 7/1.5

EVMS(L)5 8/2.2

EVMS(L)5 9/2.2

EVMS(L)5 10/2.2
EVMS(L)5 11/2.2
EVMS(L)5 12/3.0
EVMS(L)5 13/3.0
EVMS(L)5 14/3.0
EVMS(L)5 15/3.0
EVMS(L)5 17/4.0
EVMS(L)5 19/4.0
EVMS(L)5 20/4.0
EVMS(L)5 23/5.5
EVMS(L)5 25/5.5
EVMS(L)5 27/5.5

45




50 Hz

VERTICAL MULTISTAGE PUMPS

EVMS

[MPa]

24 —

2.0 —

0.8 —

0.4 —

P2
kW]

NPSH
[m]

46

280

[m]

240

200

160

120

80

40

0.24

0.16

0.08

Test standard: 1ISO 9906:2012 - Grade 3B

PERFORMANCE CURVE
EVMSG5
sgpm. 8 10 i i i I
o USgpm | ) L ! l I
a ' ' | I I
Imp.g.p.m. 5 10 1 i -
— 900
H
_____ 27/s. W '
. 1 — 800
“““““ ~25/55Kkw L
T —
——————— 23/s. kW | \ -
T ﬂi\ \
~<
_______ 20/a.0kw \
o — 600
——————— 19/agkw_ \"\ \
-4 -.,\ \
i S ., 17/a0kw _—— \
T = -1‘\ \\\ \ "
_______ 15/3.0kw_ \
_______ 14/3(|)kW ‘*——~-4\\\ \
o | L —
_______ 130 o \ \ \ — 400
_______ o N — —c\\\ \ ~N
I T
_______ A p\\\\\
I T T
——————— 10/2% T T —:\\\\\ — 300
_______ g/Z.ZII(W B ;\\\\\
_______ 8/2.Zl|<W __‘_‘___0\\\ \1\
_______ e \\ —
l i \ — 200
_______ T T \\\§
_______ s ll(w : '\\\'
— : | ______ \|
_______ 4forsw T————  S— ——
| —_— — 100
——————— 3/0.55|kW F=r—1- \__ :
——————— 2/037kw  —= ==
| 0
0 20 40 60 80 100 120 Q[l/min]
| | ' ' l l I
0 1 2 3 4 ¢ -
70
n
[%]
50
n%
30
kW/stage — |
0
0 20 40 60 80 100 120 Q[l/min]
|45 NPSH
Ift
/ / 1
5
0 20 4 60 80 100 120 Qi/min]




EVMS

VERTICAL MULTISTAGE PUMPS

Dimensional sketch

TECHNICAL DATA
EVMSG5

Oval flange (N) DIN Round flange (F) - DN32
c c
e e
2 2
& &
& &
A | | 3B A | | G
N o
- 2 holes M10 T 4 holes @18
Bl 5 5 |\
- EH qu = ! ! ﬁ « [ H T | ¥ G3/8
oo lE =1t s oo =2 8¢ 4
I R A o HPOHESSEE  fR24E
| | I | o]
o
100 Ahoesot2 I | 75| || & 100 2 4 holes 012 ‘H o100 || &
149 180 -
160 210 149 180
250 210
Dimensions [mm] and Weights [Kg]
Motor Oval flange (N) Round flange (F)
1~ 3~ Weight Weight
Weight Pump + Weight Pump +
pmax| KW Size A | B C|B C | H2| H2+H3 |Pump Motor | H2 | H2+H3 |Pump  Motor
Pump Type [MPa] %] 1~ 3~ 1~ 3~ 1~ 3~ 1~ 3~
EVMSG5 2/0.37 16 [037| 71 | 105 | 139 124|141 119| 264 | 480 466 | 13 | 21,5 195| 289 | 505 491 | 175 [260 24.0
EVMSGS5 3/0.55 16 [055| 71 | 105 | 139 124|141 119| 292 | 508 494 | 135 |221 205|317 | 533 519 | 18 |[266 25.0
EVMSGS5 4/0.75 16 |075| 80 | 120 |157 150|141 102| 330 | 562 563 | 145 | 26,3 23.0| 355 | 587 588 | 19 |[308 275
EVMSGS5 5/1.1 16 | 11| 80 | 120 |157 149|141 102| 358 | 590 602 | 15 |27,0 250|383 | 615 627 | 195 [315 295
EVMSGS5 6/1.5 16 [ 15| 90 | 140 |172 140|160 119| 396 | 674 687 | 155 |380 29.0| 421 | 699 712 | 2041 [380 336
EVMSGS5 7/1.5 16 | 15| 90 | 140 |172 140|160 119| 424 [ 702 715 | 16 |380 295| 449 | 727 740 | 205 [380 34.0
EVMSGS5 8/2.2 16 [ 22| 90 | 140 |172 140|160 119| 452 | 768 743 | 166 |450 316 | 477 | 793 768 | 211 |450 36.1
EVMSGS5 9/2.2 16 [ 22| 90 | 140 |172 140|160 119| 480 | 796 771 | 17.1 | 450 321 | 505 | 821 796 | 216 [450 36.6
EVMSGS5 10/2.2 16 [ 22| 90 | 140 |172 140|160 119| 508 | 824 799 | 17.6 |460 326 | 533 | 849 824 | 221 |460 37.1
EVMSGS5 11/2.2 16 [ 22| 90 | 140 |172 140|160 119 | 536 | 852 827 | 184 |46,0 33.4 | 561 | 877 852 | 229 |[460 37.9
EVMSGS5 12/3.0 16 |30 [100| 160 | - - [176 123|574 | - 916 | 196 - 416|599 | - 941 | 241 - 461
EVMSGS5 13/3.0 16 |30 [100| 160 | - - [176 123| 602 | - 944 | 202 - 422|627 | - 969 | 247 - 487
EVMSGS5 14/3.0 16 |30 [100| 160 | - - [176 123|630 | - 972 | 208 - 428|655 | - 997 | 253 - 473
EVMSGS5 15/3.0 16 |30 [100| 160 | - - [176 123| 658 | - 1000| 21.8 - 438|683 | - 1025| 263 - 483
EVMSGS5 17/4.0 16 |30 | 112|160 | - - [193 138| 714 | - 1078| 225 - 510|739 | - 103| 27 - 555
EVMSGS5 19/4.0 25 | 40| 12| 160 | - - |193 138| - - - - - - | 795 | - 1159| 281 - 566
EVMSGS5 20/4.0 25 | 40| 112 | 160 | - - |193 138| - - - - - - | 823 | - 1187| 303 - 588
EVMSGS5 23/5.5 25 |40 |132|300 [ - - |220 152| - - - - - - [1001| - 1400| 37 - 760
EVMSGS5 25/5.5 25 | 55(132|300 [ - - |220 152| - - - - - - |1057| - 1456| 38 - 770
EVMSGS5 27/5.5 25 | 55|132|300 [ - - |220 152| - - - - - - 3| - 1512 396 - 786

1.6 MPa=16 bar;

2.5 MPa=25 bar

- not available model

47

E2ARA

50Hz



50 Hz

VERTICAL MULTISTAGE PUMPS

EVMS

48

SECTIONAL VIEW

EVMSG5

I

117
120-11
219

lA/7

\

MX‘

with Oval flange (N)

N\
\
\

140
128-6
135-6
120-6

5-1
107
75-1
2731
2121

_—J=-TET



EVM S VERTICAL MULTISTAGE PUMPS 90 Hz

PIPE CONNECTION
EVMSG5

with Round flange (F)

49




50 Hz

VERTICAL MULTISTAGE PUMPS

EVMS

SECTIONAL TABLE

EVMSG5

N° PART NAME MQJ:\E"EIQL DIMENSIONS STANDARD
4 Casing cover EN 1.4301 (AISI 304)
5-1 Suction casing EN 1.4301 (AISI 304)
5-2 Intermediate casing EN 1.4301 (AISI 304)
5-3 Intermediate casing with bearing EN 1.4301 (AISI 304)
5-4 Discharge casing EN 1.4301 (AISI 304)
6 Bottom casing Cast Iron EN-GJL-250
7 Outer casing EN 1.4301 (AISI 304)
21 Impeller EN 1.4301 (AISI 304)
31 Shaft EN 1.4301 (AISI 304) - EN 1.4462 (AISI 329A)
32-1 Adjuster key EN 1.4301 (AISI 304)
43-2 Shaft sleeve (intermediate) EN 1.4301 (AISI 304)
43-3 Shaft sleeve (bearing) EN 1.4301 (AISI 304)
43-4 Shaft sleeve (adjustment) EN 1.4404 (AISI 316L)
43-5 Shaft sleeve (last stage) EN 1.4301 (AISI 304)
441 Shaft sleeve bearing Tungsten carbide
46 Ring (mechanical seal) EN 1.4404 (AISI 316L)
47 Ring holder EN 1.4404 (AISI 316L)
48 Impeller nut EN 1.4301 (AISI 304) with inox insert M8
52-1 Sleeve bearing Tungsten carbide
75 O-Ring (priming plug) EPDM/ FPM 212.37x2.62 OR 3050
75-1 O-Ring (drainage plug) EPDM/ FPM
107 Liner ring EN 1.4301 (AISI 304) + PPS
1M1 Mechanical seal see pages 6-7
111-3 Mechanical seal seat EN 1.4308 (ASTM CF8)
111-4 Seal holder EN 1.4301 (AISI 304)
111-5 Mechanical seal cartridge sleeve EN 1.4301 (AISI 304)
115-1 O-Ring (outer casing) EPDM / FPM ©129.54x5.34 OR 6945
115-4 O-Ring (cartridge sleeve) EPDM / FPM @11.91x2.62 OR 4093
115-5 O-Ring (seal flange) EPDM/ FPM @32.99x2.62 OR 4175
117 Flange gasket EPDM / FPM
120-1 Tie-rod EN 1.4057 (AISI 431) M10
120-3 Screw (seal flange) A2-70 M4x10 1SO 4762
up to 4.0 kW M6x25 I1SO 4762
120-6 Screw (pump coupling) Galvanized steel
above 5.5 kW M8x20 1SO 4762
120-11 Screw (counterflange) A2-70
MEC 71-80 M6x20 1SO 4017
120-13 Screw for motor MEC 90-100-112 Galvanized steel 8.8 strength class ISO 898/1 M8x20 1SO 4017
MEC 132 M12x40 1SO 4017
128-1 Nut (tie rod) A2-70 M10 1SO 4032
128-3 Nut (motor) MEC 132 Galvanized steel M12 1ISO 4032
128-6 Nut (aluminium coupling) MEC 71-80-90-100-112 Galvanized steel M6 1SO 4032
130-1 Set screw EN 1.4301 (AISI 304) M5x8 1SO 4026
130-2 Screw for coupling guard A2-70 M5x6 UNI 7687
131-1 Pin for shaft Carbon Steel D4x32 1SO 2338
135-1 Washer (tie rod) EN 1.4301 (AISI 304) @10.5x21x2 1SO 7089
135-6 Washer (aluminium coupling) up to 4.0 kW Carbon Steel a6
137-1 Impeller spacer EN 1.4301 (AISI 304)
X up to 4.0 kW Die cast Aluminium EN AB-AISI11Cu2 (Fe)
140 Coupling
above 5.5 kW Cast Iron
162 Motor bracket Cast iron EN-GJL-250
212 Priming plug EN 1.4301 (AISI 304) G 3/8
212-1 Drainage plug EN 1.4301 (AISI 304) G 3/8
212-2 Venting plug EN 1.4404 (AISI 316L)
flange type: N Galvanized steel
219 Counter flange
flange type: F Cast Iron EN-GJL-250
245 Coupling guard EN 1.4301 (AISI 304)
2731 Washer (drainage plug) EN 1.4301 (AISI 304)

50

E2ARA



50 Hz

VERTICAL MULTISTAGE PUMPS

EVMS

QUANTITY FOR MODEL

EVMSG5

M11111111111111111111 A e e e e e e R R R e R e S A R
o
<<=l <<= <<= =< ]<[=]<
= m22222222222222222222
622222222222222222222
© W222222222222222/////
o~
e e R R IR I e I IR I I R I RN I R IR I I R
Qq
[ Y R e I I I B S I R B
Elelel=]|<]|]|~ [ I e T
= T T S|
o~
|||l =|=|=|=|=|=|]|+
N Rl Bl Bl B B B R e e e e e e e R R R R B
5la|o]<|o|o|~|o|o]e]=[a]elz]e]=]2]c]c]e]x
= e I R e e e e I I I I I I R R o N I e
AR ARARARARARARARARARARARES:
e3[RSO NG [ U N | (U [JURY [N U U (R [ N U U U Cla|la|a|afafala|oa|a|o|afalalajoafo]o|o]o|o
S]] ||n|a|a|a|a|a|a|a]|a|a|o g
AR R R B R R e e B e e e e e B R B R B
[-=J) R (RN [ NG N N Y () | (U | (N | [ [P [ [ [ ) -
%44444444444444444///
[ I I I I I I I I I R I IR R IR I R I I R I i
R AR A A A R R A R A A A
%22222222222222222222 ~
2 F|-||||||||]|o]|a|a|a|a|a|alala]a]o S ==l l=l=l=l=]=|<|=|=]|=|<|<|<|<]|<]=
M/1//1//1//1//1////// o
CIRARARARAR AR AR AR AR R AR AR AR AR AR AR RIR AR
m12112111122223222223
SRR I I I R I I I I R I D R B A R )
m11111111122222222223 A
o ENNNNNENENTENs M44444444444444444/1/
B2 Rl Gl I A I IR Rl [ IR ) I PN G T RS REH Il R S -~
— ©
&11111111111111111111 %/////////////////444
PN R R O O O D ey ey ) -
& FIBARARAR AR AR AR AR AR AR AR AR AR IR RN AR AR AR
s|a|olv|o|o[~lo|ole|z|a]e|z]|e|=|2]g]a|e|x s
N44444444444444444444
N R e R B I I B I I B e I e N e e e e e g
P
ol |=]|=|=]|=]~|+~ <IN RA DRI RE R RE DA DI RA BA il il Bl Bl B
M11111111111111111111 M44444444444444444444
B~~~ |~ ||| ]|a]|a]|a]|a|a|afo|m ©
Slelv[r|s|e|s|<|s|s]|<|v|s]||s|x|x|2|]|x|~
dl~||a|o|w|o|o|r|e|o|o|e|c]|a||e]|x]g|8]
Qlv|v| ||| w|v| |||~ v|v|e|]||~|*|v]|+
N N N S I &
IV NN N | U N (U (PO N N [N (U U R NI U U U U (N Slajajafalaafafofoofololofofof~|~f~f~|~
g |we qlan|ol|alalalalala|w|nln s |a|w ~lalalalalalolalalw|vln
I P 3 I g e e DN N RN S e R e ) N S S A R I T I e i Bl N NS BN RN e e R e e S A A
2 |L(Lg=z|Z|9|Y|S|=s|q|a|sF|v|~|o|g|a|v|s 2 (Ll12|L2=Is|=|Y|Y|o|=|x|a|F|v RSB
> ([N|o|dg|w|[O|N|O[O |~ |||~~~ ||~ |N|N|N|N > ([ N|o|[dF|w|OoN|[O|D |~ [~~~ |N|[N|N|N
T55555555555555555555 T55555555555555555555
[-EEN EOREOR NORROR NOR NUR ROR NOR NURROR NOR NURRORROR NUR RORROY NOR NORRO] [-BN NOR RORNOR U ROUR RO RON NOR USROS RO NURRURROEROR NOR NOR NUR RUR O]
£ o|lo|o|o|a|o|o|a|e|o|a|o|a|a|e|a|a|e|a|a £ lo|a|le|o|a|le|o|a|o|e|a|o|alala|(ala|ad
S (2222|2222 =2|1=2|1=2|12(2(=222]|2|2 S (2222222222222 |=|12|12(=2(=2
a (== 1=21=21=1=2121=2=212120=2=21202=222202 a (2= (==21212=21212=2=2=21=2==2122222
L|L|L|b|o|L|b|o|D|b|w|b|Db|L|D|D|L)|D|o|o Db b|o|D|Db|o|D|bju|L|l

* only for Oval flange (N)

[ shaft in EN 1.4462 (AISI 329A)

128-3: only for motor above 5.5 kW (see drawing pag.54)

51




50 Hz

VERTICAL MULTISTAGE PUMPS

EVMS

[MPa]

24 —

20

0.8 —

0.4 —

P2
(kW]

NPSH

[m]

52

280

[m]

240

200

160

120

80

40

05

04

03

02

4

PERFORMANCE CURVE
EVMS(L)10
0 US.gpm. 1I0 2|0 30 4IO 5I0 6I0 7IO
; T 1 ' ' I I
Imp.g.p.m. 10 20 30 4“0 % ®
— 900
H
[f]
-—--23/11kw_____
— ——22/11kw_____::—-—~h \ %
F=—-21/7s%w_ _|_ —h\
i
\\ L 700
e 19swo | \ \
F——-18/75kw_ _|_ _ N
e
\ — 600
F——-16/rskw—— | | — \
——-15/sskw— | _ 1 x &
F——-148fssww_ | | | _.__\\ N B
= 12/55 kW e — \\ \\
— 11/s0kwWw=—f=—rm e o Y\ \\\ -
—_—
===—-10/a0kw= —— — —— \
\\
F—=—-9/a0w ———— — \ %
— | L
F——-8/0kw — —|— ——__ _ ] \\ N -
F—=-7B0kwW — —|—— —— \§
\
= Ao I I _._\-\\\\. — 200
- ——-5/22kW — —|— — — — . __ 4—\\\\§:
_\\
=T -4/22w ——|————+——— ~
—~—
F—+-3/15kW ——[—————— \\Q — 100
= -2/07skw——|—— —— - — — T
I —— S
0
40 80 120 160 200 240 Q[l/min]
| T ' : l I
0 2 4 8 12 1 ol
80
n
[%]
60
n% =1 L
/ ?
kW/stage bt
0
0 % 80 120 160 200 240 Qiimin]
NPSH
— o M
m—— -
0
! A - 120 160 200 240 Q[l/min]

Test standard: ISO 9906:2012 - Grade 3B




EVMS

VERTICAL MULTISTAGE PUMPS

Dimensional sketch

TECHNICAL DATA
EVMS(L)10

Oval flange (N) DIN Loose round flange (LF) - DN40 Victaulic® connection (V)
c
4 holes @18
]t I — A}
g = i BE—t— Z G318
o « [ I<=1g(22 / o
2 8 —=ise by |
& H [ H A e
kd ‘ 130 20  4holes@12 TT 2110 8[
190 215
A | c3s 280 250
DIN Round flange (F) - DN40 Clamp connection (C)
N 4 holes @18
T 2 holes M12
T I
o A bl
™ 6 | | e | | ,,%E[;g 8 NN <5
=l <[ | g 18]S | 8
8l HEL tfo Th— i ? A s sy
‘ 4 holes @12
130 4 holes @12 5] 130 18 4holes 912 2110 54
190 190 215
200 ‘ 250 280 250
Dimensions [mm] and Weights [Kg]
Loose round flange (LF) Victaulic® connection (V)
Motor Oval flange (N) Round flange (F) Clamp connection (C)
1~ 3~ Weight Weight Weight
Weight Pump + Weight Pump + Weight Pump +
Prmax KW Size A |B C | B C | H2 | H2+H3 |[Pump Motor H2 | H2+H3 |Pump  Motor H2 | H2+H3 |Pump  Motor
Pump Type [MPa] [} 1~ 3~ 1~ 3~ 1~ 3~ 1~ 3~ 1~ 3~ 1~ 3~
EVMS(L)102/0.75 1.6 [0.75| 80 | 120 |157 150|141 102| 343 | 572 | 576 | 17.6 |29,4 26.1| 343 | 575|576 | 17.5 |29,3 26.0 | 343 | 572 [ 576 | 16.5 |28,3 25.0
EVMS(L)103/1.5 1.6 | 1.5 | 90 | 140 172 140|160 119| 383 | 661 | 674 | 18.5 |36,0 32.0| 383 | 661 | 674 | 185 [36,0 32.0 | 383 | 661|674 | 17.4 |350 309
EVMS(L)104/22 1.6 | 22| 90 | 140 |172 140|160 119 | 413 [ 691 [ 704 | 19.3 |50,0 34.3| 413 | 729 | 704 | 19.3 [50,0 34.3| 413 | 691 | 704 | 18.2 |50,0 33.2
EVMS(L)105/2.2 1.6 | 22| 90 | 140 [172 140|160 119| 443 | 721|734 | 202 |50,0 35.2| 443 | 759 | 734 | 20.1 |50,0 35.1 | 443 | 721|734 | 191 |50,0 34.1
EVMS(L)106/2.2 1.6 | 22| 90 | 140 172 140|160 119| 473 | 751 | 764 | 21 |51,0 36.0| 473 | 789 | 764 | 21 |[51,0 36.0 | 473 | 751 [ 764 | 19.9 |51,0 349
EVMS(L)107/30 16 [ 3.0 [100| 160 | - - |176 123| 513 | - |[855| 22 - 440|513 | - |85 219 | - 439|513 | - |85]| 209 | - 429
EVMS(L)108/3.0 16 | 3.0 |[100| 160 | - - [176 123| 543 | - |885| 228 | - 448|543 | - |885| 228 | - 448 543 | - [885| 21.7 | - 437
EVMS(L)109/40 16 | 4.0 |112| 160 | - - [193 138| 573 | - |937| 237 | - 522|573 | - |937| 236 | - 521|573 | - [937| 226 | - 511
EVMS(L)10 10/40 1.6 | 4.0 |112| 160 | - - |193 138 603 | - [967 | 245 | - 530|603 | - |967| 245 | - 530|603 | - |967| 234 | - 519
EVMS(L)1011/40 1.6 | 4.0 |112| 160 | - - [193 138| 633 | - |997 | 261 | - 546|633 | - |997| 261 | - 546|633 | - [997| 25 - 535
EVMS(L)1012/55 16 | 55 |132| 300 | - - [220 152| 761 | - |1160| 359 | - 749| 761 | - |1160| 359 | - 749 761 | - |[1160| 348 | - 738
EVMS(L)1014/55 1.6 | 55 |132| 300 | - - [220 152| 821 | - |[1220| 378 | - 76.8| 821 | - [1220| 377 | - 767 821 | - |[1220| 367 | - 757
EVMS(L)1015/55 1.6 | 55 |132| 300 | - - |220 152 851 | - [1250| 38.7 | - 77.7| 851 | - |[1250| 386 | - 776| 851 | - |1250| 376 | - 766
EVMS(L)1016/7.5 25 | 7.5 |132| 300 | - - [220 152| - - - - - - | 881 | - |[1300| 396 | - 856 881 | - [1300| 385 | - 845
EVMS(L)1018/7.5 25 | 75 |132| 300 | - - [220 152| - - - - - - | 941 | - |[1360| 414 | - 874 941 | - [1360| 403 | - 863
EVMS(L)1019/7.5 25 |75 (132|300 | - - |220 152 - - - - - - | 971 | - |1390| 423 | - 883| 971 | - [1390| 412 | - 87.2
EVMS(L)1021/7.5 25 | 7.5 |132| 300 | - - [220 152| - - - - - - | 1031 | - [1450| 441 | - 90.1|1031| - [1450| 43.1 | - 891
EVMS(L)1022/11 25 | 11 |160| 350 | - - [259 180| - - - - - - 1091 | - [1531| 46.4 | - 1089|1091 | - [1531| 454 | - 107.9
EVMS(L)1023/11 25 | 11 [160| 350 | - - |259 180 - - - - - - | 1121 - |1561| 53.1 | - 1156|1121 | - |1561| 521 | - 114.6

1.6 MPa=16 bar;
- not available model

2.5 MPa=25 bar

53

E2ARA

50Hz



50 Hz VERTICAL MULTISTAGE PUMPS EVM S

SECTIONAL VIEW
EVMS(L)10
I Bl
\, s
A X
140

@)
32-1
162 — o
131-1 212
130-2 75
130-1
120-3 P
245 ot
128-1
135-1
2122
46
PR
RN 47
154 — | || [
5-4
115-1
o I I
120-1
| 52
432 —— || | T 11|
L | —53
43-3 T
T 44
52-1 T
s
137-1 — Q
| . —
48— T
| \§ 31
6 N
\ N 21
5-1
R 107
273-1
75-1
-~ 212-1
T~ 160

with Round flange (F)
54

_—J=-TET



50 Hz

VERTICAL MULTISTAGE PUMPS

EVMS

o
)

) \
/A /

e
(4=

with Loose round flange (LF)

[ RTs)
- <
©

PIPE CONNECTION
EVMS(L)10

with Oval flange (N)

‘,14.

55

with Clamp connection (C)

with Victaulic® connection (V)

_—J=-TET



50 Hz

VERTICAL MULTISTAGE PUMPS

EVMS

EVMS(L)10

SECTIONAL TABLE

MATERIAL
N° PART NAME DIMENSIONS STANDARD
EVMS EVMSL
4 Casing cover EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
5-1 Suction casing EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
5-2 Intermediate casing EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
5-3 Intermediate casing with bearing EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
5-4 Discharge casing EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
6 Bottom casing EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
7 Outer casing EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
21 Impeller EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
31 Shaft EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
32-1 Adjuster key EN 1.4301 (AISI 304)
43-2 Shaft sleeve (intermediate) EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
43-3 Shaft sleeve (bearing + discharge casing) EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
44-1 Shaft sleeve bearing Tungsten carbide
45 Flange holder EN 1.4301 (AISI 304)
46 Ring (mechanical seal) EN 1.4404 (AISI 316L)
47 Ring holder EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
4 | mpelernut = it inox insert = it o insert w10
52-1 Sleeve bearing Tungsten carbide
75 O-Ring (priming plug) EPDM / FPM @12.37x2.62 OR 3050
75-1 O-Ring (drainage plug) EPDM /FPM
107 Liner ring EN 1.4301 (AISI 304) + PPS | EN 1.4404 (AISI 316L) + PPS
111 Mechanical seal see pages 6-7
111-3 Mechanical seal seat EN 1.4308 (ASTM CF8) | EN 1.4408 (ASTM CF8M)
111-4 Seal holder EN 1.4301 (AISI 304)
111-5 Mechanical seal cartridge sleeve EN 1.4301 (AISI 304) | EN 1.4404 (AISI 316L)
115-1 O-Ring (outer casing) EPDM /FPM 2164.46x5.34 OR 6945
115-3 O-Ring EPDM / FPM
115-4 O-Ring (cartridge sleeve) EPDM / FPM ©15.88x2.62 OR 4093
115-5 O-Ring (seal flange) EPDM / FPM @37.77x2.62 OR 4175
120-1 Tie-rod EN 1.4057 (AISI 431) M12
120-3 Screw A2-70 M5x12 1SO 4762
up to 4.0 kW M6x25 1SO 4762
120-6 Screw (pump coupling) from 5.5 kW to 7.5 kW Galvanized steel M8x20 1ISO 4762
above 11 kW M10x30 1SO 4762
120-11 Screw (counterflange) A2-70
MEC 80 M6x20 1SO 4017
MEC 90-100-112 ) M8x20 1SO 4017
120-13 | Screw for motor Galvanized steel 8.8 strength class ISO 898/1
MEC 132 M12x40 UNI 5739
MEC 160 M16x50 1SO 4017
128-1 Nut (tie rod) A2-70 M12 1SO 4032
MEC 132 . M12 1SO 4032
128-3 Nut (motor) Galvanized steel
MEC 160 M16 1SO 4032
128-5 Nut (tie rod) A2-70 M12 UNI 7474
128-6 Nut (aluminium coupling) MEC 71-80-90-100-112 Galvanized steel M6 1SO 4032
130-1 Set screw EN 1.4301 (AISI 304) M5x8 1SO 4026
130-2 Screw for coupling guard A2-70 M5x6 UNI 7687
131-1 Pin for shaft Carbon Steel @5x35 1SO 2338
135-1 Washer (tie rod) EN 1.4301 (AISI 304) D13x24x2.5 1SO 7089
135-6 Washer (aluminium coupling) up to 4.0 kW Carbon Steel a6
137-1 Impeller spacer EN 1.4301 (AISI 304) | EN 1.4404 (AISI 316L)
. up to 4.0 kW Die cast Aluminium EN AB-AISI11 Cu2 (Fe)
140 Coupling
above 5.5 kW Cast Iron
160 Base Die cast Aluminium EN AB-AISI11 Cu2 (Fe)
162 Motor bracket Cast iron EN-GJL-250
212 Priming plug EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L) G 3/8
2121 Drainage plug EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L) G 3/8
212-2 Venting plug EN 1.4404 (AISI 316L)
flange type: N EN 1.4308 (ASTM CF8) EN 1.4408 (ASTM CF8M)
219 Counter flange
flange type: LF-F-V-C EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
245 Coupling guard EN 1.4301 (AISI 304)
2731 Washer (drainage plug) EN 1.4301 (AISI 304) | EN 1.4404 (AISI 316L)
615 Flange Nodular Cast Iron

56

E2ARA



50Hz

VERTICAL MULTISTAGE PUMPS

EVMS

QUANTITY FOR MODEL

EVMS(L)10

X

M — || ) NI IR IR IEIGIRY

=~ ©

= T g NI IR

o~

,wm NN

= g NI IR IEIGIRY

[te) o~

e 5 -

- 2 N IR IR

= [

= Q

G I R

3 1= S

@ - [ NI I I

= - |- b

- - o~

=] |- S G I R

5 N |0

e | <= 2] N I R

s NN

= ,@ I e e R

2 R (R (R

53 NIRRT

% NN

= RN (DU U N U ()

¥ <]~ 2
. T 8 || <]<[=]<]-
S L ||~ ] AR AR AR AR AR AR
w <<= z === -

W NN o
S AERARAR AR AR AR AR

m NN -
=] I RIS

o 0 ~

3 2|g|®

° g <<l<]=[=]<]=]-

& ||

s N . % SRR AR AR AR AR AR

S ofe|e % ~|~|~[<|<|[x|[=]|~

~ [ [ SR AR AR A

© R N ©

=] R A R
W |||t ~]~

2 NI —

m AR A T A

> ol |Y|@ x Al

- m AR A T A

> || &

N [N (DU [ R [ - AR R A R R e R
0 olo|lvw|vw|(v|w|w v |w| _|_ 0 olo|lvw|vw|lv|lvw|v|w|w
Sleldisiyigigizlgglelels|s sz S (S Pl e N N N e e B e e - o o PN PN PN I RS S
Sl |y|d|d|w|w S| |v|s|s|d|=|q|® gl B RNl B IIS|=|S| S S| 3| I

M.2345678WAO|HQMH111222 m234567W9m10Mﬁwm1ﬁ32

S |o|lo|o|lo|o|o|lo|o|o|lo|o|o|lo|o|o|e|olo|e S |olololo|o|olo|o|elo|o|olo|olele|ole|e

[ P D =N =y I =g [y =y 5y Iy I (= = (= D) (D) [ =) [ =y = [ = = N N N e N R R N R R R B R B N R R Y

o (2222222222222 2 2222 o |22 |2(222(22|222|2 222222

£ 2R R A R R R A R R R A R R R R R A R A R R R A R A 2 A K2 R 2 A K2 R R 2R ) E (22|22 (QR[(R|R|R[RD|D|RD[(D|D[A[(R[(R[(R|R

S 2121212121212 12 121212 2 2 5 2 2 2 2 2| | 5 |2[2(215 1515 5 5 5 2 2 2 2 2 2 2 2 2

L do|d|o|d|dold|dlddlcldodddlolo L |o|o|o|d|d|d|dd|d|lo|c|ooalold|d|d]|o

128-6 / 135-6: with Aluminium coupling (see drawing pag.18)

** only for Loose round flange (LF)

* only for Oval flange (N)

57




50 Hz

VERTICAL MULTISTAGE PUMPS EVM S

[MPa]

24 —

20

0.8 —

0.4 —

P2
(kW]

NPSH

[m]

58

280

[m]

240

200

160

120

80

40

05

04

03

02

4

PERFORMANCE CURVE
EVMSG10
10 20 30 40 50 &0 T
0. usg.pm. | 1 | 1 1 | I
0 T 1 ' ' I I
Imp.g.p.m. 10 20 30 4“0 % ®
— 900
H
[f]
23w
— =2 mwo o S \ %
F=—-21/7s%w_ _|_ —h\
i
\\ L 700
e 19swo | \ \
F——-18/75kw_ _|_ _ N
e
\ — 600
F——-16/rskw—— | | — \
——-15/sskw— | _ 1 x &
For-18fssaw— | _.__\\ N B
= 12/55 kW e — \\ \\
— 11/s0kwWw=—f=—rm e o Y\ \\\ -
—_—
===—-10/a0kw= —— — —— \
\\
F—=—-9/a0w ———— — \ %
— | L
F——-8/0kw — —|— ——__ _ ] \\ N -
F—=-7B0kwW — —|—— —— \§
\
= Ao I I _._\-\\\\. — 200
- ——-5/22kW — —|— — — — . __ 4—\\\\§:
_\\
=T -4/22w ——|————+——— ~
—~—
F—+-3/15kW ——[—————— \\Q — 100
= -2/07skw——|—— —— - — — T
\
—_—
0
40 80 120 160 200 240 Q[l/min]
| : T T T T T | 1
0 2 4 6 8 10 12 " ol
80
n
[%]
60
n% =1 L
/ ?
kW/stage bt
0
0 40 80 120 160 200 240 Q[l/min]
NPSH
— o M
m—— -
0
! A - 120 160 200 240 Q[l/min]

Test standard: ISO 9906:2012 - Grade 3B

_—J=-TET



EVM S VERTICAL MULTISTAGE PUMPS 90 Hz

TECHNICAL DATA
EVMSG10

Dimensional sketch

Oval flange (N) DIN Round flange (F) - DN40
c c
P e
2 2
© @
o @
| |
A
A | cam A w
s 2 holes M12 g 4 holes 918
Cd
- I G3/8 - = [ 7f§$—£ g §4§y )ﬂ
sl NI fo ‘ g [ PO =R s Abral L
‘%‘ 4 holes @12 HV ‘%‘ & 130 2 4 holes @12 H 5110 <
200 ‘ 5 190 ‘ 215
280 250
Dimensions [mm] and Weights [Kg]
Motor Oval flange (N) Round flange (F)
1~ 3~ Weight Weight
Weight Pump + Weight Pump+
Pmax| KW Size A |B C|B C | H2 | H2#H3 | Pump Motor | Hp | H24H3 | Pump  Motor
Pump Type [MPa] 5] 1~ 3~ 1~ 3~ 1~ 3~ 1~ 3~
EVMSG10 2/0.75 16 |0.75| 80 120 (157 150|141 102 | 343 | 575 150 21.6 33,4 30.1 | 343 | 575 576 243 36,1 32.8
EVMSG10 3/1.5 1.6 | 15| 90 | 140 |172 140[160 119| 383 | 661 140 | 225 [430 36.0| 383 661 674 | 253 |430 388
EVMSG10 4/2.2 16 |22 | 90 | 140 |172 140[160 119| 413 [ 729 140 | 233 [500 383 | 413 [729 704 | 26 |500 41.0
EVMSG10 5/2.2 1.6 22 920 140 (172 140|160 119 | 443 | 759 140 24.2 50,0 39.2 | 443 | 759 734 26.9 50,0 419
EVMSG10 6/2.2 1.6 22 90 140 (172 140|160 119 | 473 | 789 140 25 51,0 40.0 | 473 | 789 764 277 51,0 427
EVMSG10 7/3.0 16 [30|100| 160 | - - [176 123 513 | - 855| 26 - 480|513 | - 85| 287 | - 507
EVMSG10 8/3.0 1.6 3.0 | 100 160 - - | 176 123| 543 - 885 26.8 - 48.8 | 543 - 885 29.5 - 51.5
EVMSG10 9/4.0 16 |40 | 12| 160 | - - [193 138|573 | - 937| 277 | - 562|573 | - 937| 304 | - 589
EVMSG1010/40 16 |40 | 112 | 160 | - - [193 138|603 | - 967| 285 | - 570|603 | - 967 | 312 | - 597
EVMSG1011/40 16 |40 [ 112 | 160 | - - [193 138|633 | - 997 | 301 | - 586|633 | - 997| 329 | - 614
EVMSG10 12/5.5 1.6 55 | 132 300 - - 1220 152| 761 - 1160( 39.9 - 789 | 761 - 1160| 427 - 81.7
EVMSG1014/55 16 |55 [ 132 | 300 | - - [220 152| 821 | - 1220 418 | - 808|821 | - 1220 445 | - 835
EVMSG1015/55 16 |55 | 132 | 300 | - - [220 152| 851 | - 1250 427 | - 817|851 | - 1250 454 | - 844
EVMSG10 16/7.5 25 75 | 132 300 - - 1220 152 - - - - - - 881 - 1300| 46.3 - 92.3
EVMSG1018/7.5 25 [75|132| 300 | - - 220 152 - | - - - - - |91 | - 1360 477 | - 937
EVMSG1019/7.5 25 [ 75| 132 | 300 | - - 220 152 - | - - - - - |oer| - 13%0| 491 | - 951
EVMSG10 21/7.5 25 75 | 132 300 - - 1220 152 - - - - - - 1031 - 1450| 50.9 - 96.9
EVMSG10 22/11 25 | 11| 160 | 350 | - - |250 180| - | - - - - - |1091| - 1531] 532 | - 1157
EVMSG10 23/11 25 | 11 | 160 | 350 | - - |259 180| - | - - - -« 121 | - 1s61| 599 | - 1224

1.6 MPa=16 bar; 2.5 MPa=25 bar
- not available model

59

E2ARA



50 Hz

VERTICAL MULTISTAGE PUMPS

EVMS

60

32-1
162 —

131-1

130-2

130-1

120-3
245

128-1

135-1

SECTIONAL VIEW

EVMSG10

212-2

PR
115-4 — |
115-1
120-1

432 — | ||

43-3

52-1

137-1 —

48 \\g

VZi

(SN \\VH)
@

with Round flange (F)

120-13

T 441

31

21
5-1
107
75-1
2731
21241

_—J=-TET



EVM S VERTICAL MULTISTAGE PUMPS 90 Hz

PIPE CONNECTION
EVMSG10

117
120-11
219

with Oval flange (N)

61

_—J=-TET



50 Hz

VERTICAL MULTISTAGE PUMPS

EVMS

SECTIONAL TABLE

EVMSG10

N° PART NAME Mé\;;';lél‘ DIMENSIONS STANDARD
4 Casing cover EN 1.4301 (AISI 304)
5-1 Suction casing EN 1.4301 (AISI 304)
5-2 Intermediate casing EN 1.4301 (AISI 304)
5-3 Intermediate casing with bearing EN 1.4301 (AISI 304)
5-4 Discharge casing EN 1.4301 (AISI 304)
6 Bottom casing Cast Iron EN-GJL-250
7 Outer casing EN 1.4301 (AISI 304)
21 Impeller EN 1.4301 (AISI 304)
31 Shaft EN 1.4301 (AISI 304)
321 Adjuster key EN 1.4301 (AISI 304)
43-2 Shaft sleeve (intermediate) EN 1.4301 (AISI 304)
43-3 Shaft sleeve (bearing + discharge casing) EN 1.4301 (AISI 304)
44-1 Shaft sleeve bearing Tungsten carbide
46 Ring (mechanical seal) EN 1.4404 (AISI 316L)
47 Ring holder EN 1.4404 (AIS| 316L)
48 Impeller nut EN 1.4301 (AISI 304) with inox insert M10
52-1 Sleeve bearing Tungsten carbide
75 O-Ring (priming plug) EPDM/ FPM ©12.37x2.62 OR 3050
751 O-Ring (drainage plug) EPDM / FPM
107 Liner ring EN 1.4301 (AISI 304) + PPS
1M1 Mechanical seal see pages 6-7
111-3 Mechanical seal seat EN 1.4308 (ASTM CF8)
111-4 Seal holder EN 1.4301 (AISI 304)
111-5 Mechanical seal cartridge sleeve EN 1.4301 (AISI 304)
115-1 O-Ring (outer casing) EPDM / FPM &164.46x5.34 OR 6945
115-4 O-Ring (cartridge sleeve) EPDM/ FPM 215.88x2.62 OR 4093
115-5 O-Ring (seal flange) EPDM / FPM @37.77x2.62 OR 4175
17 Flange gasket EPDM/FPM
120-1 Tie-rod EN 1.4057 (AISI 431) M12
120-3 Screw (seal flange) A2-70 M5x12 1SO 4762
up to 4.0 kW M6x25 1SO 4762
120-6 Screw (pump coupling) from 5.5 kw to 7.5 kW Galvanized steel M8x20 1SO 4762
above 11 kW M10x30 1SO 4762
120-11 Screw (counterflange) A2-70
MEC 80 M6x20 1SO 4017
MEC 90-100-112 i M8x20 1SO 4017
120-13 Screw for motor Galvanized steel 8.8 strength class ISO 898/1
MEC 132 M12x40 UNI 5739
MEC 160 M16x50 1SO 4017
128-1 Nut (tie rod) A2-70 M12 1SO 4032
128-3 Nut (motor) MEC 132 Galvanized steel w2 IS0 4032
MEC 160 M16 1SO 4032
128-6 Nut (aluminium coupling) MEC 71-80-90-100-112 Galvanized steel Mé 1SO 4032
130-1 Set screw EN 1.4301 (AISI 304) M5x8 1SO 4026
130-2 Screw for coupling guard A2-70 M5x6 UNI 7687
131-1 Pin for shaft Carbon Steel 25x35 1ISO 2338
135-1 Washer (tie rod) EN 1.4301 (AISI 304) @13x24x2.5 1SO 7089
135-6 Washer (aluminium coupling) up to 4.0 kW Carbon Steel 26
137-1 Impeller spacer EN 1.4301 (AISI 304)
i up to 4.0 kW Die cast Aluminium EN AB-AISI11Cu2 (Fe)
140 Coupling
above 5.5 kW Cast Iron
162 Motor bracket Cast iron EN-GJL-250
212 Priming plug EN 1.4301 (AISI 304) G3/8
212-1 Drainage plug EN 1.4301 (AISI 304) G3/8
212-2 Venting plug EN 1.4404 (AISI 316L)
flange type: N Galvanized steel
219 Counter flange
flange type: F Cast Iron EN-GJL-250
245 Coupling guard EN 1.4301 (AISI 304)
2731 Washer (drainage plug) EN 1.4301 (AISI 304)

62

E2ARA



50 Hz

VERTICAL MULTISTAGE PUMPS

EVMS

QUANTITY FOR MODEL

EVMSG10

N°

M3 [ 1114 [ 1115 [ 1151 | 1154 [ 1156

m

245 | 27341

2122 | 219°

224

212

107

751

75

1

48

47

46

432 | 433 | 441

1

31

2

53 | 54

52

15

51

1

N°

162

140

13741

1356

1351

13141

1302

1301

1286

1283

1206 | 120-11*| 120-13| 12841

1203

1201

"7

Pump Type

EVMSG10 2/0.75

EVMSG10 3/1.5

EVMSG10 4/2.2

EVMSG10 5/2.2

EVMSG10 6/2.2

EVMSG107/3.0

EVMSG10 8/3.0

EVMSG10 9/4.0

EVMSG10 10/4.0

EVMSG10 11/4.0

EVMSG10 12/5.5

EVMSG10 14/5.5

EVMSG10 15/5.5

EVMSG10 16/7.5

EVMSG10 18/7.5

EVMSG10 19/7.5

EVMSG10 21/7.5

EVMSG10 22/11

EVMSG10 23/11

Pump Type

EVMSG10 2/0.75

EVMSG10 3/1.5

EVMSG10 4/2.2

EVMSG10 5/2.2

EVMSG10 6/2.2

EVMSG107/3.0

EVMSG10 8/3.0

EVMSG10 9/4.0

EVMSG10 10/4.0

EVMSG10 11/4.0

EVMSG10 12/5.5

EVMSG10 14/5.5

EVMSG10 15/5.5

EVMSG10 16/7.5

EVMSG10 18/7.5

EVMSG10 19/7.5

EVMSG10 21/7.5

EVMSG10 22/11

EVMSG10 23/11

* only for Oval flange (N)

128-6 / 135-6: with Aluminium coupling (see drawing pag.18)

63




50 Hz VERTICAL MULTISTAGE PUMPS EVM S

PERFORMANCE CURVE
EVMS(L)15
o USgpm 20 30 40 50 60 70 80 90 100 110 120 130
| ] | ] ] ] ] | | ] | | ]
0 I I I | I I I I | I
Imp.g.p.m. 20 30 40 50 60 70 80 90 100 110
280
— 900
P H H
[MPa] [m] [f]
B N =17/15kw
24 210 - — 800
———— ~15/1sk \
~—|__ — 700
20— e
200 — ~
————— 13/11kw_ \
—— — 600
_____ 12/116w_ \
16 - L —~ |\ \ \
160 — 11/11kw_- R
. \ \ | e00
_____ 10/1kw_ | \
—————— 9/1w | \\\
[ P Te— \ N~ — 400
______ 8/75 W 1 \\\ \
______ 7/7.5kw 4 \\
______ 6/s5kw — _|_ \\
08 — 80 m— L
L N
—-5/sskw — ||
\
______ aoen ——f—— _'\\\ — 200
\\
04— 04— 3/3.0kW — —— — I ———
—— \
______ DY P N \ — 100
—————— 1/11kW — — — —
D —
0 - 0 0
0 100 200 300 400 Qlimin]
I T T T T T T T T T T T T T T 1
0 2 4 6 8 10 12 14 16 18 20 22 24 26 28 Q[m?/h]
14 80
P, n
kW] /_\ %]
10 — 60
ne —
e
06 kW/stage — | 40
02 0
0 100 200 300 400 Qlimin]
NPSH 5 NPSH
|15
Mmoo // ff
3 10
2 —— s
/ —
1
0 0
0 100 200 300 400 Qllimin]
Test standard: 1ISO 9906:2012 - Grade 3B
64

_—J=-TET



EVMS

VERTICAL MULTISTAGE PUMPS

Dimensional sketch

TECHNICAL DATA
EVMS(L)15

Oval flange (N) DIN Loose round flange (LF) - DN50 Victaulic® connection (V)
c
4 holes @18
B (- (A
‘ }7 £ | | | H—1t 7= G3/8
o i NS - Q}&
o s =B R E 4
2 5 L pIs= LI, )
@ T = H = i —
hd i 130 22 Aholes @12 m 2125 8[
190 215
A G38 300 250
DIN Round flange (F) - DN50
4 holes @18
E= 2 holes M12 oes
1 1 I
g | i | — @Ll hl@ G3B
g — )
- i pali ] <=8 ]g 8 i e Is
s <15 5| —=—°* N | ©
gl =ES | : " N
‘ 4ho\esﬂ12‘
130 4 holes @12 130 22 4holesp12 2125 < —
190 190 215
200 300 250
Dimensions [mm] and Weights [Kg]
Loose round flange (LF) Victaulic® connection (V)
Motor Oval flange (N) Round flange (F) Clamp connection (C)
1~ 3~ Weight Weight Weight
Weight Pump + Weight Pump + Weight Pump +
Pmax kKW Sizz2 A | B C | B C | H2 | H2+H3 |[Pump Motor H2 | H2+H3 |Pump Motor H2 | H2+H3 |Pump Motor
Pump Type [MPa] [] 1~ 3~ 1~ 3~ 1~ 3~ 1~ 3~ 1~ 3~ 1~ 3~
EVMS(L)15 1/1.1 16 | 1.1 | 80 | 120 [157 149|141 102| 377 | 609 621 | 18.0 |30,0 28.0| 377 | 609 621 | 188 |30,8 28.8 | 377 | 609 621 | 169 |28,9 26.9
EVMS(L)152/22 16 | 22| 90 | 140 [172 140|160 119| 387 | 703 678 | 18.3 (42,0 33.3 | 387 | 703 678 | 19.1 |44,0 34.1 | 387 | 703 678 | 17.2 [41,0 322
EVMS(L)153/3.0 1.6 [ 30| 100 | 160 | - - |176 123| 437 | - 779| 196 | - 416|437 | - 779 204 | - 424|437 | - 779| 185 | - 405
EVMS(L)154/40 16 |40 | 112 | 160 | - - [193 138| 477 | - 841| 208 | - 493|477 | - 841| 216 | - 501 | 477 | - 841 | 197 | - 482
EVMS(L)155/55 16 | 55| 132 | 300 | - - [220 152| 614 | - 1013| 305 | - 695 614 | - 1013 313 | - 703 614 | - 1013| 294 | - 684
EVMS(L)156/55 1.6 | 55| 132|300 | - - |220 152 654 | - 1053| 317 | - 707|654 | - 1053| 325 | - 715|654 | - 1053| 306 | - 696
EVMS(L)157/75 16 | 75| 132|300 | - - [220 152| 694 | - 1113| 339 | - 799 694 | - 1113| 347 | - 807 694 | - 1113| 328 | - 788
EVMS(L)158/7.5 16 |75 | 132|300 | - - [220 152| 734 | - 1153| 352 | - 81.2| 734 | - 1153| 360 | - 820 734 | - 1153 341 | - 801
EVMS(L)15 9/11 16 | 11 | 160 | 350 | - - |259 180| 804 | - 1244| 365 | - 99.0| 804 | - 1244| 373 | - 998 804 | - 1244| 354 | - 979
EVMS(L)1510/11 1.6 | 11 | 160 | 350 | - - [259 180| 844 | - 1284| 37.8 | - 100.3| 844 | - 1284| 386 | - 101.1| 844 | - 1284 367 | - 99.2
EVMS(L)1511/11 16 | 11 | 160 | 350 | - - [259 180| 884 | - 1324| 458 | - 108.3| 884 | - 1324| 466 | - 109.1| 884 | - 1324 447 | - 107.2
EVMS(L)1512/11 25 | 11 | 160 | 350 | - - [259 180| - - - - - - | 924 | - 1364 479 | - 1104| 924 | - 1364| 460 | - 1085
EVMS(L)1513/11 25 | 11 | 160 | 350 | - - |259 180 - - - - - - | 964 | - 1404| 492 | - 111.7| 964 | - 1404| 47.3 | - 109.8
EVMS(L)1515/15 25 | 15 | 160 | 350 | - - [311 240| - - - - - - | 1044 | - 1539 51.8 | - 152.8| 1044 | - 1539| 499 | - 1509
EVMS(L)1517/15 25 | 15 | 160 | 350 | - - [311 240| - - - - - - | 124 | - 1619 547 | - 1557|1124 | - 1619| 528 | - 153.8

1.6 MPa=16 bar;
- not available model

2.5 MPa=25 bar

65

E2ARA

50Hz



50 Hz VERTICAL MULTISTAGE PUMPS EVM S

SECTIONAL VIEW
EVMS(L)15

120-13

with Round flange (F)

66




50 Hz

VERTICAL MULTISTAGE PUMPS

EVMS

PIPE CONNECTION

EVMS(L)15

)

[/
|1/
|
|\
|\

\

/,,

2/
2

)

/AN
.AM,!/.\
4-’

o)
<

\ Ao

K

&NV £

. /.\\ /

N
9

7

with Loose round flange (LF)

with Oval flange (N)

with Clamp connection (C)

with Victaulic® connection(V)

67

_—J=-TET



50 Hz

VERTICAL MULTISTAGE PUMPS

EVMS

SECTIONAL TAB
EVMS(L)15

LE

MATERIAL
N° PART NAME DIMENSIONS STANDARD
EVMS EVMSL
4 Casing cover EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
5-1 Suction casing EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
5-2 Intermediate casing EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
5-3 Intermediate casing with bearing EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
5-4 Discharge casing EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
6 Bottom casing EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
7 Outer casing EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
21 Impeller EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
31 Shaft EN 1.4301 (AISI 304) - EN 1.4404 (AISI 316L) -
EN 1.4462 (AISI 329A) EN 1.4462 (AISI 329A)
32-1 Adjuster key EN 1.4301 (AISI 304)
43-2 Shaft sleeve (intermediate) EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
43-3 Shaft sleeve (bearing + discharge casing) EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
43-4 Shaft sleeve (adjustment) EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
43-6 Washer EN 1.4404 (AISI 316L) @26x2.5
44-1 Shaft sleeve bearing Tungsten carbide
45 Flange holder EN 1.4301 (AISI 304)
46 Ring (mechanical seal) EN 1.4404 (AISI 316L)
47 Ring holder EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
4 | impolernut = it o insert ™ i inox ineert w10
52-1 Sleeve bearing Tungsten carbide
75 O-Ring (priming plug) EPDM / FPM 212.37x2.62 OR 3050
75-1 O-Ring (drainage plug) EPDM/FPM
107 Liner ring EN 1.4301 (AISI 304) + PPS | EN 1.4404 (AISI 316L) + PPS
1M1 Mechanical seal see pages 6-7
111-3 Mechanical seal seat EN 1.4308 (ASTM CF8) | EN 1.4408 (ASTM CF8M)
111-4 Seal holder EN 1.4301 (AISI 304)
111-5 Mechanical seal cartridge sleeve EN 1.4301 (AISI 304) | EN 1.4404 (AISI 316L)
115-1 O-Ring (outer casing) EPDM / FPM 2164.46x5.34 OR 6945
115-3 O-Ring EPDM / FPM
115-4 O-Ring (cartridge sleeve) EPDM / FPM 215.88x2.62 OR 4093
115-5 O-Ring (seal flange) EPDM / FPM B37.77x2.62 OR 4175
120-1 Tie-rod EN 1.4057 (AISI 431) M12
120-3 Screw (seal flange) A2-70 M5x12 1ISO 4762
up to 4.0 kW M6x25 1SO 4762
120-6 Screw (pump coupling) from 5.5 kW to 7.5 kW Galvanized steel M8x20 1ISO 4762
above 11 kW M10x30 1SO 4762
120-11 Screw (counterflange) A2-70
MEC 80 M6x20 1SO 4017
MEC 90-100-112 . M8x20 I1SO 4017
120-13 | Screw for motor Galvanized steel 8.8 strength class ISO 898/1
MEC 132 M12x40 ISO 4017
MEC 160 M16x50 ISO 4017
128-1 Nut (tie rod) A2-70 M12 I1SO 4032
MEC 132 : M12 ISO 4032
128-3 Nut (motor) Galvanized steel
MEC 160 M16 ISO 4032
128-5 Nut (tie rod) A2-70 M12 UNI 7474
128-6 Nut (aluminium coupling) MEC 71-80-90-100-112 Galvanized steel M6 I1SO 4032
130-1 Set screw EN 1.4301 (AISI 304) M5x8 ISO 4026
130-2 Screw for coupling guard A2-70 M5x6 UNI 7687
131-1 Pin for shaft Carbon Steel 25x35 1ISO 2338
135-1 Washer (tie rod) EN 1.4301 (AISI 304) @13x24x2.5 1SO 7089
135-6 Washer (aluminium coupling) up to 4.0 kW Carbon Steel a6
137-1 Impeller spacer EN 1.4301 (AISI 304) | EN 1.4404 (AISI 316L)
) up to 4.0 kW Die cast Aluminium EN AB-AISI11 Cu2 (Fe)
140 Coupling
above 5.5 kW Cast Iron
160 Base Die cast Aluminium EN AB-AISI11 Cu2 (Fe)
162 Motor bracket Cast iron EN-GJL-250
212 Priming plug EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L) G 3/8
2121 Drainage plug EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L) G 3/8
212-2 Venting plug EN 1.4404 (AISI 316L)
flange type: N EN 1.4308 (ASTM CF8) EN 1.4408 (ASTM CF8M)
219 Counter flange
flange type: LF-F-V-C EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
245 Coupling guard EN 1.4301 (AISI 304)
273-1 Washer (drainage plug) EN 1.4301 (AISI 304) | EN 1.4404 (AISI 316L)
615 Flange Carbon Steel

68

E2ARA



50Hz

VERTICAL MULTISTAGE PUMPS

EVMS

QUANTITY FOR MODEL

EVMS(L)15

m hnl N A A mm NN | N
M ©o
= Id NN || NN e
w o~
& N~~~
= g N oo e en| ey
[ts) NI
E I & o] oola]<[<[<]-
3 Q[
= (=[] & RS (DU (U U N (U U
s o~
o
< |||~ -
= [ NI IR
&

s “|=|=|<]<
o - - |-
& |||~

5 c|ele|e|s

- 2] ===+

:7.v NN NN ~

[ R e 3 B e e R

& N oo o

) NI IR IRIEIRIRY

X JEEY U R N

= RN U U N () U U [

[ “|=|=|=]< A
< alalalal= % <[ ~[=|~|=~]|~]=]~

o . <
NW AR AR AR Zz 8 NARARARARAE AR AN

W ~la|a|afo A
= I S e e b

8 NNNNE —
= RARAR AR AR AR SRR

m ||| o A
m ~lo|<|w|~ mlw IR

BN 2 RN A AN
m olo|2|N|@ m ~|~|~=|=[=[=|=|~
T m I [ R IR R R I
i — |||~

& - 2
2% SRR AR AR AR AR

= clafele|~ A

R R i

ES] R A I T e

~ ||| &

or]

© R Rl R R =<} A A I I

3 ~|={-[|- £ ol o] |<|<]<]<]-

2 Nl oo

M NIRRT R R

3 oo 22

m NIRRT R R
> R &

s ||~~~ m__ A I I I o I B I I
—|~lalalw|e|e|e||S|s|s|E|2]2 s|ala|alw|wlv|w|l_(S|c|s|s|2|e
p B ol Il el 0ol N I el RSl Bl B R A R NN EEENNEBRREIREEES

W.123456789m1m111 WW23456.H89,W1QHHW
S |o|lv|lvfv|lvw|v|v|v|v|v|w|[w|w|w]|w S |w|lw|lvw|vw[vw|v|lv|[v|v|v|w|w|w|wv|w
= D N Y R RN Y R RN R R N RN s - P N Y Y RN RN S N N N S s
o 222 222222222222 -3 222222222222 222
£ DNID(D|D[(D[(RD]|D[D[RD]|D|ND|D[ND|D|ND £ DNID(AD[(ARD[RD]|D|D|D[AD|D|D[(ND|DV|D|ND
AHHHHEHHHHEHEHHH R HHHHEHEEHE R
L | d|o|d|o|o| o o|d|o|oo|o|o|o|d L |dd|d|d|d|dd|dddldoala|ld|d

128-6 / 135-6: with Aluminium coupling (see drawing pag.18)

** only for Loose round flange (LF)
=[] shaft in EN 1.4462 (AISI 329A)

* only for Oval flange (N)

69




50 Hz VERTICAL MULTISTAGE PUMPS EVM S

PERFORMANCE CURVE
EVMSG15
0 U.S.g.p.m. 20 30 40 50 60 70 80 90 100 110 120 130
| ] | ] ] ] ] | | ] | | ]
0 I I I | I I I I | I
Imp.g.p.m. 20 30 40 50 60 70 80 0 100 110
280
— 900
P H H
[MPa] [m] [ft]
B N =17/15kw
24 240 S~ - — 800
———— ~15/1sk \
~—|__ — 700
20— e
200 —— ~
————— 13/11kw_ \
~—_ — 600
_____ 12/116w_ \
16 - L ~r~ |\ \ \
160 — 11/11kw_- R
I \ \ L 500
_____ 10/1kw_ | \
—————— 9/1w | \\\
. . . 1 \ \ | 400
““““ 8/7.50w _ | \\\ \
______ 7/7.5kw 4 \\
______ 6/s5kw — _|_ \\
08— g T— L
L N
—-5/sskw — ||
\
______ aoen ——f—— _'\\\ — 200
\\
04— 04— 3/3.0kW — —— — I ———
—— \
—————— 2/22kW == — — \ '
—————— /110w — - — —
D —
0 - 0 0
0 100 200 300 400 Q[l/min]
[ [ | [ [ I | | I I [ I I | I ]
0 2 4 6 8 10 12 14 16 18 20 22 24 26 28 Q[m?/h]
14 80
P, n
kW] /_\ %]
10 — 60
n% —
e
06 kW/stage — “
0.2 0
0 100 200 300 400 Q[/min]
NPSH 5 NPSH
—15
m 4 // ft
3 10
2 — 5
/ —
1
0 0
0 100 200 300 400 Q[l/min]
Test standard: 1ISO 9906:2012 - Grade 3B
70

_—J=-TET



EVMS

VERTICAL MULTISTAGE PUMPS

Dimensional sketch

TECHNICAL DATA
EVMSG15

Oval flange (N) DIN Round flange (F) - DN50
c c
e e
S ?
< <
hid hid
| |
A | | G A | cas
k= 2 holes M12 b= 4 holes 918
| \ ” 638 = =S
| ! ‘ A H S G38
el | = HeslH=ggE Yo
4] ] Qs s
gl L@ 1 \H ‘ g L | SIRSEIN e
130 Aholes 212 JJ] | 100 & 130 22 4 holes 912 m 0125 S
190 215 2t
200 950 190 215
300 250
Dimensions [mm] and Weights [Kg]
Motor Oval flange (N) Round flange (F)
1~ 3~ Weight Weight
Weight Pump + Weight Pump +
Pmax|¥W Size A | B C|B C | H2 | H2#H3 | Pump  Motor | H2 | H2+H3 | Pump  Motor
Pump Type [MPa] [%] 1~ 3~ 1~ 3~ 1~ 3~ 1~ 3~
EVMSG15 1/1.1 16 | 11| 80 | 120 [157 149|141 102| 377 | 609 621 | 224 |344 324|377 | 609 621 | 269 |389 369
EVMSG15 2/2.2 16 | 22| 90 | 140 [172 140|160 119| 387 | 703 678 | 226 |51,0 37.6| 387 | 703 678 | 27.2 |51,0 422
EVMSG15 3/3.0 16 | 30| 100 | 160 | - - |176 123| 437 | - 779 | 24.0 - 460|437 | - 779 | 285 | - 505
EVMSG15 4/4.0 16 | 40| 12| 160 | - - |193 138| 477 | - 841 | 252 - 537|477 | - 841 | 207 | - 582
EVMSG15 5/5.5 16 | 55| 132|300 | - - |220 152 614 | - 1013 | 34.9 - 739|614 [ - 1013| 395 | - 785
EVMSG15 6/5.5 16 | 55| 132|300 [ - - |220 152| 654 | - 1053 | 36.1 - 751|654 [ - 1053| 407 | - 797
EVMSG15 7/7.5 16 | 75| 132|300 | - - |220 152| 694 | - 1113 | 383 - 843|694 [ - 1113 429 | - 889
EVMSG15 8/7.5 16 | 75| 132|300 | - - |220 152 734 | - 1153 | 396 - 856|734 [ - 1153 442 | - 902
EVMSG15 9/11 16 | 11 | 160 | 350 | - - |259 180| 804 | - 1244 | 40.9 - 1034|804 | - 1244| 455 | - 108.0
EVMSG15 10/11 16 | 11 | 160 | 350 | - - |259 180| 844 | - 1284 422 - 1047|844 | - 1284| 468 | - 1093
EVMSG15 11/11 16 | 11 | 160 | 350 | - - |259 180| 884 | - 1324 | 502 - 1127|884 | - 1324| 547 | - 172
EVMSG15 12/11 25 | 11160 | 350 | - - [259 180 - - - - - - | 924 | - 1384| 560 | - 1185
EVMSG15 13/11 25 | 11160 [ 350 | - - [259 180 - - - - - - | 964 | - 1404| 573 | - 1198
EVMSG15 15/15 25 | 15| 160 [ 350 | - - [311 240| - - - - - - |1044| - 1539| 599 | - 160.9
EVMSG15 17/15 25 | 15| 160 [ 350 | - - [311 240| - - - - - - | 1124 | - 1619| 628 | - 1638

1.6 MPa=16 bair;

2.5 MPa=25 bar

- not available model

71

E2ARA

50 Hz



50 Hz

VERTICAL MULTISTAGE PUMPS EVM S

72

SECTIONAL VIEW

EVMSG15

120-13

120-6
128-3

; ‘§}-. 212
S 75
N

111-4

111-3

115-5

1115

31

21
5-1
107
75-1
273-1
2121

with Round flange (F)

_—J=-TET



EVM S VERTICAL MULTISTAGE PUMPS 90 Hz

PIPE CONNECTION
EVMSG15

117
120-11
219

with Oval flange (N)

73

_—J=-TET



50 Hz

VERTICAL MULTISTAGE PUMPS

EVMS

SECTIONAL TABLE

EVMSG15

N° PART NAME Mé;;g'é" DIMENSIONS STANDARD
4 Casing cover EN 1.4301 (AISI 304)
5-1 Suction casing EN 1.4301 (AISI 304)
5-2 Intermediate casing EN 1.4301 (AISI 304)
5-3 Intermediate casing with bearing EN 1.4301 (AISI 304)
5-4 Discharge casing EN 1.4301 (AISI 304)
6 Bottom casing Cast Iron EN-GJL-250
7 Outer casing EN 1.4301 (AISI 304)
21 Impeller EN 1.4301 (AISI 304)
31 Shaft EN 1.4301 (AISI 304) - EN 1.4462 (AISI 329A)
32-1 Adjuster key EN 1.4301 (AISI 304)
43-2 Shaft sleeve (intermediate) EN 1.4301 (AISI 304)
43-3 Shaft sleeve (bearing + discharge casing) EN 1.4301 (AISI 304)
43-4 Shaft sleeve (adjustment) EN 1.4301 (AISI 304)
43-6 Washer EN 1.4404 (AISI 316L) 226x2.5
44-1 Shaft sleeve bearing Tungsten carbide
46 Ring (mechanical seal) EN 1.4404 (AISI 316L)
47 Ring holder EN 1.4404 (AISI 316L)
48 Impeller nut EN 1.4301 (AISI 304) with inox insert M10
52-1 Sleeve bearing Tungsten carbide
75 O-Ring (priming plug) EPDM / FPM @12.37x2.62 OR 3050
75-1 O-Ring (drainage plug) EPDM / FPM
107 Liner ring EN 1.4301 (AISI 304) + PPS
1M1 Mechanical seal see pages 6-7
111-3 Mechanical seal seat EN 1.4308 (ASTM CF8)
111-4 Seal holder EN 1.4301 (AISI 304)
111-5 Mechanical seal cartridge sleeve EN 1.4301 (AISI 304)
115-1 O-Ring (outer casing) EPDM / FPM ©164.46x5.34 OR 6945
115-4 O-Ring (cartridge sleeve) EPDM / FPM 15.88x2.62 OR 4093
115-5 O-Ring (seal flange) EPDM / FPM @37.77x2.62 OR 4175
117 Flange gasket EPDM/ FPM
120-1 Tie-rod EN 1.4057 (AISI 431) M12
120-3 Screw (seal flange) A2-70 M5x12 1SO 4762
up to 4.0 kW M6x25 1SO 4762
120-6 Screw (pump coupling) from 5.5 kW to 7.5 kW Galvanized steel 6.8 strenght class ISO 898/1 M8x20 1ISO 4762
above 11 kW M10x30 1SO 4762
120-11 Screw (counterflange) A2-70
MEC 80 M6x20 I1SO 4017
MEC 90-100-112 M8x20 I1SO 4017
120-13 Screw for motor Galvanized steel 8.8 strength class ISO 898/1
MEC 132 M12x40 1SO 4017
MEC 160 M16x50 1SO 4017
128-1 Nut (tie rod) A2-70 M12 1SO 4032
MEC 132 ) M12 1SO 4032
128-3 Nut (motor) Galvanized steel
MEC 160 M16 1SO 4032
128-6 Nut (aluminium coupling) MEC 71-80-90-100-112 Galvanized steel M6 1SO 4032
130-1 Set screw EN 1.4301 (AISI 304) M5x8 1SO 4026
130-2 Screw for coupling guard A2-70 M5x6 UNI 7687
131-1 Pin for shaft Carbon Steel @5x35 1SO 2338
135-1 Washer (tie rod) EN 1.4301 (AISI 304) D13x24x2.5 1SO 7089
135-6 Washer (aluminium coupling) up to 4.0 kW Carbon Steel 26
137-1 Impeller spacer EN 1.4301 (AISI 304)
up to 4.0 kW Die cast Aluminium EN AB-AISI11Cu2 (Fe)
140 Coupling
above 5.5 kW Cast Iron
162 Motor bracket Cast iron EN-GJL-250
212 Priming plug EN 1.4301 (AISI 304) G3/8
2121 Drainage plug EN 1.4301 (AISI 304) G 3/8
212-2 Venting plug EN 1.4404 (AISI 316L)
flange type: N Galvanized steel
219 Counter flange
flange type: F Cast Iron EN-GJL-250
245 Coupling guard EN 1.4301 (AISI 304)
2731 Washer (drainage plug) EN 1.4301 (AISI 304)
74

E2ARA



50 Hz

VERTICAL MULTISTAGE PUMPS

EVMS

QUANTITY FOR MODEL

EVMSG15

N°

245 | 27341

2122 | 219°

M3 | 114 | 1115 1151 | 1154 | 1155

m

107

75 | 751

1

8

47

4

432|433 | 434 | 436 | 441

1

3™

2

7

N°

221

212

162

140

13741

1356

1351

13141

1302

1304

1286

1283

52 | 53 | 54

10

51

1
1

1206 | 120-11*| 120-13| 12841

1203

1201

"r

Pump Type

EVMSG15 1/1.1

EVMSG15 2/2.2

EVMSG15 3/3.0

EVMSG15 4/4.0

EVMSG15 5/5.5

EVMSG15 6/5.5

EVMSG157/7.5

EVMSG15 8/7.5

EVMSG15 9/11

EVMSG15 10/11

EVMSG15 11/11

EVMSG15 12/11

EVMSG15 13/11

EVMSG15 15/15

EVMSG15 17/15

Pump Type

EVMSG15 1/1.1

EVMSG15 2/2.2

EVMSG15 3/3.0

EVMSG15 4/4.0

EVMSG15 5/5.5

EVMSG15 6/5.5

EVMSG157/7.5

EVMSG15 8/7.5

EVMSG15 9/11

EVMSG15 10/11

EVMSG15 11/11

EVMSG15 12/11

EVMSG15 13/11

EVMSG15 15/15

EVMSG15 17/15

* only for Oval flange (N)

s+ [ shaft in EN 1.4462 (AISI 329A)

128-6 / 135-6: with Aluminium coupling (see drawing pag.18)

75




50 Hz

VERTICAL MULTISTAGE PUMPS

[MPa]

24 —

2.0 —

0.8 —

0.4 —

kW]

NPSH

[m]

76

PERFORMANCE CURVE
EVMS(L)20
o USgpm. 2|0 3|0 l’iO 5|0 6|0 7|0 8|0 9|0 10|0 11|0 1|2 1|30
‘ I l | | T I T I 1
0 Imp.g.p.m. 20 30 40 50 60 70 80 90 10
280 — | L o000
T-16/18. skW.
H | <44
[m] \\|15/85 \\\\\i\
== 11144 1— 800
240 ————= 14/185k
=20 1 \'\\
| 19 s \
T 13/ w \\\\ -
200 === |12/ e T~ \‘\\
| 15kw | \ \
[T |11/15 kW H \\\\\\ B
160 T 10Aww 1l e — \\\ \ ‘\
L | TTT T e N \ \ — 500
T 9w | T \
\\\\\\ T — \\\ \
T8 kW \\
120 o= | TTrre \\\‘\ \ — 400
““““ Thaw | | T \ \ N
| TTTTT T \
—————— | 6/750w- 1 \\\\\
T T T —— — 300
USSR
8 - ——— 5/7.5kw- 1L B \\ \
| ITIIT \\ \\ \ ]
————— 4fssww-—L ||| | \\\\ — 200
_____ | 3/aokw-—4+ o T \|
40
|
—————— 2/30kW-—4— L \\' — 100
| — T
—————— 1/isew-—f+ L | T
| T
0 0
|
0 50 100 150 200 250 300 350 400 450 Q[l/min]
[ [ [ I I I [ [ [ I I [ I I [ ]
0 2 4 6 8 10 12 14 16 18 20 22 24 2 28 Q[meh]
18 80
—
14 — T~ 60
n% =
1.0 — 40
kW/stage —_—
06 l 0
0 50 100 150 200 250 300 350 400 450 Q[l/min]
8
° / 1 2
4 .
— —10
2
0 0
0 50 100 150 200 250 300 350 400 450 Q[l/min]

Test standard: 1ISO 9906:2012 - Grade 3B

[ff

%]

NPSH
[ft]

_—J=-TET



EVMS

VERTICAL MULTISTAGE PUMPS

Dimensional sketch

TECHNICAL DATA
EVMS(L)20

Oval flange (N)
c
18
2
E)
S
A | cas
£ 2 holes M12
- N
— -
3l LAl 1°
1_130 | 4 holes @12
190
200

DIN Loose round flange (LF) - DN50 Victaulic® connection (V)
4 holes 218
I 77‘\7 I I _ V\
T [ s =l e E‘ »
8| E A ) ;#*s © 1
.130_| 22 4holes 912 m
190
300 ‘
DIN Round flange (F) - DN50 Clamp connection (C)
4 holes 218
I jii I P \
g o I b —— | & e Gas
b SIS o %
8 I R S
fa T T ﬁ
130 2 4ho|ese12m 2125 8‘ A1es 02 fl
190 ‘ 215 ‘ o
300 250 =

Dimensions [mm] and Weights [Kg]

Oval fange e )
1~ 3~ Weight Weight Weight
Weight Pump + Weight Pump + Weight Pump +
pmax| W Sze A |B C|B C | H2 | H2+H3 |Pump Motor H2 | H2+H3 |Pump Motor H2 | H2+H3 |Pump Motor
Pump Type [MPa] [%] 1~ 3~ 1~ 3~ 1~ 3~ 1~ 3~ 1~ 3~ 1~ 3~
EVMS(L)20 1/1.5 16 | 15| 90 | 140 [172 140|160 119 | 387 | 665 678 | 18.2 [36.0 31.7 | 387 | 665 678 | 20.0 (37.8 33.5| 387 |665 678 | 17.1 |34.9 30.6
EVMS(L)20 2/3.0 16 [ 30100 | 160 | - - |176 123|397 | - 739 183 | - 403|397 | - 739| 191 | - 411|397 | - 739| 172 | - 392
EVMS(L)20 3/4.0 16 [ 40| 112|160 | - - |193 138 437 | - 801 | 19.7 | - 482|437 | - 801| 205 | - 490 437 | - 801 | 186 | - 471
EVMS(L)20 4/5.5 16 [ 55132300 | - - |220 152 574 | - 973 | 256 | - 64.6| 574 | - 973 | 264 | - 654 574 | - 973 | 245 | - 635
EVMS(L)20 5/7.5 16 [ 75| 132|300 | - - |220 152 614 | - 1033| 269 | - 729|614 | - 1033| 277 | - 73.7| 614 | - 1033| 258 | - 718
EVMS(L)20 6/7.5 1.6 | 75| 132|300 | - - [220 152| 654 | - 1073| 281 | - 741|654 | - 1073| 289 | - 749 654 | - 1073 270 | - 73.0
EVMS(L)20 7/11 16 | 11 | 160 | 350 | - - |259 180 724 | - 1164 304 | - 929| 724 | - 1M64| 312 | - 93.7| 724 | - 1164| 293 | - 918
EVMS(L)20 8/11 16 | 11 | 160 | 350 | - - |259 180 764 | - 1204 422 | - 104.7| 764 | - 1204| 430 | - 1055| 764 | - 1204| 411 | - 1036
EVMS(L)20 9/11 16 | 11 | 160 | 350 | - - |259 180 804 | - 1244 435 | - 106.0| 804 | - 1244| 443 | - 106.8| 804 | - 1244| 424 | - 1049
EVMS(L)20 10/11 25 | 11 | 160 [ 350 | - - [259 180 - - - - - - | 844 | - 1284 457 | - 1082| 844 | - 1284| 438 | - 106.3
EVMS(L)20 11/15 25 | 15 | 160 | 350 | - - [311 240| - - - - - - | 884 | - 1379| 47.0 | - 1480| 884 | - 1379| 451 | - 146.1
EVMS(L)20 12/15 25 |15 | 160 | 350 | - - [311 240| - - - - - - | 924 | - 1419 483 | - 1493| 924 | - 1419| 464 | - 1474
EVMS(L)20 13/15 25 | 15 | 160 | 350 | - - [311 240| - - - - - - | 964 | - 1459| 496 | - 150.6| 964 | - 1459| 47.7 | - 1487
EVMS(L)20 14/18.5 25 [185| 160 | 350 | - - [311 240| - - - - - - | 1004 | - 1499| 51.0 | - 160.0| 1004 | - 1499| 49.1 | - 158.1
EVMS(L)20 15/18.5 25 [185| 160 | 350 | - - [311 240| - - - - - - | 1044 | - 1539| 523 | - 161.3| 1044 | - 1539| 504 | - 159.4
EVMS(L)20 16/18.5 2.5 |185( 160 | 350 | - - [311 240| - - - - - - | 1084 | - 1579| 53.6 | - 162.6| 1084 | - 1579| 51.7 | - 160.7

1.6 MPa=16 bar;
- not available model

2.5 MPa=25 bar

77

E2ARA

50Hz



EVMS

&
N
P
N
/2 A
5 esﬁ\\ﬁu\ﬁwm\l/Aﬁass T e
§ mmm,l\\l\ﬂﬂwnnmum sns2Rkey8E
g THE N/ s Ee s 2 &

_—J=-TET

VERTICAL MULTISTAGE PUMPS

50 Hz

SECTIONAL VIEW
EVMS(L)20

TTTVY

131-1
130-2
130-1
120-3

245

128-1
135-1

212-2
115-4
115-1
1371

with Round flange (F)

78



50 Hz

VERTICAL MULTISTAGE PUMPS

EVMS

PIPE CONNECTION

EVMS(L)20

)

[/
|1/
|
|\
|\

\

/,,

2/
2

)

/AN
.AM,!/.\
4-’

0
<

\ Ao

K

&NV £

. /.\\ /

N
9

7

with Loose round flange (LF)

with Oval flange (N)

with Clamp connection (C)

with Victaulic® connection (V)

79

_—J=-TET



50 Hz

VERTICAL MULTISTAGE PUMPS

EVMS

SECTIONAL TABLE
EVMS(L)20

MATERIAL
N° PART NAME DIMENSIONS STANDARD
EVMS EVMSL
4 Casing cover EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
5-1 Suction casing EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
5-2 Intermediate casing EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
5-3 Intermediate casing with bearing EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
5-4 Discharge casing EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
6 Bottom casing EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
7 Outer casing EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
21 Impeller EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
31 Shaft EN 1.4301 (AISI 304) - EN 1.4404 (AISI 316L) -
EN 1.4462 (AISI 329A) EN 1.4462 (AIS| 329A)
32-1 Adjuster key EN 1.4301 (AISI 304)
43-2 Shaft sleeve (intermediate) EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
43-3 Shaft sleeve (bearing + discharge casing) EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
43-4 Shaft sleeve (adjustment) EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
43-6 Washer EN 1.4404 (AISI 316L) @26x2.5
44-1 Shaft sleeve bearing Tungsten carbide
45 Flange holder EN 1.4301 (AISI 304)
46 Ring (mechanical seal) EN 1.4404 (AISI 316L)
47 Ring holder EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
5| mpatrnu N e 204 e
52-1 Sleeve bearing Tungsten carbide
75 O-Ring (priming plug) EPDM / FPM ©12.37x2.62 OR 3050
75-1 O-Ring (drainage plug) EPDM/FPM
107 Liner ring EN 1.4301 (AISI 304) + PPS | EN 1.4404 (AIS| 316L) + PPS
1M1 Mechanical seal see pages 6-7
111-3 Mechanical seal seat EN 1.4308 (ASTM CF8) | EN 1.4408 (ASTM CF8M)
111-4 Seal holder EN 1.4301 (AISI 304)
111-5 Mechanical seal cartridge sleeve EN 1.4301 (AISI 304) | EN 1.4404 (AISI 316L)
115-1 O-Ring (outer casing) EPDM / FPM 164.46x5.34 OR 6945
115-3 O-Ring EPDM / FPM
115-4 O-Ring (cartridge sleeve) EPDM / FPM 215.88x2.62 OR 4093
115-5 O-Ring (seal flange) EPDM/ FPM @37.77x2.62 OR 4175
120-1 Tie-rod EN 1.4057 (AISI 431) M12
120-3 Screw (seal flange) A2-70 M5x12 1ISO 4762
up to 4.0 kW M6x25 1SO 4762
120-6 Screw (pump coupling) from 5.5 kW to 7.5 kW Galvanized steel M8x20 1SO 4762
above 11 kW M10x30 1SO 4762
120-11 Screw (counterflange) A2-70
MEC 90-100-112 M8x20 1SO 4017
120-13 Screw for motor MEC 132 Galvanized steel 8.8 strength class ISO 898/1 M12x40 1SO 4017
MEC 160 M16x50 1SO 4017
128-1 Nut (tie rod) A2-70 M12 1SO 4032
MEC 132 . M12 1SO 4032
128-3 Nut (motor) Galvanized steel
MEC 160 M16 1SO 4032
128-5 Nut (tie rod) A2-70 M12 UNI 7474
128-6 Nut (aluminium coupling) MEC 71-80-90-100-112 Galvanized steel M6 1ISO 4032
130-1 Set screw EN 1.4301 (AISI 304) M5x8 1SO 4026
130-2 Screw for coupling guard A2-70 M5x6 UNI 7687
131-1 Pin for shaft Carbon Steel @5x35 1SO 2338
135-1 Washer (tie rod) EN 1.4301 (AISI 304) @13x24x2.5 1SO 7089
135-6 Washer (aluminium coupling) up to 4.0 kW Carbon Steel 6
137-1 Impeller spacer EN 1.4301 (AISI 304) | EN 1.4404 (AISI 316L)
. up to 4.0 kW Die cast Aluminium EN AB-AISI11 Cu2 (Fe)
140 Coupling
above 5.5 kW Cast Iron
160 Base Die cast Aluminium EN AB-AISI11 Cu2 (Fe)
162 Motor bracket Cast iron EN-GJL-250
212 Priming plug EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L) G 3/8
212-1 Drainage plug EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L) G 3/8
212-2 Venting plug EN 1.4404 (AISI 316L)
219 Counter flange flange type: N EN 1.4308 (ASTM CF8) EN 1.4408 (ASTM CF8M)
flange type: LF-F-V-C EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
245 Coupling guard EN 1.4301 (AISI 304)
273-1 Washer (drainage plug) EN 1.4301 (AISI 304) | EN 1.4404 (AISI 316L)
615 Flange Carbon Steel

80

E2ARA



50Hz

VERTICAL MULTISTAGE PUMPS

EVMS

QUANTITY FOR MODEL

EVMS(L)20

M3 | 1114 | 115 [ 1151|1163 1154 | 1155

m

107

75 | 751

521

48

47

45 | 46

615"

245 | 2731

2122 | 219

2121

212

162

160

140

1374

1356

o o
z z 8
i 3
¢ g
3 &
8 &
F
2 &
S
2
~ &
)
© S
M =
o8 Sy —
m ~
< ||~ — ||~ N <~ < |||
©0lo|n wlo|n
elolelwlvlnl || |c|ele|2[2]|2]2 wlole|elwlwl (o |E|2]|2]|2|2|2|2
o |Z13(3]5|5(5|E|5(5(5]5(8]2|3 2le| | & |E|S||2|5|5|EI5l5]5 5 |5z 2]
g g 2 g|Z|g|e
ololo|lo|lo|o olo|lo|o
= |8/8(3|5|5|8/8(8(5|8|8(8 (5[5 |58 | & |5|5|5|8|8|8|s|5 5| 5|8]5 55|58
LB EEEEEEEEEEE R R EEE BB EEEEEEEEEEE
HHHEEHEHHEHEE R REHEHEHEEHHHEHEEEE
Wiw(w|w|w|w|w|w|w || |o|w|w|wfw wluwjwjuwjlwjwjwjw|w|w|w|w|w|Ww|w|w

128-6 / 135-6: with Aluminium coupling (see drawing pag.18)

** only for Loose round flange (LF)
=« [ shaft in EN 1.4462 (AISI 329A)

* only for Oval flange (N)

81




50 Hz

VERTICAL MULTISTAGE PUMPS

[MPa]

24 —

2.0 —

0.8 —

0.4 —

kW]

NPSH

[m]

82

PERFORMANCE CURVE
EVMSG20
o USgpm. 2|0 slo Aio 5|0 elo 7|0 ?0 5;0 1o|0 11|0 1|2 1|30
; T T T | T T T T I
O imp.gpm. 20 30 40 50 60 70 80 90 10
280 —=— T .
T-16/18. skW.
H | <44
[m] \\|15/85 \\\\\\
== TT1144 1— 800
240 ———"14/185k
=20 1 \'\\
| 19 s \
T 13/ w \\\\ -
200 == |12/ TTr= < \;\\
| 15kw | \ \
[T |11/15 kW H \\\\\\ B
160 T 10Aww 1l e — \\\ \ ‘\
. | TTT T e N \ \ L 500
T 9w | T \
\\\\\\ T — \\\ \
T8 kW \\
120 | TTTr— ~—— \\ \ L 400
——— ~— S
IR T \ \ N
| TTTTT T \
—————— | 6/750w- 1 \\\\\
T ] — 300
M
8 - ——— 5/7.5kw- 1L B \\ \
| ITIIT \\ \\ \ ]
‘‘‘‘‘‘ 4fssww-—L ||| | \\\\ — 200
_____ | 3/aokw-—4+ o T \|
40
|
—————— 2/30kW-—4— L \\' — 100
| [T
—————— 1/1skw=-—+—— 1 | . | T
| T —
0 0
|
0 50 100 150 200 250 300 350 400 450 Qlimin]
[ [ [ I I I [ [ [ I I [ [ [ [ ]
0 2 4 6 8 10 12 14 16 18 20 22 24 2 28 Q[meh]
18 80
/_
14 — T~ 60
n% =
1.0 — 40
kW/stage —_—
06 l 0
0 50 100 150 200 250 300 350 400 450 Qlimin]
8
° / 1 2
4 L
| "1 —10
2
0 0
0 50 100 150 200 250 300 350 400 450 Qlimin]

Test standard: 1ISO 9906:2012 - Grade 3B

[ff

%]

NPSH
[ft]

_—J=-TET



EVM S VERTICAL MULTISTAGE PUMPS 90 Hz

TECHNICAL DATA
EVMSG20

Dimensional sketch

Oval flange (N) DIN Round flange (F) - DN50
c c
‘74.@ ‘,74.@
? ?
& &
& i
A | cas A | e
o
T 2 holes M12 ) 4 holes 918
T I
| \ ” 638 & S ) ‘
N i i = =: el A 638
Lgpt | « | lk/ - Nl a8 [‘9 8 W
SR Aot : s HPOHEER Sl
o
Lﬂ—‘ “‘LMHL Jof )8 ‘ 130 ‘ 2 4ho|esz12m o25] || 8
190 215 T
200 250 190 215
300 250
Dimensions [mm] and Weights [Kg]
Motor Oval flange (N) Round flange (F)
1~ 3~ Weight Weight
Weight Pump + Weight Pump +
Pmax kW Size A |B C|B C | H2 H2+H3 | Pump Motor H2 | H2+H3 | Pump Motor
Pump Type [MPa] (%] 1~ 3~ 1~ 3~ 1~ 3~ 1~ 3~
EVMSG20 1/1.5 16 | 15| 90 | 140 |172 140|160 119 | 387 | 665 678 | 22.6 |40.4 36.1| 387 | 665 678 | 27.2 | 45 40.7
EVMSG20 2/3.0 16 [ 30100 | 160 | - - |176 123|397 | - 739 | 227 - 447|397 | - 739| 273 - 493
EVMSG20 3/4.0 16 [ 40| 112 [ 160 | - - |193 138 437 | - 801 | 24.1 - 526|437 | - 801| 287 - 572
EVMSG20 4/5.5 16 |55 132|300 | - - |220 152| 574 | - 973 | 30.0 - 690|574 | - 973| 346 - 736
EVMSG20 5/7.5 16 [ 75| 132|300 | - - |220 152 614 | - 1033 31.2 - 772|614 | - 1033 359 - 819
EVMSG20 6/7.5 16 [ 75132300 | - - |220 152| 654 | - 1073 325 - 785|654 | - 1073| 3741 - 8341
EVMSG20 7/11 16 | 11 | 160 [ 350 | - - |259 180 724 | - 1164 | 34.8 - 973 | 724 | - 1164 39.4 - 1019
EVMSG20 8/11 16 | 11 | 160 [ 350 | - - |259 180| 764 | - 1204 46.6 - 109.1| 764 | - 1204| 51.2 - 137
EVMSG20 9/11 16 | 11 | 160 [ 350 | - - |259 180 804 | - 1244| 47.9 - 1104|804 | - 1244| 525 - 1150
EVMSG20 10/11 25 | 11160 | 350 [ - - |259 180| - - - - - - | 844 | - 1284| 539 - 1164
EVMSG20 11/15 25 | 15| 160 | 350 | - - |311 240| - - - - - - | 884 | - 1379| 552 - 1562
EVMSG20 12/15 25 | 15 | 160 | 350 | - - |311 240| - - - - - - | 924 | - 1419| 565 - 1575
EVMSG20 13/15 25 | 15 | 160 | 350 | - - |311 240| - - - - - - | 964 | - 1459| 57.9 - 1589
EVMSG20 14/18.5 2.5 |185| 160 | 350 | - - |311 240| - - - - - - | 1004 | - 1499| 592 - 1682
EVMSG20 15/18.5 2.5 |185| 160 | 350 | - - |311 240| - - - - - - | 1044 | - 1539| 605 - 1695
EVMSG20 16/18.5 2.5 |185| 160 | 350 | - - |311 240| - - - - - - | 1084 | - 1579| 618 - 1708

1.6 MPa=16 bar; 2.5 MPa=25 bar
- not available model

83

E2ARA



50 Hz

VERTICAL MULTISTAGE PUMPS EVM S

84

SECTIONAL VIEW

EVMSG20

120-13

120-6
128-3

; ‘§}-. 212
S 75
N

111-4

111-3

115-5

1115

31

21
5-1
107
75-1
273-1
2121

with Round flange (F)

_—J=-TET



EVM S VERTICAL MULTISTAGE PUMPS 90 Hz

PIPE CONNECTION
EVMSG20

117
120-11
219

with Oval flange (N)

85

_—J=-TET



50 Hz

VERTICAL MULTISTAGE PUMPS

EVMS

SECTIONAL TABLE

EVMSG20

N° PART NAME Mé;ﬁg'é" DIMENSIONS STANDARD
4 Casing cover EN 1.4301 (AISI 304)
5-1 Suction casing EN 1.4301 (AISI 304)
5-2 Intermediate casing EN 1.4301 (AISI 304)
5-3 Intermediate casing with bearing EN 1.4301 (AISI 304)
5-4 Discharge casing EN 1.4301 (AISI 304)
6 Bottom casing Cast Iron EN-GJL-250
7 Outer casing EN 1.4301 (AISI 304)
21 Impeller EN 1.4301 (AISI 304)
31 Shaft EN 1.4301 (AISI 304) - EN 1.4462 (AISI 329A)
32-1 Adjuster key EN 1.4301 (AISI 304)
43-2 Shaft sleeve (intermediate) EN 1.4301 (AISI 304)
43-3 Shaft sleeve (bearing + discharge casing) EN 1.4301 (AISI 304)
43-4 Shaft sleeve (adjustment) EN 1.4301 (AISI 304)
43-6 Washer EN 1.4404 (AISI 316L) 226x2.5
441 Shaft sleeve bearing Tungsten carbide
46 Ring (mechanical seal) EN 1.4404 (AISI 316L)
47 Ring holder EN 1.4404 (AISI 316L)
48 Impeller nut EN 1.4301 (AISI 304) with inox insert M10
52-1 Sleeve bearing Tungsten carbide
75 O-Ring (priming plug) EPDM / FPM @12.37x2.62 OR 3050
75-1 O-Ring (drainage plug) EPDM/ FPM
107 Liner ring EN 1.4301 (AISI 304) + PPS
1M Mechanical seal see pages 6-7
111-3 Mechanical seal seat EN 1.4308 (ASTM CF8)
111-4 Seal holder EN 1.4301 (AISI 304)
111-5 Mechanical seal cartridge sleeve EN 1.4301 (AISI 304)
115-1 O-Ring (outer casing) EPDM / FPM 2164.46x5.34 OR 6945
115-4 O-Ring (cartridge sleeve) EPDM / FPM ©15.88x2.62 OR 4093
115-5 O-Ring (seal flange) EPDM / FPM @37.77x2.62 OR 4175
17 Flange gasket EPDM / FPM
120-1 Tie-rod EN 1.4057 (AISI 431) M12
120-3 Screw (seal flange) A2-70 M5x12 1SO 4762
up to 4.0 kW M6x25 1SO 4762
120-6 Screw (pump coupling) from 5.5 kW to 7.5 kW Galvanized steel 6.8 strenght class ISO 898/1 M8x20 1ISO 4762
above 11 kW M10x30 1SO 4762
120-11 Screw (counterflange) A2-70
MEC 90-100-112 M8x20 I1SO 4017
120-13 Screw for motor MEC 132 Galvanized steel 8.8 strength class 1ISO 898/1 M12x40 1SO 4017
MEC 160 M16x50 1SO 4017
128-1 Nut (tie rod) A2-70 M12 1SO 4032
MEC 132 . M12 1SO 4032
128-3 Nut (motor) Galvanized steel
MEC 160 M16 1SO 4032
128-6 Nut (aluminium coupling) MEC 71-80-90-100-112 Galvanized steel M6 1SO 4032
130-1 Set screw EN 1.4301 (AISI 304) M5x8 1SO 4026
130-2 Screw for coupling guard A2-70 M5x6 UNI 7687
131-1 Pin for shaft Carbon Steel @5x35 ISO 2338
135-1 Wasbher (tie rod) EN 1.4301 (AISI 304) D13x24x2.5 1SO 7089
135-6 Washer (aluminium coupling) up to 4.0 kW Carbon Steel 6
137-1 Impeller spacer EN 1.4301 (AISI 304)
up to 4.0 kW Die cast Aluminium EN AB-AISI11Cu2 (Fe)
140 Coupling
above 5.5 kW Cast Iron
162 Motor bracket Cast iron EN-GJL-250
212 Priming plug EN 1.4301 (AISI 304) G3/8
2121 Drainage plug EN 1.4301 (AISI 304) G3/8
212-2 Venting plug EN 1.4404 (AISI 316L)
flange type: N Galvanized steel
219 Counter flange
flange type: F Cast Iron EN-GJL-250
245 Coupling guard EN 1.4301 (AISI 304)
2731 Washer (drainage plug) EN 1.4301 (AISI 304)

86

E2ARA



50 Hz

VERTICAL MULTISTAGE PUMPS

EVMS

QUANTITY FOR MODEL

EVMSG20

g [ [ [<[<[-[-[-[-[-[-[-[<]-]]- S al<lele]el<lala]<l<l<]l<l<]<l<]<
o
[ [<[=[<]=[<]<[<]<]~
= Llo|afafafa|o|ofoafa]o|o|ofafo]o|o
W ||| oo o fafo|ofoafofo]oa]o
0 lafafafa|a|a|a]|a|a|~~~]~]~|~]|~=
=l Il ol o R ol Il I R o I I N B Rl ol R N
< qN
A (U Y U U (U [ | (U N (Y U U [ ) [ - S e R R e e e e R R R e R e e
= ~
Pl BN Y R (N R U U U R U U U (N R <
= Sl |||t |||
o~
Elv|wle||]|]|c]||=]|=|]|=]~|~]+
N R e B B R R R B R R B R R R e
Slv|a|o|t|w|o|~|o|a|2|z|N|2|T|L|C
— o) Y [ [ [ [ U N U N U (U )
ARANARAR AR ARARARARAR AR AR ARARARAN
[ R R R R IR [ I R [ e e R R R B Clafjafafalalalafalala|o]|o]o]o]o]s
%1111112222222222 NG
S|~~~ |~|~|~]|
L=l R R R R IR [ (R R [ e e R L R
8 lelwlw|<|<|<|<|<[<|<|<|<|<|<|<|<
S I I I R [ [ [y [y Gy U A N e Ll -
AN AR AR AR AR AR AR AR AR AR AR AR AR AR AR
f<=38 oV IV I oV I VN I oV IV [ oV IV IV IOV YoV IV IOV IV IV oY) 2
..NW1111112222222222 S s |||~~~
m,l/////////////// N
EARARARARARAR IR AR AR AR AR AR AR AR AR AR
m1111112222222222
Slo|o|o|o|o|o|o|o[o|o|o|o|o|o|o|e
m2222223333333333 A
S|~~~ |x|eo|s|s|w|o|~o|o|2[=(|2 N 1T T =
< 3
IS0 Il Bl Bl il ol Bl Il ol ol Il Bl ol ol Rl R K~~~ ]|+
PN R O [y Ry Oy -
& FIBAGARARARARARARAR AR AR AR AR AR AR AR
= w|©
S r|N|o|st|[wv]|o|~o|lo|2|s(N[(2IF|R|C )
SIARARARARARARARARARIRAR AR AR AR AN
D R R R Bl R B B B R B B B R R Rl R -~
P
O I I o R R I Y R I R % I B N B B
S Rl Rl Rl Rl Rl Rl Rl Rl e e R R el Rl M4444444444444444
VYR Rl A A R A DI I I I I T I A A Y ©
FARARARARARAR AR AR AR AR AR AR AR AR AR AR
|~~~ |n|[o|s]|<|[w]|o|~|o|a|2(=|N|R
-
Qi< v|v|v|v|v|s|<|+
Slel=l=l||=|=|=|=]|=|<|]|~|=]|=]|= =
R R o s I Ty ey gy i R e Slajafafalalafafa|o~|~|~|~|~|~]|~
LI 0|0
| o |0
wlolojwlwinl | (Z|2|2|2|2|2|S wlglojeleinl | z|e|2|2|2|2|8
° A ol g e g I el B Rl R S R A R R o |ZS[(2[ILIZIZIZISIS|o|S|N|a|F|v|e
g |T|q|s|F|e|s|R|d ||| |<|[=|—]| 2 |T|9|®|F|v|s|R|s |||~
> |ololo|lo|olololololololalololo|e > |ololo|ololololo|ololololololole
[ Rl R~ R R RN R B A R R B B B A B A B B [ RO R R RO R Rl R R R RNl R R R Rl R R
I ECR RO EORROR ROR OB ROR ROR ROROR RORRORNOR ROR ROR NO} P RS RV NCREORNORROR ROR U NOR NORROR ROR RO NORRORNO)
£ 0| |o|o|o|a|a|o|o|a|la|lo|2|R|R £ |2|2|a|e|a|e|e|a|e|(a|e|a|e|a|a|d
E I = =1 =0 = =3 I3 = = (=3 I [ [N = = [ 5 |22 22|=2|2|=(=|s(==|=|==
a (==21=21=2=2121=1==1=2==12122]2 I = = = D I P P I I = I [ I I =
Lo|o|jo|o|b|n|o|o|w|o|o|o|D|L|D Lo b|b|b|o|D)L|o|D|D|o|o|o

* only for Oval flange (N)

s [ shaft in EN 1.4462 (AISI 329A)

128-6 / 135-6: with Aluminium coupling (see drawing pag.18)

87




50 Hz

EVMS

[MPa]

3.0 —

2.5 —

2.0 —

0.5 —

P,
[kW]

NPSH

[m]

88

VERTICAL MULTISTAGE PUMPS
PERFORMANCE CURVE
EVMS(L)32
0 U.S.g.p.m. 50 100 150 2([)0
1 1 1 1
I T T | 1
0 impgpm. 50 100 150
350
H 1100 M
[m] Ift]
300 +—14-0/30kw_ 1000
130727k 24230k "
————— :13-2/22 KW_- \\ — 900
L 12- =
250 __4'12‘0224(\&12-;/22 Kw k ~
11-1/185kw J==7 \ — 800
T == =—=11-2/185kw 3
—-10-0/18.5 kw -
—————— 10-2/185kw I~ — 700
200 —
[ 9-1/15 kw \
= g o sow — 600
=8-0/1skw e
‘‘‘‘‘‘ 8-2/15kw
i T — 500
150 1= 7-0/15kw | __
————— 7-2/15xw_
=6-0/ukw - ) |
\\\\\ 6-2/11kw_ __ 400
100 —Ms-z/u kw_ =
— 300
—-4-0/7.5kw - _ —_
——————— J7.5 kW _ ]
| 3-0/s.5 kw - — _ _ -
= —/S—SK—W—3—2/5,5 Kw _ | 20
50
—-2-0/a0kw 4 — —— y
—————— 2-2/3.0kw — L 100
- "l-g/z—'”—w—_l-lh.s Kw —
0 0
0 200 400 600 Qifmin
[ I [ I [ [ [ [ ]
0 6 12 18 24 30 36 42 Q[m3h]
4 80 n
E——
3 / r]% 60 [%]
2 @D, 40
kW/stage @D,*
1 20
0 0
0 200 400 600 Q[l/min]
8 NPSH
6 P
4
—10
2
0 0
0 200 400 600 Q[l/min]

Test standard: ISO 9906:2012 - Grade 3B

_—J=-TET



EVM S VERTICAL MULTISTAGE PUMPS 90 Hz

TECHNICAL DATA
EVMS(L)32

Dimensional sketch

Loose round flange (LF) - DN65
_L.‘
i
| B
g |
I
S
A
G3/8 G3/8
e
o
I
F SN holes@ 18
] G3/8
“ e ' g?g
P 1
EE— i
M 245 4 holes 14”
170 |1 "1 145
225 240
320

Dimensions [mm] and Weights [Kg]

Motor Loose round flange (LF)
Pump Type Pmax| kw size A B C | H2 H2+H3 SN |Weight ,‘,’Yﬁ:,%hi
[MPa] p Pump Motor
EVMS(L)32 1-1/1.5 1.6 1.5 90 140 160 119 451 741 4 48.6 62.1
EVMS(L)32 1-0/2.2 1.6 22 90 140 160 119 451 741 4 48.6 63.6
EVMS(L)32 2-2/3.0 1.6 3.0 100 160 176 123 531 873 4 51.9 73.9
EVMS(L)32 2-0/4.0 1.6 4.0 12 160 193 138 531 896 4 51.9 80.4
EVMS(L)32 3-2/5.5 1.6 5.5 132 300 220 152 705 1105 4 65.8 104.8
EVMS(L)32 3-0/5.5 16 | 55 | 132 | 300 | 220 | 152 | 705 | 1105 4 65.8 104.8
EVMS(L)32 4-2/7.5 1.6 7.5 132 300 220 152 775 1195 4 69.0 115.0
EVMS(L)32 4-0/7.5 1.6 7.5 132 300 220 152 775 1195 4 69.0 115.0
EVMS(L)32 5-2/11 1.6 1 160 350 259 180 875 1314 4 79.0 141.5
EVMS(L)32 5-0/11 1.6 1" 160 350 259 180 875 1314 4 79.0 141.5
EVMS(L)32 6-2/11 1.6 1" 160 350 259 180 945 1384 4 82.3 144.8
EVMS(L)32 6-0/11 1.6 1 160 350 259 180 945 1384 4 82.3 144.8
EVMS(L)32 7-2/15 1.6 15 160 350 311 240 1015 1510 4 85.6 186.6
EVMS(L)32 7-0/15 1.6 15 160 350 311 240 1015 1510 4 85.6 186.6
EVMS(L)32 8-2/15 25 15 160 350 31 240 1085 1580 8 90.4 191.4
EVMS(L)32 8-0/15 25 15 160 350 31 240 1085 1580 8 90.4 191.4
EVMS(L)32 9-2/15 25 | 15 | 160 | 350 | 311 | 240 | 1155 | 1650 8 93.9 194.9
EVMS(L)32 9-1/15 25 | 15 | 160 | 350 | 311 | 240 | 1155 | 1650 8 93.9 194.9
EVMS(L)32 10-2/18.5 25 18.5 | 160 350 311 240 1225 1720 8 97.3 206.3
EVMS(L)32 10-0/18.5 25 18.5 | 160 350 31 240 1225 1720 8 97.3 206.3
EVMS(L)32 11-2/18.5 25 18.5 | 160 350 31 240 1295 1847 8 100.8 209.8
EVMS(L)32 11-1/18.5 25 18.5 | 160 350 31 240 1295 1847 8 100.8 209.8
EVMS(L)32 12-2/22 3.0 22 180 350 354 260 1365 1917 8 106.8 241.8
EVMS(L)32 12-0/22 3.0 22 180 350 354 260 1365 1917 8 106.8 2418
EVMS(L)32 13-2/22 3.0 22 180 350 354 260 1435 1987 8 110.6 245.6
EVMS(L)32 13-0/22 3.0 22 180 350 354 260 1435 1987 8 110.6 245.6
EVMS(L)32 14-2/30 3.0 30 200 400 354 280 1505 2057 8 119.5 287.5
EVMS(L)32 14-0/30 3.0 30 200 400 354 280 1505 2057 8 119.5 287.5
1.6 MPa=16 bar; 2.5 MPa=25 bar; 3.0 MPa=30 bar

89

E2ARA



EVMS

VERTICAL MULTISTAGE PUMPS

50 Hz

SECTIONAL VIEW

EVMS(L)32

120-13

75
212

120-6
1356

000000

.V I
\ >~ AN
% ]
Z ~S—

\

S

ANNNS5

N

a
&
g
&

-~ - - - -

A

T =

llllilﬂm'\

115-1

[T LI /)

54
432

107

N

1
T oo - oo -
o
SR de
SN oo TR
bl - < - N
T ()

y / /V"’
=4

e
e nWwV\ \

PR

5-2

\

‘
\

C

%929_-2
EEE
¥ - -

135-5
120-12

27341

751

131-2

160

Pump without ball bearing

up to 4.0 kW

_—J=-TET

90



50 Hz

VERTICAL MULTISTAGE PUMPS

EVMS

SECTIONAL VIEW
EVMS(L)32

120-6
128-3

I i

a
&
N
~

\ =yl
\\.,.uhu =TI m%% 2 7z e

111-4
111-6
11141

135-2
128-2
70-2

<5

43-5

120-9

137-2
135-5
120-12

2121

2731
7541

131-2

45
160

Pump without ball bearing

from 5.5 kW to 30 kW

91




50 Hz

VERTICAL MULTISTAGE

PUMPS

EVMS

SECTIONAL TABLE

EVMS(L)32

N° PART NAME MATERIAL DIMENSIONS | STANDARD
EVMS EVMSL
4 Casing cover EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
5-1 Suction casing EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
5-2 Intermediate casing EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
5-3 Intermediate casing with bearing EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
5-4 Discharge casing EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
5-5 Top intermediate casing EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
6 Bottom casing EN 1.4308 (ASTM CF8) EN 1.4408 (ASTM CF8M)
7 Outer casing EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
12 Suction cover EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
21 Impeller EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
21-1 Reduced impeller EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
31 Shaft EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
32-1 Adjuster key EN 1.4301 (AISI 304)
43-1 Shaft sleeve (mechanical seal) EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
43-2 Shaft sleeve (intermediate) EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
43-3 Shaft sleeve (bearing) EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
43-4 Shaft sleeve (adjustment) EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
43-5 Shaft sleeve (last stage) EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
43-6 Shaft sleeve (adjustment) EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
441 Shaft sleeve bearing Tungsten carbride
44-2 Shaft sleeve (bearing) Tungsten carbride
45 Flange holder EN 1.4301 (AISI 304)
46 Ring (mechanical seal) EN 1.4404 (AISI 316L)
47 Ring holder EN 1.4404 (AISI 316L)
48 Impeller nut EN 1:43.01 (AISI 304) EN 1.'44.01 (AISI 316)
with inox insert with inox insert
52-1 Sleeve bearing Tungsten carbride
52-2 Sleeve bearing (bottom casing) Tungsten carbride
53 Bush holder EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
70-2 Ring for bearing sleeve EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
75 O-Ring (priming plug) EPDM /FPM 212.37x2.62 OR 3050
751 O-Ring (drainage plug) EPDM /FPM
81 Bush PTFE
107 Liner ring EN 1.4301 (AISI 304) + PPS | EN 1.4404 (AISI 316L) + PPS
111-1 Mechanical seal see pages 6-7
111-3 Mechanical seal seat EN 1.4301 (AISI 304) | EN 1.4401 (AISI 316)
111-4 Seal holder EN 1.4404 (AISI 316L)
111-5 Mechanical seal cartridge sleeve EN 1.4301 (AISI 304) | EN 1.4404 (AISI 316L)
115-1 O-Ring (outer casing) EPDM /FPM @240.66x5.34 OR 6945
115-4 O-Ring (cartridge sleeve) EPDM /FPM ©23.39x3.53 OR 4093
115-5 O-Ring (seal flange) EPDM /FPM @44.04x3.53 OR 4175
120-1 Tie rod EN 1.4057 (AISI 431)
120-2 Tie rod (stage) EN 1.4301 (AISI 304) | EN 1.4401 (AISI 316)
120-3 Screw (seal flange) A2-70 M5x12 1ISO 4762

92

E2ARA



EVMS

VERTICAL MULTISTAGE PUMPS

SECTIONAL TABLE

EVMS(L)32

N° PART NAME MATERIAL DIMENSIONS | STANDARD
EVMS EVMSL
up to 4.0 kW Galvanized steel 8.8 strength class ISO 898/1 M6x25 1SO 4762
120-6 Screw (pump coupling) from 5.5 kW to 7.5 kW Galvanized steel 8.8 strength class ISO 898/1 M8x25 1SO 4762
above 11 kW Galvanized steel 8.8 strength class ISO 898/1 M10x30 1SO 4762
120-9 Screw (bottom casing) A2-70 M5x8 1ISO 4017
120-12 Screw (shaft) A2-70 M6x16 1SO 4762
MEC 90-100-112 Galvanized steel 8.8 strength class ISO 898/1 M8x20 1SO 4017
120-13 Screw for motor MEC 132 Galvanized steel 8.8 strength class ISO 898/1 M12x45 1SO 4017
MEC 160-180 Galvanized steel 8.8 strength class ISO 898/1 M16x50 1ISO 4017
MEC 200 Galvanized steel 8.8 strength class ISO 898/1 M16x60 1ISO 4014
128-1 Nut (tie rod) A2-70 M16 1SO 4032
128-2 Nut (casing tie rod) A2-70 M5 1SO 4032
MEC 132 Galvanized steel M12 1SO 4032
128-3 Nut (motor) -
MEC 160-180-200 Galvanized steel M16 I1SO 4032
128-6 Nut (aluminium coupling) MEC 90-100-112 Galvanized steel M6 1SO 4032
130-1 Set screw EN 1.4301 (AISI 304) M6x8 1SO 4026
130-2 Screw for coupling guard A2-70 M5x6 UNI 7687
. up to 4.0 kW Carbon Steel @8x42 1SO 2338
131-1 Pin for shaft
above 5.5 kW Carbon Steel @8X50 1SO 2338
131-2 Elastic pin EN 1.4301 (AISI 304) @6x26 ISO 8752
135-1 Wasbher (tie rod) EN 1.4301 (AISI 304) 216 I1SO 7089
135-2 Washer (casing tie rod) EN 1.4301 (AISI 304) EN 1.4404 (AISI 316) @5.1 UNI 1751
135-5 Washer (impeller nut) EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
135-6 Washer (aluminium coupling) up to 4.0 kW Carbon Steel
137-1 Impeller spacer EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
137-2 Shaft spacer EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
up to 4.0 kW Die cast Aluminium EN AB-AISI11 Cu2 (Fe)
140 Coupling
from 5.5 kW to 30 kW Cast Iron EN GJL250 EN 1561
160 Base Cast Iron EN GJL200 EN 1561
162 Motor bracket up to 30 kW Cast Iron EN GJS 400-15 EN 1563
212 Priming plug EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
21241 Drainage plug EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
212-2 Venting plug EN 1.4401 (AISI 316)
212-3 Priming plug EN 1.4301 (AISI 304) | EN 1.4404 (AISI 316L)
245 Coupling guard EN 1.4301 (AISI 304)
273-1 Washer (drainage plug) EN 1.4301 (AISI 304) | EN 1.4404 (AISI 316L)
615 Loose flange Cast Iron EN GJS 500-7 EN 1563

93

E2ARA

50 Hz



EVMS

VERTICAL MULTISTAGE PUMPS

50 Hz

QUANTITY FOR MODEL

EVMS(L)32

a
o
~
N
B8 2212l e 8 e e N~
] Ny
& |||+ Q9 ~ | < | << < |«
o ]
= ¥
R NI 5 i - [ [ i
© Y < Y D O |-
~ N
S Rl Bl R 53 << < ||+ < -
© . S ®|o™ I ) ™o
< o
<
Q < | <[] < -~ |- ~|~]~ ~|~
q >
<+ =]+ < <~ | < || < | <
A -~
= 3
< NN B <~ | < < | << A
A -~
s -
5 |||+ < ~ | < | << < | <
A -~
© =
) ||| S < | < <+ | <[ <~ | <
< =
3 S
) NMERIRIRY = [ - RNy QN iy -
< =
@ =
) NN < < | < < ||« < | <
A -~
o ~lo S
z @ b= Bl IR S . 8 << <<« <<
= zZ 5
1 — |~ o
< T I < < <<= <<
= 3
o~ Ll Bl Bl R m NN NN | NN
(2] -
5 [ R [y 2 << <<« <<
= o
- N~~~ ['2} ~ |- || - |
S =
- i
N cleleT [t i - [ [ i -
~ ~
- ~ ||| ©w NN NN NN
w
~ |||+ = — |- — ||~ — |-
hi
© |||+ = — |- — ||~ — |-
© w
S “|=|=|- < i - |- |-
< <
b “|=|=|- < i - |- |-
[+2) N~
Iy o|lo -~ <
L) N <) 22 pag I I3
A olalele — S olo N
) = |+ © ® =22 NS
- N
> “|=|=]= © << <<« <<
R I I S R R R R [ g i i e e e e e e e e N I S N s R lo|afalafa]oafala]a|afofa]ofa]oafa]ofoafoa]oafoa]ofo]o]oa|afoalo
wlelwnlw el sl A ]
© | ©| o NN|N|NRQ[RQ ®|o|w| o [=}
wlN el ol T I [ ey e o v e e Y e S S S B B R RN R RN ol wlulelwl | ofo|ow|o|e|e|e]u|2[2]|2]|2|S[8|]|N]| 88
hal N ol g el 0ol I Il Bl Bl Bl Bl Ball Bl Bl Bl Rl Rl IRV RS I Bl RS RS I ol RN R hagl I e g el el g NG Bl Bl Rl Bl Bl Bl Rl gl gl Il R RSN I B RN RSN RN RS R RS
AERNENREENENENE NN RSN R MM R AR ENEEENENERNENE N R R AN R
° A RIS R I D A I I I I B A R R B I R R e S A IR IR R R I R I I N D I I I B B R Rl R i iy iy ey I
[V ISV BT SV ST S SN AN SN SN SR B SN BN B B S B S S S S S R B ES R ES R SR S [ S H SR ISR ES R ES R ES R EY R By N KBS ES A ES R ES R ES R S o
2 [2B)|SIBS|SISS|SVSS8)H)SS|SSSSISSSS[S]&]8 s (2122|2282 S(SS|S|JS(S|2]|2)2S|S|2SS(S]|DS(S[|&
P 2l2|2)2 2212|2222 2l 2] 2| 2 2 2| 2| 2| 2l 2| 22| 2l 2l 2| 2| 2 7 |12l212l2 222 2| 2|2 2| 22|22 2 2 22| 2 2 2| 2 2| 2 2| 2 =
o 1 i kA e R A e A e kA kA e L R A A kA R A R R R R o i kA A e A ke A e A e A e R A R F A R A kA R R R
£ S22 |1=2=2|=2|1==1=2=2)1212212=]212=2(=1=2=2)12]12 £ S22 2|2=1==|== === 2212]21=21=2(2]2=2=)1=21=21=2==]2
S P I I I I D D I B S S N S I I ) I I I I I ) IS N S S I S P P P P S P D D = Il S S S - e I [ I I D I I I S S S S
a Lu|o|o|o|o|o|o|o|o|o|o|o|o|o|o|o|o|o|o|o|o|o|o|of|o| o] m a ufjb|o|o|o|o|b|o|o|o|o|o|b|(b|o|bD|o|b|o|b|o|o|o|o|o|o|o

94




EVM S VERTICAL MULTISTAGE PUMPS 90 Hz

QUANTITY FOR MODEL
EVMS(L)32

N°

Pump Type
135-5/135-6|137-1[137-2

N

I\)Nl\)NNMNNNNNNNNNNMNNI\)NNNMNNNMg

160 | 162 | 212 [212-1|212-2[212-3 245 [273-1| 615

IS

EVMS(L)32 1-1/1.5
EVMS(L)32 1-0/2.2
EVMS(L)32 2-2/3
EVMS(L)32 2-0/4
EVMS(L)32 3-2/5.5
EVMS(L)32 3-0/5.5
EVMS(L)32 4-2/7.5
EVMS(L)32 4-0/7.5
EVMS(L)32 5-2/11
EVMS(L)32 5-0/11
EVMS(L)32 6-2/11
EVMS(L)32 6-0/11
EVMS(L)32 7-2/15
EVMS(L)32 7-0/15
EVMS(L)32 8-2/15
EVMS(L)32 8-0/15
EVMS(L)32 9-2/15
EVMS(L)32 9-1/15
EVMS(L)32 10-2/18.5
EVMS(L)32 10-0/18.5
EVMS(L)32 11-2/18.5
EVMS(L)32 11-1/18.5
EVMS(L)32 12-2/22
EVMS(L)32 12-0/22
EVMS(L)32 13-2/22
EVMS(L)32 13-0/22
EVMS(L)32 14-2/30
EVMS(L)32 14-0/30

IS

[N DN ) Y () D Y (U I R Y (Y N N I I N N DN D G (N D Y () R DR IS
~|~|=]=|=|=|=|=|=|=|=]=|=I=|=|=|=[=|=|=~|=]|=~|~|=~|&]||>
Slalalalalalalalalalalalalalalalalalalalalalalalalala]s
[N DN D) I () DI Y (U I S Y (I N N D I N N DN D ) (N D Y () R DR O
[N DN D I () DI Y (U R S Y (Y N N I I (N N DN D () (N DY Y (S R DR IS
[N DN D S () DI D (U (I S Y (I SN N I I N N DN D ) (N D Y () R DR IS
[N DN D S () DI D (U (I S Y (I SN N I I N N DN D ) (N D Y () R DR IS
INFNI PN FN) FN) FN) ) FN) PN PN (NG NS NG N NS NG NG [N IS N N N N N N N S
[N IR R ) () DI DY (U (S S Y (Y N R I ) N N DN D G (N DY Y (S R DR IS
[N DN R Y () D DY (IS (S S Y (Y IR R D I N N DN D G (N D Y () R DR IS
NININININININININININININININININININ NN NN N
INFNI PN FN) FN) FN) ) FN) PN PN (NG NS N N NS NG NG [N IS N N N N N N [N S
NININININININININININININININININININ NN NN N

BEARINGS
EVMS(L)32

Pump Type N° 56
EVMS(L)32 1-1/1.5
EVMS(L)32 1-0/2.2
EVMS(L)32 2-2/3.0
EVMS(L)32 2-0/4.0
EVMS(L)32 3-2/5.5
EVMS(L)32 3-0/5.5
EVMS(L)32 4-2/7.5
EVMS(L)32 4-0/7.5
EVMS(L)32 5-2/11
EVMS(L)32 5-0/11
EVMS(L)32 6-2/11
EVMS(L)32 6-0/11
EVMS(L)32 7-2/15
EVMS(L)32 7-0/15
EVMS(L)32 8-2/15

(

(

(

(

(

(

(

(

(

(

(

(

(

EVMS(L)32 8-0/15
EVMS(L)32 9-2/15
EVMS(L)32 9-1/15
EVMS(L)32 10-2/18.5
EVMS(L)32 10-0/18.5
EVMS(L)32 11-2/18.5
EVMS(L)32 11-1/18.5
EVMS(L)32 12-2/22
EVMS(L)32 12-0/22
EVMS(L)32 13-2/22
EVMS(L)32 13-0/22
EVMS(L)32 14-2/30
EVMS(L)32 14-0/30

[ [P [ [ [ [ [ (R (A [ [ R (R (P (P (P (P (R ) A A A ) ) R R ) .

95

E2ARA



50 Hz

EVMS

[MPa]

3.0 —

2.5 —

2.0 —

0.5 —

P,
[kW]

NPSH

[m]

96

VERTICAL MULTISTAGE PUMPS
PERFORMANCE CURVE
EVMSG32
0 U.S.g.p.m. 50 100 150 2([)0
1 1 1 1
I T T | 1
0 impgpm. 50 100 150
350
H 1100 M
[m] Ift]
300 +—14-0/30kw_ 1000
130727k 24230k "
————— Z13-2/22kw - \\ — 900
L 12- =
250 __4'12‘0224(\&12-;/22 Kw k ~
11-1/185kw J==7 \ — 800
T == =—=11-2/185kw 3
—-10-0/18.5 kw -
—————— 10-2/185kw I~ — 700
200 —
[ 9-1/15 kw \
= g o sow — 600
=8-0/1skw .
‘‘‘‘‘‘ 8-2/15kw
i T — 500
180 7.0/1s kw -
————— 7-2/15xw_
=6-0/ukw - ) |
\\\\\ 6-2/11kw_ __ 400
100 —Ms-z/u kw_ =
— 300
—4-0/7.5kw | __ _ —_
——————— J7.5 kW _ ]
| 3-0/s.5 kw - — _ _ -
= —/S—SK—W—3—2/5,5 KW _ | 20
50
—-2-0/a0kw 4 — —— y
—————— 2-2/3.0kw — L 100
- "l-g/z—'”—w—_l-lh.s Kw —
0 0
0 200 400 600 Qifmin
[ I [ I [ [ [ [ ]
0 6 12 18 24 30 36 42 Q[mh]
4 80 n
E——
3 / r]% 60 [%]
2 @D, 40
kW/stage @D,*
1 20
0 0
0 200 400 600 Q[l/min]
8 NPSH
6 P
4
—10
2
0 0
0 200 400 600 Q[l/min]

Test standard: ISO 9906:2012 - Grade 3B

_—J=-TET



EVM S VERTICAL MULTISTAGE PUMPS 90 Hz

TECHNICAL DATA
EVMSG32

Dimensional sketch

Round flange (F) - DN65

H3

H2

4 holes ¢ 14 !

Dimensions [mm] and Weights [Kg]

Motor Round flange (F)
Pump Type Pmax| kW Ssizz A B C | H2 H2+H3 SN [Weight ;Yﬁ,',%hi
[MPa] o Pump Motor
EVMSG32 1-1/1.5 1.6 1.5 90 140 160 119 451 741 4 453 58.8
EVMSG32 1-0/2.2 1.6 22 90 140 160 119 451 741 4 453 60.3
EVMSG32 2-2/3.0 1.6 3.0 100 160 176 123 531 873 4 48.6 70.6
EVMSG32 2-0/4.0 1.6 4.0 112 160 193 138 531 896 4 48.6 771
EVMSG32 3-2/5.5 1.6 55 132 300 220 152 705 1105 4 62.4 101.4
EVMSG32 3-0/5.5 1.6 55 132 300 220 152 705 1105 4 62.4 101.4
EVMSG32 4-2/7.5 1.6 7.5 132 300 220 152 775 1195 4 65.7 1M11.7
EVMSG32 4-0/7.5 1.6 7.5 132 300 220 152 775 1195 4 65.7 1M11.7
EVMSG32 5-2/11 1.6 1 160 350 259 180 875 1314 4 75.7 138.2
EVMSG32 5-0/11 1.6 1" 160 350 259 180 875 1314 4 75.7 138.2
EVMSG32 6-2/11 1.6 1" 160 350 259 180 945 1384 4 79.0 141.5
EVMSG32 6-0/11 16 | 11 | 160 | 350 | 259 | 180 | 945 | 1384 4 79.0 1415
EVMSG32 7-2/15 1.6 15 160 350 31 240 1015 1510 4 82.2 183.2
EVMSG32 7-0/15 1.6 15 160 350 311 240 1015 1510 4 82.2 183.2
EVMSG32 8-2/15 25 15 160 350 311 240 1085 1580 8 87.1 188.1
EVMSG32 8-0/15 25 15 160 350 311 240 1085 1580 8 87.1 188.1
EVMSG32 9-2/15 2.5 15 160 350 311 240 1155 1650 8 90.6 191.6
EVMSG32 9-1/15 25 | 15 | 160 | 350 | 311 | 240 | 1155 | 1650 8 90.6 1916
EVMSG32 10-2/18.5 25 [185| 160 | 350 | 311 | 240 | 1225 | 1720 8 94.0 203.0
EVMSG32 10-0/18.5 2.5 18.5 160 350 311 240 1225 1720 8 94.0 203.0
EVMSG32 11-2/18.5 25 18.5 160 350 311 240 1295 1847 8 97.5 206.5
EVMSG32 11-1/18.5 2.5 18.5 160 350 311 240 1295 1847 8 97.5 206.5
EVMSG32 12-2/22 3.0 22 180 350 354 260 1365 1917 8 103.5 238.5
EVMSG32 12-0/22 30 | 22 | 180 | 350 | 354 | 260 | 1365 | 1917 8 1035 | 2385
EVMSG32 13-2/22 3.0 22 180 350 354 260 1435 1987 8 107.2 242.2
EVMSG32 13-0/22 3.0 22 180 350 354 260 1435 1987 8 107.2 2422
EVMSG32 14-2/30 3.0 30 200 400 354 280 1505 2057 8 116.2 284.2
EVMSG32 14-0/30 3.0 30 200 400 354 280 1505 2057 8 116.2 284.2
1.6 MPa=16 bair; 2.5 MPa=25 bar; 3.0 MPa=30 bar

97

E2ARA



50 Hz VERTICAL MULTISTAGE PUMPS EVM S

SECTIONAL VIEW
EVMSG32

140
162
32-1
131-1
245
130-2
130-1
1113
115-5 |
120-1

128-1

135-1 g . ™~

212-2
212-3

i 31
B 107
— 21/21-1
B 120-2
| 436
1371
435 1352
120-9 9)
rin 1282
i ® 48
522
70-2
1372
2121
1355
273-1
120-12 .y

Pump without ball bearing
up to 4.0 kW

98

_—J=-TET



50 Hz

VERTICAL MULTISTAGE PUMPS

EVMS

SECTIONAL VIEW
EVMSG32

120-13

120-6
128-3

e i e

[N
N N
- =
N N

111-4
111-5
1111

)
Rw?)
b

115-4

3

< \

04

N$7. 2

135-2
128-2
70-2

/)

43-5

120-9

137-2
135-5
120-12

2121

273-1

75-1

Pump without ball bearing

from 5.5 kW to 30 kW

99




50 Hz

VERTICAL MULTISTAGE PUMPS

EVMS

100

SECTIONAL TABLE
EVMSG32

N° PART NAME WMATERIAL DIMENSIONS | STANDARD
EVMSG
4 Casing cover EN 1.4301 (AISI 304)
5-1 Suction casing EN 1.4301 (AISI 304)
5-2 Intermediate casing EN 1.4301 (AISI 304)
5-3 Intermediate casing with bearing EN 1.4301 (AISI 304)
5-4 Discharge casing EN 1.4301 (AISI 304)
5-5 Top intermediate casing EN 1.4301 (AISI 304)
6 Bottom casing Cast Iron EN GJL-250 EN 1561
7 Outer casing EN 1.4301 (AISI 304)
12 Suction cover EN 1.4301 (AISI 304)
21 Impeller EN 1.4301 (AISI 304)
211 Reduced impeller EN 1.4301 (AISI 304)
31 Shaft EN 1.4301 (AISI 304)
32-1 Adjuster key EN 1.4301 (AISI 304)
43-1 Shaft sleeve (mechanical seal) EN 1.4301 (AISI 304)
43-2 Shaft sleeve (intermediate) EN 1.4301 (AISI 304)
43-3 Shaft sleeve (bearing) EN 1.4301 (AISI 304)
43-4 Shaft sleeve (adjustment) EN 1.4301 (AISI 304)
43-5 Shaft sleeve (last stage) EN 1.4301 (AISI 304)
43-6 Shaft sleeve (adjustment) EN 1.4301 (AISI 304)
441 Shaft sleeve bearing Tungsten carbride
44-2 Shaft sleeve (bearing) Tungsten carbride
46 Ring (mechanical seal) EN 1.4404 (AISI 316L)
47 Ring holder EN 1.4301 (AISI 304)
48 Impeller nut EN 1.4301 (AISI 304) with inox insert
52-1 Sleeve bearing Tungsten carbride
52-2 Bearing sleeve (bottom casing) Tungsten carbride
53 Bush holder EN 1.4301 (AISI 304)
70-2 Ring for bearing sleeve EN 1.4301 (AISI 304)
75 O-Ring (priming plug) EPDM /FPM @12.37x2.62 OR 3050
75-1 O-Ring (drainage plug) EPDM / FPM
81 Bush PTFE
107 Liner ring EN 1.4301 (AISI 304) + PPS
11141 Mechanical seal see pages 6-7
111-3 Mechanical seal seat EN 1.4301 (AISI 304)
111-4 Seal holder EN 1.4404 (AISI 316L)
111-5 Mechanical seal cartridge sleeve EN 1.4301 (AISI 304)
115-1 O-Ring (outer casing) EPDM / FPM @240.66x5.34 OR 6945
115-4 O-Ring (cartridge sleeve) EPDM /FPM ©23.39x3.53 OR 4093
115-5 O-Ring (seal flange) EPDM /FPM @44.04x3.53 OR 4175
120-1 Tie rod EN 1.4057 (AISI 431)
120-2 Tie rod (stage) EN 1.4301 (AISI 304)
120-3 Screw (seal flange) A2-70 M5x12 I1SO 4762

E2ARA



EVMS

VERTICAL MULTISTAGE PUMPS

SECTIONAL TABLE
EVMSG32

MATERIAL
N° PART NAME DIMENSIONS | STANDARD
EVMSG
up to 4.0 kW Galvanized steel 8.8 strength class ISO 898/1 M6x25 1SO 4762
120-6 Screw (pump coupling) from 5.5 kW to 7.5 kW Galvanized steel 8.8 strength class ISO 898/1 M8x25 1ISO 4762
above 11 kW Galvanized steel 8.8 strength class 1ISO 898/1 M10x30 1ISO 4762
120-9 Screw (bottom casing) A2-70 M5x8 1ISO 4017
120-12 Screw (shaft) A2-70 M6x16 1SO 4762
MEC 90-100-112 Galvanized steel 8.8 strength class ISO 898/1 M8x20 1SO 4017
MEC 132 Galvanized steel 8.8 strength class ISO 898/1 M12x45 1SO 4017
120-13 Screw for motor "
MEC 160-180 Galvanized steel 8.8 strength class ISO 898/1 M16x50 1ISO 4017
MEC 200-225 Galvanized steel 8.8 strength class ISO 898/1 M16x60 1ISO 4014
128-1 Nut (tie rod) A2-70 M16 1SO 4032
128-2 Nut (casing tie rod) A2-70 M5 1SO 4032
MEC 132 Galvanized steel M12 1SO 4032
128-3 Nut (motor) -
MEC 160-180-200-225 Galvanized steel M16 1SO 4032
128-6 Nut (aluminium coupling) MEC 90-100-112 Galvanized steel M6 1SO 4032
130-1 Set screw EN 1.4301 (AISI 304) M6x8 1SO 4026
130-2 Screw for coupling guard A2-70 M5x6 UNI 7687
. up to 4.0 kW Carbon Steel 28x42 1SO 2338
131-1 Pin for shaft
above 5.5 kW Carbon Steel @8X50 1SO 2338
135-1 Washer (tie rod) EN 1.4301 (AISI 304) 216 1SO 7089
135-2 Washer (casing tie rod) EN 1.4301 (AISI 304) 25,1 UNI 1751
135-5 Washer (impeller nut) EN 1.4301 (AISI 304)
135-6 Washer (aluminium coupling) up to 4.0 kW Carbon Steel
137-1 Impeller spacer EN 1.4301 (AISI 304)
137-2 Shaft spacer EN 1.4301 (AISI 304)
. up to 4.0 kW Die cast Aluminium EN AB-AISI11 Cu2 (Fe)
140 Coupling
from 5.5 kW to 30 kW Cast Iron EN GJL250 EN 1561
162 Motor bracket up to 30 kW Cast Iron EN GJS 400-15 EN 1563
212 Priming plug EN 1.4301 (AISI 304)
2121 Drainage plug EN 1.4301 (AISI 304)
212-2 Venting plug EN 1.4401 (AISI 316)
212-3 Priming plug EN 1.4301 (AISI 304)
245 Coupling guard EN 1.4301 (AISI 304)
2731 Washer (drainage plug) EN 1.4301 (AISI 304)

101

E2ARA

50 Hz



EVMS

VERTICAL MULTISTAGE PUMPS

50 Hz

QUANTITY FOR MODEL

EVMSG32

N°

107 |111-1]111-3]111-4]111-5{115-1]115-4{115-5|120-1{120-2|120-3{120-6|120-9|120-12{120-13]128-1|128-2]128-3{128-6|130-1{130-2|131-1{135-1|135-2|135-5[135-6]

10
10

12
12
13
13
14

14

81

10
10

12
12

75-1

4
4
4
4
4
4
4
4
4
4
4
4
4

4
4
4
4
4
4
4
4
4
4
4
4
4
4

4

E2222222222222222222222222222
o~
T Rl B Bl e e i e e 1 S B B 2 B S R (S IR (R (R N gy Qi gy B R R
N~
P R R N N N N R A R A I R R I B B B I R I E E E E N E R R R
o
N Rl Bl Bl el e B o e 1 O B B T R N R (RS IR [ (R N gy Gy gy B R
0
& ==~~~ |~]|~|~|~|~]|-|an]|an]a||a]N]n|
0
- [ R [ ) [ iy N ) [ T R T e e e e R
L R R I S [ iy N ) N B N o i o e e e T R T e e e e R
Q=== ]|=|<|=|]|-
o
RN RN I Rl R R R [ [y gy iy DUy B Y Bl R Rl R RS IR S (R QN pEy Juy gy B R R
<
< [=|=]~|l=|~|~|~|=|~]~|~]|=]~|~|~]|~|~|~|~]|~|an]|an]a||a]N]n|
<
©
RS B I R R [ [ [ (R ey iy DUy Gy B [ R R IR (RS IR (RS (R QN Uy QN gy B R
<
)
S Bl Rl Rl R R I [ [y gy iy DUy DUy B R I R IR (RS IR (RS (R QN Uy QN Uy B B
<
b
o | ~l=I=]=l~l~]l~l~l~]~|~|~]|~]|~]|~]|~]|~]|~|~|~|an|an|a|a]]]N]|]xN
<
)
S ~l=]~l=I~]~|~|~|~]~|~]|=]~|~|~]|~|~|~|~]|~|an]|an]a|a|a]]N|
<
2 o oo
mM1122223344556677889999mwﬁﬂ11
N Rl Bl Bl e e i e e 1 S B B B B S R (RS IR (R (R NS Ny QN Gy U B
<
N Rl Bl Bl e e B ol o e 1 S B B 2 B S R (RS IR (R (R N QN DN g U B
o)
bl S I R R R R I R IR R I I Il Il I I e B I I IR IR R I I I e
e ||~~~ ~|a|~]a][~|N]|~]|n]|~]|n]|+~ || ~|n| || ~] ] ~]N]|~
N
S =~~~ |||t |o|w]|s]|o|w|[~|o|lo|~|o|lo]|2]o|2|2]N]| 2T
o[ (RS (R N N N N NN NN NN U U U U [N U U U [ N G N G G DN N N U
Nl =~~~ ]~|~|~]|~|~ |~
O ||~~~ |~|~|~|~|~|~|~|~]|~|~ |+~
0
750 Rall all Bl all Rl Il ol ol ol Rl ol ol IRl Al Il Bl il Il Il Rl ol Il ol Rl ol ol Rl B
<
D I R Rl R I N o e R e 8 I Rl Rl Rl Rl Il Rl Il R e o e e Rl R
©
S =111~~~ [~ ||| ]|[c]e]en
o
& ===~~~ |~]|a]|o|o|<|[<]|o]|o|o|o[~]|~|~|~|o]o]|a|a|2[2
M1111111111111111111111111111
<t I~~~ |~|~|~|~|~|~|~|~|~|~ |
wleln|w
w|lo|lo|lolala|laln|R]2
e I R e e e e e e e P S S R A B B E RN R R R EE
SIEILE1L1LIRIE IS SIS SIS gl a=qo]|q]|s| 5|5
A AN I N IR NI I R I AR S B =Y P e (T o Iy (DU vy Jatty gt
I Bl M B N Bl R e DN S BN B R N B e B B =l = B R R I I B A S
o || N|N|O|O|F|F|vV|v]O]|lO|~N|N|[O|O |||~~~ |~~~ |
o [T IS IRNH IR I I I IO RV I IV IV ISV ISR I [N TR I I TN I [V ISV IV IOV IV IS o)
> Qlolololololololaololololol]o|ololololololololo|o|lo]0]x
= VA RVR ROR ROR ROR ROR FOR RO KO KO KO FOJ RO ROJ RUJ ROJ ROJ ROR ROR ROR ROR ROR KGR KGR KO HOR ROR FOJ
a lolalale|e|a|(ale|e|a|ale|2|e|e|e|e|e|a|ale|e|alala|2]|R
£ Z|2(z2|2]|=[z|12[2|12[2]|2]|2|2]|2(2|12[2]=[2]|2]2[(2)|12]212(2]2]2
S 1= =1=21=1=1=21=1=1=1=1=202121 =22 22121 =] =252 2
o S8 TR RUUQ RTUR RTRY NTNY NTUR RTUR UTiY NV RAR TR TR NUUR RINN RUNY QAR QTR UIY GTUR NTIR NTIY NI RTAR NITN RTQ QIUR R10)

Pump Type

EVMSG32 1-1/1.5

EVMSG32 1-0/2.2

EVMSG32 2-2/3.0

EVMSG32 2-0/4.0

EVMSG32 3-2/5.5

EVMSG32 3-0/5.5

EVMSG32 4-2/7.5

EVMSG32 4-0/7.5

EVMSG32 5-2/11

EVMSG32 5-0/11

EVMSG32 6-2/11

EVMSG32 6-0/11

EVMSG32 7-2/15

EVMSG32 7-0/15

EVMSG32 8-2/15

EVMSG32 8-0/15

EVMSG32 9-2/15

EVMSG32 9-1/15

EVMSG32 10-2/18.5

EVMSG32 10-0/18.5

EVMSG32 11-2/18.5

EVMSG32 11-1/18.5

EVMSG32 12-2/22

EVMSG32 12-0/22

EVMSG32 13-2/22

EVMSG32 13-0/22

EVMSG32 14-2/30

EVMSG32 14-0/30

102




EVM S VERTICAL MULTISTAGE PUMPS 90 Hz

QUANTITY FOR MODEL
EVMSG32

N°
Pump Type
137-1|137-2| 1

o

162 | 212 |212-1[212-2|212-3| 245 |273-1

EVMSG32 1-1/1.5
EVMSG32 1-0/2.2
EVMSG32 2-2/3.0
EVMSG32 2-0/4.0
EVMSG32 3-2/5.5
EVMSG32 3-0/5.5
EVMSG32 4-2/7.5
EVMSG32 4-0/7.5
EVMSG32 5-2/11
EVMSG32 5-0/11
EVMSG32 6-2/11
EVMSG32 6-0/11
EVMSG32 7-2/15
EVMSG32 7-0/15
EVMSG32 8-2/15
EVMSG32 8-0/15
EVMSG32 9-2/15
EVMSG32 9-1/15
EVMSG32 10-2/18.5
EVMSG32 10-0/18.5
EVMSG32 11-2/18.5
EVMSG32 11-1/18.5
EVMSG32 12-2/22
EVMSG32 12-0/22
EVMSG32 13-2/22
EVMSG32 13-0/22
EVMSG32 14-2/30
EVMSG32 14-0/30

4

alalalalalalalalalalalalalalalalalalalalalalalalalalala
alalalalalalalalalalalalalalalalalalalalalalalalalalala
NININININININININININININININININININDIND NN NN NN N
alalalalalalalalalalalalalalalalalalalalalalalalalalala
alalalalalalalalalalalalalalalalalalalalalalalalalalala
R R R R R R R R A R R R N E RN E Y RN RS
alalalalalalalalalalalalalalalalalalalalalalalalalalala
alalalalalalalalalalalalalalalalalalalalalalalalalalala
NININININININININININININININININININDINDINDINDININININ NN
R R R R R R R R N A R R R N N E N E Y RN RS

BEARINGS
EVMSG32

Pump Type N° 56
EVMSG32 1-1/1.5
EVMSG32 1-0/2.2
EVMSG32 2-2/3.0
EVMSG32 2-0/4.0
EVMSG32 3-2/5.5
EVMSG32 3-0/5.5
EVMSG32 4-2/7.5
EVMSG32 4-0/7.5
EVMSG32 5-2/11
EVMSG32 5-0/11
EVMSG32 6-2/11
EVMSG32 6-0/11
EVMSG32 7-2/15
EVMSG32 7-0/15
EVMSG32 8-2/15
EVMSG32 8-0/15
EVMSG32 9-2/15
EVMSG32 9-1/15
EVMSG32 10-2/18.5
EVMSG32 10-0/18.5
EVMSG32 11-2/18.5
EVMSG32 11-1/18.5
EVMSG32 12-2/22
EVMSG32 12-0/22
EVMSG32 13-2/22
EVMSG32 13-0/22
EVMSG32 14-2/30
EVMSG32 14-0/30

[ [P [ [ [ [ [ (R (A [ [ R (R (P (P (P (P (R ) A A A ) ) R R ) .

103

E2ARA



50Hz

VERTICAL MULTISTAGE PUMPS

EVMS

[MPa]

35 —

3.0 —

25 —

20 4

1.0 —

0.5 —

P2
(kw]

NPSH
(m]

104

PERFORMANCE CURVE
EVMS(L)45
o USgpm. 59 100 150 200 250 300
| 1 1 1 L L L
0 Imp.g.pm. 50 100 150 200 250
400 — 1300
H H
[m] [f]
— 1200
350 —
‘‘‘‘‘ 13-2/as kw — 1100
= =12-0/askw ‘ I~ ——
300 _;11-0/45LW__1|2_2/45 W '\s 1000
11-2/askw = \
— =10-0/37xw ‘ h\\ — 900
— 1(?—273; KW — —— \
=S S SR e
/ 9|_2/30 w 4\\\\
L —8-0/30kw __ —— \ — 700
_ T8 /30kW i — \\ k
200 30KW_=—tel ~ N
= =700 — -L — § \ — 600
R = RN\
= =60/ _ | —— X
150 = 2w ——— — 500
w
_5-2/18.5 Kw : "\\\ — 400
A-2fiskw T ——— | \\ — 300
= =3-0/11kw __|___7 — \\
—= =3-2/11kw — \\
F———— — 200
= =2-0/75kw ——|_ _ , —— \
0 =2 =S 2|-2/5,5 KW \\Q
=1 — e —— — 100
—=1-0/a.0kw — _]1_1/3.0 | — =
0 I 0
0 200 400 600 800 1000 Qliimin]
[ I I I I [ 1
0 12 24 36 48 60 Q[m?/h]
8 80
T :
6 e n% g
4 oD, 40
D *
, kW/stage 20: 20
0 0
0 200 400 600 800 1000 Q[l/min]
8 NPSH
6 _— 20 I
4
10
2
0 0
0 200 400 600 800 1000 Q[l/min]

Test standard: ISO 9906:2012 - Grade 3B

_—J=-TET



EVM S VERTICAL MULTISTAGE PUMPS 90 Hz

TECHNICAL DATA
EVMS(L)45

Dimensional sketch

Loose round flange (LF) - DN80

H3

>

G3/8 G3/8

H2

8 holes# 18
« == :Tgi %fﬁyﬁ e
g M /
NS A *

“ 24 4 holes ¢ 14 ‘H ﬁr

120|
200

190

250

365

Dimensions [mm] and Weights [Kg]

Motor Loose round flange (LF)
Pump Type Pmax| kw size A B c H2  H2+H3 |Weight L"(ﬁﬁ,“i
[MPa] o Pump Motor

EVMS(L)45 1-1/3.0 16 | 3.0 | 100 | 160 | 176 123 546 888 62.4 84.4
EVMS(L)45 1-0/4.0 16 | 40 | 112 | 160 | 193 138 546 910 62.4 90.9
EVMS(L)45 2-2/5.5 16 | 55 | 132 | 300 | 220 152 722 1121 77.7 116.7
EVMS(L)45 2-0/7.5 16 | 7.5 | 132 | 300 | 220 152 722 1141 77.7 123.7
EVMS(L)45 3-2/11 1.6 1 160 | 350 | 259 180 824 1263 89.9 152.4
EVMS(L)45 3-0/11 1.6 1 160 | 350 | 259 180 824 1263 89.9 152.4
EVMS(L)45 4-2/15 1.6 15 | 160 | 350 | 311 240 896 1391 96.4 197.4
EVMS(L)45 4-0/15 1.6 15 | 160 | 350 | 311 240 896 1391 96.4 197.4
EVMS(L)45 5-2/18.5 1.6 | 185 | 160 | 350 | 311 240 968 1463 101.7 | 210.7
EVMS(L)45 5-0/18.5 1.6 185 | 160 | 350 31 240 968 1463 101.7 210.7
EVMS(L)45 6-2/22 25 22 | 180 | 350 | 354 260 | 1040 1592 107.1 | 242.1
EVMS(L)45 6-0/22 25 22 | 180 | 350 | 354 260 | 1040 1592 107.1 | 242.1
EVMS(L)45 7-2/30 25 30 | 200 | 400 | 354 280 1112 1664 17.7 | 2857
EVMS(L)45 7-0/30 25 30 | 200 | 400 | 354 280 1112 1664 17.7 | 2857
EVMS(L)45 8-2/30 25 30 200 | 400 354 280 1184 1736 123.0 291.0
EVMS(L)45 8-0/30 25 30 200 | 400 354 280 1184 1736 123.0 291.0
EVMS(L)45 9-2/30 25 30 | 200 | 400 | 354 280 | 1256 1808 1285 | 296.5
EVMS(L)45 9-0/37 25 37 | 200 | 400 | 382 295 | 1273 1950 140.0 | 400.0
EVMS(L)45 10-2/37 35 37 | 200 | 400 | 382 295 | 1345 | 2022 1452 | 405.2
EVMS(L)45 10-0/37 35 37 | 200 | 400 | 382 295 | 1345 | 2022 1452 | 405.2
EVMS(L)45 11-2/45 35 45 | 225 | 450 | 449 335 | 1417 | 2183 156.1 530.1
EVMS(L)45 11-0/45 35 45 | 225 | 450 | 449 335 | 1417 | 2183 156.1 530.1
EVMS(L)45 12-2/45 35 45 | 225 | 450 | 449 335 | 1489 | 2255 161.4 | 5354
EVMS(L)45 12-0/45 35 45 | 225 | 450 | 449 335 | 1489 | 2255 161.4 | 5354
EVMS(L)45 13-2/45 35 45 | 225 | 450 | 449 335 | 1561 2327 166.7 | 540.7
1.6 MPa=16 bar; 2.5 MPa=25 bar; 3.5 MPa=35 bar

105

E2ARA



50 Hz VERTICAL MULTISTAGE PUMPS EVM S

SECTIONAL VIEW
EVMS(L)45

120-13

P
-

el IS
[

1
|
Q‘?
= ! =

= A
i

43-3

— 44-1
) / 52-1
43-4

= 21/21-1
i 107
U 81
435 7 53
120-9
44-2
52-2
137-2

135-5
120-12

Pump without ball bearing
up to 30 kW

106

_—J=-TET



50 Hz

VERTICAL MULTISTAGE PUMPS
SECTIONAL VIEW
EVMS(L)45

EVMS

128-3

- ,

/////,, NN
)

120-13
120-6
27341
212-1

7
70-1
274-2
150
120-7
135-4
39-1
135-3
120-5

N
&
¥ ~=r 7

A l‘-!»/ \ ~ J S e LT

,V//
% [/ ZENe \\\\ i//
\\\\‘%z‘mw«';/!&.., VT ‘% /o/ﬂfwﬁo /.%
LIS 7 A ‘ [ &5
777722 R4 —r 7
N |

A o~
S =
| \ 72222
I
n,‘ \
| L\m/«»\&«?
! ,\, \s.

AN

1 “'@UM
—
. ///‘ a1l | A

- AN

ﬁ\\\\\\\\&\”\\ "=

—EL
N
Nl

gspecosdgaddazan [/} ) e a3 3 3 e o A. S WL
B LI T HBIBBILIIB YV’\‘J%%\(/41%5M55 © o 3 3
d3ee eed £a8¢e A N -
Q..vv&\‘/‘

212-2
212-3
75
43-5
120-9
44-2
52-2
137-2
135-5
120-12

107

Pump with single ball bearing
above 37 kW




50 Hz

VERTICAL MULTISTAGE PUMPS

EVMS

SECTIONAL TABLE

EVMS(L)45

N° PART NAME MATERIAL DIMENSIONS | STANDARD
EVMS EVMSL
4 Casing cover EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
5-2 Intermediate casing EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
5-3 Intermediate casing with bearing EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
5-4 Discharge casing EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
5-5 Top intermediate casing EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
6 Bottom casing EN 1.4308 (ASTM CF8) EN 1.4408 (ASTM CF8M)
7 Outer casing EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
12 Suction cover EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
21 Impeller EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
211 Reduced impeller EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
31 Shaft EN 1.4301 (AISI 304) i’\,‘\‘ 11..‘2‘2%42(3\”5853;2692)-
32-1 Adjuster key EN 1.4301 (AISI 304)
39-1 Coupling key above 37 kW Carbon Steel
43-1 Shaft sleeve (mechanical seal) EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
43-2 Shaft sleeve (intermediate) EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
43-3 Shaft sleeve (bearing) EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
43-4 Shaft sleeve (adjustment) EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
43-5 Shaft sleeve (last stage) EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
43-6 Shaft sleeve (adjustment) EN 1.4301 (AISI 304) EN 1.4404 (AIS| 316L)
441 Shaft sleeve bearing Tungsten carbride
44-2 Shaft sleeve (bearing) Tungsten carbride
45 Flange holder EN 1.4301 (AISI 304)
46 Ring (mechanical seal) EN 1.4404 (AISI 316L)
47 Ring holder EN 1.4404 (AISI 316L)
48 Impeller nut EN 1.'43.01 (AISI 304) EN 1.'44.01 (AISI 316)
with inox insert with inox insert
51 Motor adapter above 37 kW Cast Iron EN GJL250 EN 1561
52-1 Sleeve bearing Tungsten carbride
52-2 Bearing sleeve (bottom casing) Tungsten carbride
53 Bush holder EN 1.4301 (AISI 304) | EN 1.4404 (AISI 316L)
56 Ball bearing above 37 kW see table page 111
70-1 Ring for ball bearing above 37 kW EN 1.4301 (AISI 304)
70-2 Ring for bearing sleeve EN 1.4301 (AISI 304) | EN 1.4404 (AISI 316L)
75 O-Ring (priming plug) EPDM / FPM ©12.37x2.62 OR 3050
75-1 O-Ring (drainage plug) EPDM/ FPM
81 Bush PTFE
107 Liner ring EN 1.4301 (AISI 304) + PPS | EN 1.4404 (AIS| 316L) + PPS
111-1 Mechanical seal see pages 6-7
111-3 Mechanical seal seat EN 1.4301 (AISI 304) | EN 1.4401 (AISI 316)
111-4 Seal holder EN 1.4404 (AISI 316L)
111-5 Mechanical seal cartridge sleeve EN 1.4301 (AISI 304) | EN 1.4404 (AISI 316L)
115-1 O-Ring (outer casing) EPDM/ FPM @240.66x5.34 OR 6945
115-4 O-Ring (cartridge sleeve) EPDM/FPM ©23.39x3.53 OR 4093
115-5 O-Ring (seal flange) EPDM /FPM @44.04x3.53 OR 4175
120-1 Tie rod EN 1.4057 (AISI 431)
120-2 Tie rod (stage) EN 1.4301 (AISI 304) | EN 1.4401 (AISI 316)
120-3 Screw (seal flange) A2-70 M5x12 ISO 4762
120-5 Screw (extension coupling) above 37 kW Galvanized steel 8.8 strength class ISO 898/1 M10x30 ISO 4017

108

E2ARA



EVMS

VERTICAL MULTISTAGE PUMPS

SECTIONAL TABLE
EVMS(L)45

N° PART NAME MATERIAL DIMENSIONS | STANDARD
EVMS | EVMSL
up to 4.0 kW Galvanized steel 8.8 strength class ISO 898/1 M6x25 1SO 4762
. from 5.5 kW to 7.5 kW Galvanized steel 8.8 strength class ISO 898/1 M8x25 1SO 4762
120-6 Screw (pump coupling) -
from 11 kW to 30 kW Galvanized steel 8.8 strength class ISO 898/1 M10x30 1SO 4762
above 37 kW Galvanized steel 8.8 strength class ISO 898/1 M12x30 1ISO 4762
120-7 Screw (ball bearing) above 37 kW Galvanized steel 8.8 strength class ISO 898/1 M6x10 1ISO 4017
120-8 Screw (motor adapter) above 37 kW Galvanized steel 8.8 strength class ISO 898/1 M10x40 1SO 4017
120-9 Screw (bottom casing) A2-70 M5x8 1SO 4017
120-12 Screw (shaft) A2-70 M6x16 1SO 4762
MEC 100-112 Galvanized steel 8.8 strength class ISO 898/1 M8x20 1ISO 4017
12013 Screw for motor MEC 132 Galvanized steel 8.8 strength class ISO 898/1 M12x45 1ISO 4017
MEC 160-180 Galvanized steel 8.8 strength class ISO 898/1 M16x50 1ISO 4017
MEC 200-225 Galvanized steel 8.8 strength class ISO 898/1 M16x60 1SO 4014
128-1 Nut (tie rod) A2-70 M16 I1SO 4032
128-2 Nut (casing tie rod) A2-70 M5 1SO 4032
128-3 Nut (motor) MEC 132 Galvanized steel M12 ISO 4032
MEC 160-180-200-225 Galvanized steel M16 1SO 4032
128-6 Nut (aluminium coupling) MEC 100-112 Galvanized steel M6 1SO 4032
130-1 Set screw EN 1.4301 (AISI 304) M6x8 1SO 4026
130-2 Screw for coupling guard A2-70 M5x6 UNI 7687
130-4 Set screw (pump coupling) above 37 kW Galvanized steel M10x10 1SO 4026
up to 4.0 kW Carbon Steel a8x42 1ISO 2338
1311 Pin for shaft
above 5.5 kW Carbon Steel @8X50 1ISO 2338
131-2 Elastic pin EN 1.4301 (AISI 304) D6x26 1SO 8752
135-1 Washer (tie rod) EN 1.4301 (AISI 304) 216 1SO 7089
135-2 Washer (casing tie rod) EN 1.4301 (AISI 304) | EN 1.4404 (AISI 316) 25,1 UNI 1751
135-3 Washer (extension coupling) above 37 kW Galvanized steel 10,2 UNI 1751
135-4 Washer (ball bearing) above 37 kW Plated carbon steel 26,1 UNI 1751
135-5 Washer (impeller nut) EN 1.4301 (AISI 304) | EN 1.4404 (AISI 316L)
135-6 Washer (aluminium coupling) up to 4.0 kW Carbon Steel
137-1 Impeller spacer EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
137-2 Shaft spacer EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
up to 4.0 kW Die cast Aluminium EN AB-AISI11 Cu2 (Fe)
140 Coupling
from 5.5 kW to 30 kW Cast Iron EN GJL250 EN 1561
140-1 Extension coupling above 37 kW Carbon Steel
140-2 Coupling above 37 kW Carbon Steel
150 Spacer (snap ring) above 37 kW Carbon Steel
160 Base Cast Iron EN GJL200 EN 1561
162 Motor bracket up to 30 kW Cast Iron EN GJS 400-15 EN 1563
212 Priming plug EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
212-1 Drainage plug EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
212-2 Venting plug EN 1.4401 (AISI 316)
212-3 Priming plug EN 1.4301 (AISI 304) | EN 1.4404 (AIS| 316L)
245 Coupling guard EN 1.4301 (AISI 304)
2731 Washer (drainage plug) EN 1.4301 (AISI 304) | EN 1.4404 (AISI 316L)
274-2 C-type snap ring (coupling) above 37 kW Carbon Steel TC80 a75 UNI 7435
615 Loose flange Cast Iron EN GJS 500-7 EN 1563

109

E2ARA

50 Hz



EVMS

VERTICAL MULTISTAGE PUMPS

50 Hz

QUANTITY FOR MODEL

EVMS(L)45

N°

52-1152-2

32-1|39-1(43-1]43-2|43-3|43-4(43-5|43-6(44-1|44-2| 45 | 46 | 47 | 48 | 51

21-1( 31

12121

7

6

5-2|5-3|54]55

10

4

1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1

Pump Type

EVMS(L)45 1-1/3.0
EVMS(L)45 1-0/4.0
EVMS(L)45 2-2/5.5
EVMS(L)45 2-0/7.5
EVMS(L)45 7-0/30
EVMS(L)45 8-2/30
EVMS(L)45 8-0/30
EVMS(L)45 9-2/30
EVMS(L)45 9-0/37

EVMS(L)45 3-2/11
EVMS(L)45 3-0/11
EVMS(L)45 4-2/15
EVMS(L)45 4-0/15
EVMS(L)45 5-2/18.5
EVMS(L)45 5-0/18.5
EVMS(L)45 6-2/22
EVMS(L)45 6-0/22
EVMS(L)45 7-2/30
EVMS(L)45 10-2/37
EVMS(L)45 10-0/37
EVMS(L)45 11-2/45
EVMS(L)45 11-0/45
EVMS(L)45 12-2/45
EVMS(L)45 12-0/45

N°

107 (111-1]111-3{111-4/111-5]115-1[115-4]115-5[120-1]120-2{120-3)120-5{120-6/120-7|120-8[120-9|120-12|120-13]128-1(128-2128-3

1
1

12
12

10
10
10
10

53 | 56 [70-1]|70-2| 75 |75-1| 81

1
1
2
2
2
2
4
4
5
5
6
6
7
7
8
8
9
9
10
10
"
1
1
1

12

[ shaftin EN 1.4462 (AISI 329A)

EVMS(L)45 13-2/45

Pump Type

EVMS(L)45 1-1/3.0
EVMS(L)45 1-0/4.0
EVMS(L)45 2-2/5.5
EVMS(L)45 2-0/7.5
EVMS(L)45 3-2/11

EVMS(L)45 7-0/30
EVMS(L)45 8-2/30
EVMS(L)45 8-0/30
EVMS(L)45 9-2/30
EVMS(L)45 9-0/37

EVMS(L)45 3-0/11
EVMS(L)45 4-2/15
EVMS(L)45 4-0/15
EVMS(L)45 5-2/18.5
EVMS(L)45 5-0/18.5
EVMS(L)45 6-2/22
EVMS(L)45 6-0/22
EVMS(L)45 7-2/30
EVMS(L)45 10-2/37
EVMS(L)45 10-0/37

EVMS(L)45 11-2/45

EVMS(L)45 11-0/45

EVMS(L)45 12-2/45

EVMS(L)45 12-0/45

EVMS(L)45 13-2/45

110




EVM S VERTICAL MULTISTAGE PUMPS 90 Hz

QUANTITY FOR MODEL
EVMS(L)45

Pump Type

o

128-6[130-1]130-2{130-4|131-1{131-2|135-1|135-2|135-3|135-4|135-5|135-6[137-1|137-2{ 140 |140-1{140-2| 150 | 160 | 162 | 212 [212-1]212-2[212-3] 245 [273-1|1274-2| 615

IS
N
IS
IS
IS

EVMS(L)45 1-1/3.0
EVMS(L)45 1-0/4.0
EVMS(L)45 2-2/5.5
EVMS(L)45 2-0/7.5
EVMS(L)45 3-2/11
EVMS(L)45 3-0/11
EVMS(L)45 4-2/15
EVMS(L)45 4-0/15
EVMS(L)45 5-2/18.5
EVMS(L)45 5-0/18.5
EVMS(L)45 6-2/22
EVMS(L)45 6-0/22
EVMS(L)45 7-2/30
EVMS(L)45 7-0/30
EVMS(L)45 8-2/30
EVMS(L)45 8-0/30
EVMS(L)45 9-2/30
EVMS(L)45 9-0/37
EVMS(L)45 10-2/37
EVMS(L)45 10-0/37
EVMS(L)45 11-2/45
EVMS(L)45 11-0/45
EVMS(L)45 12-2/45
EVMS(L)45 12-0/45
EVMS(L)45 13-2/45

IS
w
IS

~|=]==]=]=1=1=Ind|nv|INv|IN|N|INININ]IN]|NININININDINNINNIN] S

~|=l=]~l~|~|=|~|=|=]|=]|=|=]|=|~|~|~|~|~|~I~]~|~]>»
alalalalalalalalalalalalalalalalalalalalalalalalas
alalalalalalalalalalalalalalalalalalalalalalalalas
alalalalalalalalalalalalalalalalalalalalalalalalas
~|=l=l=l~|~|=|=|=|=]|=|=|=|=|=~|~|~|~|~|~=|~]~|~]>»

alalalalalalalalalalalalalalalalalalalalalalalalas
alalalalalalalalalalalalalalalalalalalalalalalalas
alalalalalalalalwl<]<]<]~]~|~|~~==|==l=]=]=]~|~
alalalalalalalalwl<]<]<]~]~|~|~====l=l=]=]~]~|~
alalalalalalalalwl<]<]<]~]~|~|~=~==|==l=]=]=]~]~
alalalalalalalalalalalalalalalalalalalalalalalalas
alalalalalalalalalalalalalalalalalalalalalalalalas
alalalalalalalalalalalalalalalalalalalalalalalalas
Bl Bl N N IS R IR IR I [ I I BN I I I I I I R R I R

alalalalalalalalalalalalalalalalalalalalalalalalas
alalalalalalalalalalalalalalalalalalalalalalalalas
NINININININININININININININININININDININININININ N
Bl Bl N N IS R IR R I [ I I BN I I o I I I R R I I

alalalalalalalalwl<]<]<]<]~|~~=~===<l=]=]~]~]~
NINININININININININININININININININDININININININ N

wWlw|lw|lw|lw|lw|lw|lw]|<]~|~|~|~|~|~]~]~]=~]~]~]~|~|~|~|~-

Bl IR IR I IR R I I (R R I I I I IR IR R (R I P R N S
N NN IF NG IF NG I NG (NG (NG R G I (O [N NG N (RN [N [P PN O [ [ [ )

WIWWIwlWwWw|Ww|Ww|w|[w|w|w|W|W]|W|wlw|lw|w]|w|w|lw|w]w
alalalalalalala]~~]~]=|=]=]=]~|~|~|~]~|~|~|~|~]~
Bl IR IR I IR R [ I I (R R I I N I IR IR R (R I P R N S
(NN ECH ECH RSN BN ENY ENY ECY ECR FCE FRR N ENH ESE ESH SR ENY FNR ECH ECR U FNR XY FNY

BEARINGS
EVMS(L)45

Pump Type N° 56
EVMS(L)45 1-1/3.0
EVMS(L)45 1-0/4.0
EVMS(L)45 2-2/5.5
EVMS(L)45 2-0/7.5
EVMS(L)45 3-2/11
EVMS(L)45 3-0/11
EVMS(L)45 4-2/15
EVMS(L)45 4-0/15
EVMS(L)45 5-2/18.5
EVMS(L)45 5-0/18.5
EVMS(L)45 6-2/22
EVMS(L)45 6-0/22
EVMS(L)45 7-2/30
EVMS(L)45 7-0/30

(

(

(

(

(

(

(

(

(

(

(

EVMS(L)45 8-2/30
EVMS(L)45 8-0/30
EVMS(L)45 9-2/30
EVMS(L)45 9-0/37 6315
EVMS(L)45 10-2/37 6315
EVMS(L)45 10-0/37 6315
EVMS(L)45 11-2/45 6315
EVMS(L)45 11-0/45 6315
EVMS(L)45 12-2/45 6315
EVMS(L)45 12-0/45 6315
EVMS(L)45 13-2/45 6315

[ [P [ A A (A [ (R ) [ [ (R R [ ) A

111

E2ARA



50Hz

VERTICAL MULTISTAGE PUMPS

EVMS

[MPa]

35 —

3.0 —

25 —

20 4

1.0 —

0.5 —

P2
(kw]

NPSH
(m]

112

PERFORMANCE CURVE
EVMSG45
o USgpm. 5 100 150 200 250 300
| 1 1 1 L L L
0 Imp.g.pm. 50 100 150 200 250
400 — 1300
H H
[m] [f]
— 1200
350 —
‘‘‘‘‘ 13-2/as kw — 1100
= =12-0/askw ‘ I~ ——
300 _;11-0/45LW__1|2_2/45 W '\s 1000
11-2/askw = \
— =10-0/37xw ‘ h\\ — 900
— 1(?—273; KW — —— \
S R SR e
/ 9|_2/30 w 4\\\\
L —8-0/30kw __ —— \ — 700
_ T8 /30kW i — \\ k
200 [30KW_ =l ~ \
= =700 — -L — § \ — 600
R = RN\
= =60/ _ | — X
150 — —6-2/22kw E——— NN 500
w
“5-2/185kw _ "\\\ — 400
“ B :4:01120,\/ - 'N\\ \
A2/iskw | \\ — 300
= =3-0/11kw __|___7 — \\
—= =3-2/11kw — \\
F———— — 200
= =2-0/75kw ——|_ _ , —— \
0 =2 =S 2|-2/5,5 KW \\Q
=1 — e —— — 100
—=1-0/a.0kw — _]1_1/3.0 | — =
0 I 0
0 200 400 600 800 1000 Qliimin]
[ I I I I [ 1
0 12 24 36 48 60 Q[m?/h]
8 80
. :
6 e n% g
4 oD, 40
D *
, kW/stage 20: 20
0 0
0 200 400 600 800 1000 Q[l/min]
8 NPSH
6 _— 20 I
4
10
2
0 0
0 200 400 600 800 1000 Q[l/min]

Test standard: ISO 9906:2012 - Grade 3B

_—J=-TET



EVM S VERTICAL MULTISTAGE PUMPS 90 Hz

TECHNICAL DATA
EVMSG45

Dimensional sketch

Round flange (F) - DN80

H3

H2

8 holes @ 18

% G3/8
7

o
<1
3

130 ‘
7

=
)
5

45

4 holes ¢ 14 ‘ H

Dimensions [mm] and Weights [Kg]

Motor Round flange (F)
Pump Type Pmax| kw size A B c H2  H2+H3 |Weight L"(ﬁﬁ,“i
[MPa] . Pump Motor

EVMSG45 1-1/3.0 1.6 3.0 100 160 176 123 546 888 60.2 82.2
EVMSG45 1-0/4.0 1.6 4.0 112 160 193 138 546 910 60.2 88.7
EVMSG45 2-2/5.5 1.6 55 132 300 220 152 722 121 75.6 114.6
EVMSG45 2-0/7.5 1.6 7.5 132 300 220 152 722 1141 75.6 121.6
EVMSG45 3-2/11 1.6 1" 160 350 259 180 824 1263 87.7 150.2
EVMSG45 3-0/11 1.6 1" 160 350 259 180 824 1263 87.7 150.2
EVMSG45 4-2/15 1.6 15 160 350 311 240 896 1391 94.3 195.3
EVMSG45 4-0/15 1.6 15 160 350 311 240 896 1391 94.3 195.3
EVMSG45 5-2/18.5 1.6 18.5 160 350 31 240 968 1463 99.5 208.5
EVMSG45 5-0/18.5 1.6 185 | 160 350 31 240 968 1463 99.6 208.6
EVMSG45 6-2/22 25 22 180 350 354 260 1040 1592 105.0 240.0
EVMSG45 6-0/22 25 22 180 350 354 260 1040 1592 105.0 240.0
EVMSG45 7-2/30 2.5 30 200 400 354 280 1112 1664 115.6 283.6
EVMSG45 7-0/30 2.5 30 200 400 354 280 1112 1664 115.6 283.6
EVMSG45 8-2/30 25 30 200 400 354 280 1184 1736 120.9 288.9
EVMSG45 8-0/30 25 30 200 400 354 280 1184 1736 120.9 288.9
EVMSG45 9-2/30 25 30 200 400 354 280 1256 1808 126.4 2944
EVMSG45 9-0/37 25 37 200 400 382 295 1273 1950 137.8 397.8
EVMSG45 10-2/37 3.5 37 200 400 382 295 1345 2022 143.1 403.1
EVMSG45 10-0/37 3.5 37 200 400 382 295 1345 2022 143.1 403.1
EVMSG45 11-2/45 35 45 225 450 449 335 1417 2183 153.9 527.9
EVMSG45 11-0/45 35 45 225 450 449 335 1417 2183 153.9 527.9
EVMSG45 12-2/45 3.5 45 225 450 449 335 1489 2255 159.2 533.2
EVMSG45 12-0/45 3.5 45 225 450 449 335 1489 2255 159.2 533.2
EVMSG45 13-2/45 3.5 45 225 450 449 335 1561 2327 164.5 538.5
1.6 MPa=16 bair; 2.5 MPa=25 bair; 3.5 MPa=35 bar

113

E2ARA



50 Hz

VERTICAL MULTISTAGE PUMPS EVM S

435
120-9
44-2
52-2
137-2
135-5

120-12

114

SECTIONAL VIEW
EVMSG45

I

Bl
NS NS

7
=)

AN
AN

=

X
ced

—_

IO

Pump without ball bearing
up to 30 kW




50 Hz

128-3

VERTICAL MULTISTAGE PUMPS
SECTIONAL VIEW
EVMSG45

EVMS

21/21-1

75
212

VAN

N

®

135-2
128-2
751
2731
2121

T
A\ =g

|
-
70-1
274-2
150
120-7
135-4
39-1
135-3
120-5
120-13

\
\
I;W\Ir/“, R @ P

all

Y7

T YT ¥ T YR
© = 9 9 = Q Q Q Q
554433%332

N @
N0

o8N

N N

435
120-9
44-2
52-2
137-2
1355
120-12

115

Pump with single ball bearing
above 37 kW




50 Hz

VERTICAL MULTISTAGE PUMPS

EVMS

116

SECTIONAL TABLE
EVMSG45

N° PART NAME WMATERIAL DIMENSIONS | STANDARD
EVMSG
4 Casing cover EN 1.4301 (AISI 304)
5-2 Intermediate casing EN 1.4301 (AISI 304)
5-3 Intermediate casing with bearing EN 1.4301 (AISI 304)
5-4 Discharge casing EN 1.4301 (AISI 304)
5-5 Top intermediate casing EN 1.4301 (AISI 304)
6 Bottom casing Cast Iron EN GJL-250 EN 1561
Cast Iron EN GJS 400-15 EN 1563
7 Outer casing EN 1.4301 (AISI 304)
12 Suction cover EN 1.4301 (AISI 304)
21 Impeller EN 1.4301 (AISI 304)
211 Reduced impeller EN 1.4301 (AISI 304)
31 Shaft EN 1.4301 (AISI 304)
321 Adjuster key EN 1.4301 (AISI 304)
39-1 Coupling key above 37 kW Carbon Steel
43-1 Shaft sleeve (mechanical seal) EN 1.4301 (AISI 304)
43-2 Shaft sleeve (intermediate) EN 1.4301 (AISI 304)
43-3 Shaft sleeve (bearing) EN 1.4301 (AISI 304)
43-4 Shaft sleeve (adjustment) EN 1.4301 (AISI 304)
43-5 Shaft sleeve (last stage) EN 1.4301 (AISI 304)
43-6 Shaft sleeve (adjustment) EN 1.4301 (AISI 304)
441 Shaft sleeve bearing Tungsten carbride
44-2 Shaft sleeve (bearing) Tungsten carbride
46 Ring (mechanical seal) EN 1.4404 (AISI 316L)
47 Ring holder EN 1.4301 (AISI 304)
48 Impeller nut EN 1.4301 (AISI 304) with inox insert
51 Motor adapter above 37 kW Cast Iron EN GJL250 EN 1561
52-1 Sleeve bearing Tungsten carbride
52-2 Bearing sleeve (bottom casing) Tungsten carbride
53 Bush holder EN 1.4301 (AISI 304)
56 Ball bearing above 37 kW see table page 119
70-1 Ring for ball bearing above 37 kW EN 1.4301 (AISI 304)
70-2 Ring for bearing sleeve EN 1.4301 (AISI 304)
75 O-Ring (priming plug) EPDM /FPM @12.37x2.62 OR 3050
75-1 O-Ring (drainage plug) EPDM/FPM
81 Bush PTFE
107 Liner ring EN 1.4301 (AISI 304) + PPS
111-1 Mechanical seal see pages 6-7
111-3 Mechanical seal flange EN 1.4301 (AISI 304)
111-4 Seal holder EN 1.4404 (AISI 316L)
111-5 Mechanical seal cartridge sleeve EN 1.4301 (AISI 304)
115-1 O-Ring (outer casing) EPDM /FPM @240.66x5.34 OR 6945
115-4 O-Ring (cartridge sleeve) EPDM /FPM @23.39x3.53 OR 4093
115-5 O-Ring (seal flange) EPDM /FPM @44.04x3.53 OR 4175
120-1 Tie rod EN 1.4057 (AISI 431)
120-2 Tie rod (stage) EN 1.4301 (AISI 304)
120-3 Screw (seal flange) A2-70 M5x12 1ISO 4762
120-5 Screw (extension coupling) above 37 kW Galvanized steel 8.8 strength class ISO 898/1 M10x30 ISO 4017

E2ARA



EVMS

VERTICAL MULTISTAGE PUMPS

SECTIONAL TABLE
EVMSG45

N° PART NAME WMATERIAL DIMENSIONS | STANDARD
EVMSG
up to 4.0 kW Galvanized steel 8.8 strength class ISO 898/1 M6x25 1SO 4762
. from 5.5 kW to 7.5 kW Galvanized steel 8.8 strength class 1ISO 898/1 M8x25 1SO 4762
120-6 Screw (pump coupling) -
from 11 kW to 30 kW Galvanized steel 8.8 strength class 1ISO 898/1 M10x30 1ISO 4762
above 37 kW Galvanized steel 8.8 strength class ISO 898/1 M12x30 1ISO 4762
120-7 Screw (ball bearing) above 37 kW Galvanized steel 8.8 strength class ISO 898/1 M6x10 1ISO 4017
120-8 Screw (motor adapter) above 37 kW Galvanized steel 8.8 strength class ISO 898/1 M10x40 1SO 4017
120-9 Screw (bottom casing) A2-70 M5x8 1SO 4017
120-12 Screw (shaft) A2-70 M6x16 1SO 4762
MEC 100-112 Galvanized steel 8.8 strength class ISO 898/1 M8x20 1ISO 4017
120-13 Screw for motor MEC 132 Galvanized steel 8.8 strength class ISO 898/1 M12x45 1ISO 4017
MEC 160-180 Galvanized steel 8.8 strength class ISO 898/1 M16x50 1ISO 4017
MEC 200-225 Galvanized steel 8.8 strength class ISO 898/1 M16x60 1SO 4014
128-1 Nut (tie rod) A2-70 UNI 7323 with M16 1SO 4032
128-2 Nut (casing tie rod) A2-70 M5 1SO 4032
128-3 Nut (motor) MEC 132 Galvanized steel M12 1ISO 4032
MEC 160-180-200-225 Galvanized steel M16 1SO 4032
128-6 Nut (aluminium coupling) MEC 100-112 Galvanized steel M6 1SO 4032
130-1 Set screw EN 1.4301 (AISI 304) M6x8 1SO 4026
130-2 Screw for coupling guard A2-70 M5x6 UNI 7687
130-4 Set screw (pump coupling) above 37 kW Galvanized steel M10x10 1SO 4026
up to 4.0 kW Carbon Steel 28x42 1ISO 2338
131-1 Pin for shaft
above 5.5 kW Carbon Steel @8X50 1ISO 2338
135-1 Washer (tie rod) EN 1.4301 (AISI 304) 216 1SO 7089
135-2 Washer (casing tie rod) EN 1.4301 (AISI 304) 5,1 UNI 1751
135-3 Washer (extension coupling) above 37 kW Galvanized steel @10,2 UNI 1751
135-4 Washer (ball bearing) above 37 kW Plated carbon steel 26,1 UNI 1751
135-5 Washer (impeller nut) EN 1.4301 (AISI 304)
135-6 Washer (aluminium coupling) up to 4.0 kW Carbon Steel
137-1 Impeller spacer EN 1.4301 (AISI 304)
137-2 Shaft spacer EN 1.4301 (AISI 304)
. up to 4.0 kW Die cast Aluminium EN AB-AISI11 Cu2 (Fe)
140 Coupling
from 5.5 kW to 30 kW Cast Iron EN GJL250 EN 1561
140-1 Extension coupling above 37 kW Carbon Steel
140-2 Coupling above 37 kW Carbon Steel
150 Spacer (snap ring) above 37 kW Carbon Steel
162 Motor bracket up to 30 kW Cast Iron EN GJS 400-15 EN 1563
212 Priming plug EN 1.4301 (AISI 304)
2121 Drainage plug EN 1.4301 (AISI 304)
212-2 Venting plug EN 1.4401 (AISI 316)
212-3 Priming plug EN 1.4301 (AISI 304)
245 Coupling guard EN 1.4301 (AISI 304)
2731 Washer (drainage plug) EN 1.4301 (AISI 304)
274-2 C-type snap ring (coupling) above 37 kW Carbon Steel TC80 a75 UNI 7435

117

E2ARA

50 Hz



EVMS

VERTICAL MULTISTAGE PUMPS

50 Hz

QUANTITY FOR MODEL

EVMSG45

B~ |v]a|a|a]s ]| |w|w]o]o|~[~|o]lo|lo|ao|2]2]s|sz|=| Y
~
DU [ISS) [N N QNI [N N U, U B R R B o R ol R [T ) [ [y [y gy puy U
0
—
O BN N N G R ) ) B e e e S R e e e e e e e e ey
0
5=~ [==1=1~|~[~[~]~|~|~[=[=1=]|=~|=~[=|=]=|<|<|<|~]~
@ [«[<[<[<[<]=|<|<|=|=]=]=|=|=|=|<|<|=|=|=|=|=|<=|<|=
Sl [<[<]<|<|<|=|=]=]=|=|=|=]<|<|=|[=|=|=<|<=|<|=
@ [«[<[<[<[<|=|=|=|=|=]=l=|=|=|=|<|<|=|=|=|=|<|<=|<|=
~
O R R e R e I I R R I IR R Rl el Rl I I I I B R I R
3
—
4 [~=|=]=|=|=|~|~|~|~|<]<|=|~|=|=|~|~|-|=]~]|~|~]|~]
3
©
Y R B Bl Bl B Bl Rl Bl B B e o o R B R B B B B R R R R
Q
©
N Rl B Bl Bl Bl I o R R R I R R Rl R I I I I B R I R
Q
<
R BN S B B B R R R IR R Iy gy iy B o R R o I R S R RN RN Y
Q
)
R N B N B B R B e B e e B B B R R B B B e o e R B Y
Q
o
%11222233445566778899mmmwﬂ
°
z
N Rl Bl Bl Rl Bl Bl Rl Bl B B e o o R B R B B B B R R R R
Q
—
S [~=|=]=|=|=~|=~|=|=|~|~]|<|~|~|=|=|=[~|=|=]=]|~|~|+~]|+
)
—
PO N I S S S [ ey i N e e e e R A R R B B BN BN B BN RS S
»
b I I e Rl R I e B ol I IR IR I el R I I I I B R I R
=
<=~ ~]al~]a]~|a|~]a]<|al~]a]~|a|~]a]~]a]~|~]|~]
N
S~~~ ]o|a|st|o]|w]|s]|o|w|[~]o|lo|n|o|o]|2lo|=|2(N] =
VI RN N R U U U (U Y U Y N U N N U N U (U U [ U U U U -
I N I e Rl o I I R R R I IR R R el R I I I I B R I R
N R R Rl e I I R Rl R I IR R R Rl R I I I I B R I R
©
WOl Rl Rl Rl R 8 Bl R Rl o o e I R Rl Rl Bl el Il R B e e e e
<
DA Rl Rl Rl R 8 ol R Rl R ol e I R Rl I Bl el Il R B e e e e
™
S1=1==1=1=1==={=]=l==={== ===~ [~ ||]
:7_“//1111223344556677889999w
<t | |~~~ |~|~|~|~|~|~]|~]|~]|~|+~
w|w©v NIN|lv|lw|lw]lw|w
el |w|lv|ls|ls|a|lalolalalolo|In]|o|a|f|s] ]SS
o|lf|lw|N|oo|=s |l lalalal@|o|oooJISISISISIEIS
LITILIZIZISISISISIEIYIS(LIL188Ldg|s|a|o|d|g N
M B B B N B B S B S B S RN B S R A R I R M R I
" S A BB R A B I I I R D R R I I N B R R B R B
o viv|lvlvo|lv|lv|lv|[v|lvw]|v|lv|v|vw|e|e|e|ly|v]|lv|v|[v|lv]|v|wv|w
> S B B Bl Sl S S S Sl Sl Bl S Bl Bl B S el el e 3 Sl Sl S 3
L (OR OR NOR RO} FON RO NOR NOR KON KON RON NOR NOR RO ROR O} RO NOR NOR KOR FOR RON NOR RO RO
o olo|a|la|le|e|a|lale|o|a|lala|e|e|ae|le|e|o|a|a|o|a|ala
£ S22 21=2==]2 === 2212212122222 2]=
> P P P I I I I I D I I I B e e I I I I D I I I I
a Ljn(o|D|D(d|o|D|o|D|o|b|h ||| DD |D|D|L|D|o|D

[ shaftin EN 1.4462 (AISI 329A)

©
Q<[] ==~~~ 1~=~|~|~|==1=~=|=|=|~{~1=~~]|~|~|~
@
Q=== ||| || F]|o|0]|0]|0]| o
q
R AARANARARAREARARARARARANANARARARARARARAREAREARAR AR AR
R AARANARARARERARARARARANANARARARARARARARERARAR AR AR
=
ERRINABARARARANAGARARARAEIRARARA A AN R A R I B KT Kol )
=
PO Rl B Bl R IR IR [ [ [y ey ey iy ) I R IR (RS IR I IR (RS R Ry N
o
<
ISEAARANARARARERARARARARANARARARARERARARAREAREARAR AR AR
R
L ===~~~ ~~|=|=|=|=|=|~|~|x|x||=|=|=|=]| =
~
L ===~~~ ~~|=|=|=|=]|=|~|~|o ||| |o|n]|=n
<
ISERARARANARARARARARANANARANARARA AN BRI B I I I GI K
@
L ===~~~ ~~|=|=|=|=|=|=|=|x|x|<|=|=|=|=]| =
?@
m4444444444444444444444444
Q@
SRR IR ISR BT R AT ESE EE RS KSR RS ESUH KoUH KoVA KoY
m4444444444444444444444444
o -
z "9
O I~~~ |~|~|~|~|~|~|~]|+~
5
O I~~~ |~|~|~|~|~|~|~]|+~
N R N R T S I R I R I R R R R I R I I I I R I e
w
A=l Rl I I el R o e I I I e I R Rl e R Il I I e I e e
hi
A= Rl I I el R o e I I I e I R Rl R e I I I e I e e
@
A= Rl I I el R o e I I I e I R Il I e Il I I I I e e
E el e el e I e N I Il I R R I Il o I I I e e e R e I
~
S ||~ |an|an]o|o|s|<t|w]|w]|o|o|~|[~N]o|lo|o|ao|2]2](= YN 2
e
S ||~ |N|N]|v|afo|ofs]s|o|w]o|o|~|~N|o|oflo]a|2|2]2]2]S
=
LERARARARARARARARARARARARARARARARARARARARAR AR AR AR AR
~
R Y Y T T S T N S S T R S S R I S R S S T R I I R I I A Y
o
S B I R R o o [ IR IR R [ ey iy I R R R R I I IR R [ [
=
—
S |~I=]=I=l=|~|=|~|~|=~|~|~|~|~|=]=|~|=l<|~|~]~]|+|~]+~
=
G l~[~[=~|~|~|~|=[=~[=[<[<[<]<]=|=]|=|=|=|=|<|~|<]<]|<|+
[T} ) ~ | wlwl|w
ofelelefc|c|lv]|v|s|d|alalalalo]lolals]|s|5]|L212|222
[ N4 N B RN N N AN BN RN RN R S D I = I R R R T R R R R
SI3IZISISISISISISISISIS(LIZIZISI2IEI9]9 x|
N B N B A R N A N R R NN M NHED E R AR AR
o S A B G B B R A B L e R R D D K T R R =N I e R R R e R
Q vivlv|lv|lv|v|v]|v[v|w|lv|v|v||lv|lv|le|e|lv|v|v|lv|w|v|w
> ol IS0 I Il ISl - I o Il IS o I ISl IS I Il I I Il IS I I ol Il ISl I IS IS
= (O} RO RO ROR KGR ROR NON ROJ NOR NOR ROY FOR NOR RON ROR NOR OB HO JOR NON KOR KOR NOR RON O]
(-} (28 K20 K2R RO KO0 KON KON KON 7N KON KON NON RN KON KON KON KON EO) N KON KON KON EON K78 KD)
£ s|2|z|=z|1=2=2|=2[=2|12|=2|=]=[=|1=2=2=2]|=2|=2|12=2=2]|=2|12|=]=
=] P B P P I P P I I I S I I [ e D I I I I I I I I
o TR NTUR NTUR RTUR RTUR RTIQ NTUQ NTVR NTTR RTTR N1V RTIN RTIN RUUR RTUR RUAN RUUR RTUR NTIR NTVR TV NTTR RTTR RTTR §11)

118




EVM S VERTICAL MULTISTAGE PUMPS 90 Hz

QUANTITY FOR MODEL
EVMSG45
N°
Pump Type
130-1[130-2|130-4|131-1|135-1]135-2]135-3|135-4]135-5{135-6{137-1[137-2| 140 |140-1]140-2| 150 | 162 | 212 [212-1]212-2[212-3| 245 [273-1|274-2|
EVMSG45 1-1/3.0 3| 4 / 1 4| 2 / / 1 4 1 1 2 / / / 1 1 4 1 1 2| 4 /
EVMSG45 1-0/4.0 3| 4 / 1 41 2 / / 1 4 1 1 2 / / / 1 1 4 1 1 2| 4 /
EVMSG45 2-2/5.5 3| 4 / 1 412 / / 1 / 1 1 2 / / / 1 1 4 1 1 2|4 /
EVMSG45 2-0/7.5 3| 4 / 1 41 2 / / 1 / 1 1 2 / / / 1 1 4 1 1 2 | 4 /
EVMSG45 3-2/11 3| 4 / 1 41 2 / / 1 / 1 1 2 / / / 1 1 4 1 1 2 | 4 /
EVMSG45 3-0/11 3| 4 / 1 4|2 / / 1 / 1 1 2 / / / 1 1 4 1 1 2|4 /
EVMSG45 4-2/15 3|4 / 1 4|2 / / 1 / 1 1 2 / / / 1 1 4 1 1 2|4 /
EVMSG45 4-0/15 3| 4 / 1 412 / / 1 / 1 1 2 / / / 1 1 4 1 1 2| 4 /
EVMSG45 5-2/18.5 3|4 / 1 4 | 2 / / 1 / 1 1 2 / / / 1 1 4 1 1 2|4 /
EVMSG45 5-0/18.5 3|4 / 1 4 | 2 / / 1 / 1 1 2 / / / 1 1 4 1 1 2 |4 /
EVMSG45 6-2/22 3|4 / 1 412 / / 1 / 1 1 2 / / / 1 1 4 1 1 2 |4 /
EVMSG45 6-0/22 3|4 / 1 4 | 2 / / 1 / 1 1 2 / / / 1 1 4 1 1 2 |4 /
EVMSG45 7-2/30 3|4 / 1 4 | 2 / / 1 / 1 1 2 / / / 1 1 4 1 1 2 |4 /
EVMSG45 7-0/30 3|4 / 1 4 | 2 / / 1 / 1 1 2 / / / 1 1 4 1 1 2 | 4 /
EVMSG45 8-2/30 3|4 / 1 412 / / 1 / 1 1 2 / / / 1 1 4 1 1 2 |4 /
EVMSG45 8-0/30 3| 4 / 1 41 2 / / 1 / 1 1 2 / / / 1 1 4 1 1 2| 4 /
EVMSG45 9-2/30 3| 4 / 1 4| 2 / / 1 / 1 1 2 / / / 1 1 4 1 1 2 | 4 /
EVMSG45 9-0/37 3| 4 1 1 41 2|4|3 1 / 1 1 / 1 1 1 1 1 4 1 1 2|4 1
EVMSG45 10-2/37 3| 4 1 1 41 2|4|3 1 / 1 1 / 1 1 1 1 1 4 1 1 2|4 1
EVMSG45 10-0/37 3| 4 1 1 41 2|4|3 1 / 1 1 / 1 1 1 1 1 4 1 1 2|4 1
EVMSG45 11-2/45 3|4 1 1 4 2]14]|3 1 / 1 1 / 1 1 1 1 1 4 1 1 2 | 4 1
EVMSG45 11-0/45 3|4 1 1 4121413 1 / 1 1 / 1 1 1 1 1 4 1 1 2|4 1
EVMSG45 12-2/45 3| 4 1 1 41211413 1 / 1 1 / 1 1 1 1 1 4 1 1 2 | 4 1
EVMSG45 12-0/45 3|4 1 1 41211413 1 / 1 1 / 1 1 1 1 1 4 1 1 2 |4 1
EVMSG45 13-2/45 3|4 1 1 41211413 1 / 1 1 / 1 1 1 1 1 4 1 1 2 | 4 1
BEARINGS
EVMSG45

Pump Type N° 56

EVMSG45 1-1/3.0 /

EVMSG45 1-0/4.0 /

EVMSG45 2-2/5.5 /

EVMSG45 2-0/7.5 /

EVMSG45 3-2/11 /

EVMSG45 3-0/11 /

EVMSG45 4-2/15 /

EVMSG45 4-0/15 /

EVMSG45 5-2/18.5 /

EVMSG45 5-0/18.5 /

EVMSG45 6-2/22 /

EVMSG45 6-0/22 /

EVMSG45 7-2/30 /

EVMSG45 7-0/30 /

EVMSG45 8-2/30 /

EVMSG45 8-0/30 /

EVMSG45 9-2/30 /

EVMSG45 9-0/37 6315

EVMSG45 10-2/37 6315

EVMSG45 10-0/37 6315

EVMSG45 11-2/45 6315

EVMSG45 11-0/45 6315

EVMSG45 12-2/45 6315

EVMSG45 12-0/45 6315

EVMSG45 13-2/45 6315

119

E2ARA



50 Hz

VERTICAL MULTISTAGE PUMPS

EVMS

[MPa]

2.5 —

2.0 —

0.5 —

P2
[kw]

NPSH
[m]

120

300

[m]

250

200

150

100

50

10

N A O

PERFORMANCE CURVE
EVMS(L)64
o USgpm. 1100 2(|)0 3?0 4?0
0 Imp.g.pm. 100 200 200
— 900
- — 8-1/as Kwi:'S—O/zzs KW %
N 8-2/as Kw_ \\\::\
== \\\\7-0/45\KW \\\'% 7
I 7w kW ’\\
T7-2/37kw TF~=
— e \ L 600
\‘\\\\\\\-6_0/37&\”\\\\\
I~ =16 T T -6-1/37kw T~
m—— 1 frokw T‘\\:\\x N — 500
—— \\\“S—O/SOKW\‘\\\\ N
-1 F—
S, KVL:~5_1/3OKW »\\\‘\ \ \\,
\“‘4—0/22}&\ \\\%\\\\ — 400
: : : ‘‘‘‘‘‘ :l-\l/;z N \\ \
““““ 4-2/185 kW : T \ k
‘-‘-‘3—0/18.5KW“\ 1 \‘.Q \ \ — 300
---------- 3-1/15 kw - : : \\\
________ 3-2/15kw - _ \
_____ 2—0/15KW_.____L \\ \ 20
————————— 7—1/11KW__:\ \ \“
————————— 2-2/75kwl _\\\\
—_— ]
b—— L 1-0fs5kw_ —— \\ — 100
—————————— 1-1/a kW e \Q
‘ I
0
I
0 400 800 1200 Q[l/min]
[ I | | |
0 24 48 72 Q[m¥h]
100
N% 80
— oD, 60
kW/stage 3D, 40
20
0
0 400 800 1200 Q[l/min]
- — 30
/// 20
— 10
—
0
0 400 800 1200 Q[l/min]

Test standard: ISO 9906:2012 - Grade 3B

[%]

NPSH
i

_—J=-TET



EVMS

VERTICAL MULTISTAGE PUMPS

TECHNICAL DATA
EVMS(L)64

Dimensional sketch

Loose round flange (LF) - DN100

H3

G3/8

H2

| 8 holes D3

G3/8

1L 140_
t
=
)
100
1 |g140
D2
i 3,
N

I I}
L] H8 4 holes @ 14

190

365

Dimensions [mm] and Weights [Kg]

Motor Loose round flange (LF)
Pmax ( kw Size A B c H2 H2+H3 D1 D2 D3 H8 |Weight Weight
Pump Type Pump +
[MPa] o Pump Motor
EVMS(L)64 1-1/4.0 1.6 4.0 112 160 193 138 546 910 180 220 18 24 67.8 96.3
EVMS(L)64 1-0/5.5 16 55 | 132 | 300 | 220 152 650 1049 180 | 220 18 24 776 116.6
EVMS(L)64 2-2/7.5 1.6 75 | 132 | 300 | 220 152 722 141 180 | 220 18 24 82.7 128.7
EVMS(L)64 2-1/11 1.6 1" 160 | 350 | 259 180 752 191 180 | 220 18 24 90.0 152.5
EVMS(L)64 2-0/15 1.6 15 | 160 | 350 | 311 240 752 1247 180 | 220 18 24 90.0 191.0
EVMS(L)64 3-2/15 1.6 15 | 160 | 350 | 311 240 824 1319 180 | 220 18 24 95.1 196.1
EVMS(L)64 3-1/15 16 15 | 160 | 350 | 311 240 824 1319 180 | 220 18 24 95.1 196.1
EVMS(L)64 3-0/18.5 16 | 185 | 160 | 350 | 311 240 824 1319 180 | 220 18 24 95.1 204.1
EVMS(L)64 4-2/18.5 16 | 185 | 160 | 350 | 311 240 896 1391 180 | 220 18 24 100.2 | 209.2
EVMS(L)64 4-1/22 16 22 | 180 | 350 | 354 260 896 1448 180 | 220 18 24 1004 | 2354
EVMS(L)64 4-0/22 16 22 | 180 | 350 | 354 260 896 1448 180 | 220 18 24 1004 | 2354
EVMS(L)64 5-2/30 1.6 30 | 200 | 400 | 354 280 968 1520 180 | 220 18 24 110.9 278.9
EVMS(L)64 5-1/30 1.6 30 200 400 354 280 968 1520 180 220 18 24 110.9 278.9
EVMS(L)64 5-0/30 1.6 30 | 200 | 400 | 354 280 968 1520 180 | 220 18 24 110.9 278.9
EVMS(L)64 6-2/30 25 30 | 200 | 400 | 354 280 1040 1592 190 | 235 22 30 1212 | 289.2
EVMS(L)64 6-1/37 25 37 | 200 | 400 | 382 295 1057 1734 190 | 235 22 30 1332 | 3932
EVMS(L)64 6-0/37 25 37 | 200 | 400 | 382 295 1057 1734 190 | 235 22 30 1332 | 3932
EVMS(L)64 7-2/37 25 37 | 200 | 400 | 382 295 129 1806 190 | 235 22 30 1386 | 3986
EVMS(L)64 7-1/37 25 37 200 | 400 382 295 1129 1806 190 235 22 30 138.6 398.6
EVMS(L)64 7-0/45 25 45 | 225 | 450 | 449 335 1129 1895 190 | 235 22 30 144.2 | 518.2
EVMS(L)64 8-2/45 25 45 | 225 | 450 | 449 335 1201 1967 190 | 235 22 30 149.9 | 523.9
EVMS(L)64 8-1/45 25 45 | 225 | 450 | 449 335 1201 1967 190 | 235 22 30 1494 | 5234
EVMS(L)64 8-0/45 25 45 | 225 | 450 | 449 335 1201 1967 190 | 235 22 30 1494 | 5234

1.6 MPa=16 bar; 2.5 MPa=25 bar

121

E2ARA

50 Hz



50 Hz VERTICAL MULTISTAGE PUMPS EVM S

SECTIONAL VIEW
EVMS(L)64

120-13

P
-

el IS
[

1
|
Q‘?
= ! =

= A
i

43-3

— 44-1
) / 52-1
43-4

i 21/21-1
m 107
U 81
43-5 % 53
120-9
44-2
52-2
137-2

135-5
120-12

Pump without ball bearing
up to 30 kW

122

_—J=-TET



50 Hz

VERTICAL MULTISTAGE PUMPS
SECTIONAL VIEW
EVMS(L)64

EVMS

@
8
SR I U
RY®PEB3EN 88 B¥EQ
\
\
NN o S
..\w«-ﬂlzu I >
TR
SR

i\ TTILEEN

Na

N
V

S 7 ////

INE

Y

NN

e = MAA\%!.\M‘.&WNV
— - . TR D
—y RN 1 7 '/.Wu».\ X

) v e \ /‘\s AN )
Wzt 7 AT \ S :

AN
) ¢ -
> /w\@// =/ 7 ‘ ﬂ‘»’/ / S i\"‘b?
y =~ 7 i_ \\O N C
</ L — \ i)y \l.
)0 K~ D <
Br33538388¢88 | ez

o @
! ~
SIS 0w P N N Nw T
- = <] e)
IR RS I F oo
<~ 8 v 0 22

123

Pump with single ball bearing
above 37 kW




50 Hz

VERTICAL MULTISTAGE PUMPS

EVMS

SECTIONAL TABLE

EVMS(L)64

N° PART NAME MATERIAL DIMENSIONS | STANDARD
EVMS EVMSL
4 Casing cover EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
5-2 Intermediate casing EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
5-3 Intermediate casing with bearing EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
5-4 Discharge casing EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
5-5 Top intermediate casing EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
6 Bottom casing EN 1.4308 (ASTM CF8) EN 1.4408 (ASTM CF8M)
7 Outer casing EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
12 Suction cover EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
21 Impeller EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
211 Reduced impeller EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
31 Shaft EN 1.4301 (AISI 304) i’\,‘\‘ 11..‘2‘2%42(3\”5853;2692)-
32-1 Adjuster key EN 1.4301 (AISI 304)
39-1 Coupling key above 37 kW Carbon Steel
43-1 Shaft sleeve (mechanical seal) EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
43-2 Shaft sleeve (intermediate) EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
43-3 Shaft sleeve (bearing) EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
43-4 Shaft sleeve (adjustment) EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
43-5 Shaft sleeve (last stage) EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
43-6 Shaft sleeve (adjustment) EN 1.4301 (AISI 304) EN 1.4404 (AIS| 316L)
441 Shaft sleeve bearing Tungsten carbride
44-2 Shaft sleeve (bearing) Tungsten carbride
45 Flange holder EN 1.4301 (AISI 304)
46 Ring (mechanical seal) EN 1.4404 (AISI 316L)
47 Ring holder EN 1.4404 (AISI 316L)
48 Impeller nut EN 1.'43.01 (AISI 304) EN 1.'44.01 (AISI 316)
with inox insert with inox insert
51 Motor adapter above 37 kW Cast Iron EN GJL250 EN 1561
52-1 Sleeve bearing Tungsten carbride
52-2 Bearing sleeve (bottom casing) Tungsten carbride
53 Bush holder EN 1.4301 (AISI 304) | EN 1.4404 (AISI 316L)
56 Ball bearing above 37 kW see table page 127
70-1 Ring for ball bearing above 37 kW EN 1.4301 (AISI 304)
70-2 Ring for bearing sleeve EN 1.4301 (AISI 304) | EN 1.4404 (AISI 316L)
75 O-Ring (priming plug) EPDM / FPM ©12.37x2.62 OR 3050
75-1 O-Ring (drainage plug) EPDM/ FPM
81 Bush PTFE
107 Liner ring EN 1.4301 (AISI 304) + PPS | EN 1.4404 (AIS| 316L) + PPS
111-1 Mechanical seal See pages 6-7
111-3 Mechanical seal seat EN 1.4301 (AISI 304) | EN 1.4401 (AISI 316)
111-4 Seal holder EN 1.4404 (AISI 316L)
111-5 Mechanical seal cartridge sleeve EN 1.4301 (AISI 304) | EN 1.4404 (AISI 316L)
115-1 O-Ring (outer casing) EPDM/FPM @240.66x5.34 OR 6945
115-4 O-Ring (cartridge sleeve) EPDM/ FPM ©23.39x3.53 OR 4093
115-5 O-Ring (seal flange) EPDM /FPM @44.04x3.53 OR 4175
120-1 Tie rod EN 1.4057 (AISI 431)
120-2 Tie rod (stage) EN 1.4301 (AISI 304) | EN 1.4401 (AISI 316)
120-3 Screw (seal flange) A2-70 M5x12 I1SO 4762
120-5 Screw (extension coupling) above 37 kW Galvanized steel 8.8 strength class ISO 898/1 M10x30 I1SO 4017

124

E2ARA



EVMS

VERTICAL MULTISTAGE PUMPS

SECTIONAL TABLE

EVMS(L)64

N° PART NAME MATERIAL DIMENSIONS | STANDARD
EVMS EVMSL
up to 4.0 kW Galvanized steel 8.8 strength class ISO 898/1 M6x25 1SO 4762
. from 5.5 kW to 7.5 kW Galvanized steel 8.8 strength class ISO 898/1 M8x25 1SO 4762
120-6 Screw (pump coupling) -
from 11 kW to 30 kW Galvanized steel 8.8 strength class ISO 898/1 M10x30 1SO 4762
above 37 kW Galvanized steel 8.8 strength class ISO 898/1 M12x30 1ISO 4762
120-7 Screw (ball bearing) above 37 kW Galvanized steel 8.8 strength class ISO 898/1 M6x10 1ISO 4017
120-8 Screw (motor adapter) above 37 kW Galvanized steel 8.8 strength class ISO 898/1 M10x40 1SO 4017
120-9 Screw (bottom casing) A2-70 M5x8 1SO 4017
120-12 Screw (shaft) A2-70 M6x16 1SO 4762
MEC 112 Galvanized steel 8.8 strength class ISO 898/1 M8x20 1ISO 4017
12013 Screw for motor MEC 132 Galvanized steel 8.8 strength class ISO 898/1 M12x45 1ISO 4017
MEC 160-180 Galvanized steel 8.8 strength class ISO 898/1 M16x50 1ISO 4017
MEC 200-225 Galvanized steel 8.8 strength class ISO 898/1 M16x60 1SO 4014
128-1 Nut (tie rod) A2-70 M16 I1SO 4032
128-2 Nut (casing tie rod) A2-70 UNI 7323 M5 1SO 4032
128-3 Nut (motor) MEC 132 Galvanized steel M12 ISO 4032
MEC 160-180-200-225 Galvanized steel M16 1SO 4032
128-6 Nut (aluminium coupling) MEC 112 Galvanized steel M6 1SO 4032
130-1 Set screw EN 1.4301 (AISI 304) M6x8 1SO 4026
130-2 Screw for coupling guard A2-70 M5x6 UNI 7687
130-4 Set screw (pump coupling) above 37 kW Galvanized steel M10x10 1SO 4026
up to 4.0 kW Carbon Steel a8x42 1ISO 2338
1311 Pin for shaft
above 5.5 kW Carbon Steel @8X50 1ISO 2338
131-2 Elastic pin EN 1.4301 (AISI 304) D6x26 1SO 8752
135-1 Washer (tie rod) EN 1.4301 (AISI 304) 216 1SO 7089
135-2 Washer (casing tie rod) EN 1.4301 (AISI 304) | EN 1.4404 (AISI 316) 25,1 UNI 1751
135-3 Washer (extension coupling) above 37 kW Galvanized steel 10,2 UNI 1751
135-4 Washer (ball bearing) above 37 kW Plated carbon steel 26,1 UNI 1751
135-5 Washer (impeller nut) EN 1.4301 (AISI 304) | EN 1.4404 (AISI 316L)
135-6 Washer (aluminium coupling) up to 4.0 kW Carbon Steel
137-1 Impeller spacer EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
137-2 Shaft spacer EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
up to 4.0 kW Die cast Aluminium EN AB-AISI11 Cu2 (Fe)
140 Coupling
from 5.5 kW to 30 kW Cast Iron EN GJL250 EN 1561
140-1 Extension coupling above 37 kW Carbon Steel
140-2 Coupling above 37 kW Carbon Steel
150 Spacer (snap ring) above 37 kW Carbon Steel
160 Base Cast Iron EN GJL200 EN 1561
162 Motor bracket up to 30 kW Cast Iron EN GJS 400-15 EN 1563
212 Priming plug EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
212-1 Drainage plug EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
212-2 Venting plug EN 1.4401 (AISI 316)
212-3 Priming plug EN 1.4301 (AISI 304) | EN 1.4404 (AIS| 316L)
245 Coupling guard EN 1.4301 (AISI 304)
2731 Washer (drainage plug) EN 1.4301 (AISI 304) | EN 1.4404 (AISI 316L)
274-2 C-type snap ring (coupling) above 37 kW Carbon Steel TC80 a75 UNI 7435
615 Loose flange Cast Iron EN GJS 500-7 EN 1563

125

E2ARA

50 Hz



EVMS

VERTICAL MULTISTAGE PUMPS

50 Hz

QUANTITY FOR MODEL

EVMS(L)64

N°

52-1|52-2

32-1|39-1(43-1(43-2|43-3|43-4|43-5|43-6|44-1|44-2| 45 | 46 | 47 | 48 | 51

31

211

21

12

7

6

5253|5455

4

1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1

Pump Type

N°

107 |111-1]111-3|111-4]111-5{115-1]115-4{115-5|120-1{120-2|120-3{120-6|120-5|120-7|120-8]120-9|120-12]120-13{128-1|128-2{128-3

81

56 [70-1]70-2| 75 |75-1

53

1
1
2
2
2
2
2
2
4
4
4
5
5
5
6
6
6
7
7
7
8
8
8

[ shaftin EN 1.4462 (AISI 329A)

EVMS(L)64 1-1/4.0
EVMS(L)64 1-0/5.5
EVMS(L)64 2-2/7.5
EVMS(L)64 2-1/11
EVMS(L)64 2-0/15
EVMS(L)64 3-2/15
EVMS(L)64 3-1/15
EVMS(L)64 3-0/18.5
EVMS(L)64 4-2/18.5
EVMS(L)64 4-1/22
EVMS(L)64 4-0/22
EVMS(L)64 5-2/30
EVMS(L)64 5-1/30
EVMS(L)64 5-0/30
EVMS(L)64 6-2/30
EVMS(L)64 6-1/37
EVMS(L)64 6-0/37
EVMS(L)64 7-2/37
EVMS(L)64 7-1/37
EVMS(L)64 7-0/45
EVMS(L)64 8-2/45
EVMS(L)64 8-1/45
EVMS(L)64 8-0/45

Pump Type

EVMS(L)64 1-1/4.0
EVMS(L)64 1-0/5.5
EVMS(L)64 2-2/7.5
EVMS(L)64 2-1/11
EVMS(L)64 2-0/15
EVMS(L)64 3-2/15
EVMS(L)64 3-1/15
EVMS(L)64 3-0/18.5
EVMS(L)64 4-2/18.5
EVMS(L)64 4-1/22
EVMS(L)64 4-0/22
EVMS(L)64 5-2/30
EVMS(L)64 5-1/30
EVMS(L)64 5-0/30
EVMS(L)64 6-2/30
EVMS(L)64 6-1/37
EVMS(L)64 6-0/37
EVMS(L)64 7-2/37
EVMS(L)64 7-1/37
EVMS(L)84 7-0/45
EVMS(L)64 8-2/45
EVMS(L)64 8-1/45
EVMS(L)64 8-0/45

126




EVM S VERTICAL MULTISTAGE PUMPS 90 Hz

QUANTITY FOR MODEL
EVMS(L)64

N°
Pump Type
128-6|130-1[130-2{130-4[131-1[131-2|135-1|137-1|135-2]135-3|135-4{135-5{135-6[137-2| 140 [140-1|140-2] 150 | 160 | 162 | 212 [212-1[212-2|212-3| 245 |273-1]274-2 615

EVMS(L)64 1-1/4.0 4 4 4
EVMS(L)64 1-0/5.5
EVMS(L)64 2-2/7.5
EVMS(L)64 2-1/11
EVMS(L)64 2-0/15
EVMS(L)64 3-2/15
EVMS(L)64 3-1/15
EVMS(L)64 3-0/18.5
EVMS(L)64 4-2/18.5
EVMS(L)64 4-1/22
EVMS(L)64 4-0/22
EVMS(L)64 5-2/30
EVMS(L)64 5-1/30
EVMS(L)64 5-0/30
EVMS(L)64 6-2/30
EVMS(L)64 6-1/37
EVMS(L)64 6-0/37
EVMS(L)64 7-2/37
EVMS(L)64 7-1/37
EVMS(L)64 7-0/45
EVMS(L)64 8-2/45
EVMS(L)64 8-1/45
EVMS(L)64 8-0/45

w

4 4

N

alalalalalalalalalalalalalalalalalalalalalala
alalalalalalalalalalalalalalalalalalalalalala

1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1

alalalalalalalalalalalalalalalalalalalalalala
~|=|=|~|~|~|~|~|~]=|~|=|~|=|=|~|~|~I|~I|~|~|~

alalalalalalalalalalalalalalalalalalalalalala
~|=]=]=1=]=]=]=InvIn|N|IN|IN|IN]IN]IN]IN]INdININININD N
alalalalalalalalwl<l~]~]~]<|<]<|<]<I<1<l<|-]~
alalalalalalalalwl<l~]~]~]~|~|~|~<]~I=<]~l~|~]~
alalalalalalalalwl<l~]~]~]~|~|~|~<|~I=<1~l~|~]|~
alalalalalalalalalalalalalalalalalalalalalala
alalalalalalalalalalalalalalalalalalalalalala
Bl RSN IR R IR IR I I P I I (R I I IR I I IR I I [ I

NINININ NN NN NN INININ NN NI DI N
Bl RS IR (R IR IR I I P I I (R I I IR R I IR I I [

alalalalalalalalwl<l<l~]~]~|~|~|~<]~<I=<]~l~|~]|~
LSRESH RSB SEESEENSEESHECH ECRESRENRRSE SR ESE R NEESEESEENEESEECEESE R SR §NY

wlwlw|lw|lw|lw|lw|lw|<]<]~]~]~]~|~|~|~<|<|<|<|~|~]~

wlw|lw|lw|lw|lw|lw|w|w|lw]|w]|w]|lw|lw|lw|lw|w|w|w|w]w]w
FN NG NG NG NG NG N G ) O (A P [ [ (PN [ [ (N (N O (P N

~|=|=|~|~|~|~|~|~]=|~|=|~|=|=|~|~|~I|~I|~|~|~
R R R RN RN ENE NN RN R R R R R R R RN ENENES
alalalalalalalalwlwl~]~]~]~|~|~|~<]~I=<]~l~|~]|~
alalalalalalalalalalalalalalalalalalalalalala
alalalalalalalalalalalalalalalalalalalalalala
R R R RN RN ENE NN RN R R R R R R R RN ENENES
alalalalalalalalalalalalalalalalalalalalalala
NN NN NN NI NI ININ NN NN NN NN

BEARINGS
EVMS(L)64

Pump Type N° 56
EVMS(L)64 1-1/4.0
EVMS(L)64 1-0/5.5
EVMS(L)64 2-2/7.5
EVMS(L)64 2-1/11
EVMS(L)64 2-0/15
EVMS(L)64 3-2/15
EVMS(L)64 3-1/15
EVMS(L)64 3-0/18.5
EVMS(L)64 4-2/18.5
EVMS(L)64 4-1/22
EVMS(L)64 4-0/22
EVMS(L)64 5-2/30
EVMS(L)64 5-1/30

(

(

(

(

(

(

(

(

(

(

EVMS(L)64 5-0/30
EVMS(L)64 6-2/30
EVMS(L)64 6-1/37 6315
EVMS(L)64 6-0/37 6315
EVMS(L)64 7-2/37 6315
EVMS(L)64 7-1/37 6315
EVMS(L)64 7-0/45 6315
EVMS(L)64 8-2/45 6315
EVMS(L)64 8-1/45 6315
EVMS(L)64 8-0/45 6315

[ P [ A A A A R ) ) ) R ) ) .

127

E2ARA



50 Hz

EVMS

VERTICAL MULTISTAGE PUMPS

[MPa]

25—

2.0 —

0.5 —

(kw]

NPSH

[m]

128

300

[m]

250

200

150

100

50

PERFORMANCE CURVE
EVMSG64

o USgem 100 200 300 40
! 1 L
I T T T
0 Imp.g.p.m. 100 20 %0
H
—900 [f]
F~—1 ~~—_ L 800
- 8-1/as xw __ 8-0/askw
8-2/as kw_ T~ \:\\
\\\\\\70/ \\\\\\ L 700
— -0/as xw
~—_ “7-1/37kw T~
T7-2/37kw =<
S . \\‘\
== 6.2 20w ~6-1/37 K_wT — '\x k 500
-_1Y ~L_ —— L B
|~ 15-2/30kw, : 5-1/30kw \\'\
\‘\\4—0/22<Kﬂ ‘\+\\\ o
_:: :::::: 4-\1/;2K‘W~\\\\ \
““*‘—4_2/18.5KW\\\'\ \ \ \
T —13-0/185 Kw_ 1 \‘Q \ \ -
__________ 31/1s le_ - : \\\
________ 3-2/15kw - \
““““ 2-0/15KW — \\\ \ _200
_________ 7-1/11KW__:\ \ \
————————— 2-2/75KW L — _\\\
+ \
L 1-0fs5kw_ — \% -
—————————— 1-1/akW = e §
\
\|
| 0
0 400 800 1200 Qiimin]
| | ! : l
! o 48 72 Q[m3/h]
100 n
0,
% g0 [l
— @D, ®
kW/stage @D,* 40
2
20
0
0 400 800 1200 Q[l/min]
NPSH
// - !
20
/
_—
—10
—
0
0 400 800 1200 Q[i/min]

Test standard: ISO 9906:2012 - Grade 3B

_—J=-TET



EVM S VERTICAL MULTISTAGE PUMPS 90 Hz

TECHNICAL DATA
EVMSG64

Dimensional sketch

Round flange (F) - DN100

H3

G38 G38
o
I
‘ 8 holes D3
- F‘ W 1= s G38
e« 8§ s BivSiE
g] | bid [ll—=
i fi i
| _ne 9
<
190
190
251

365

Dimensions [mm] and Weights [Kg]

Motor Round flange (F)
Pmax| kW Size A B c H2 H2+H3 D1 D2 D3 H8 [Weight Weight
Pump Type Pump +
[MPa] o Pump Motor
EVMSG64 1-1/4.0 16 | 40 | 112 | 160 | 193 | 138 | 546 910 180 | 235 18 24 64.8 93.3
EVMSG64 1-0/5.5 16 | 55 | 132 | 300 | 220 | 152 | 650 1049 | 180 | 235 18 24 74.6 113.6
EVMSG64 2-2/7.5 1.6 7.5 132 300 220 152 722 1141 180 235 18 24 79.7 125.7
EVMSG64 2-1/11 1.6 11 160 350 259 180 752 1191 180 235 18 24 87.0 149.5
EVMSG64 2-0/15 1.6 15 160 350 311 240 752 1247 180 235 18 24 87.0 188.0
EVMSG64 3-2/15 1.6 15 160 350 31 240 824 1319 180 235 18 24 92.1 193.1
EVMSG64 3-1/15 1.6 15 160 350 311 240 824 1319 180 235 18 24 92.1 193.1
EVMSG64 3-0/18.5 1.6 18.5 160 350 311 240 824 1319 180 235 18 24 921 2011
EVMSG64 4-2/18.5 1.6 18.5 160 350 311 240 896 1391 180 235 18 24 97.2 206.2
EVMSG64 4-1/22 1.6 22 180 350 354 260 896 1448 180 235 18 24 97.4 2324
EVMSG64 4-0/22 1.6 22 180 350 354 260 896 1448 180 235 18 24 97.4 2324
EVMSG64 5-2/30 1.6 30 200 400 354 280 968 1520 180 235 18 24 107.9 275.9
EVMSG64 5-1/30 16 | 30 | 200 | 400 | 354 | 280 | 968 1520 | 180 | 235 18 24 107.9 | 275.9
EVMSG64 5-0/30 1.6 30 200 400 354 280 968 1520 180 235 18 24 107.9 275.9
EVMSG64 6-2/30 25 30 200 400 354 280 1040 1592 190 254 22 31 119.5 287.5
EVMSG64 6-1/37 25 37 200 400 382 295 1057 1734 190 254 22 31 131.6 391.6
EVMSG64 6-0/37 25 37 200 400 382 295 1057 1734 190 254 22 31 131.6 391.6
EVMSG64 7-2/37 25 | 37 | 200 | 400 | 382 | 2095 | 1120 | 1806 | 190 | 254 | 22 31 136.9 | 396.9
EVMSG64 7-1/37 25 | 37 | 200 | 400 | 382 | 295 | 1129 | 1806 | 190 | 254 | 22 31 136.9 | 396.9
EVMSG64 7-0/45 25 45 225 450 449 335 1129 1895 190 254 22 31 142.5 516.5
EVMSG64 8-2/45 25 45 225 450 449 335 1201 1967 190 254 22 31 148.3 522.3
EVMSG64 8-1/45 2.5 45 225 450 449 335 1201 1967 190 254 22 31 147.8 521.8
EVMSG64 8-0/45 2,5 45 225 450 449 335 1201 1967 190 254 22 31 147,8 521,8

1.6 MPa=16 bar; 2.5 MPa=25 bar

129

E2ARA



50 Hz

VERTICAL MULTISTAGE PUMPS EVM S

435
120-9
44-2
52-2
137-2
135-5

120-12

130

SECTIONAL VIEW
EVMSG64

I

Bl
NS NS

7
=)

AN
AN

=

X
ced

—_

IO

Pump without ball bearing
up to 30 kW




50 Hz

128-3

VERTICAL MULTISTAGE PUMPS
SECTIONAL VIEW
EVMSG64

EVMS

21/21-1

75
212

VAN

N

®

135-2
128-2
751
2731
2121

T
A\

|
-
70-1
274-2
150
120-7
135-4
39-1
135-3
120-5
120-13

\
\
I;W\Ir/“, R @ P

/74

Y7

T AT ¥ T YR
© = 9 9 = 9 Q Q Q
554433%332

N @
N0

o8N

N N

435
120-9
44-2
52-2
137-2
1355
120-12

131

Pump with single ball bearing
above 37 kW




50 Hz

VERTICAL MULTISTAGE PUMPS

EVMS

132

SECTIONAL TABLE
EVMSG64

N° PART NAME WMATERIAL DIMENSIONS | STANDARD
EVMSG
4 Casing cover EN 1.4301 (AISI 304)
5-2 Intermediate casing EN 1.4301 (AISI 304)
5-3 Intermediate casing with bearing EN 1.4301 (AISI 304)
5-4 Discharge casing EN 1.4301 (AISI 304)
5-5 Top intermediate casing EN 1.4301 (AISI 304)
6 Bottom casing Cast Iron EN GJL-250 EN 1561
Cast Iron EN GJS 400-15 EN 1563
7 Outer casing EN 1.4301 (AISI 304)
12 Suction cover EN 1.4301 (AISI 304)
21 Impeller EN 1.4301 (AISI 304)
211 Reduced impeller EN 1.4301 (AISI 304)
31 Shaft EN 1.4301 (AISI 304)
321 Adjuster key EN 1.4301 (AISI 304)
39-1 Coupling key above 37 kW Carbon Steel
43-1 Shaft sleeve (mechanical seal) EN 1.4301 (AISI 304)
43-2 Shaft sleeve (intermediate) EN 1.4301 (AISI 304)
43-3 Shaft sleeve (bearing) EN 1.4301 (AISI 304)
43-4 Shaft sleeve (adjustment) EN 1.4301 (AISI 304)
43-5 Shaft sleeve (last stage) EN 1.4301 (AISI 304)
43-6 Shaft sleeve (adjustment) EN 1.4301 (AISI 304)
441 Shaft sleeve bearing Tungsten carbride
44-2 Shaft sleeve (bearing) Tungsten carbride
46 Ring (mechanical seal) EN 1.4404 (AISI 316L)
47 Ring holder EN 1.4301 (AISI 304)
48 Impeller nut EN 1.4301 (AISI 304) with inox insert
51 Motor adapter above 37 kW Cast Iron EN GJL250 EN 1561
52-1 Sleeve bearing Tungsten carbride
52-2 Bearing sleeve (bottom casing) Tungsten carbride
53 Bush holder EN 1.4301 (AISI 304)
56 Ball bearing above 37 kW see table page 135
70-1 Ring for ball bearing above 37 kW EN 1.4301 (AISI 304)
70-2 Ring for bearing sleeve EN 1.4301 (AISI 304)
75 O-Ring (priming plug) EPDM /FPM @12.37x2.62 OR 3050
751 O-Ring (drainage plug) EPDM/FPM
81 Bush PTFE
107 Liner ring EN 1.4301 (AISI 304) + PPS
111-1 Mechanical seal see pages 6-7
111-3 Mechanical seal seat EN 1.4301 (AISI 304)
111-4 Seal holder EN 1.4404 (AISI 316L)
111-5 Mechanical seal cartridge sleeve EN 1.4301 (AISI 304)
115-1 O-Ring (outer casing) EPDM /FPM ©240.66x5.34 OR 6945
115-4 O-Ring (cartridge sleeve) EPDM/FPM @23.39x3.53 OR 4093
115-5 O-Ring (seal flange) EPDM /FPM @44.04x3.53 OR 4175
120-1 Tie rod EN 1.4057 (AISI 431)
120-2 Tie rod (stage) EN 1.4301 (AISI 304)
120-3 Screw (seal flange) A2-70 M5x12 1ISO 4762
120-5 Screw (extension coupling) above 37 kW Galvanized steel 8.8 strength class ISO 898/1 M10x30 I1SO 4017

E2ARA



EVMS

VERTICAL MULTISTAGE PUMPS

SECTIONAL TABLE
EVMSG64

N° PART NAME WMATERIAL DIMENSIONS | STANDARD
EVMSG
up to 4.0 kW Galvanized steel 8.8 strength class ISO 898/1 M6x25 1SO 4762
. from 5.5 kW to 7.5 kW Galvanized steel 8.8 strength class 1ISO 898/1 M8x25 1SO 4762
120-6 Screw (pump coupling) -
from 11 kW to 30 kW Galvanized steel 8.8 strength class 1ISO 898/1 M10x30 1ISO 4762
above 37 kW Galvanized steel 8.8 strength class ISO 898/1 M12x30 1ISO 4762
120-7 Screw (ball bearing) above 37 kW Galvanized steel 8.8 strength class ISO 898/1 M6x10 1ISO 4017
120-8 Screw (motor adapter) above 37 kW Galvanized steel 8.8 strength class ISO 898/1 M10x40 1SO 4017
120-9 Screw (bottom casing) A2-70 M5x8 1SO 4017
120-12 Screw (shaft) A2-70 M6x16 1SO 4762
MEC 112 Galvanized steel 8.8 strength class 1ISO 898/1 M8x20 1ISO 4017
MEC 132 Galvanized steel 8.8 strength class ISO 898/1 M12x45 1ISO 4017
120-13 Screw for motor
MEC 160-180 Galvanized steel 8.8 strength class ISO 898/1 M16x50 1ISO 4017
MEC 200-225 Galvanized steel 8.8 strength class ISO 898/1 M16x60 1ISO 4014
128-1 Nut (tie rod) A2-70 M16 1SO 4032
128-2 Nut (casing tie rod) A2-70 M5 1SO 4032
128-3 Nut (motor) MEC 132 Galvanized steel M12 1ISO 4032
MEC 160-180-200-225 Galvanized steel M16 1SO 4032
128-6 Nut (aluminium coupling) MEC 112 Galvanized steel M6 1SO 4032
130-1 Set screw EN 1.4301 (AISI 304) M6x8 1SO 4026
130-2 Screw for coupling guard A2-70 M5x6 UNI 7687
130-4 Set screw (pump coupling) above 37 kW Galvanized steel M10x10 1ISO 4026
131-1 Pin for shat up to 4.0 kW Carbon Steel 28x42 1ISO 2338
above 5.5 kW Carbon Steel @8X50 1ISO 2338
135-1 Washer (tie rod) EN 1.4301 (AISI 304) 216 1SO 7089
135-2 Washer (casing tie rod) EN 1.4301 (AISI 304) 5,1 UNI 1751
135-3 Washer (extension coupling) above 37 kW Galvanized steel @10,2 UNI 1751
135-4 Washer (ball bearing) above 37 kW Plated carbon steel 26,1 UNI 1751
135-5 Washer (impeller nut) EN 1.4301 (AISI 304)
135-6 Washer (aluminium coupling) up to 4.0 kW Carbon Steel
137-1 Impeller spacer EN 1.4301 (AISI 304)
137-2 Shaft spacer EN 1.4301 (AISI 304)
. up to 4.0 kW Die cast Aluminium EN AB-AISI11 Cu2 (Fe)
140 Coupling
from 5.5 kW to 30 kW Cast Iron EN GJL250 EN 1561
140-1 Extension coupling above 37 kW Carbon Steel
140-2 Coupling above 37 kW Carbon Steel
150 Spacer (snap ring) above 37 kW Carbon Steel
162 Motor bracket up to 30 kW Cast Iron EN GJS 400-15 EN 1563
212 Priming plug EN 1.4301 (AISI 304)
2121 Drainage plug EN 1.4301 (AISI 304)
212-2 Venting plug EN 1.4401 (AISI 316)
212-3 Priming plug EN 1.4301 (AISI 304)
245 Coupling guard EN 1.4301 (AISI 304)
273-1 Washer (drainage plug) EN 1.4301 (AISI 304)
274-2 C-type snap ring (coupling) above 37 kW Carbon Steel TC80 a75 UNI 7435

133

E2ARA

50 Hz



EVMS

VERTICAL MULTISTAGE PUMPS

50 Hz

QUANTITY FOR MODEL

EVMSG64

B~ |o|n|a]a|fa]a]s|s|s|w|e|w]o|o]o|~|[~|[~]o|[w]wo
o

N e o o i o o o o B B B B B B B S R [ RS I [
0

N R R R R R R R R B B B B R B Al R R B R R R B
0

S |=I=1=1=|==[=|=|=|~=~]=~|=|~|=|~]<|=|~|~]|~]|=|+
-3 R e el I I e e I N I I I el R el e o e I I I e
D~ B Bl I o e I N I I R el R Il e o e I I I e
3 R Rl I I e e I N I I R el R Il e o e I I I e
o

R i i i B o ol e B S B IS EEX B B S S [ RS I [
<

RN BN BN BN BN e B B Bl B Bl B i Bl B Bl R R B R R R B
<

©

S RS B SN I R R (R ) i [y i i e e I e e e e e e e
<

©

S R S S I R R R [ i i e e e e e e e e G e
<

<

R R R R R R R B B B e e B B A R R B R R R B
<

3]

R R R R R R R B R B B B e B B A R R B R R R B
<

o

G [N |o|ofs]s|T|0|[w|w]o|o|o|~[~]~
o <
-

N R e i i i B o o o B S R B BT B B S R [ RS I [
<

o [~~~ ]|=|~|~|~|~]|~|~|~|~|=]|=|=|~|~|+]+
2]

&=l ~]~|=~|~|~|~|~]~
el

b ol ol I R I e I I I I I S R Il Rl e I I I I e
R R B I R R G R RN N R BN I N BN N R BN N S BN T S s
N

Sl sl oot |o|s|w| | w|o|lv]of~]o|~]o
oV RS N Y N U N N [ [N U U U [N [ R
I R R Rl Rl R Rl Rl I R IRl Rl Il IRl I R IRl Il I Il Rl
O |~ |~~~ |~|~|~]~]~|~|~]|~|~|~|~|~|~|~|~|~|~]|~|+~
©

ol Rl Rl Rl Rl Bl R o 8 el ol Rl el Il It Il Rl Rl Rl e el R e
<

NS Rl Rl Rl Rl R R o ol el ol Rl el Il It Il Rl Rl el e e
®

Ol Rl el I I R I I o el I Il e Il et Il Rl Rl e el R e
M//111111222333444555666
DI Rl R e e I e e e R I I I I Il Rl e I I I I e

wlw

i I e B e e s L e BN RN R L B A S R Y N e e e )

Rl BN Rl bl ) Rl ) el A U ol ol oy e Joeq ool el el Il sl Bl I

ol I I ot B RN e B I Bl B I I 4 N o o R N N R D S
° A BRI GGG R AR A B A el 0l e R KA R I I I N o) )
o bdl Bl IS IS0 S I I S bl I I Sl Sl I I S S
> R g g g g g e [ g g I I ) e e e e (g I I I S
L (O [OR HOR KON ROR RO FOR KON RON KON ROR ROR KGR HO) RON NOR KOS KGR KGR RON NOR OB KO
-3 (28 K20 N0 K20 K20 K20 K20 R0 B0 B2 0 K20 2 R0 Rl R 2h 2 K2 R A R k2 K2 R R
5 222|222 [=12|2|=2=2[2]|=2]|2|122[=2]12=212=2(=2)2
S P P P P P I P D D S S [ S ) B ) ) ) I I I I
a [TIR NTTR QTR Rri} NrTQ NTQ ReTR NeAQ NriQ Rro yrrQ NrrQ o) QUAQ QriQ QIR ReiQ yriQ gy yri} RriQ iy pef

[ shaftin EN 1.4462 (AISI 329A)

©
[~ [~[~~|~|~|=[=[=[=[=]=]=1=|~[~{~|~|=|~|~]~]|~=
?
NEBINININANANIRAR AR R R R RARARA AR AR I I B K
N
NENANARANARARARARARARARARARARARARARARAR AR AR AR AR
I e e R e e R R B e B R e e S o o S S
=
ERAANARANARARARARARARA DRI A NARA RN AN EI I ES
S
PO R I R R R R I R R I R IR Il R el e e e I I e e
I
<
SERANARANARARARARARARARARARARARARARARAR AR AR AR AR
®
S ===~ 1==|=|==]~|=|=|=|=|=|=|x|~|[~]|~| ||+
I
S ===~ 1=|=|=|==]|~|=|=|=|=]| ||| ||| |m
<@
SERARANARANARARANARARA DA R R AR S R I B II BIRI GI Y
©
S I=|===1==|=|==]=|=|=|=|=]|=|=|x|~|[~]|~| ||+
@
SERARANARANARARANARARARARARARANARARARANARARAR AR
N
SRR IR IR I I I S I N R I R R R R R I I I I O Y
SR e e R e e R R B o B R R e e S o o N I
o =
™
B I ol o R o ol Rl I e R I I R Il I I ol I I I R o
S
B I ol o I o ol Rl I e R I I R I I I Rl I I I R o
Ny
e (XS IOV ISV ISV RV IXGVEN ISV IEN GV IOV XSV XS SN IV IOV IESUR ISV IRV IOV ISV ISV VR SN
Q
B Il e e o I I e I I N I R R e o el I I e e
hi
L= Il e I I I I I N I R Rl e o ol I e e e
K@
b= e e I I I I I N I I R e o el I e e R
S e e e e e el I I R IR I I I I I e e I R e e S
~
S [~ |N|aN|afo]|o]|o|s|s|[t]|w|w|w]o]o]o|~]~]|~]o|wo|w
o [~ |v|N|afa]a]a|o oot |o|w]o|o]lo]o]|~]|~[~
TS I R I I I R I IR R R I I R I I I I I IS I R R R
~
Rla|afalafalofala]afa]oafoa]afofa]ofa]ofo]oafoa]oa]o
N
N S S S (R [y iy iy I U pEE S B R I e e =
=
S ~=|=]=|==~|~|=|~|~|~|~|~|~=|=|=]=[~|~|~]|+~]|~|+~
=
Q [~ [~[~[~|~|~|=~[=[<[<[<]<]<|=]|=[=|=|<|~|~]<]<]=
e A
el lo|lv|v|ld|ls|lala|lalalalolnnIn]n]|v|w|v]w
i ' N R R R RN A AN N N R B L L Y I B R B R R
FI215(ZSISI=Z(=S1919(221212 12212121222 =
Al I R ot Bt N e B I el A I I I N L e R N N R D
o A EIEIBIEI GG AR A R K A R R N N I A e
Q b - a3 0 B IS I Tl Nl N I Sl -4 e B 3 D0 el el I D
> ololololo|lo|o|lo|lo|lo|o|ld|ld|e|le|lo|lo|lC]|lo|o|lo|lo]e
= (O} ROR NOR ROR KGR HOR NON KON KUR NOR ROR ROR NOY KON HOR JOR ROJ NOR NOR RON FOR NOR RO)
o olo|la|lale|le|alale|lo|a|lalale|e|a|e|e|e|alale|o
13 222|212 =21=2|2=2=21==|=|1=(2 2122212222
> P P P P P S I I S D Y I S ) e I I I [ D D I
o u|v|v|v|u|o|o|b|L|o|o|o|b||w|b|L|L|L|DL|L|D

134




EVM S VERTICAL MULTISTAGE PUMPS 90 Hz

QUANTITY FOR MODEL
EVMSG64
N°
Pump Type
130-1/130-2[130-4{131-1[135-1[135-2|135-3|135-4|135-5|135-6/137-1[137-2| 140 [140-1140-2| 150 | 162 | 212 [212-1]212-2[212-3| 245 [273-1[274-2)
EVMSG64 1-1/4,0 3| 4 / 1 41 2 / / 1 4 1 1 2 / / / 1 1 4 1 1 2| 4 /
EVMSG64 1-0/5,5 3| 4 / 1 412 / / 1 / 1 1 2 / / / 1 1 4 1 1 2| 4 /
EVMSG64 2-2/7,5 3|4 / 1 4 | 2 / / 1 / 1 1 2 / / / 1 1 4 1 1 2| 4 /
EVMSG64 2-1/11 3|4 / 1 4|2 / / 1 / 1 1 2 / / / 1 1 4 1 1 2|4 /
EVMSG64 2-0/15 3|4 / 1 4|2 / / 1 / 1 1 2 / / / 1 1 4 1 1 2|4 /
EVMSG64 3-2/15 3|4 / 1 4|12 / / 1 / 1 1 2 / / / 1 1 4 1 1 2|4 /
EVMSG64 3-1/15 3|4 / 1 412 / / 1 / 1 1 2 / / / 1 1 4 1 1 2| 4 /
EVMSG64 3-0/18,5 3|4 / 1 4 12 / / 1 / 1 1 2 / / / 1 1 4 1 1 2 | 4 /
EVMSG64 4-2/18,5 3|4 / 1 4 12 / / 1 / 1 1 2 / / / 1 1 4 1 1 2 | 4 /
EVMSG64 4-1/22 3|4 / 1 4 | 2 / / 1 / 1 1 2 / / / 1 1 4 1 1 2 | 4 /
EVMSG64 4-0/22 3|4 / 1 4 | 2 / / 1 / 1 1 2 / / / 1 1 4 1 1 2 |4 /
EVMSG64 5-2/30 3|4 / 1 4 | 2 / / 1 / 1 1 2 / / / 1 1 4 1 1 2 | 4 /
EVMSG64 5-1/30 3|4 / 1 4 | 2 / / 1 / 1 1 2 / / / 1 1 4 1 1 2 | 4 /
EVMSG64 5-0/30 3|4 / 1 412 / / 1 / 1 1 2 / / / 1 1 4 1 1 2 |4 /
EVMSG64 6-2/30 3|4 / 1 4 |2 / / 1 / 1 1 2 / / / 1 1 4 1 1 2 |4 /
EVMSG64 6-1/37 3|4 1 1 412 |4|3 1 / 1 1 / 1 1 1 1 1 4 1 1 2| 4 1
EVMSG64 6-0/37 3| 4 1 1 4121413 1 / 1 1 / 1 1 1 1 1 4 1 1 2| 4 1
EVMSG64 7-2/37 3|4 1 1 412413 1 / 1 1 / 1 1 1 1 1 4 1 1 2| 4 1
EVMSG64 7-1/37 3|4 1 1 41211413 1 / 1 1 / 1 1 1 1 1 4 1 1 2| 4 1
EVMSG64 7-0/45 3|4 1 1 4 21]14]3 1 / 1 1 / 1 1 1 1 1 4 1 1 2|4 1
EVMSG64 8-2/45 3|4 1 1 41211413 1 / 1 1 / 1 1 1 1 1 4 1 1 2|4 1
EVMSG64 8-1/45 3|4 1 1 4121413 1 / 1 1 / 1 1 1 1 1 4 1 1 2|4 1
EVMSG64 8-0/45 3|4 1 1 4 121413 1 / 1 1 / 1 1 1 1 1 4 1 1 2| 4 1
BEARINGS
EVMSG64

Pump Type N° 56

EVMSG64 1-1/4,0 /

EVMSG64 1-0/5,5 /

EVMSG64 2-2/7,5 /

EVMSG64 2-1/11 /

EVMSG64 2-0/15 /

EVMSG64 3-2/15 /

EVMSG64 3-1/15 /

EVMSG64 3-0/18,5 /

EVMSG64 4-2/18,5 /

EVMSG64 4-1/22 /

EVMSG64 4-0/22 /

EVMSG64 5-2/30 /

EVMSG64 5-1/30 /

EVMSG64 5-0/30 /

EVMSG64 6-2/30 /

EVMSG64 6-1/37 6315

EVMSG64 6-0/37 6315

EVMSG64 7-2/37 6315

EVMSG64 7-1/37 6315

EVMSG64 7-0/45 6315

EVMSG64 8-2/45 6315

EVMSG64 8-1/45 6315

EVMSG64 8-0/45 6315

135

E2ARA



50 Hz

VERTICAL MULTISTAGE PUMPS

EVMS

PERFORMANCE CURVE
EVMS(L)90
0 usgpm. 100 200 300 400 500 600
1 | ] ] | ] |
f T T T T T
0 impgpm. 100 200 300 400 500
250
— 800
P H
[MPa] [m]
. L 700
20 200 — = ‘6-0/|45 Kw_
~— = R
- o ~6-2/Tis Kw — 600
= *5-0/|37£w =<
15 — 150 — \\\\‘5'2/37KW \\k&\\ — 500
—— ‘ R ‘\\\\\ ‘\\\
1- -4-0/|30 KW \\\
L it S — 400
T —-4-2/30kw "“-~.___-~“
104 100 = "3—0/|22Kw T — &\
— | T ] \ L 300
T T —-3-2/185 \\
—————— 2-0/|15 e = h— \ 0
— \
05— 50 T 2-2/ukw ==
— \
————— 1-0/75kw L L \\ — 100
—————— 1-1/s5kw - — — %
—
'\\'
0 — 0 T 0
0 400 800 1200 1600 2000 Q[l/min]
[ I I [ [ |
0 24 48 72 96 120 Qm?3h]
P, 12 ” 100
W g % 80
p— \
8 60
6 @D, 40
. kW/stage @D,* "
0 0
0 400 800 1200 1600 2000 Q[l/min]
NPSH 10
— 30
[m] 8 ~
6 ,/ 20
) ———if”’,//
] —10
2 —
0 0
0 400 800 1200 1600 2000 Qll/min1
Test standard: 1ISO 9906:2012 - Grade 3B
136

[ft

(%]

NPSH
[ft

_—J=-TET



EVMS

VERTICAL MULTISTAGE PUMPS

Dimensional sketch

TECHNICAL DATA

EVMS(L)90

Loose round flange (LF) - DN100

H3

H2

G3/8

1140,

K

100,
140

I

[

190

4 holes @ 14

8 holes D3

250

365

G3/8

Dimensions [mm] and Weights [Kg]

Motor Loose round flange (LF)
Pmax| kW Size A B c H2 H2+H3 D1 D2 D3 H8 |Weight Weight

Pump Type [MPa] Pump Pump +

[} Motor
EVMS(L)90 1-1/5.5 1.6 | 55 | 132 | 300 | 220 152 671 1070 | 180 [ 220 | 18 | 24 77.9 116.9
EVMS(L)90 1-0/7.5 1.6 | 7.5 | 132 | 300 | 220 152 671 1090 | 180 | 220 | 18 | 24 77.9 123.9
EVMS(L)90 2-2/11 1.6 11 | 160 | 350 | 259 180 794 1233 | 180 [ 220 | 18 | 24 90.2 152.7
EVMS(L)90 2-0/15 1.6 15 | 160 | 350 | 311 240 794 1289 | 180 | 220 | 18 | 24 90.2 191.2
EVMS(L)90 3-2/18.5 1.6 [185| 160 | 350 | 311 240 887 1382 | 180 [ 220 | 18 | 24 95.8 204.8
EVMS(L)90 3-0/22 1.6 | 22 | 180 | 350 | 354 | 260 887 1439 | 180 [ 220 | 18 | 24 95.6 230.6
EVMS(L)90 4-2/30 1.6 | 30 | 200 | 400 | 354 | 280 980 1532 | 180 | 220 | 18 | 24 | 106.1 274.1
EVMS(L)90 4-0/30 1.6 30 | 200 | 400 354 280 980 1532 180 | 220 | 18 | 24 106.2 274.2
EVMS(L)90 5-2/37 25 | 37 | 200 | 400 | 382 | 295 1090 1767 | 190 | 235 | 22 | 30 | 129.8 | 3898
EVMS(L)90 5-0/37 25 | 37 | 200 | 400 | 382 | 295 1090 1767 | 190 | 235 | 22 | 30 | 1286 | 3886
EVMS(L)90 6-2/45 25 45 | 225 | 450 | 449 335 1183 1949 190 | 235 | 22 | 30 139.7 513.7
EVMS(L)90 6-0/45 25 | 45 | 225 | 450 | 449 | 335 1183 1949 | 190 | 235 | 22 | 30 | 1397 | 5137

1.6 MPa=16 bar;

2.5 MPa=25 bar

_—J=-TET

50 Hz



EVMS

VERTICAL MULTISTAGE PUMPS

50

EVMS(L)20

SECTIONAL VIEW

v AN

/2

120-6
128-3

=

\‘,,)u

2

111-4
111-5
111-1

212-2

)
NS

L

&

L2

75

115-4

217211

<
b
<~

137-1

8

btﬂ.n TN

43-5
120-9

i

137-2
135-5
120-12

135-2
128-2
48
70-2

AN

&

i\

) 53

,p\/

AV

/s

212-1

273-1

75-1

131-2

Pump without ball bearing
up to 30 kW

=



50 Hz

VERTICAL MULTISTAGE PUMPS

EVMS

SECTIONAL VIEW
EVMS(L)90

128-3

70-1

274-2

1

50

i

120-7

21/211

L

J I 4.%,&,,,.\
/ .\)ﬁﬁkﬂ D ~ N
\ SSSSN g/{llﬂwu&,
N e
4 0 /4,»‘ r

S
777
Ay
%

N/
0

XN =

g

)

T N v q -~ < - o~ -
h ' 0 P o

Q9 T Q F Q Q Q © Q9 © v

T ¥ ®© O 8 ® ® J - & N O

212-2
212-3
75

2233323
« T &
< ¥ ¢ 0 22

~ /& <

120-12

212-1

2731

75-1

131-2

Pump with single ball bearing

above 37 kW

139

_—J=-TET



50 Hz

VERTICAL MULTISTAGE PUMPS

EVMS

SECTIONAL TABLE

EVMS(L)90

N° PART NAME MATERIAL DIMENSIONS | STANDARD
EVMS EVMSL
4 Casing cover EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
5-2 Intermediate casing EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
5-3 Intermediate casing with bearing EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
5-4 Discharge casing EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
5-5 Top intermediate casing EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
6 Bottom casing EN 1.4308 (ASTM CF8) EN 1.4408 (ASTM CF8M)
7 Outer casing EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
12 Suction cover EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
21 Impeller EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
211 Reduced impeller EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
31 Shaft EN 1.4301 (AISI 304) EN 1.4462 (AISI 329A)
32-1 Adjuster key EN 1.4301 (AISI 304)
39-1 Coupling key above 37 kW Carbon Steel
43-1 Shaft sleeve (mechanical seal) EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
43-2 Shaft sleeve (intermediate) EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
43-3 Shaft sleeve (bearing) EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
43-4 Shaft sleeve (adjustment) EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
43-5 Shaft sleeve (last stage) EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
43-6 Shaft sleeve (adjustment) EN 1.4301 (AISI 304) EN 1.4404 (AIS| 316L)
441 Shaft sleeve bearing Tungsten carbride
44-2 Shaft sleeve (bearing) Tungsten carbride
45 Flange holder EN 1.4301 (AISI 304)
46 Ring (mechanical seal) EN 1.4404 (AISI 316L)
47 Ring holder EN 1.4404 (AISI 316L)
48 Impeller nut EN 1.'43.01 (AISI 304) EN 1.'44.01 (AISI 316)
with inox insert with inox insert
51 Motor adapter above 37 kW Cast Iron EN GJL250 EN 1561
52-1 Sleeve bearing Tungsten carbride
52-2 Bearing sleeve (bottom casing) Tungsten carbride
53 Bush holder EN 1.4301 (AISI 304) | EN 1.4404 (AISI 316L)
56 Ball bearing above 37 kW see table page 143
70-1 Ring for ball bearing above 37 kW EN 1.4301 (AISI 304)
70-2 Ring for bearing sleeve EN 1.4301 (AISI 304) | EN 1.4404 (AISI 316L)
75 O-Ring (priming plug) EPDM / FPM ©12.37x2.62 OR 3050
75-1 O-Ring (drainage plug) EPDM/ FPM
81 Bush PTFE
107 Liner ring EN 1.4301 (AISI 304) + PPS | EN 1.4404 (AISI 316L) + PPS
111-1 Mechanical seal see pages 6-7
111-3 Mechanical seal seat EN 1.4301 (AISI 304) | EN 1.4401 (AISI 316)
111-4 Seal holder EN 1.4404 (AISI 316L)
111-5 Mechanical seal cartridge sleeve EN 1.4301 (AISI 304) | EN 1.4404 (AISI 316L)
115-1 O-Ring (outer casing) EPDM/ FPM @240.66x5.34 OR 6945
115-4 O-Ring (cartridge sleeve) EPDM/FPM ©23.39x3.53 OR 4093
115-5 O-Ring (seal flange) EPDM /FPM @44.04x3.53 OR 4175
120-1 Tie rod EN 1.4057 (AISI 431)
120-2 Tie rod (stage) EN 1.4301 (AISI 304) | EN 1.4401 (AISI 316)
120-3 Screw (seal flange) A2-70 M5x12 I1SO 4762
120-5 Screw (extension coupling) above 37 kW Galvanized steel 8.8 strength class ISO 898/1 M10x30 ISO 4017

140

E2ARA



EVMS

VERTICAL MULTISTAGE PUMPS

SECTIONAL TABLE

EVMS(L)90

N° PART NAME MATERIAL DIMENSIONS | STANDARD
EVMS EVMSL
up to 7.5 kW Galvanized steel 8.8 strength class ISO 898/1 M8x25 1SO 4762
120-6 Screw (pump coupling) from 11 kW to 30 kW Galvanized steel 8.8 strength class ISO 898/1 M10x30 1SO 4762
above 37 kW Galvanized steel 8.8 strength class ISO 898/1 M12x30 1SO 4762
120-7 Screw (ball bearing) above 37 kW Galvanized steel 8.8 strength class ISO 898/1 M6x10 1ISO 4017
120-8 Screw (motor adapter) above 37 kW Galvanized steel 8.8 strength class ISO 898/1 M10x40 1ISO 4017
120-9 Screw (bottom casing) A2-70 M5x8 1SO 4017
120-12 Screw (shaft) A2-70 M6x16 1SO 4762
MEC 132 Galvanized steel 8.8 strength class ISO 898/1 M12x45 1ISO 4017
120-13 Screw for motor MEC 160-180 Galvanized steel 8.8 strength class ISO 898/1 M16x50 1ISO 4017
MEC 200-225 Galvanized steel 8.8 strength class ISO 898/1 M16x60 1ISO 4014
128-1 Nut (tie rod) A2-70 M16 1SO 4032
128-2 Nut (casing tie rod) A2-70 M5 1SO 4032
MEC 132 Galvanized steel M12 1SO 4032
128-3 Nut (motor) -
MEC 160-180-200-225 Galvanized steel M16 I1SO 4032
130-1 Set screw EN 1.4301 (AISI 304) M6x8 1SO 4026
130-2 Screw for coupling guard A2-70 M5x6 UNI 7687
130-4 Set screw (pump coupling) above 37 kW Galvanized steel M10x10 1SO 4026
131-1 Pin for shaft Carbon Steel @8X50 1SO 2338
131-2 Elastic pin EN 1.4301 (AISI 304) D6x26 ISO 8752
135-1 Wasbher (tie rod) EN 1.4301 (AISI 304) 216 I1SO 7089
135-2 Washer (casing tie rod) EN 1.4301 (AISI 304) | EN 1.4404 (AISI 316) @5,1 UNI 1751
135-3 Washer (extension coupling) above 37 kW Galvanized steel 10,2 UNI 1751
135-4 Washer (ball bearing) above 37 kW Plated carbon steel 26,1 UNI 1751
135-5 Washer (impeller nut) EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
137-1 Impeller spacer EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
137-2 Shaft spacer EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
140 Coupling up to 30 kW Cast Iron EN GJL250 EN 1561
140-1 Extension coupling above 37 kW Carbon Steel
140-2 Coupling above 37 kW Carbon Steel
150 Spacer (snap ring) above 37 kW Carbon Steel
160 Base Cast Iron EN GJL200 EN 1561
162 Motor bracket up to 30 kW Cast Iron EN GJS 400-15 EN 1563
212 Priming plug EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
212-1 Drainage plug EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
212-2 Venting plug EN 1.4401 (AISI 316)
212-3 Priming plug EN 1.4301 (AISI 304) | EN 1.4404 (AISI 316L)
245 Coupling guard EN 1.4301 (AISI 304)
2731 Washer (drainage plug) EN 1.4301 (AISI 304) | EN 1.4404 (AISI 316L)
274-2 C-type snap ring (coupling) above 37 kW Carbon Steel TC80 a75 UNI 7435
615 Loose flange Cast Iron EN GJS 500-7 EN 1563

141

E2ARA

50 Hz



50 Hz VERTICAL MULTISTAGE PUMPS EVM S

QUANTITY FOR MODEL
EVMS(L)90
N°
Pump Type
4 |52|53|54|55| 6 | 7 |12 ] 21 |21-1] 31 |32-1]|39-1|43-1(43-2(43-3|43-4|43-5|43-6|44-1]|44-2| 45 | 46 | 47 | 48 | 51 [52-1]|52-2

EVMS(L)90 1-1/5.5 1 / / 1 1 1 1 1 / 1 1 1 / 1 1 / / 1 1 / 1 4 1 1 1 / / 1
EVMS(L)90 1-0/7.5 1 / / 1 1 1 1 1 1 / 1 1 / 1 1 / / 1 1 / 1 4 1 1 1 / / 1
EVMS(L)90 2-2/11 1 / 1 1 1 1 1 1 /|2 1 1 / 1 1 1 1 1 1 1 1 4 1 1 1 / 1 1
EVMS(L)90 2-0/15 1 / 1 1 1 1 1 1 2 / 1 1 / 1 1 1 1 1 1 1 1 4 1 1 1 / 1 1
EVMS(L)90 3-2/18.5 1 1 1 1 1 1 1 1 1 2 1 1 / 1 2 1 1 1 1 1 1 4 1 1 1 / 1 1
EVMS(L)90 3-0/22 1 1 1 1 1 1 1 1 3|7/ 1 1 / 1 2 1 1 1 1 1 1 4 1 1 1 / 1 1
EVMS(L)90 4-2/30 1 2 1 1 1 1 1 1 2 |2 1 1 / 1 3 1 1 1 1 1 1 4 1 1 1 / 1 1
EVMS(L)90 4-0/30 1 2 1 1 1 1 1 1 4 / 1 1 / 1 3 1 1 1 1 1 1 4 1 1 1 / 1 1
EVMS(L)90 5-2/37 1 3 1 1 1 1 1 1 312 1 / 1 1 4 1 1 1 1 1 1 4 1 1 1 1 1 1
EVMS(L)90 5-0/37 1 3 1 1 1 1 1 1 5 / 1 / 1 1 4 1 1 1 1 1 1 4 1 1 1 1 1 1
EVMS(L)90 6-2/45 1 4 1 1 1 1 1 1 5 (1 1 / 1 1 5 1 1 1 1 1 1 4 1 1 1 1 1 1
EVMS(L)90 6-0/45 1 4 1 1 1 1 1 1 6 |/ 1 / 1 1 5 1 1 1 1 1 1 4 1 1 1 1 1 1

] shaft in EN 1.4462 (AISI 329A) only for EVMSL

N°
Pump Type

53 | 56 |70-1{70-2| 75 [75-1| 81 | 107 |111-1]111-3|111-4|111-5{115-1|115-4]115-5|120-1]120-2]120-3|120-5{120-6{120-7[120-8|120-9]120-12|120-13|128-1|128-2{128-3
EVMS(L)90 1-1/5.5 1 / / 1 2| 4 1 1 1 1 1 1 2 1 1 4 12| 4 / 4 / / 4 1 4 14|44
EVMS(L)90 1-0/7.5 1 / / 1 2| 4 1 1 1 1 1 1 2 1 1 4 12| 4 / 4 / / 4 1 4 14|44
EVMS(L)90 2-2/11 1 / / 1 2| 4 1 2 1 1 1 1 2 1 1 4 2] 4 / 4 / / 4 1 4 44| 4
EVMS(L)90 2-0/15 1 / / 1 2| 4 1 2 1 1 1 1 2 1 1 412 1|4 / 4 / / 4 1 4141144
EVMS(L)90 3-2/18.5 3 / / 1 2 14|23 1 1 1 1 2 1 1 41214 / 4 / / 4 1 414144
EVMS(L)90 3-0/22 3 / / 1 214123 1 1 1 1 2 1 1 4124 / 4 / / 4 1 4141144
EVMS(L)90 4-2/30 4 / / 1 214134 1 1 1 1 2 1 1 41214 / 4 / / 4 1 4141144
EVMS(L)90 4-0/30 4 / / 1 2 4 ]13]4 1 1 1 1 2 1 1 412 |4 / 4 / / 4 1 4 14|44
EVMS(L)90 5-2/37 5 1 1 1 2 41465 1 1 1 1 2 1 1 4 1241423 |4]4 1 4 444
EVMS(L)90 5-0/37 5|1 1 1 2 (4451 1 1 1 2 1 1 4 2414|213 ]4]4 1 4 444
EVMS(L)90 6-2/45 6 1 1 1 2 |45 ]6 1 1 1 1 2 1 1 4 2414|213 ]4]4 1 8 14148
EVMS(L)90 6-0/45 6 1 1 1 2 |45 ]6 1 1 1 1 2 1 1 4 2414|2344 1 8 |44 ]8

N°

Pump Type

130-1]130-2[130-4{131-1[131-2|135-1|135-2]135-3|135-4]135-5[137-1[137-2| 140 [140-1|140-2] 150 | 160 | 162 | 212 [212-1[212-2[212-3| 245 |273-1]274-2| 615
EVMS(L)90 1-1/5.5 3| 4 / 1 1 4| 2 / / 1 1 1 2 / / / 1 1 1 4 1 1 2| 4 / 2
EVMS(L)90 1-0/7.5 3|4 / 1 1 412 / / 1 1 1 2 / / / 1 1 1 4 1 1 2| 4 / 2
EVMS(L)90 2-2/11 3|4 / 1 1 4 | 2 / / 1 1 1 2 / / / 1 1 1 4 1 1 2| 4 / 2
EVMS(L)90 2-0/15 3|4 / 1 1 412 / / 1 1 1 2 / / / 1 1 1 4 1 1 2|4 / 2
EVMS(L)90 3-2/18.5 3|4 / 1 1 412 / / 1 1 1 2 / / / 1 1 1 4 1 1 2|4 / 2
EVMS(L)90 3-0/22 3|4 / 1 1 4 | 2 / / 1 1 1 2 / / / 1 1 1 4 1 1 2|4 / 2
EVMS(L)90 4-2/30 3|4 / 1 1 4 | 2 / / 1 1 1 2 / / / 1 1 1 4 1 1 2|4 / 2
EVMS(L)90 4-0/30 3|4 / 1 1 4 12 / / 1 1 1 2 / / / 1 1 1 4 1 1 2 | 4 / 2
EVMS(L)90 5-2/37 3|4 1 1 1 412 |(4]3 1 1 1 / 1 1 1 1 1 1 4 1 1 2 |4 1 2
EVMS(L)90 5-0/37 3|4 1 1 1 4 121413 1 1 1 / 1 1 1 1 1 1 4 1 1 2 |4 1 2
EVMS(L)90 6-2/45 3|4 1 1 1 4 12 |4 |3 1 1 1 / 1 1 1 1 1 1 4 1 1 2 |4 1 2
EVMS(L)90 6-0/45 3|4 1 1 1 4 12 |4 |3 1 1 1 / 1 1 1 1 1 1 4 1 1 2 | 4 1 2

142

E2ARA



EVMS

VERTICAL MULTISTAGE PUMPS

BEARINGS
EVMS(L)90

Pump Type

N° 56

EVMS(L)90 1-1/5.5

EVMS(L)90 1-0/7.5

EVMS(L)90 2-2/11

EVMS(L)90 2-0/15

EVMS(L)90 3-2/18.5

EVMS(L)90 3-0/22

EVMS(L)90 4-0/30

[ [ G A ) ) A

(
(
(
(
(
EVMS(L)90 4-2/30
(
(
(
(
(

EVMS(L)90 5-2/37 6315
EVMS(L)90 5-0/37 6315
EVMS(L)90 6-2/45 6315
EVMS(L)90 6-0/45 6315

143

_—J=-TET

50 Hz



50 Hz

VERTICAL MULTISTAGE PUMPS

EVMS

PERFORMANCE CURVE
EVMSG90
o USgpm. 100 200 300 400 500 600
| 1 | | | | |
! I I | | I
0 impgpm 100 200 300 400 500
250
L 800
P H H
[MPa] [m] Ift]
~ L 700
20— 200 — ~6-0/15 KW_
~— = N
T 62 askw — 600
T *5-0/|37£w =<
15 5o =-5-2/z7kw \\*\\\ — 500
—— ‘ R \ \
1 _4-0/|30 KW \\\
\\\\\\\ - — 400
T -4-2/30kw_ \
1.0 — 100 _\;___3_0/'22 W T —_—— & \
_— Y — \ \ L 300
T T —-3-2/185 \\
————— 2-0/|15 e = — \ 20
L \
05 — 50 — 2-2/|11 Kw ik \
—————— 1-0/75kw L L \\ — 100
______ 1-1/s5kw - — _ __ %
S B —
‘\'
0 — 0 I 0
0 400 800 1200 1600 2000 Qlimin]
| | I | I | ]
0 24 48 72 9% 120 Qmh]
P, 12 - 100 n
W o % g0 %]
—— — |
8 60
6 @D, 40
. kW/stage @D,* "
0 0
0 400 800 1200 1600 2000 Qlimin]
NPSH 10 NPSH
— 30
[m] 8 ~ It
6 ,/ 20
. //
] —10
2 —
0 0
0 400 800 1200 1600 2000 Qllimin!
Test standard: 1ISO 9906:2012 - Grade 3B
144

_—J=-TET



EVM S VERTICAL MULTISTAGE PUMPS 90 Hz

TECHNICAL DATA
EVMSG90

Dimensional sketch

Round flange (F) - DN100

H3

H2

8 holes D3

28 G3/8

*
=
]

t ‘
100
140 ‘
2
|

S
]

]
<

190 D1

251 266

365

Dimensions [mm] and Weights [Kg]

Motor Round flange (F)
Pmax| kW Size A B c H2 H2+H3 D1 D2 D3 H8 |Weight Weight

Pump Type [MPa] Pump Pump +

[%] Motor
EVMSG90 1-1/5.5 1.6 5.5 | 132 | 300 220 152 671 1070 180 | 235 | 18 24 74.9 113.9
EVMSG90 1-0/7.5 1.6 7.5 | 132 | 300 220 152 671 1090 180 | 235 | 18 24 74.9 120.9
EVMSG90 2-2/11 1.6 1 160 | 350 259 180 794 1233 180 | 235 | 18 24 87.2 149.7
EVMSG90 2-0/15 1.6 15 160 | 350 31 240 794 1289 180 | 235 | 18 24 87.2 188.2
EVMSG90 3-2/18.5 1.6 18.5| 160 | 350 311 240 887 1382 180 | 235 | 18 24 92.8 201.8
EVMSG90 3-0/22 1.6 22 180 | 350 354 260 887 1439 180 | 235 | 18 24 92.6 227.6
EVMSG90 4-2/30 16 | 30 | 200 | 400 | 354 | 280 980 1532 | 180 [ 235 | 18 | 24 | 1031 | 2711
EVMSG90 4-0/30 1.6 30 | 200 | 400 354 280 980 1532 180 | 235 | 18 24 103.1 2711
EVMSG90 5-2/37 25 37 | 200 | 400 382 295 1090 1767 190 | 254 | 22 31 126.8 386.8
EVMSG90 5-0/37 25 | 37 | 200 | 400 | 382 | 295 | 1090 | 1767 | 190|254 | 22 | 31 | 1270 | 387.0
EVMSG90 6-2/45 2.5 45 | 225 | 450 449 335 1183 1949 190 | 254 | 22 31 138.0 512.0
EVMSG90 6-0/45 25 45 | 225 | 450 449 335 1183 1949 190 | 254 | 22 31 138.0 512.0

1.6 MPa=16 bar; 2.5 MPa=25 bar

145

_—J=-TET



50 Hz

VERTICAL MULTISTAGE PUMPS

EVMS

212-2
212-3
75

435
120-9
44-2
522
137-2
135-5
120-12

146

SECTIONAL VIEW
EVMSG90

S
A

i
8
@

I

)““\\5\

83

S
S
T

BN

Pump without ball bearing
up to 30 kW

21/21-1
43-3
44-1
52-1
43-4

107
53
81




EVMS

VERTICAL MULTISTAGE PUMPS

212-2
212-3
75

SECTIONAL VIEW
EVMSG90

7

435
120-9
44-2
522
137-2
135-5
120-12

Pump with single ball bearing
above 37 kW

21/21-1
43-3
44-1
52-1
43-4

107
53
81

147

_—J=-TET

50 Hz



50 Hz

VERTICAL MULTISTAGE PUMPS

EVMS

148

SECTIONAL TABLE
EVMSG90

N° PART NAME WMATERIAL DIMENSIONS | STANDARD
EVMSG
4 Casing cover EN 1.4301 (AISI 304)
5-2 Intermediate casing EN 1.4301 (AISI 304)
5-3 Intermediate casing with bearing EN 1.4301 (AISI 304)
5-4 Discharge casing EN 1.4301 (AISI 304)
5-5 Top intermediate casing EN 1.4301 (AISI 304)
6 Bottom casing Cast Iron EN GJL-250 EN 1561
Cast Iron EN GJS 400-15 EN 1563
7 Outer casing EN 1.4301 (AISI 304)
12 Suction cover EN 1.4301 (AISI 304)
21 Impeller EN 1.4301 (AISI 304)
211 Reduced impeller EN 1.4301 (AISI 304)
31 Shaft EN 1.4301 (AISI 304)
321 Adjuster key EN 1.4301 (AISI 304)
39-1 Coupling key above 37 kW Carbon Steel
43-1 Shaft sleeve (mechanical seal) EN 1.4301 (AISI 304)
43-2 Shaft sleeve (intermediate) EN 1.4301 (AISI 304)
43-3 Shaft sleeve (bearing) EN 1.4301 (AISI 304)
43-4 Shaft sleeve (adjustment) EN 1.4301 (AISI 304)
43-5 Shaft sleeve (last stage) EN 1.4301 (AISI 304)
43-6 Shaft sleeve (adjustment) EN 1.4301 (AISI 304)
441 Shaft sleeve bearing Tungsten carbride
44-2 Shaft sleeve (bearing) Tungsten carbride
46 Ring (mechanical seal) EN 1.4404 (AISI 316L)
47 Ring holder EN 1.4301 (AISI 304)
48 Impeller nut EN 1.4301 (AISI 304) with inox insert
51 Motor adapter above 37 kW Cast Iron EN GJL250 EN 1561
52-1 Sleeve bearing Tungsten carbride
52-2 Bearing sleeve (bottom casing) Tungsten carbride
53 Bush holder EN 1.4301 (AISI 304)
56 Ball bearing above 37 kW see table page 151
70-1 Ring for ball bearing above 37 kW EN 1.4301 (AISI 304)
70-2 Ring for bearing sleeve EN 1.4301 (AISI 304)
75 O-Ring (priming plug) EPDM /FPM @12.37x2.62 OR 3050
751 O-Ring (drainage plug) EPDM/FPM
81 Bush PTFE
107 Liner ring EN 1.4301 (AISI 304) + PPS
111-1 Mechanical seal see pages 6-7
111-3 Mechanical seal seat EN 1.4301 (AISI 304)
111-4 Seal holder EN 1.4404 (AISI 316L)
111-5 Mechanical seal cartridge sleeve EN 1.4301 (AISI 304)
115-1 O-Ring (outer casing) EPDM /FPM ©240.66x5.34 OR 6945
115-4 O-Ring (cartridge sleeve) EPDM/FPM @23.39x3.53 OR 4093
115-5 O-Ring (seal flange) EPDM /FPM @44.04x3.53 OR 4175
120-1 Tie rod EN 1.4057 (AISI 431)
120-2 Tie rod (stage) EN 1.4301 (AISI 304)
120-3 Screw (seal flange) A2-70 M5x12 1ISO 4762
120-5 Screw (extension coupling) above 37 kW Galvanized steel 8.8 strength class ISO 898/1 M10x30 I1SO 4017

E2ARA



EVMS

VERTICAL MULTISTAGE PUMPS

SECTIONAL TABLE
EVMSG90

N° PART NAME WMATERIAL DIMENSIONS | STANDARD
EVMSG
up to 7.5 kW Galvanized steel 8.8 strength class ISO 898/1 M8x25 1SO 4762
120-6 Screw (pump coupling) from 11 kW to 30 kW Galvanized steel 8.8 strength class ISO 898/1 M10x30 1ISO 4762
above 37 kW Galvanized steel 8.8 strength class 1ISO 898/1 M12x30 1ISO 4762
120-7 Screw (ball bearing) above 37 kW Galvanized steel 8.8 strength class ISO 898/1 M6x10 1ISO 4017
120-8 Screw (motor adapter) above 37 kW Galvanized steel 8.8 strength class ISO 898/1 M10x40 1ISO 4017
120-9 Screw (bottom casing) A2-70 M5x8 1SO 4017
120-12 Screw (shaft) A2-70 M6x16 1SO 4762
MEC 132 Galvanized steel 8.8 strength class ISO 898/1 M12x45 1ISO 4017
120-13 Screw for motor MEC 160-180 Galvanized steel 8.8 strength class ISO 898/1 M16x50 1ISO 4017
MEC 200-225 Galvanized steel 8.8 strength class ISO 898/1 M16x60 1ISO 4014
128-1 Nut (tie rod) A2-70 M16 1SO 4032
128-2 Nut (casing tie rod) A2-70 M5 1SO 4032
MEC 132 Galvanized steel M12 1SO 4032
128-3 Nut (motor) -
MEC 160-180-200-225 Galvanized steel M16 1SO 4032
130-1 Set screw EN 1.4301 (AISI 304) M6x8 1SO 4026
130-2 Screw for coupling guard A2-70 M5x6 UNI 7687
130-4 Set screw (pump coupling) above 37 kW Galvanized steel M10x10 1SO 4026
131-1 Pin for shaft Carbon Steel @8X50 1SO 2338
135-1 Washer (tie rod) EN 1.4301 (AISI 304) 216 1ISO 7089
135-2 Washer (casing tie rod) EN 1.4301 (AISI 304) 25,1 UNI 1751
135-3 Washer (extension coupling) above 37 kW Galvanized steel 10,2 UNI 1751
135-4 Washer (ball bearing) above 37 kW Plated carbon steel 26,1 UNI 1751
135-5 Washer (impeller nut) EN 1.4301 (AISI 304)
137-1 Impeller spacer EN 1.4301 (AISI 304)
137-2 Shaft spacer EN 1.4301 (AISI 304)
140 Coupling up to 30 kW Cast Iron EN GJL250 EN 1561
140-1 Extension coupling above 37 kW Carbon Steel
140-2 Coupling above 37 kW Carbon Steel
150 Spacer (snap ring) above 37 kW Carbon Steel
162 Motor bracket up to 30 kW Cast Iron EN GJS 400-15 EN 1563
212 Priming plug EN 1.4301 (AISI 304)
2121 Drainage plug EN 1.4301 (AISI 304)
212-2 Venting plug EN 1.4401 (AISI 316)
212-3 Priming plug EN 1.4301 (AISI 304)
245 Coupling guard EN 1.4301 (AISI 304)
2731 Washer (drainage plug) EN 1.4301 (AISI 304)
274-2 C-type snap ring (coupling) above 37 kW Carbon Steel TC80 75 UNI 7435

149

E2ARA

50 Hz



EVMS

VERTICAL MULTISTAGE PUMPS

50 Hz

QUANTITY FOR MODEL

EVMSG90

N°

52-1(52-2| 53

32-1(39-1(43-1]43-2|43-3|43-4|43-5|43-6(44-1|44-2| 46 | 47 | 48 | 51

21-1( 31

2] 21

7

6

5-2|5-3|5-4]55

4

1
1
1
1
1
1
1
1
1
1
1
1

Pump Type

EVMSG90 1-1/5.5

EVMSG90 1-0/7.5

EVMSG90 2-2/11
EVMSG90 2-0/15

EVMSG90 3-2/18.5

EVMSG90 3-0/22

EVMSG90 4-2/30

EVMSG90 4-0/30
EVMSG90 5-2/37

EVMSG90 5-0/37

EVMSG90 6-2/45

EVMSG90 6-0/45

N°

130-2|130-4{131-1(135-1(135-2|135-3|135-4135-5/137-1|137-2[ 140 [140-1{140-2| 150 | 162 | 212 [212-1]212-2[212-3( 245 [273-1[274-2)

4
4
4
4
4
4
4
4
4
4
4
4

=3 B I Y N R R R Y Y Y
@
EERINARARARARIRARARARAEIE:
Y
EERINARARARARIRARARARARAR]
EERINIRARARARIRARARARARAR]
=
RN ARARANANARA RIS
=
DI N I RS (RS IR [ [ iy QN N [
&
<
SERANARARARARARARARARARAR]
Q@
Q=== ~~|~|~|~|~]|~
~
Q=== [~|~|~|||e]m
<
SERANARARARARERAR IR
w
L=~~~ ~~|~|~|~]|~
Q@
SERANARARARARIRARARARARAR]
A
Q ||| ]| a] o
SERANARARARARIRARARARARAR]
° S
)
ol Il I I e R e I e e e e
5
ol Il I I R R e I e e e e
[r=3 IEN V0 (RN oV RN RV RN N R N R O
2
= ===~~~ ]+
hi
R e e e B el N I IR R I I
@
e e e I I R S o e
L e e e e el Rl Il el R e I
~
S [~ |n]a]|o|o]|t]<t|w|w|o]w©
=4
b Rl Il Il R KV SV R RVl T R YoY e
p—
TEAIRARARARARARE AR AR AR AR
>
R lalala]o|afa]o]o]|ofoa|o]o
~
Sl ]<
=
—
S~~~ [<[<[<|<|<|=|=|]~
=
G|~ ~[<[<|<|<|<[=~]=|<|<|~-
I
il |v|lo|lalololn|x]|w|w
LTSI Qe|e|T(X
ol B B A BN S R A BN A B B
® e | Al fS S|[OS b
o ololololololololololele
> ala|la|a|olala|a|aa|a]e
= (O NUR NOR RO} FOR NON NOR NOR KON RGN ROJ RO
o DDA D]|D]|D]|D]|D|N
€ IR R EE R EE
=] P P I I I I I S ) D D Y
o wlwlwiw)wiw|w|u|w||w|

Pump Type

EVMSG90 1-1/5.5

EVMSG90 1-0/7.5

EVMSG90 2-2/11

EVMSG90 2-0/15
EVMSG90 3-2/18.5

EVMSG90 3-0/22

EVMSG90 4-2/30

EVMSG90 4-0/30

EVMSG90 5-2/37

EVMSG90 5-0/37
EVMSG90 6-2/45

EVMSG90 6-0/45

150




EVMS

VERTICAL MULTISTAGE PUMPS

BEARINGS
EVMSG90

Pump Type

N° 56

EVMSG90 1-1/5.5

EVMSG90 1-0/7.5

EVMSG90 2-2/11

EVMSG90 2-0/15

EVMSG90 3-2/18.5

EVMSG90 3-0/22

EVMSG90 4-2/30

EVMSG90 4-0/30

[ [ G A ) ) A

EVMSG90 5-2/37 6315
EVMSG90 5-0/37 6315
EVMSG90 6-2/45 6315
EVMSG90 6-0/45 6315

151

_—J=-TET

50 Hz



50 Hz VERTICAL MULTISTAGE PUMPS EVM S

PACKING DRAWING
EVMS(.)1-3-5-10-15-20-32-45-64-90

TYPE 1

TYPE 2

— <

152




EVM S VERTICAL MULTISTAGE PUMPS 90 Hz

PACKING DRAWING
EVMS(.)1-3-5-10-15-20-32-45-64-90

TYPE 3

/ TYPE 4

N

153

_—J=-TET



50 Hz VERTICAL MULTISTAGE PUMPS EVM S

PACKING DATA

EVMS(.)1-3-5
Pumps Pumps with motor ~1 Pumps with motor ~3
Packing [mm] Weight [kg] + Pack Type Packing [mm] Weight [kg] + Pack Type Packing [mm] Weight [kg] + Pack Type
Pump type

X Y z EVMS(L) EVMSG X Y z EVMS(L) EVMSG X Y z EVMS(L) EVMSG

EVMS(.)1 2/0,37 385 | 400 | 385 12 1 20 1 | 385 | 400 | 585 22 1 29 1 | 385 | 400 | 585 20 1 27 1
EVMS(.)1 3/0,37 385 | 400 | 385 13 1 20 1 [ 385 | 400 | 585 22 1 29 1 | 385 | 400 | 585 20 1 27 1
EVMS(.)1 4/0,37 385 | 400 | 385 13 1 20 1 [ 385 | 400 | 770 23 1 30 1 | 385 | 400 | 770 21 1 28 1
EVMS(.)1 5/0,37 385 | 400 | 585 14 1 21 1 [ 385 | 400 | 770 23 1 30 1 | 385 | 400 | 770 21 1 28 1
EVMS(.)1 6/0,37 385 | 400 | 585 15 1 22 1 [385 | 400 | 770 24 1 32 1 | 385 | 400 | 770 22 1 30 1
EVMS(.)1 7/0,37 385 | 400 | 585 15 1 22 1 ]385 | 400 | 770 24 1 32 1 | 385 | 400 | 770 22 1 30 1
EVMS(.)1 8/0,37 385 | 400 | 585 16 1 23 1 [ 385 | 400 | 770 25 1 33 1 385|400 | 770 23 1 31 1
EVMS(.)1 9/0,55 385 | 400 | 585 16 1 23 1 [ 385 | 400 | 770 26 1 33 1 | 385 | 400 | 770 24 1 31 1
EVMS(.)1 10/0,55 385 | 400 | 585 16 1 23 1 [ 385 | 400 | 770 26 1 33 1 | 385 | 400 | 770 24 1 31 1
EVMS(.)1 11/0,55 385 | 400 | 585 17 1 24 1 [ 385 | 400 | 970 27 1 34 1 | 385 | 400 | 770 25 1 32 1
EVMS(.)1 12/0,55 385 | 400 | 585 17 1 25 1 [385 | 400 | 770 27 1 34 1 ] 385 | 400 | 970 25 1 32 1
EVMS(.)1 13/0,55 385 | 400 | 585 18 1 25 1 [ 385 | 400 | 970 28 1 35 1 ] 385 | 400 | 970 26 1 33 1
1 [ EVMS(.)1 14/0,75 385 | 400 | 770 19 1 26 1 [ 400 | 430 [1000] 39 2 42 2 | 400 | 430 |1000| 37 2 40 2
EVMS(.)1 16/0,75 385 | 400 | 770 20 1 27 1 [ 400 | 430 [1000| 43 2 50 2 | 400 | 430 [1000| 41 2 48 2
EVMS(.)1 18/1,1 385 | 400 | 770 21 1 28 1 [ 400 | 430 [1000| 43 2 51 2 | 400 | 430 | 1000| 42 2 50 2
EVMS(.)1 20/1,1 385 | 400 | 770 22 1 29 1 | 400 | 430 |1000| 44 2 51 2 | 400 | 430 | 1000| 43 2 50 2
EVMS(.)1 22/1,1 385 | 400 | 770 24 1 31 1 | 400 | 430 |1200| 47 2 54 2 | 400 | 430 | 1200| 46 2 53 2
EVMS(.)1 24/1,1 385 | 400 | 970 25 1 32 1 [ 400 | 430 [1200| 48 2 55 2 | 400 | 430 | 1200 47 2 54 2
EVMS(.)1 26/1,1 385 | 400 | 970 26 1 33 1 [ 400 | 430 [1200]| 49 2 56 2 | 400 | 430 [ 1200 48 2 55 2
EVMS(.)1 27/1,5 385 | 400 | 970 26 1 33 1 [ 400 | 430 [1200| 54 2 61 2 | 400 | 430 [1200]| 54 2 61 2
EVMS(.)1 29/1,5 385 | 400 | 970 27 1 34 1 | 500 | 430 [1350| 60 2 68 2 | 500 | 430 |[1350| 60 2 68 2
EVMS(.)1 32/1,5 400 | 430 [1000| 37 2 44 2 | 500 | 430 |1350| 61 2 68 2 | 500 | 430 | 1350| 61 2 68 2
EVMS(.)1 34/1,5 400 | 430 | 1200]| 40 2 46 2 | 500 | 430 |1350| 62 2 70 2 | 500 | 430 [1350| 62 2 70 2
EVMS(.)1 37/2,2 400 | 430 [1200]| 41 2 48 2 | 500 | 430 |1540| 82 2 89 2 | 500 | 430 |1540] 78 2 85 2
EVMS()1.39/2.2 400 | 430 | 1200] 42 2 50 2 | 500 | 430 |1540] 84 2 90 2 | 500 | 430 |1540] 80 2 86 2
EVMS(.)3 2/0,37 385 | 400 | 385 12 1 18 1 [ 385 | 400 | 585 22 1 27 1 [ 385 | 400 | 585 20 1 25 1
EVMS(.)3 3/0,37 385 | 400 | 385 13 1 18 1 | 385 | 400 | 585 22 1 27 1 | 385 | 400 | 585 20 1 25 1
EVMS(.)3 4/0,37 385 | 400 | 385 13 1 18 1 [ 385 | 400 | 770 23 1 28 1 1385|400 | 770 21 1 26 1
EVMS(.)3 5/0,55 385 | 400 | 585 14 1 20 1 [ 385|400 | 770 24 1 29 1 1385|400 | 770 22 1 27 1
EVMS(.)3 6/0,55 385 | 400 | 585 15 1 20 1 [ 385 | 400 | 770 24 1 30 1 1385|400 | 770 22 1 28 1
EVMS(.)3 7/0,75 385 | 400 | 585 16 1 21 1 [ 385 | 400 | 770 28 1 33 1 |385 | 400 | 770 26 1 31 1
EVMS(.)3 8/0,75 385 | 400 | 585 16 1 21 1 [ 385 | 400 | 770 29 1 34 1 |385 | 400 | 770 27 1 32 1
EVMS(.)3 9/1,1 385 | 400 | 585 17 1 22 1 [ 385 | 400 | 770 29 1 34 1 |385 | 400 | 770 28 1 33 1
EVMS(.)3 10/1,1 385 | 400 | 585 17 1 22 1 [ 385 | 400 | 770 31 1 35 1 ]385 | 400 | 770 30 1 34 1
EVMS(.)3 11/1,1 385 | 400 | 585 17 1 23 1 [ 385 | 400 | 970 31 1 35 1 | 385 | 400 | 970 30 1 34 1
EVMS(.)3 12/1,1 385 | 400 | 585 18 1 23 1 [ 385 | 400 | 970 31 1 36 1 1385 | 400 | 970 30 1 35 1
EVMS(.)3 13/1,5 385 | 400 | 770 19 1 24 1 [ 400 | 430 [1000| 46 2 52 2 | 400 | 430 |1000| 46 2 52 2
3 | EVMS(.)3 14/1,5 385 | 400 | 770 20 1 25 1 [ 400 | 430 [1000| 47 2 52 2 | 400 | 430 |1000| 47 2 52 2
EVMS(.)3 15/1,5 385 | 400 | 770 20 1 25 1 [ 400 | 430 [1000| 48 2 52 2 | 400 | 430 |1000| 48 2 52 2
EVMS(.)3 16/1,5 385 | 400 | 770 21 1 26 1 [ 400 | 430 [1000| 50 2 53 2 | 400 | 430 | 1000]| 49 2 53 2
EVMS(.)3 17/2,2 385 | 400 | 770 22 1 27 1 [ 400 | 430 [1000| 54 2 59 2 | 400 | 430 |1000]| 50 2 55 2
EVMS(.)3 19/2,2 385 | 400 | 770 22 1 28 1 [ 400 | 430 [1200| 56 2 61 2 | 400 | 430 [1200| 52 2 57 2
EVMS(.)3 21/2,2 385 | 400 | 770 23 1 30 1 [ 400 | 430 [1200| 57 2 62 2 | 400 | 430 | 1200| 53 2 58 2
EVMS(.)3 23/2,2 385 | 400 | 970 25 1 30 1 [ 400 | 430 [1200| 58 2 64 2 | 400 | 430 | 1200| 54 2 60 2
EVMS(.)3 24/2,2 385 | 400 | 970 25 1 31 1 [ 400 | 430 [1200] 59 2 64 2 | 400 | 430 | 1200| 55 2 60 2
EVMS(.)3 25/3,0 385 | 400 | 970 26 1 31 1 - - - - - - - | 400 | 430 | 1200| 57 2 63 2
EVMS(.)3 27/3,0 385 | 400 | 970 27 1 32 1 - - - - - - - | 500 | 430 | 1350| 63 2 70 2
EVMS(.)3 29/3,0 385 | 400 | 970 28 1 33 1 - - - - - - - | 500 | 430 | 1350| 64 2 70 2
EVMS(.)3 31/3,0 400 | 430 | 1000] 37 2 43 2 - - - - - - - | 500 | 430 | 1350| 65 2 71 2
EVMS(,)3 33/3,0 400 | 430 112001 40 2 44 2 - - - - - - -] 500 | 430 | 1350f 66 2 71 2
EVMS(.)5 2/0,37 385 | 400 | 385 13 1 20 1 [ 385 | 400 | 585 22 1 30 1 | 385 | 400 | 585 21 1 28 1
EVMS(.)5 3/0,55 385 | 400 | 385 14 1 20 1 [ 385|400 | 770 25 1 32 1 | 385 | 400 | 770 23 1 30 1
EVMS(.)5 4/0,75 385 | 400 | 585 15 1 21 1 [ 385|400 | 770 29 1 35 1 | 385 | 400 | 770 27 1 33 1
EVMS(.)5 5/1,1 385 | 400 | 585 16 1 22 1 [385 | 400 | 770 29 1 35 1 [ 385 ] 400 | 770 28 1 34 1
EVMS(.)5 6/1,5 385 | 400 | 585 17 1 23 1 [ 400 | 430 [1000| 44 2 50 2 | 400 | 430 | 1000 44 2 50 2
EVMS(.)5 7/1,5 385 | 400 | 585 17 1 23 1 [ 400 | 430 [1000| 45 2 50 2 | 400 | 430 |1000| 45 2 50 2
EVMS(.)5 8/2,2 385 | 400 | 585 18 1 24 1 [ 400 | 430 [1000| 50 2 57 2 | 400 | 430 |1000| 46 2 53 2
EVMS(.)5 9/2,2 385 | 400 | 585 18 1 24 1 | 400 | 430 [1000| 50 2 57 2 | 400 | 430 |1000| 47 2 53 2
EVMS(.)5 10/2,2 385 | 400 | 770 19 1 25 1 | 400 | 430 [1000| 52 2 58 2 | 400 | 430 |1000| 48 2 54 2
5 EVMS(.)5 11/2,2 385 | 400 | 770 19 1 26 1 | 400 | 430 [1000| 52 2 58 2 | 400 | 430 |1000]| 50 2 54 2
EVMS(.)5 12/3,0 385 | 400 | 770 21 1 27 1 - - - - - - - | 400 | 430 | 1200| 52 2 60 2
EVMS(.)5 13/3,0 385 | 400 | 770 21 1 28 1 - - - - - - - | 400 | 430 | 1200| 53 2 60 2
EVMS(.)5 14/3,0 385 | 400 | 770 22 1 28 1 - - - - - - - | 400 | 430 | 1200| 54 2 60 2
EVMS(.)5 15/3,0 385 | 400 | 770 23 1 30 1 - - - - - - - | 400 | 430 | 1200| 55 2 61 2
EVMS(.)5 17/4,0 385 | 400 | 970 24 1 30 1 - - - - - - - | 400 | 430 | 1200| 61 2 70 2
EVMS(.)5 19/4,0 385 | 400 | 970 25 1 31 1 - - - - - - - | 500 | 430 | 1350| 68 2 75 2
EVMS(.)5 20/4,0 385 | 400 | 970 27 1 34 1 - - - - - - - | 500 | 430 | 1350 70 2 78 2
EVMS(.)5 23/5,5 400 | 430 | 1200| 44 2 50 2 - - - - - - - | 500 | 430 | 1540| 101 2 107 2
EVMS(.)5 25/5,5 400 | 430 | 1200| 45 2 51 2 - - - - - - - | 500 | 430 | 1540| 102 2 108 2
EVMS(.)5 27/5,5 400 | 430 | 1200] 46 2 53 2 - - - - - - - |1 610 | 430 [ 1750] 103 2 113 2

154

_—J=-TET



EVMS

VERTICAL MULTISTAGE PUMPS

PACKING DATA

EVMS(.)10-15-20
Pumps Pumps with motor ~1 Pumps with motor ~3
Packing [mm] Weight [kg] + Pack Type Packing [mm] Weight [kg] + Pack Type Packing [mm] Weight [kg] + Pack Type
Pump type
X Y z EVMS(L) EVMSG X Y z EVMS(L) EVMSG X Y z EVMS(L) EVMSG

EVMS(.)10 2/0,75 385 | 400 | 585 21 1 27 1 [ 400 | 430 | 800 43 2 50 2 | 400 | 430 | 800 41 2 48 2
EVMS(.)10 3/1,5 385 | 400 | 585 22 1 28 1 [ 400 | 430 | 800 48 2 55 2 | 400 | 430 | 800 48 2 55 2
EVMS(.)10 4/2,2 385 | 400 | 585 22 1 30 1 [ 400 | 430 | 800 52 2 62 2 | 400 | 430 | 800 51 2 58 2
EVMS(.)10 5/2,2 385 | 400 | 585 23 1 30 1 [ 400 | 430 [1000| 54 2 62 2 | 400 | 430 [1000| 52 2 58 2
EVMS(.)10 6/2,2 385 | 400 | 585 24 1 31 1 [ 400 | 430 [1000| 54 2 64 2 | 400 | 430 | 1000| 53 2 60 2
EVMS(.)10 7/3,0 385 | 400 | 585 25 1 33 1 - - - - - - - | 400 | 430 | 1000| 56 2 63 2
EVMS(.)10 8/3,0 385 | 400 | 770 25 1 33 1 - - - - - - - | 400 | 430 | 1000| 57 2 64 2
EVMS(.)10 9/4,0 385 | 400 | 770 27 1 34 1 - - - - - - - | 400 | 430 | 1000| 64 2 72 2
EVMS(.)10 10/4,0 400 | 430 | 700 27 2 34 2 - - - - - - - | 400 | 430 | 1200| 65 2 73 2
10 [ EVMS(.)10 11/4,0 400 | 430 | 800 38 2 45 2 - - - - - - - | 400 | 430 | 1200| 67 2 74 2
EVMS(.)10 12/5,5 400 | 430 | 1000| 48 2 55 2 - - - - - - - | 500 | 430 | 1350 93 2 100 2
EVMS(.)10 14/5,5 400 | 430 | 1000| 50 2 57 2 - - - - - - - | 500 | 430 | 1350 95 2 102 2
EVMS(.)10 15/5,5 400 | 430 | 1000| 52 2 57 2 - - - - - - - | 500 | 430 | 1350 96 2 103 2
EVMS(.)10 16/7,5 400 | 430 | 1000| 52 2 58 2 - - - - - - - | 500 | 430 [ 1540| 117 2 123 2
EVMS(.)10 18/7,5 400 | 430 | 1200| 54 2 61 2 - - - - - - - | 500 | 430 | 1540| 118 2 125 2
EVMS(.)10 19/7,5 400 | 430 | 1200| 55 2 62 2 - - - - - - - | 500 | 430 | 1540] 120 2 126 2
EVMS(.)10 21/7,5 400 | 430 | 1200| 57 2 64 2 - - - - - - 500 | 430 | 1540| 121 2 128 2
EVMS(.)10 22/11 400 | 430 [1200]| 60 2 66 2 - - - - - - - | 610 | 430 | 1750| 140 2 150 2
EVMS()10 23/11 400 | 430 | 1200] 66 2 73 2 - - - - - - - | 610 | 430 | 1750] 147 2 156 2
EVMS(.)15 1/1,1 385 | 400 | 585 23 1 30 1 [ 385 | 400 | 770 44 1 53 1 [ 400 | 430 | 800 43 2 52 2
EVMS(.)15 2/2,2 385 | 400 | 585 24 1 31 1 [ 385 | 400 | 770 55 1 64 1 [ 400 | 430 | 800 51 2 60 2
EVMS(.)15 3/3,0 385 | 400 | 585 25 1 32 1 - - - - - - - | 400 | 430 | 1000| 54 2 63 2
EVMS(.)15 4/4,0 385 | 400 | 585 26 1 33 1 - - - - - - - | 400 | 430 | 1000| 62 2 70 2
EVMS(.)15 5/5,5 400 | 430 | 800 43 2 52 2 - - - - - - - | 400 | 430 | 1200| 82 2 91 2
EVMS(.)15 6/5,5 400 | 430 | 800 45 2 53 2 - - - - - - - | 400 | 430 | 1200| 84 2 93 2
EVMS(.)157/7,5 400 | 430 | 800 47 2 55 2 - - - - - - - | 400 | 430 | 1200] 93 2 103 2
15 [ EVMS(.)15 8/7,5 400 | 430 | 1000| 48 2 56 2 - - - - - - - | 400 | 430 | 1200| 95 2 103 2
EVMS(.)15 9/11 400 | 430 | 1000| 50 2 58 2 - - - - - - - | 500 | 430 | 1540| 131 2 140 2
EVMS(.)15 10/11 400 | 430 | 1000| 52 2 60 2 - - - - - - - | 500 | 430 | 1540] 131 2 140 2
EVMS(.)15 11/11 400 | 430 | 1000| 60 2 67 2 - - - - - - - | 500 | 430 | 1540| 140 2 148 2
EVMS(.)15 12/11 400 | 430 | 1000| 60 2 68 2 - - - - - - - | 500 | 430 | 1540| 141 2 150 2
EVMS(.)15 13/11 400 | 430 | 1200| 62 2 70 2 - - - - - - - | 500 | 430 | 1540| 143 2 151 2
EVMS(.)15 15/15 400 | 430 | 1200| 65 2 73 2 - - - - - - - | 610 | 430 [ 1750| 174 2 183 2
EVMS()15 17/15 400 | 430 [ 1200] 68 2 76 2 - - - - - - -1 610 | 430 [ 1750] 177 2 185 2
EVMS(.)20 1/1,5 385 | 400 | 585 23 1 30 1 [385 ] 400 | 770 50 1 57 1 | 400 | 430 | 800 50 2 57 2
EVMS(.)20 2/3,0 385 | 400 | 585 24 1 31 1 - - - - - - - | 400 | 430 | 1000| 53 2 62 2
EVMS(.)20 3/4,0 385 | 400 | 585 25 1 33 1 - - - - - - - | 400 | 430 | 1000| 62 2 70 2
EVMS(.)20 4/5,5 400 | 430 | 800 38 2 47 2 - - - - - - - | 400 | 430 | 1200| 78 2 87 2
EVMS(.)20 5/7,5 400 | 430 | 800 40 2 48 2 - - - - - - - | 400 | 430 | 1200| 86 2 95 2
EVMS(.)20 6/7,5 400 | 430 | 800 42 2 50 2 - - - - - - - | 400 | 430 | 1200| 87 2 96 2
EVMS(.)20 7/11 400 | 430 [ 1000]| 43 2 52 2 - - - - - - - | 500 | 430 | 1540| 125 2 133 2
20 EVMS(.)20 8/11 400 | 430 | 1000| 55 2 63 2 - - - - - - - | 500 | 430 | 1540| 137 2 145 2
EVMS(.)20 9/11 400 | 430 | 1000| 56 2 65 2 - - - - - - - | 500 | 430 | 1540| 138 2 146 2
EVMS(.)20 10/11 400 | 430 | 1000| 58 2 66 2 - - - - - - - | 500 | 430 | 1540| 140 2 148 2
EVMS(.)20 11/15 400 | 430 | 1000| 60 2 67 2 - - - - - - - | 500 | 430 | 1540| 167 2 175 2
EVMS(.)20 12/15 400 | 430 | 1000| 60 2 70 2 - - - - - - - | 500 | 430 | 1540| 168 2 177 2
EVMS(.)20 13/15 400 | 430 | 1200| 63 2 71 2 - - - - - - - | 500 | 430 | 1540| 170 2 178 2
EVMS(.)20 14/18,5 400 | 430 | 1200| 64 2 73 2 - - - - - - - | 610 | 430 [ 1750| 188 2 196 2
EVMS(.)20 15/18,5 400 | 430 | 1200| 65 2 74 2 - - - - - - - | 610 | 430 [ 1750] 190 2 198 2
EVMS(.)20 16/18,5 400 | 430 | 1200] 67 2 75 2 - - - - - - - |1 610 | 430 | 1750] 191 2 200 2

155

E2ARA

50 Hz



50 Hz

VERTICAL MULTISTAGE PUMPS

EVMS

156

PACKING DATA
EVMS(.)32-45

Packing [mm]

Pumps

Weight [kg] +

Pumps with motor ~3

Packing [mm]

Weight [kg] +

Pump type Pack Type Pack Type
X Y z EVMS(L) EVMSG X Y z EVMS(L) EVMSG
EVMS(.)32 1-1/1,5 420 | 512 | 800 55,1 2 51,8 2 | 500 | 612 | 1000 71,3 2 68,0 2
EVMS(.)32 1-0/2,2 420 | 512 | 800 55,1 2 51,8 2 | 500 | 612 | 1000 72,8 2 69,5 2
EVMS(.)32 2-2/3,0 420 | 512 | 800 58,4 2 55,1 2 | 500 | 612 | 1000 83,1 2 79,8 2
EVMS(.)32 2-0/4,0 420 | 512 | 800 58,4 2 55,1 2 | 500 | 612 | 1000 89,6 2 86,3 2
EVMS(.)32 3-2/5,5 420 | 512 | 800 72,3 2 68,9 2 | 500 | 612 | 1200 | 1157 2 112,3 2
EVMS(.)32 3-0/5,5 420 | 512 | 800 72,3 2 68,9 2 | 500 | 612 | 1200 | 1157 2 112,3 2
EVMS(.)32 4-2/7,5 500 | 612 | 1000 78,2 2 74,9 2 | 500 | 612 | 1350 | 136,8 2 133,5 2
EVMS(.)32 4-0/7,5 500 | 612 | 1000 78,2 2 74,9 2 | 500 | 612 | 1350 | 136,8 2 133,5 2
EVMS(.)32 5-2/11 500 | 612 | 1000 88,2 2 84,9 2 | 500 | 617 | 1540 | 162,7 2 159,4 2
EVMS(.)32 5-0/11 500 | 612 | 1000 88,2 2 84,9 2 | 500 | 617 | 1540 | 162,7 2 159,4 2
EVMS(.)32 6-2/11 500 | 612 | 1200 93,2 2 89,9 2 | 500 | 617 | 1540 | 166,0 2 162,7 2
EVMS(.)32 6-0/11 500 | 612 | 1200 93,2 2 89,9 2 | 500 | 617 | 1540 | 166,0 2 162,7 2
EVMS(.)32 7-2/15 500 | 612 | 1200 96,5 2 93,1 2 | 610 | 617 | 1750 | 209,6 2 206,2 2
32 EVMS(.)32 7-0/15 500 | 612 | 1200 96,5 2 93,1 2 | 610 | 617 | 1750 | 209,6 2 206,2 2
EVMS(.)32 8-2/15 500 | 612 | 1200 | 101,3 2 98,0 2 | 610 | 617 | 1750 | 2144 2 2111 2
EVMS(.)32 8-0/15 500 | 612 | 1200 | 1013 2 98,0 2 | 610 | 617 | 1750 | 2144 2 2111 2
EVMS(.)32 9-2/15 500 | 612 | 1350 | 115,7 2 112,4 2 | 610 | 617 | 1750 | 2179 2 214,6 2
EVMS(.)32 9-1/15 500 | 612 | 1350 | 115,7 2 12,4 2 | 610 | 617 | 1750 | 217,9 2 214,6 2
EVMS(.)32 10-2/18,5 500 | 612 | 1350 | 119,1 2 115,8 2 | 720 | 715 | 1970 | 2743 3 271,0 3
EVMS(.)32 10-0/18,5 500 | 612 | 1350 | 119,1 2 115,8 2 | 720 | 715 | 1970 | 2743 3 271,0 3
EVMS(.)32 11-2/18,5 500 | 617 | 1540 | 122,0 2 118,7 2 | 720 | 715 | 1970 | 2778 3 2745 3
EVMS(.)32 11-1/18,5 500 | 617 | 1540 | 122,0 2 118,7 2 | 720 | 715 | 1970 | 2778 3 274,5 3
EVMS(.)32 12-2/22 500 | 617 | 1540 | 128,0 2 124,7 2 | 720 | 715 | 2170 | 3158 3 312,5 3
EVMS(.)32 12-0/22 500 | 617 | 1540 | 128,0 2 124,7 2 | 720 | 715 | 2170 | 3158 3 312,5 3
EVMS(.)32 13-2/22 500 | 617 | 1540 | 131,8 2 1284 2 | 720 | 715 | 2170 | 319,6 3 316,2 3
EVMS(.)32 13-0/22 500 | 617 | 1540 | 1318 2 128,4 2 | 720 | 715 | 2170 | 3196 3 316,2 3
EVMS(.)32 14-2/30 610 | 617 | 1750 | 142,5 2 139,2 2 | 800 | 750 | 2420 | 3715 4 368,2 4
EVMS(.)32 14-0/30 610 | 617 | 1750 | 142,5 2 139,2 2 | 800 | 750 | 2420 | 3715 4 368,2 4
EVMS(.)45 1-1/3,0 420 | 512 | 800 68,9 2 66,7 2 | 500 | 612 | 1000 93,6 2 91,4 2
EVMS(.)45 1-0/4,0 420 | 512 | 800 68,9 2 66,7 2 | 500 | 612 | 1000 [ 100,1 2 97,9 2
EVMS(.)45 2-2/5,5 420 | 512 | 800 84,2 2 82,1 2 | 500 | 612 | 1200 | 127,6 2 125,5 2
EVMS(.)45 2-0/7,5 420 | 512 | 800 84,2 2 82,1 2 | 500 | 612 | 1350 | 134,6 2 132,5 2
EVMS(.)45 3-2/11 500 | 612 | 1000 99,1 2 96,9 2 | 500 | 612 | 1350 | 174,2 2 172,0 2
EVMS(.)45 3-0/11 500 | 612 | 1000 99,1 2 96,9 2 | 500 | 612 | 1350 | 174,2 2 172,0 2
EVMS(.)45 4-2/15 500 | 612 | 1000 | 105,6 2 103,5 2 | 500 | 617 | 1540 | 218,6 2 216,5 2
EVMS(.)45 4-0/15 500 | 612 | 1000 | 105,6 2 103,5 2 | 500 | 617 | 1540 | 218,6 2 216,5 2
EVMS(.)45 5-2/18,5 500 | 612 | 1200 | 112,6 2 110,4 2 | 500 | 617 | 1540 | 2319 2 229,7 2
EVMS(.)45 5-0/18,5 500 | 612 | 1200 | 112,6 2 110,5 2 | 500 | 617 | 1540 | 2319 2 229,8 2
EVMS(.)45 6-2/22 500 | 612 | 1200 | 118,0 2 115,9 2 | 610 | 617 | 1750 | 265,1 2 263,0 2
EVMS(.)45 6-0/22 500 | 612 | 1200 | 118,0 2 115,9 2 | 610 | 617 | 1750 | 265,1 2 263,0 2
45 [EVMS(.)45 7-2/30 500 | 612 | 1200 | 128,6 2 126,5 2 | 610 | 617 | 1750 | 308,7 2 306,6 2
EVMS(.)45 7-0/30 500 | 612 | 1200 | 128,6 2 126,5 2 | 610 | 617 | 1750 | 308,7 2 306,6 2
EVMS(.)45 8-2/30 500 | 612 | 1350 | 144,8 2 142,7 2 | 720 | 715 | 1970 | 359,0 3 356,9 3
EVMS(.)45 8-0/30 500 | 612 | 1350 | 1448 2 142,7 2 | 720 | 715 | 1970 | 359,0 3 356,9 3
EVMS(.)45 9-2/30 500 | 612 | 1350 | 150,3 2 148,2 2 | 720 | 715 | 1970 | 3645 3 362,4 3
EVMS(.)45 9-0/37 500 | 612 | 1350 | 161,8 2 159,6 2 | 720 | 715 | 2170 | 474,0 3 471,8 3
EVMS(.)45 10-2/37 500 | 617 | 1540 | 1664 2 164,3 2 | 720 | 715 | 2170 | 479,2 3 4771 3
EVMS(.)45 10-0/37 500 | 617 | 1540 | 166,4 2 164,3 2 | 720 | 715 | 2170 | 479,2 3 4771 3
EVMS(.)45 11-2/45 500 | 617 | 1540 | 1773 2 1751 2 | 800 | 750 | 2420 | 614,1 4 611,9 4
EVMS(.)45 11-0/45 500 | 617 | 1540 | 1773 2 1751 2 | 800 | 750 | 2420 | 614,1 4 611,9 4
EVMS(.)45 12-2/45 500 | 617 | 1540 | 182,6 2 180,4 2 | 800 | 750 | 2420 | 6194 4 617,2 4
EVMS(.)45 12-0/45 500 | 617 | 1540 | 182,6 2 180,4 2 | 800 | 750 | 2420 | 6194 4 617,2 4
EVMS(.)45 13-2/45 610 | 617 | 1750 | 189,7 2 187,5 2 | 800 | 750 | 2420 | 624,7 4 622,5 4

E2ARA



EVMS

VERTICAL MULTISTAGE PUMPS

PACKING DATA
EVMS(.)64-90

Packing [mm]

Pumps

Weight [kg] +

Pumps with motor ~3

Packing [mm]

Weight [kg] +

Pump type Pack Type Pack Type
X Y z EVMS(L) EVMSG X Y z EVMS(L) EVMSG
EVMS(.)64 1-1/4,0 420 | 512 | 800 74,3 2 71,3 2 | 500 | 612 | 1000 | 105,5 2 102,5 2
EVMS(.)64 1-0/5,5 420 | 512 | 800 84,1 2 81,1 2 | 500 | 612 | 1200 | 127,5 2 124,5 2
EVMS(.)64 2-2/7,5 420 | 612 | 1000 91,9 2 88,9 2 | 500 | 612 | 1350 | 150,5 2 147,5 2
EVMS(.)64 2-1/11 500 | 612 | 1000 99,2 2 96,2 2 | 500 | 612 | 1350 | 174,3 2 171,3 2
EVMS(.)64 2-0/15 500 | 612 | 1000 99,2 2 96,2 2 | 500 | 612 | 1350 | 2128 2 209,8 2
EVMS(.)64 3-2/15 500 | 612 | 1000 | 104,3 2 101,3 2 | 500 | 617 | 1540 | 217,3 2 214,3 2
EVMS(.)64 3-1/15 500 | 612 | 1000 | 104,3 2 101,3 2 | 500 | 617 | 1540 | 2173 2 2143 2
EVMS(.)64 3-0/18,5 500 | 612 | 1000 | 104,3 2 101,3 2 | 500 | 617 | 1540 | 2253 2 222,3 2
EVMS(.)64 4-2/18,5 500 | 612 | 1000 | 1094 2 106,4 2 | 500 | 617 | 1540 | 2304 2 2274 2
EVMS(.)64 4-1/22 500 | 612 | 1000 | 109,6 2 106,6 2 | 500 | 617 | 1540 | 256,6 2 253,6 2
EVMS(.)64 4-0/22 500 | 612 | 1000 | 109,6 2 106,6 2 | 500 | 617 | 1540 | 256,6 2 253,6 2
64 | EVMS(.)64 5-2/30 500 | 612 | 1200 | 121,8 2 118,8 2 | 610 | 617 | 1750 | 301,9 2 298,9 2
EVMS(.)64 5-1/30 500 | 612 | 1200 | 121,8 2 118,8 2 | 610 | 617 | 1750 | 301,9 2 298,9 2
EVMS(.)64 5-0/30 500 | 612 | 1200 | 121,8 2 118,8 2 | 610 | 617 | 1750 | 301,9 2 298,9 2
EVMS(.)64 6-2/30 500 | 612 | 1200 | 132,1 2 130,4 2 | 610 | 617 | 1750 | 312,2 2 310,5 2
EVMS(.)64 6-1/37 500 | 612 | 1200 | 1441 2 142,5 2 | 720 | 715 | 1970 | 461,2 3 459,6 3
EVMS(.)64 6-0/37 500 | 612 | 1200 | 144,11 2 142,5 2 | 720 | 715 | 1970 | 4612 3 459,6 3
EVMS(.)64 7-2/37 500 | 612 | 1200 | 149,5 2 147,8 2 | 720 | 715 | 1970 | 466,6 3 464,9 3
EVMS(.)64 7-1/37 500 | 612 | 1200 | 149,5 2 147,8 2 | 720 | 715 | 1970 | 466,6 3 464,9 3
EVMS(.)64 7-0/45 500 | 612 | 1200 | 155,1 2 153,4 2 | 720 | 715 | 2170 | 592,2 3 590,5 3
EVMS(.)64 8-2/45 500 | 612 | 1350 | 1717 2 170,1 2 | 720 | 715 | 2170 | 597,9 3 596,3 3
EVMS(.)64 8-1/45 500 | 612 | 1350 | 171,2 2 169,6 2 | 720 | 715 | 2170 | 5974 3 595,8 3
EVMS(.)64 8-0/45 500 | 612 [ 1350 | 171,2 2 169,6 2 | 720 | 715 | 2170 | 5974 3 595,8 3
EVMS(.)90 1-1/5,5 420 | 512 | 800 84,4 2 81,4 2 | 500 | 612 | 1350 | 138,7 2 135,7 2
EVMS(.)90 1-0/7,5 420 | 512 | 800 84,4 2 81,4 2 | 500 | 612 | 1350 | 145,7 2 142,7 2
EVMS(.)90 2-2/11 500 | 612 | 1000 99,4 2 96,4 2 | 500 | 612 | 1350 | 174,5 2 171,5 2
EVMS(.)90 2-0/15 500 | 612 | 1000 99,4 2 96,4 2 | 500 | 612 | 1350 | 213,0 2 210,0 2
EVMS(.)90 3-2/18,5 500 | 612 | 1000 | 105,0 2 102,0 2 | 500 | 617 | 1540 | 226,0 2 223,0 2
90 EVMS(.)90 3-0/22 500 | 612 | 1000 | 104,8 2 101,8 2 | 500 | 617 | 1540 | 251,8 2 248,8 2
EVMS(.)90 4-2/30 500 | 612 | 1200 | 117,0 2 114,0 2 | 610 | 617 | 1750 | 2971 2 2941 2
EVMS(.)90 4-0/30 500 | 612 | 1200 | 1171 2 114,0 2 | 610 | 617 | 1750 | 297,2 2 2941 2
EVMS(.)90 5-2/37 500 | 612 | 1200 | 140,7 2 137,7 2 | 720 | 715 | 1970 | 4578 3 454,8 3
EVMS(.)90 5-0/37 500 | 612 | 1200 | 139,5 2 137,9 2 | 720 | 715 | 1970 | 456,6 3 455,0 3
EVMS(.)90 6-2/45 500 | 612 | 1350 | 161,5 2 159,8 2 | 720 | 715 | 2170 | 5877 3 586,0 3
EVMS(.)90 6-0/45 500 | 612 | 1350 | 161,5 2 159,8 2 | 720 | 715 | 2170 | 5877 3 586,0 3

157

E2ARA

50 Hz



50 Hz

VERTICAL MULTISTAGE PUMPS EVM S

GENERAL

Various regulatory authorities in many countries have introduced or are planning legislation to encourage the
manufacture and use of higher efficiency motors, as part of a concerted effort worldwide to reduce energy consumption.
Indeed, the International Electrotechnical Commission (IEC) has introduced a new standards relating to energy efficient
motors. IEC 60034-30 defines new efficiency classes for motors and harmonizes the currently different requirements for
induction motor efficiency levels around the world.

The Commission Regulation (EC) N. 640/2009 implementing EcoDesign Directive 2009/125/EC states that in the
European Community, with the exception of some special applications, motors shall not be less efficient than the IE3
efficiency level as from 1 January 2015.

In detail:
IE3 by January 1, 2015 (for motors from 7.5 kW to 375 kW).
IE3 for all motors by January 1, 2017 (for motors from 0.75 kW to 375 kW).

MOTOR
Frequency 50 Hz
Phase Single Phase Three Phase
0.37 + 2.2 kW 0.37 + 45 kW
Power | power rating e — R
Source 0.5+3.0HP 0.5+ 60 HP
230/400 + 10% V  (up to 4.0 kW)
Voltage 230+ 10% V
400/690 + 10% V (above 5.5 kW)
Type IC411 - TEFC
. IE2: from 0.37 kW up to 0.55 kW
Efficiency Level IE2 from 0.37 kW up to 2.2 kW
IE3: above 0.75 kW
Type No° of poles 2

IP55: upto 11 kW
IP56 : above 15 kW

Protection degree

Insulation Class F (temperature rise class B)
Thermal Protection - PTC sensor pre-installed for motors of 1.5 kW and above
Aluminium : up to 30 KW
Casing Material Aluminium
Cast Iron: above 37 KW
Others
Flange mount IMB14: upto4.0 kW
(IEC motor) IMB5: above 5.5 kW

Unlosable screw and sealing from 0.75 kW to

Terminal Box fixing 45 kW

Power Noise
Motor Size
[kW] [HP] LpA - dB(A) *
0.37 0.5
71 52
0.55 0.75
0.75 1
80 52
1.1 1.5
1.5 2
90 60
22 3
100 3.0 4 62
112 4.0 55 66
55 75
132 68
75 10
1 15 73
160 15 20 72
18.5 25 70
180 22 30 70
30 40 70
200
37 50 73
225 45 60 75

* Noise values were measured with a tolerance of +2.5dB (A).

158

_—J=-TET



EVMS

VERTICAL MULTISTAGE PUMPS

TECHNICAL MOTOR DATA
EVMS 1-3-5-10-15-20-32-45-64-90

Single Phase Motor at 50Hz, 2 poles
(only for EVMS(.)1-3-5-10-15-20)

Motor Effici . Load efficiency Input Full load current Locked rotor current
iciency Capacitor
Power and power-factor [A] [A]
Size n %
[kW] | [HP] | [IE2/IE3] [WF] V] 50% 75% 100% cos—¢ [kwW] 230V 230V
71 0,37 | 05 IE2 10 450 61,2 69,4 72,7 0,92 0.51 2,4 8,9
0,55 | 0,75 IE2 20 450 62,4 71,3 75,2 0,98 0.73 3,2 13,9
80 0,75 1 IE2 31,5 450 69,1 77,5 79,2 0,98 0.94 4,3 24,1
1,1 1,5 IE2 36 450 72,5 78,5 79,7 0,96 1.39 6,4 25,0
90S 1,5 2 IE2 50 450 72,4 79,2 81,4 0,96 1.94 8,7 54,0
9GOL e 2,2 3 IE2 55 450 76,5 81,5 83,8 0,95 2.72 12,3 73,0
® Single phase motors manufactured by EBARA
Three Phase Motor at 50Hz, 2 poles
Motor Load efficiency Imput Full load current Locked rotor current
Power Efficiency and power-factor (400V) [A] [A]
Size n % cos—@
[kW] | [HP] 50% | 75% 1100% | 100% [kW] 230V 400V 690V 230V 400V 690V
71 0.37 | 0.5 IE2 63.0 | 70.0 | 74.0 0.8 0.50 1.94 1.12 - 10.7 6.2 -
71 0.55 | 0.75 IE2 757 | 781 | 774 0.8 0.71 2.16 1.25 - 11.9 6.9 -
80 ¢ 0.75 1 IE3 80.2 | 825 | 82.1 0.8 0.91 3.0 1.7 - 19.7 11.4 -
1.1 1.5 IE3 81.3 | 828 | 82.7 0.8 1.33 4.3 25 - 28.8 16.6 -
00 ¢ 1.5 2 IE3 83.5| 84.3 | 84.6 0.8 1.77 5.8 3.3 - 44.1 255 -
2.2 3 IE3 85.7 | 86.8 | 86.0 0.8 2.56 8.2 4.7 - 63.3 36.6 -
100 ¢ 3.0 4 IE3 859 | 87.5 | 871 0.8 3.44 11.1 6.4 - 89.8 51.8 -
112 ¢ 40 | 55 IE3 86.0 | 88.3 | 88.1 0.8 4.54 15.1 8.7 - 131.8 76.1 -
132 + 55 | 75 IE3 88.9 | 90.3 | 90.0 0.9 6.11 - 10.4 6.0 - 115.3 66.6
7.5 10 IE3 89.0 | 90.7 | 90.4 0.9 8.30 - 13.6 7.9 - 144 83.1
160 ¢ 1 15 IE3 90.1] 914 | 91.2 0.8 12.06 - 21.3 12.3 - 184 106.2
160 15 20 IE3 91.5] 920 | 919 0.9 16.32 - 26.2 15.2 - 215 124
160 185 | 25 IE3 90.9 | 924 | 924 0.9 20.02 - 32.8 19.0 - 299 173
180 22 30 IE3 925 | 929 | 92.7 0.9 23.73 - 38.5 223 - 347 201
200 30 40 IE3 93.1| 934 | 93.3 0.9 32.15 - 51.0 29.6 - 459 266
200 37 50 IE3 92.0 | 934 | 937 0.9 39.49 - 64.0 371 - 524 303
225 45 60 IE3 93.8 | 93.9 | 94.0 0.9 47.87 - 77.0 44.5 - 601 347

¢ MOTOR DATA ETM

159

_—J=-TET

50 Hz



50 Hz

VERTICAL MULTISTAGE PUMPS

_—J=-TET



50 Hz

VERTICAL MULTISTAGE PUMPS

_—J=-TET



50 Hz

VERTICAL MULTISTAGE PUMPS

_—J=-TET






All specifications could be subject to change




	EVMS(.)1-90
	1. SPECIFICATIONS
	1.1 TYPICAL APPLICATIONS
	1.2 PERFORMANCE RANGE

	2. EVMS(.) 1-3-5-10-15-20-32-45-64-90
	2.1 PRODUCT FEATURES
	PRODUCT SPECIFICATIONS
	2.3 SHAFT SEAL
	2.4 TYPE KEY and NAMEPLATE
	2.5 PERFORMANCE RANGE
	2.6 CURVE SPECIFICATIONS
	2.7 SELECTION CHART
	2.8 EVMS(L)1
	EVMSG1

	2.9 EVMS(L)3
	EVMSG3

	2.10 EVMS(L)5
	EVMSG5

	2.11 EVMS(L)10
	EVMSG10

	2.12 EVMS(L)15
	 EVMSG15

	2.13 EVMS(L)20
	EVMSG20

	2.14 EVMS(L)32
	EVMSG32

	2.15 EVMS(L)45
	EVMSG45

	2.16 EVMS(L)64
	EVMSG64

	2.17 EVMS(L)90
	EVMSG90


	3. PACKING
	3.1 PACKING DRAWING
	3.2 PACKING DATA

	4. MOTOR DATA
	4.1 GENERAL and NOISE DATA
	4.2 TECHNICAL MOTOR DATA




